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I. ��-�/ %�$��&�$�%&��� �$���$�/&�/ 
 

$545D4?L=>5 7>EG44DEF65==>5 G=<F4D=>5 ?D54?D<OF<5 «�?46=O= 
D44<>G4EF>F=O= F5=FD» (44?55 3 $�'� «�$'&», �D54?D<OF<5) >EGM5EF6?O5F E6>N 
45OF5?L=>EFL 6 E>>F65FEF6<< E $545D4?L=O< 74>>=>< >F 7 <N?O 2003 7. 7 126-$� 
«� E6O7<» (44?55 3 $545D4?L=O= 74>>= «� E6O7<»), �>?>65=<5< > D44<>G4EF>F=>= 
E?G655, GF65D645==O< ?>EF4=>6?5=<5< �D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 14 
<4O 2014 7. 7 434, <=O<< 74>>=4<< < =>D<4F<6=O<< ?D46>6O<< 4>F4<< $>EE<=E>>= 
$545D4F<<. 

�D54?D<OF<5 E>744=> 6 F5?OE G4>6?5F6>D5=<O >5M5EF65==OE ?>FD55=>EF5= 6 
D57G?LF4F4E 57> 45OF5?L=>EF<, E6O74==>= E >EGM5EF6?5=<5< >D74=<74F<>==OE < 
F5E=<G5E><E <5D ?> >55E?5G5=<N =44?564M57> <E?>?L7>64=<O D44<>G4EF>F <?< 
D44<>G4EF>F=OE >4=4?>6, D44<>M?5>FD>==OE ED54EF6 < (<?<) 6OE>>>G4EF>F=OE 
GEFD>=EF6 7D4644=E>>7> =47=4G5=<O =4 F5DD<F>D<< $>EE<=E>>= $545D4F<< (44?55 3 
$-%, �'' E>>F65FEF65==>), 4 F4>65 =4 F5DD<F>D<<, =4E>4OM5=EO ?>4 ND<E4<>F<5= 
$>EE<=E>>= $545D4F<<, M>E?5DF<7O < <>=<F>D<=74 E>5?N45=<O 74>>=>44F5?LEF64 6 
GEF4=>6?5==>= ED5D5 45OF5?L=>EF< $>E>><=447>D4, E>45=EF6<O 6 6OO6?5=<< 
=4DGL5=<= 6 ED5D5 <E?>?L7>64=<O D44<>G4EF>F=>7> E?5>FD4, >>474=<O GE?G7 E6O7<, 
<E?>?L7>64=<O ED54EF6 <4EE>6OE >><<G=<>4F<= < D4E?D>EFD4=5=<O <=D>D<4F<<, 
GG4EF<O 6 ?D54>EF46?5=<< 7>EG44DEF65==OE GE?G7 < ?>?GG5=<O ?D<5O?<. � D4<>4E 
E6><E ?>?=><>G<= $�'� «�$'&» >EGM5EF6?O5F 6 GEF4=>6?5==>< 
74>>=>44F5?LEF6>< $>EE<=E>>= $545D4F<< ?>DO4>5 E?54GNM<5 6<4O 45OF5?L=>EF<: 

1) >55E?5G5=<5 =44?564M57> <E?>?L7>64=<O D44<>G4EF>F <?< D44<>G4EF>F=OE 
>4=4?>6, $-% < �''; 

2) ?D>6545=<5 M>E?5DF<7O 6>7<>6=>EF< <E?>?L7>64=<O 74O6?5==OE $-% < <E 
M?5>FD><47=<F=>= E>6<5EF<<>EF< E 45=EF6GNM<<< < ??4=<DG5<O<< 4?O 
<E?>?L7>64=<O $-% (M>E?5DF<74 M?5>FD><47=<F=>= E>6<5EF<<>EF<), 4 F4>65 
>D>D<?5=<5 74>?NG5=<= > D57G?LF4F4E MF>= M>E?5DF<7O; 

3) ?D>6545=<5 D4EG5F>6 M?5>FD><47=<F=>= E>6<5EF<<>EF< $-%, 6 F>< G<E?5 
$-% <=>EFD4==OE 7>EG44DEF6 E $-% $>EE<=E>>= $545D4F<<; 

4) D47D45>F>G ??4=>6 G4EF>F=>-F5DD<F>D<4?L=>7> D47<5M5=<O $-%; 
5) ?D>6545=<5 M>E?5DF<7O M?5>FD><47=<F=>= E>6<5EF<<>EF< E<EF5< 

>455?L=>7> F5?56<45=<O E 45=EF6GNM<<< < ??4=<DG5<O<< $-% D44<>65M4F5?L=>= 
E?G65O; 

6) E57>==>5 ??4=<D>64=<5 <E?>?L7>64=<O 6OE>>>G4EF>F=OE ?>?>E 
D44<>65M4F5?L=O<< E?G654<<, 6 F>< G<E?5 <564G=4D>4=GN >>>D4<=4F<N F4>>7> 
??4=<D>64=<O E 44<<=<EFD4F<O<< E6O7< <?< G?>?=><>G5==O<< D44<>65M4F5?L=O<< 
>D74=<74F<O<< <=>EFD4==OE 7>EG44DEF6, 6 E>>F65FEF6<< E ?>DO4>><, GEF4=>6?5==O< 
$57?4<5=F>< D44<>E6O7< �564G=4D>4=>7> E>N74 M?5>FD>E6O7< (44?55 3 $$ �%-); 

7) ?D>65D>G E>>F65FEF6<O EG4>6OE D44<>EF4=F<=, GEF4=>6?5==OE =4 <>DE><E 
EG44E, EG44E E<5L4==>7> (D5>4-<>D5) ??464=<O, 4 F4>65 EG44E 6=GFD5==57> 
??464=<O, FD55>64=<O< <564G=4D>4=OE 4>7>6>D>6 $>EE<=E>>= $545D4F<< < 
FD55>64=<O< 74>>=>44F5?LEF64 $>EE<=E>>= $545D4F<< 6 >5?4EF< E6O7< < 



4 

>D>D<?5=<5 74>?NG5=<= >5 <E E>>F65FEF6<< MF<< FD55>64=<O<; 
8) 6O?>?=5=<5 D45>F ?> >5D47>64=<N ?>7O6=OE E<7=4?>6 >?>7=464=<O; 
9) >D74=<74F<N < >EGM5EF6?5=<5 >>=FD>?O 74 <7?GG5=<O<< $-% < �'' 

(D44<>>>=FD>?L), 6 F>< G<E?5 D44<><>=<F>D<=7; 
10) ?D>6545=<5 ?D>65D>< E>>F65FEF6<O F5E=<G5E><E E4D4>F5D<EF<>, 66>7<<OE 

=4 F5DD<F>D<N $>EE<=E>>= $545D4F<< $-% < �'' F5E=<G5E><< E4D4>F5D<EF<>4< < 
GE?>6<O< <E?>?L7>64=<O, GF65D645==O< D5L5=<O<< �>EG44DEF65==>= >><<EE<< ?> 
D44<>G4EF>F4< (44?553 ��$'), 4 F4>65 >D>D<?5=<5 74>?NG5=<= > D57G?LF4F4E MF>= 
?D>65D><; 

11) 74?<EL E<7=4?>6 <7?GG5=<= $-% < �''; 
12) >D74=<74F<N < ?D>6545=<5 (GG4EF<5 6 ?D>6545=<<) =4FGD=OE <E?OF4=<= =4 

M?5>FD><47=<F=GN E>6<5EF<<>EFL $-% < >D>D<?5=<5 D57G?LF4F>6 =4FGD=OE 
<E?OF4=<=; 

13) GG4EF<5 6 D47D45>F>5 =>D<, D57?4<5=F<DGNM<E >55E?5G5=<5 
M?5>FD><47=<F=>= E>6<5EF<<>EF< $-% ?GF5< 6O5>D4 <5EF4 D47<5M5=<O $-% =4 
F5DD<F>D<< < (<?<) 6 ?D>EFD4=EF65, 4 F4>65 ?GF5< 6O5>D4 D45>G<E D44<>G4EF>F 4?O 
=<E (=>D<O G4EF>F=>-F5DD<F>D<4?L=>7> D47=>E4); 

14) E>744=<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O 54<=>= 46F><4F<7<D>64==>= 
E<EF5<O E5>D4, >5D45>F><, GG5F4 < ED4=5=<O 44==OE > ?D<E6>5=<OE (=47=4G5=<OE) 
D44<>G4EF>F <?< D44<>G4EF>F=OE >4=4?>6 4?O $-% < ?>7O6=OE E<7=4?>6 
>?>7=464=<O, 4 F4>65 <=D>D<4F<>==OE E<EF5<, E>45D64M<E 44==O5 > F5E=<G5E><E 
E4D4>F5D<EF<>4E ?D<E6>5=<= (=47=4G5=<=) D44<>G4EF>F <?< D44<>G4EF>F=OE >4=4?>6 
4?O $-% $>EE<=E>>= $545D4F<< < <=>EFD4==OE 7>EG44DEF6, <E?>?L7G5<OE 
D47?<G=O<< D44<>E?G654<<, >5 GE?>6<OE <E >>>D4<=4F<<, E6545=<OE >5 <E 
D57<EFD4F<< 6 �564G=4D>4=>< E>N75 M?5>FD>E6O7< (44?55 - �%-), 6>?NG4O 
?5D5?<E>G E 44<<=<EFD4F<O<< E6O7< <=>EFD4==OE 7>EG44DEF6, �%- < 
<56?D46<F5?LEF65==O<< E?GF=<>>6O<< >D74=<74F<O<<, ?D>F>>>?>6 ?5D57>6>D>6 
45?574F<= 44<<=<EFD4F<< E6O7< $>EE<=E>>= $545D4F<< E 45?574F<O<< 
44<<=<EFD4F<= E6O7< <=>EFD4==OE 7>EG44DEF6 <?< <56?D46<F5?LEF65==O<< 
E?GF=<>>6O<< >D74=<74F<O<< ?> >>>D4<=4F<< ?D<E6>5=<= (=47=4G5=<=) 
D44<>G4EF>F <?< D44<>G4EF>F=OE >4=4?>6 4?O $-%, <E?>?L7G5<OE D47?<G=O<< 
D44<>E?G654<<, < <=OE <=D>D<4F<>==OE E<EF5< < 547 44==OE, =5>5E>4<<OE 4?O 
D54?<74F<< DG=>F<= �D54?D<OF<O; 

15) GG4EF<5 6 GEF4=>6?5==>< ?>DO4>5 6 ?D>6545=<< $>E>><=447>D>< 
<5D>?D<OF<= ?> 6OO6?5=<N =4DGL5=<= 6 ED5D5 E6O7<, <=D>D<4F<>==OE F5E=>?>7<= 
< <4EE>6OE >><<G=<>4F<=; 

16) 6=5E5=<5 ?D54?>65=<= 6 $>E>><=447>D ?> 6>?D>E4< <E?>?L7>64=<O 
D44<>G4EF>F=>7> E?5>FD4, $-% < �'' E GG5F>< >55E?5G5=<O <E M?5>FD><47=<F=>= 
E>6<5EF<<>EF< < D476<F<O F5E=>?>7<= 6 >5?4EF< M?5>FD>E6O7<, 4 F4>65 ?> 6>?D>E4< 
?D>6545=<O <>=<F>D<=74 <=D>D<4F<>==>7> ?D>EFD4=EF64; 

17) GG4EF<5 6 D45>F4E ?> 66>4G 6 M>E??G4F4F<N E5F5= E6O7< (DD47<5=F>6 E5F5= 
E6O7<); 
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18) >D74=<74F<N < GG4EF<5 6 ?D>6545=<< =4GG=>-F5E=<G5E><E <EE?54>64=<= < 
M>E?5D<<5=F4?L=OE D45>F4E 6 >5?4EF< <E?>?L7>64=<O D44<>G4EF>F=>7> E?5>FD4, $-% 
< �'', D44<>>>=FD>?O, <564G=4D>4=>-?D46>6>= 74M<FO ?D<E6>5=<= (=47=4G5=<=) 
D44<>G4EF>F <?< D44<>G4EF>F=OE >4=4?>6; 

19) 4>6545=<5 ?> ?>DGG5=<N $>E>><=447>D4 <=D>D<4F<< > 6D5<5==OE 
74?D5F4E =4 D45>FG $-% 4> E6545=<O ?>?L7>64F5?5= D44<>G4EF>F=O< E?5>FD><; 

20) ?D>6545=<5 M>E?5DF<7O F5E=<G5E><E 7444=<= =4 D47D45>F>G $-% < (<?<)  
�'' < F5E=<G5E><E GE?>6<= 4?O <E E5D<==>7> ?D><76>4EF64 6 G4EF< >55E?5G5=<O 
E>5?N45=<O FD55>64=<= M?5>FD><47=<F=>= E>6<5EF<<>EF<; 

21) ?D>6545=<5 D45>F ?> <7OE>4=<N =>6OE D44<>G4EF>F=OE >4=4?>6 < 
D47D45>F>5 D44<>G4EF>F=>7> E?5>FD4 < >D5<F4?L=>-G4EF>F=OE ?>7<F<= E?GF=<>>6 
4?O F5?5= F5?56<7<>==>7> 65M4=<O < D44<>65M4=<O; 

22) >>474=<5 E>45=EF6<O 6 >55E?5G5=<< <564G=4D>4=>-?D46>6>= 74M<FO 
?D<E6>5=<= (=47=4G5=<=) D44<>G4EF>F <?< D44<>G4EF>F=OE >4=4?>6; 

23) 6O?>?=5=<5 D45>F ?> >?D545?5=<N =5>5E>4<<>EF< 74O6?5=<O, 
>>>D4<=4F<< < D57<EFD4F<< 6 �%- < ?D<E6>5=<O (=47=4G5=<O) D44<>G4EF>F <?< 
D44<>G4EF>F=OE >4=4?>6 4?O $-% 7D4644=E>>7> =47=4G5=<O $>EE<=E>>= $545D4F<<; 

24) 6O?>?=5=<5 6 GEF4=>6?5==>< ?>DO4>5 D45>F ?> <564G=4D>4=>-?D46>6>= 
74M<F5 ?D<E6>5=<= (=47=4G5=<=) D44<>G4EF>F <?< D44<>G4EF>F=OE >4=4?>6, 6 F>< 
G<E?5 D45>F ?> GG4EF<N 6 D45>F5 <564G=4D>4=OE >D74=<74F<=, 74=<<4NM<EEO 
6>?D>E4<< D4E?D545?5=<O < D57G?<D>64=<O <E?>?L7>64=<O D44<>G4EF>F=>7> E?5>FD4, 
< D45>F ?> 74O6?5=<N, >>>D4<=4F<< < D57<EFD4F<< 6 �%- G4EF>F=OE ?D<E6>5=<= 
4?O $-%, 4 F4>65 D45>F ?> >>>D4<=4F<< ?D<E6>5=<= (=47=4G5=<=) D44<>G4EF>F <?< 
D44<>G4EF>F=OE >4=4?>6 4?O $-% E 44<<=<EFD4F<O<< E6O7< <=>EFD4==OE 
7>EG44DEF6; 

25) 6O?>?=5=<5 D45>F ?> ?>47>F>6>5 < (<?<) M>E?5DF<75 4>>G<5=F>6 4?O 
>55E?5G5=<O <564G=4D>4=>-?D46>6>= 74M<FO ?D<E6>5=<= (=47=4G5=<=) D44<>G4EF>F 
<?< D44<>G4EF>F=OE >4=4?>6 4?O $-%, 6 F>< G<E?5 >D5<F4?L=>-G4EF>F=OE ?>7<F<= 
4?O >>E<<G5E><E 4??4D4F>6, 6 E?GG45, 5E?< 74M<F4 F4><E ?D<E6>5=<= (=47=4G5=<=) 
?D54GE<>FD5=4 $$ �%- < <564G=4D>4=O<< E>7?4L5=<O<<; 

26) ?>47>F>6>G <=D>D<4F<>==>-4=4?<F<G5E><E E?D46>> > E>EF>O=<< 
>>>D4<=4F<< E?GF=<>>6OE E5F5= <=>EFD4==OE 7>EG44DEF6 E D>EE<=E><<< 
E?GF=<>>6O<< E5FO<<; 

27) GG4EF<5 6 6O?>?=5=<< D45>F: 
?> >55E?5G5=<N ?D>6545=<O ?5D57>6>D>6 44<<=<EFD4F<< E6O7< $>EE<=E>>= 

$545D4F<< ?> >>>D4<=4F<< D44<>G4EF>F < D44<>G4EF>F=OE >4=4?>6 4?O $-%; 
?> ?>47>F>6>5 4?O 44<<=<EFD4F<< E6O7< $>EE<=E>>= $545D4F<< <4F5D<4?>6 ?> 

6>?D>E4< <E?>?L7>64=<O D44<>G4EF>F <?< D44<>G4EF>F=OE >4=4?>6, $-% < �''; 
?> >>=65DE<< D44<>G4EF>F=>7> E?5>FD4 < ?> ?5D56>4G 45=EF6GNM<E $-% 6 

4DG7<5 ?>?>EO D44<>G4EF>F; 
28) GG4EF<5 6 ?>DO4>5, GEF4=>6?5==>< $>E>><=447>D><, 6 >EGM5EF6?5=<< 

?>?=><>G<= $>E>><=447>D4, 6 F>< G<E?5 ?>ED54EF6>< ?D>6545=<O D45>F: 
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?> >F5=>5 E>5?N45=<O >?5D4F>D4<< E6O7< FD55>64=<= > <5FD>?>7<G5E>><G 
>55E?5G5=<N >5>DG4>64=<O, <E?>?L7G5<>7> 4?O GG5F4 >5N5<4 >>474==OE GE?G7; 

?> >F5=>5 E>5?N45=<O FD55>64=<= > <E?>?L7>64=<N 6 E5F< E6O7< >5M57> 
?>?L7>64=<O, F5E=>?>7<G5E><E E5FOE < E5FOE E6O7< E?5F<4?L=>7> =47=4G5=<O (6 
E?GG45 <E ?D<E>54<=5=<O > E5F< E6O7< >5M57> ?>?L7>64=<O) ED54EF6 E6O7<, 
?D>L54L<E >5O74F5?L=>5 ?>4F65D645=<5 E>>F65FEF6<O GEF4=>6?5==O< 
FD55>64=<O<; 

?> >F5=>5 E>5?N45=<O >?5D4F>D4<< E6O7< ?<F5=7<>==OE GE?>6<= < 
FD55>64=<= 6 >5?4EF< >>474=<O GE?G7 E6O7<; 

?> >F5=>5 E>5?N45=<O >?5D4F>D4<< E6O7< FD55>64=<= > ?D>?GE>G FD4D<>4 < 
57> <4DLDGF<74F<<; 

?> >F5=>5 E>5?N45=<O >?5D4F>D4<< E6O7< ?D46<? ?D<E>54<=5=<O E5F5= 
M?5>FD>E6O7< > E5F< E6O7< >5M57> ?>?L7>64=<O, 6 F>< G<E?5 GE?>6<= ?D<E>54<=5=<O; 

?> >F5=>5 E>>F65FEF6<O <E?>?L7>64=<O >?5D4F>D4<< E6O7< 6O45?5==>7> << 
D5EGDE4 =G<5D4F<< GEF4=>6?5==><G ?>DO4>G <E?>?L7>64=<O D5EGDE4 =G<5D4F<< 
54<=>= E5F< M?5>FD>E6O7< $>EE<=E>>= $545D4F<<; 

?> >F5=>5 6O?>?=5=<O >?5D4F>D4<< E6O7< FD55>64=<= > G?D46?5=<N E5FO<< 
E6O7<; 

?> >F5=>5 6O?>?=5=<O >?5D4F>D4<< E6O7< FD55>64=<= > 74M<F5 E5F5= E6O7< >F 
=5E4=>F<>=<D>64==>7> 4>EFG?4 > =<< < ?5D544645<>= ?> =<< <=D>D<4F<<; 

?> >F5=>5 6O?>?=5=<O >?5D4F>D4<< E6O7< FD55>64=<= > E5FO< < ED54EF64< 
E6O7< 4?O ?D>6545=<O >?5D4F<6=>-D47OE>=OE <5D>?D<OF<=; 

?> >F5=>5 E>5?N45=<O >?5D4F>D4<< E6O7< 74>>=>44F5?LEF64 $>EE<=E>>= 
$545D4F<< 6 ED5D5 ?D>F<6>45=EF6<O ?574?<74F<< (>F<O64=<N) 4>E>4>6, 
?>?GG5==OE ?D5EFG?=O< ?GF5<, < D<=4=E<D>64=<N F5DD>D<7<4; 

?> >F5=>5 E>5?N45=<O FD55>64=<= 74>>=>44F5?LEF64 $>EE<=E>>= $545D4F<< 6 
ED5D5 ED54EF6 <4EE>6>= <=D>D<4F<< < <4EE>6OE >><<G=<>4F<=, 74M<FO 45F5= >F 
<=D>D<4F<<, ?D<G<=ONM5= 6D54 <E 74>D>6LN < (<?<) D476<F<N, 6 F>< G<E?5 
?>ED54EF6>< >D74=<74F<< < ?D>6545=<O M>E?5DF<7, 4=4?<74, <EE?54>64=<= 
<=D>D<4F<>==>= ?D>4G>F<<, D4E?D>EFD4=O5<>= 6 ED54EF64E <4EE>6>= <=D>D<4F<<, 
4 F4>65 6 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==OE E5FOE; 

?> >F5=>5 E>5?N45=<O ?<F5=7<4F4<< ?<F5=7<>==OE GE?>6<= < FD55>64=<= 6 
>5?4EF< F5?56<7<>==>7> 65M4=<O < D44<>65M4=<O; 

29) <>=<F>D<=7 ED54EF6 <4EE>6>= <=D>D<4F<< < <4EE>6OE >><<G=<>4F<=, 
<=D>D<4F<>==>-F5?5>><<G=<>4F<>==OE E5F5= < <=D>D<4F<>==>7> ?D>EFD4=EF64 6 
G4EF< E>5?N45=<O 74>>=>44F5?LEF64 $>EE<=E>>= $545D4F<< 6 ED5D5 E6O7<, 
<=D>D<4F<>==OE F5E=>?>7<=, <4EE>6OE >><<G=<>4F<=, 4 F4>65 74>>=>44F5?LEF64 > 
?5DE>=4?L=OE 44==OE; 

30) ?D>6545=<5 M>E?5DF<7, 4=4?<74 < <EE?54>64=<= <4F5D<4?>6 < (<?<) 
<=D>D<4F<<, D4E?D>EFD4=O5<OE 6 ED54EF64E <4EE>6>= <=D>D<4F<< < 
<=D>D<4F<>==>-F5?5>><<G=<>4F<>==OE E5FOE, =4 ?D54<5F E>>F65FEF6<O 
74>>=>44F5?LEF6G $>EE<=E>>= $545D4F<< 6 ED5D5 ED54EF6 <4EE>6>= <=D>D<4F<< < 
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<4EE>6OE >><<G=<>4F<=, 74M<FO 45F5= >F <=D>D<4F<<, ?D<G<=ONM5= 6D54 <E 
74>D>6LN < (<?<) D476<F<N; 

31) ?D54>EF46?5=<5 >?5D4F>D4< E6O7<, >>47O64NM<< GE?G7< ?> 
?D54>EF46?5=<N 4>EFG?4 > <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< 
«�=F5D=5F» (44?55 3 E5FL «�=F5D=5F»), F5E=<G5E><E ED54EF6 >>=FD>?O 74 
E>5?N45=<5< <<< FD55>64=<=, GEF4=>6?5==OE $545D4?L=O< 74>>=>< >F 27 <N?O 
2006 7. 7 149-$� «�5 <=D>D<4F<<, <=D>D<4F<>==OE F5E=>?>7<OE < > 74M<F5 
<=D>D<4F<<» (44?55 3 $545D4?L=O= 74>>= 7 149-$�), < F5E=<G5E>4O ?>445D6>4 
M>E??G4F4F<< F4><E F5E=<G5E><E ED54EF6; 

32) GG4EF<5 6 ?D54>EF46?5=<< $>E>><=447>D>< 7>EG44DEF65==OE GE?G7 < 
>EGM5EF6?5=<< 7>EG44DEF65==OE DG=>F<=, 6 F>< G<E?5 6 G4EF< <E?>?=5=<O 
FD55>64=<= $545D4?L=>7> 74>>=4 7 149-$�; 

33) GG4EF<5 6 >4G5EF65 M>E?5DF=>= >D74=<74F<< 6 <5D>?D<OF<OE ?> >>=FD>?N 6 
GEF4=>6?5==>= ED5D5 45OF5?L=>EF< $>E>><=447>D4; 

34) >55E?5G5=<5 45OF5?L=>EF< %<FG4F<>==>7> F5=FD4 $545D4?L=>= E?G65O ?> 
=447>DG 6 ED5D5 E6O7<, <=D>D<4F<>==OE F5E=>?>7<= < <4EE>6OE >><<G=<>4F<=; 

35) ?D>6545=<5 M>E?5DF<7O ?D>5>F>6 D5L5=<=, <4F5D<4?>6 < <=OE 
4>>G<5=F>6, ?>47>F>6?5==OE ��$'; 

36) ?D>6545=<5 4=4?<74 ?4D4<5FD>6 <7?GG5=<= $-% < �'', GEF4=>6?5==OE 
D5L5=<5< ��$' > 6O45?5=<< ?>?>E D44<>G4EF>F ?<5> D47D5L5=<O<< =4 
<E?>?L7>64=<5 D44<>G4EF>F <?< D44<>G4EF>F=OE >4=4?>6 < ?D54GE<>FD5==OE 
=4F<>=4?L=O<< EF4=44DF4<< < F5E=<G5E><<< D57?4<5=F4<<, >?D545?ONM<<< 
>5O74F5?L=O5 FD55>64=<O > ?4D4<5FD4< <7?GG5=<= $-% < �''; 

37) ?D>6545=<5 D45>F ?> D4EG5FG D47>6>= ??4FO < 5657>4=>= ??4FO 74 
<E?>?L7>64=<5 6 $>EE<=E>>= $545D4F<< D44<>G4EF>F=>7> E?5>FD4 6 E>>F65FEF6<< E 
GF65D645==>= �<=<EF5DEF6>< E6O7< < <4EE>6OE >><<G=<>4F<= $>EE<=E>>= 
$545D4F<< <5F>4<>>= D4EG5F4; 

38) 4>6545=<5 4> $>E>><=447>D4 6 ?>DO4>5, GEF4=>6?5==>< G>474==>= 
%?G65>=, <=D>D<4F<< > =56=5E5=<< ?>?L7>64F5?O<< D44<>G4EF>F=O< E?5>FD>< 
D47>6>= ??4FO < (<?<) 5657>4=>= ??4FO 74 <E?>?L7>64=<5 D44<>G4EF>F=>7> E?5>FD4 
?<5> > 6=5E5=<< F4>>= ??4FO =5 6 ?>?=>< >5N5<5; 

39) =4?D46?5=<5 ?>?L7>64F5?O< D44<>G4EF>F=O< E?5>FD>< 6 ?>DO4>5, 
GEF4=>6?5==>< $>E>><=447>D><, G654><?5=<= > =5>5E>4<<>EF< 6=5E5=<O D47>6>= 
??4FO < (<?<) 5657>4=>= ??4FO 74 <E?>?L7>64=<5 D44<>G4EF>F=>7> E?5>FD4; 

40) <>=<F>D<=7 E5F5= E6O7<, >D74=<7>64==OE 557 <E?>?L7>64=<O 
D44<>G4EF>F=>7> E?5>FD4; 

41) 6O?>?=5=<5 D45>F ?> >?D545?5=<N >>>D4<=4F 75>457<G5E><E ?G=>F>6 < 
F>G5> 75<=>= ?>65DE=>EF< 6 <5EF4E GEF4=>6>< $-% < �'' E <E?>?L7>64=<5< 
46F>=><=OE ED54EF6 >?D545?5=<O >>>D4<=4F (75>457<G5E><E E?GF=<>>6OE 
?D<5<=<>>6) < <EE>4=OE F>?>7D4D>75>457<G5E><E, >4DF>7D4D<G5E><E < 
4MD>EN5<>G=OE <4F5D<4?>6 < 44==OE, <4F5D<4?>6 >>E<<G5E><E EN5<>>; 

42) 6O?>?=5=<5 D45>F ?> <7<5D5=<N 6OE>F ?>465E4 4=F5==, F5E=<G5E><E 
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?4D4<5FD>6 $-% < �''; 
43) <7<5D5=<5 F5E=<G5E><E ?4D4<5FD>6 $-% < �''; 
44) ?D>65D>G E>>F65FEF6<O M>E??G4F4F<>==>= < F5E=<G5E>>= 7>F>6=>EF< 

74>47G<>4 <<=<<4?L=O< FD55>64=<O<, ?D54NO6?O5<O< > >?5D4F>D4< ?N5<F5?LE>>= 
E?G65O E>>F65FEF6GNM5= >4F57>D<<; 

45) ?D>6545=<5 D4EG5F>6 D4E?D545?5=<O GD>6=5= M?5>FD><47=<F=OE <7?GG5=<= 
=4 ?D<?574NM5= > ?5D544NM<< D44<>F5E=<G5E><< >5N5>F4< F5DD<F>D<< E 
>?D545?5=<5< 7D4=<F E4=<F4D=>-74M<M5==OE 7>= < 7>= >7D4=<G5=<O 74EFD>=><, 4 
F4>65 <7<5D5=<5 <=F5=E<6=>EF< M?5>FD><47=<F=OE <7?GG5=<= E F5?LN ?>?GG5=<O 
E4=<F4D=>-M?<45<<>?>7<G5E><E 74>?NG5=<= =4 D47<5M5=<5 ?5D544NM<E 
D44<>F5E=<G5E><E >5N5>F>6 < M>E??G4F4F<N ?5D544NM<E D44<>F5E=<G5E><E 
>5N5>F>6; 

46) ?D>6545=<5 <=EFDG<5=F4?L=>7> >>=FD>?O GD>6=O M?5>FD><47=<F=>7> ?>?O 
=4 E>>F65FEF6<5 FD55>64=<O< =>D< ��%&>6, %4=�<�; 

47) >D74=<74F<N < ?D>6545=<5 <>=<F>D<=74 ?4D4<5FD>6 GE?G7 E6O7< < 
>D>D<?5=<5 D57G?LF4F>6; 

48) ?><E> < 6OO6?5=<5 <EF>G=<>>6 E>744=<O =54>?GEF<<OE D44<>?><5E < 
?D<=OF<5 6>7<>6=OE <5D ?> <E GEFD4=5=<N; 

49) ?D>6545=<5 D4EG5F>6 FD4EE 4?O D44<>D5?5==>= ?<=<< E6O7<; 
50) ?>4F65D645=<5 D4>F<G5E>>7> <5EF4 D47<5M5=<O < D4>F<G5E><E 

E4D4>F5D<EF<> <7?GG5=<O (?D<5<4) $-%; 
51) >D74=<74F<N < 6O?>?=5=<5 D45>F ?> D4EG5FG 7>=O >5E?G6<64=<O 

(?>>DOF<O) $-%, 6 F>< G<E?5 7>=O 65M4=<O 4?O =475<=>7> MD<D=>7> 65M4=<O < 4?O 
E?GF=<>>6>7> 65M4=<O; 

52) >D74=<74F<N < 6O?>?=5=<5 D45>F ?> <7<5D5=<N M?5>FD><47=<F=OE ?>?5= 
E F5?LN >?D545?5=<O 7>=O >5E?G6<64=<O $-%; 

53) ?D<6545=<5 F5E=<G5E><E ?4D4<5FD>6 $-% 6 E>>F65FEF6<5 E ??4=4<< 
G4EF>F=>-F5DD<F>D<4?L=>7> D47<5M5=<O $-%, =>D<4<< ��%&4 (<5E4=<G5E>4O 
D57G?<D>6>4 < ?5D5?D>7D4<<<D>64=<5 $-%); 

54) ?>47>F>6>G E6545=<= > E>EF>O=<< D44<>E5F<; 
55) D47D45>F>G D5>><5=44F<= ?> ?>EFD>5=<N E5F5= E6O7< < <=EFDG>F<= > 

?>DO4>5 M>E??G4F4F<< F5E=>?>7<G5E><E E5F5= E6O7<; 
56) GG4EF<5 6 D45>F4E ?> ?D>5>F<D>64=<N >5N5>F>6 E6O7<; 
57) >D74=<74F<N < ?D>6545=<5 D45>F ?> <=EFDG<5=F4?L=>= >F5=>5, ?4D4<5FD>6 

M?5>FD><47=<F=OE ?>?5= <7?GG5=<= $-% < �''; 
58) ?D>6545=<5 M>E?5DF<7, 6>?NG4O <=EFDG<5=F4?L=O5 M>E?5DF<7O (?D>65D><), 

< >D>D<?5=<5 D57G?LF4F>6 M>E?5DF<7 (?D>65D>>) >5 >FEGFEF6<< (=4?<G<<) 6 E>EF465 
F5E=<G5E><E ED54EF6 $-% < �''; 

59) ?D>6545=<5 <E?OF4=<= >5D47F>6 F5E=<G5E><E ED54EF6 =4 E>>F65FEF6<5 <E 
F5E=<G5E><E E4D4>F5D<EF<> FD55>64=<O< =>D<, EF4=44DF>6, D5L5=<= ��$' < 
>D>D<?5=<5 D57G?LF4F>6 <E?OF4=<=; 

60) >D74=<74F<N < ?D>6545=<5 <E?OF4=<= 6 F5?OE >F5=>< < ?>4F65D645=<O 
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E>>F65FEF6<O ED54EF6 E6O7<, <=OE F5E=<G5E><E ED54EF6 FD55>64=<O< F5E=<G5E><E 
D57?4<5=F>6, ?D46<? ?D<<5=5=<O, EF4=44DF>6, E6>4>6 ?D46<? <?< GE?>6<O< 
4>7>6>D>6; 

61) ?D>6545=<5 <7<5D5=<= ?4D4<5FD>6 F<DD>6OE (4=4?>7>6OE) E<7=4?>6; 
62) ?D>6545=<5 <E?OF4=<= >5D47F>6 F5E=<G5E><E ED54EF6 ?> ?4D4<5FD4< 

M?5>FD><47=<F=>= E>6<5EF<<>EF<; 
63) <E?OF4=<O F5E=<G5E><E ED54EF6 ?> ?4D4<5FD4< 557>?4E=>EF< =4 

E>>F65FEF6<5 E4=<F4D=O< ?D46<?4< < =>D<4<; 
64) E5DF<D<>4F<>==O5 <E?OF4=<O F5E=<G5E><E ED54EF6 ?> ?4D4<5FD4< 

M?5>FD><47=<F=>= E>6<5EF<<>EF< 6 E<EF5<5 E5DF<D<>4F<< ��%& $; 
65) ?D>6545=<5 M>E?5DF<7 74O6>> 6>7<>6=>EF5= M>E??G4F4F<< $-% < 

>D>D<?5=<5 D57G?LF4F>6 M>E?5DF<7; 
66) ?D>6545=<5 D45>F, E6O74==OE E >5E?54>64=<5< 46F><>5<?L=OE FD4EE 6 

G4EF< <E ?>>DOF<O ?>46<6=>= D44<>F5?5D>==>= E6O7LN; 
67) <5FD>?>7<G5E><5 GE?G7< (D45>FO), ?D>6545=<5 ?>65D>< ED54EF6 <7<5D5=<=; 
68) =4GG=>-<5F>4<G5E>GN 45OF5?L=>EFL; 
69) ?D< >EGM5EF6?5=<< GEF46=OE 6<4>6 45OF5?L=>EF<, 4 F4>65 4?O 

>55E?5G5=<O 45OF5?L=>EF< �D54?D<OF<O ?D>6545=<5 D45>F:  
?> EFD><F5?LEF6G, D5>>=EFDG>F<<, >4?<F4?L=><G D5<>=FG >5N5>F>6 

>4?<F4?L=>7> EFD><F5?LEF64, >>F>DO5 >>47O64NF 6?<O=<5 =4 557>?4E=>EFL >5N5>F>6 
>4?<F4?L=>7> EFD><F5?LEF64, =4 >E=>64=<< 6O44==>7> E4<>D57G?<DG5<>= 
>D74=<74F<5= E6<45F5?LEF64 > 4>?GE>5 > F4><< 6<44< D45>F;  

?> D5>>=EFDG>F<<, F5>GM5<G < >4?<F4?L=><G D5<>=FG =4E>4OM<EEO =4 
54?4=E5 744=<= < E>>DG65=<=, >>F>DO5 =5 >>47O64NF 6?<O=<5 =4 557>?4E=>EFL 
>5N5>F>6 >4?<F4?L=>7> EFD><F5?LEF64;  

?> >4?<5D>6>5 < ?>65D>5 ED54EF6 <7<5D5=<= =4 >E=>64=<< 4FF5EF4F4 
4>>D54<F4F<< < 6 E>>F65FEF6<< E >5?4EFLN 4>>D54<F4F<<;  

?> 4<47=>EF<>5 =5<E?D46=>EF5= < D5<>=FG ED54EF6 D44<>F5E=<G5E><E < 
D44<>M?5>FD>==OE <7<5D5=<=;  

?> ?D><76>4EF6G < <>45D=<74F<< ?>46<6=OE <7<5D<F5?L=OE ?45>D4F>D<=; 
70) 4D5=4G ?57>>6OE 46F><>5<?5= E 6>4<F5?5<; 
71) E44GG 6 4D5=4G =546<6<<>7> < 46<6<<>7> <<GM5EF64; 
72) 74>?NG5=<5 4>7>6>D>6 E>F<4?L=>7> =4=<4 6<?OE ?><5M5=<=, 4>7>6>D>6 

=4=<4 E?G655=OE 6<?OE ?><5M5=<=, ?D<=44?564M<E �D54?D<OF<N =4 ?D465 
E>7O=EF65==>7> 6545=<O, 6 ?>DO4>5, GEF4=>6?5==>< 45=EF6GNM<< 
74>>=>44F5?LEF6>< $>EE<=E>>= $545D4F<<; 

73) ?>?<7D4D<G5E>GN 45OF5?L=>EFL < ?D54>EF46?5=<5 GE?G7 6 MF>= >5?4EF<; 
74) D47D45>F>G, ?>445D6>G < D54?<74F<N ?D>7D4<<=>7> >55E?5G5=<O, F>< 

G<E?5 4?O ?D<<5=5=<O 6 ED5D5 E6O7< < <E?>?L7>64=<O D44<>G4EF>F=>7> E?5>FD4, $-% 
< �'', 4 F4>65 >>=EG?LF<D>64=<5 6 MF>= >5?4EF<;  

75) ?D><76>4EF6> >>=FD>?L=>-<7<5D<F5?L=OE ?D<5>D>6; 
76) >?F>6GN < D>7=<G=GN F>D7>6?N; 
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77) >>474=<5 ND<4<G5E><< < D<7<G5E><< ?<F4< >>=EG?LF4F<>==OE GE?G7, 
ND<4<G5E><E GE?G7 < ?D46>6>= ?><>M< 6 ED5D5 <=D>D<4F<>==OE F5E=>?>7<=, 
ED54EF6 <4EE>6>= <=D>D<4F<< < <4EE>6OE >><<G=<>4F<=, 6 >5?4EF< >5D45>F>< 
?5DE>=4?L=OE 44==OE, 4 F4>65 6 ED5D5 E6O7<, 6 F>< G<E?5 ?> 6>?D>E4<, E6O74==O< E 
>55E?5G5=<5< =44?564M57> <E?>?L7>64=<O D44<>G4EF>F <?< D44<>G4EF>F=OE 
>4=4?>6, $-% < �'' =4 F5DD<F>D<< $>EE<=E>>= $545D4F<<, 4 F4>65 =4 F5DD<F>D<<, 
=4E>4OM5=EO ?>4 ND<E4<>F<5= $>EE<=E>>= $545D4F<<;  

78) >>474=<5 >5D47>64F5?L=OE GE?G7, 6 F>< G<E?5: >5GG5=<5 =>6O< 
F5E=>?>7<O< 6 >5?4EF< E6O7<; D47D45>F>4 < 6=54D5=<5 GG55=OE ?D>7D4<<; 
?>6OL5=<5 >64?<D<>4F<< E?5F<4?<EF>6 6 >5?4EF< E6O7<; >D74=<74F<O < ?D>6545=<5 
?D>D5EE<>=4?L=>= ?>47>F>6>< < ?5D5?>47>F>6>< >44D>6; 

79) E>744=<5 < 6O44GG E5DF<D<>4F>6 >?NG5= ?D>65D>< M?5>FD>==OE ?>4?<E5=; 
80) D47D45>F>G (E>744=<5), ?D><76>4EF6>, ?>445D6>G, M>E??G4F4F<N, 

D4E?D>EFD4=5=<5 L<DD>64?L=OE (>D<?F>7D4D<G5E><E) ED54EF6, <=D>D<4F<>==OE 
E<EF5< < F5?5>><<G=<>4F<>==OE E<EF5<, 74M<M5==OE E <E?>?L7>64=<5< 
L<DD>64?L=OE (>D<?F>7D4D<G5E><E) ED54EF6;  

81) >5D45>F>G 44==OE, ?>?GG45<OE ?D< >>474=<< �D54?D<OF<5< GE?G7, 6 F>< 
G<E?5 E ?D<<5=5=<5< F5E=<G5E>>7> < ?D>7D4<<=>7> >55E?5G5=<O; 

82) E>744=<5 < <E?>?L7>64=<5 (M>E??G4F4F<O) 547 44==OE < <=D>D<4F<>==OE 
D5EGDE>6 (E<EF5<), 4 F4>65 >5D45>F>4 < ED4=5=<5 <=D>D<4F<<, E>45D64M5=EO 6 
5474E 44==OE <=D>D<4F<>==OE E<EF5<; 

83) 74M<FG 7>EG44DEF65==>= F4==O 6 E>>F65FEF6<< E 74>>=>44F5?LEF6>< 
$>EE<=E>>= $545D4F<<;  

84) ?D>6545=<5 D45>F, E6O74==OE E <E?>?L7>64=<5< E6545=<=, E>EF46?ONM<E 
7>EG44DEF65==GN F4==G < >55E?5G5=<5 74M<FO 7>EG44DEF65==>= F4==O 6 
E>>F65FEF6<< E 74>>=>44F5?LEF6>< $>EE<=E>>= $545D4F<<;  

85) E>744=<5 < DG=>F<>=<D>64=<5 &5=FD4 <>=<F>D<=74 < G?D46?5=<O E5FLN 
E6O7< >5M57> ?>?L7>64=<O; 

86) E>744=<5, M>E??G4F4F<N < D476<F<5 <=D>D<4F<>==>= E<EF5<O 
<>=<F>D<=74 < G?D46?5=<O E5FLN E6O7< >5M57> ?>?L7>64=<O;  

87) >D74=<74F<N < ?D>6545=<5 4=4?<74 E>EF>O=<O F5?56<7<>==>7> 65M4=<O < 
D44<>65M4=<O, 4 F4>65 ?D54>EF46?5=<O 4>EFG?4 > D57G?LF4F4< 4=4?<74;  

88) 6 ?>DO4>5, GEF4=>6?5==>< $>E>><=447>D><, >D74=<74F<>==OE < 
F5E=<G5E><E <5D, =5>5E>4<<OE 4?O D54?<74F<< $>E>><=447>D>< ?>?=><>G<=: 

?> ?D>6545=<N <>=<F>D<=74 6 F5?OE 6OO6?5=<O G7D>7 GEF>=G<6>EF<, 
557>?4E=>EF< < F5?>EF=>EF< DG=>F<>=<D>64=<O =4 F5DD<F>D<< $>EE<=E>>= 
$545D4F<< E5F< «�=F5D=5F» < E5F< E6O7< >5M57> ?>?L7>64=<O; 

?> <=D>D<<D>64=<N >?5D4F>D>6 E6O7<, E>5EF65==<>>6 <?< <=OE 6?445?LF56 
F5E=>?>7<G5E><E E5F5= E6O7<, E>5EF65==<>>6 <?< <=OE 6?445?LF56 F>G5> >5<5=4 
FD4D<>><, E>5EF65==<>>6 <?< <=OE 6?445?LF56 ?<=<= E6O7<, ?5D5E5>4NM<E 
7>EG44DEF65==GN 7D4=<FG  $>EE<=E>>= $545D4F<<, <=OE ?<F, 5E?< F4><5 ?<F4 
<<5NF G=<>4?L=O= <45=F<D<>4F>D E>6>>G?=>EF< ED54EF6 E6O7< < <=OE F5E=<G5E><E 
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ED54EF6 6 E5F< «�=F5D=5F», 6 E?GG45 6>7=<>=>65=<O G7D>7 GEF>=G<6>EF<, 
557>?4E=>EF< < F5?>EF=>EF< DG=>F<>=<D>64=<O =4 F5DD<F>D<<  $>EE<=E>>=  
$545D4F<< E5F<  «�=F5D=5F» < E5F< E6O7< >5M57> ?>?L7>64=<O; 

?> >EGM5EF6?5=<N F5=FD4?<7>64==>7> G?D46?5=<O ?GF5< G?D46?5=<O 
F5E=<G5E><<< ED54EF64<< ?D>F<6>45=EF6<O G7D>74< GEF>=G<6>EF<, 557>?4E=>EF< < 
F5?>EF=>EF< DG=>F<>=<D>64=<O =4 F5DD<F>D<< $>EE<=E>>= $545D4F<< E5F< 
«�=F5D=5F» < E5F< E6O7< >5M57> ?>?L7>64=<O < (<?<) ?GF5< ?5D544G< >5O74F5?L=OE 
> 6O?>?=5=<N G>474=<=; 

?> ?D54>EF46?5=<N =4 5576>7<574=>= >E=>65 >?5D4F>D4< E6O7< F5E=<G5E><E 
ED54EF6 ?D>F<6>45=EF6<O G7D>74< GEF>=G<6>EF<, 557>?4E=>EF< < F5?>EF=>EF< 
DG=>F<>=<D>64=<O =4 F5DD<F>D<< $>EE<=E>>= $545D4F<< E5F< «�=F5D=5F» < E5F< 
E6O7< >5M57> ?>?L7>64=<O; 

?> ?>?GG5=<N <=D>D<4F<< > D4>F<G5E>>< <5EF5 GEF4=>6>< F5E=<G5E><E 
ED54EF6 ?D>F<6>45=EF6<O G7D>74< GEF>=G<6>EF<, 557>?4E=>EF< < F5?>EF=>EF< 
DG=>F<>=<D>64=<O =4 F5DD<F>D<< $>EE<=E>>= $545D4F<< E5F< «�=F5D=5F» < E5F< 
E6O7< >5M57> ?>?L7>64=<O, ?D54>EF46?O5<>= >?5D4F>D4<< E6O7<, >>47O64NM<<< 
GE?G7< ?> ?D54>EF46?5=<N 4>EFG?4 > E5F< «�=F5D=5F»; 

89) >D74=<74F<>==O5 < F5E=<G5E><5 <5DO, =5>5E>4<<O5 4?O GG5F4 
<=D>D<4F<<, ?D54EF46?O5<>= 6 $>E>><=447>D, 6 F>< G<E?5: 

<=D>D<4F<< > =4G4?5 >EGM5EF6?5=<O 45OF5?L=>EF< ?> >55E?5G5=<N 
DG=>F<>=<D>64=<O F>G>< >5<5=4 FD4D<>><, ?D54>EF46?O5<>= E>5EF65==<>4<< <?< 
<=O<< 6?445?LF4<< F>G5> >5<5=4 FD4D<>><; 

<=D>D<4F<<, =5>5E>4<<>= 4?O 6545=<O D55EFD4 F>G5> FD4D<>4, =4?D46?O5<>= 
E>5EF65==<>4<< <?< <=O<< 6?445?LF4<< F>G5> >5<5=4 FD4D<>><; 

<=D>D<4F<<, ?D54>EF46?O5<>= >?5D4F>D4<< E6O7<, E>5EF65==<>4<< <?< <=O<< 
6?445?LF4<< F5E=>?>7<G5E><E E5F5= E6O7<, E>5EF65==<>4<< <?< <=O<< 6?445?LF4<< 
?<=<= E6O7<, ?5D5E5>4NM<E 7>EG44DEF65==GN 7D4=<FG $>EE<=E>>= $545D4F<<, 
<=O<< ?<F4<<, 5E?< F4><5 ?<F4 <<5NF G=<>4?L=O= <45=F<D<>4F>D E>6>>G?=>EF< 
ED54EF6 E6O7< < <=OE F5E=<G5E><E ED54EF6 6 E5F< «�=F5D=5F», >D74=<74F>D4<< 
D4E?D>EFD4=5=<O  <=D>D<4F<< 6 E5F< «�=F5D=5F» 6 E>>F65FEF6<< E ?G=>F4<< 1, 7,  
?>4?G=>F>< 4 ?G=>F4 8 < ?G=>F>< 11 EF4FL< 56.2 $545D4?L=>7> 74>>=4 «� E6O7<»; 

90) <7<5D5=<5 <=4GEFD<4?L=OE D44<>?><5E, 6>7=<>4NM<E ?D< 
M>E??G4F4F<< (D45>F5) F5E=<G5E><E ED54EF6; 

91) E5>D < D<>E4F<O <=D>D<4F<< >5 >5N5>F4E 46F>DE><E < (<?<) E<56=OE 
?D46 < (<?<) =5?>ED54EF65==> >5N5>F>6 46F>DE><E < (<?<) E<56=OE ?D46, 
D4E?D>EFD4=O5<OE 6 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==OE E5FOE, 6 F>< G<E?5 
6 E5F< «�=F5D=5F», E F5?LN 4=4?<74, 4 F4>65 6OO6?5=<O ?D<7=4>>6 
D4E?D>EFD4=5=<O 557 D47D5L5=<O ?D46>>5?444F5?O <?< <=>7> 74>>==>7> 
>E=>64=<O, 6 F>< G<E?5 6 D4<>4E 4>7>6>D=OE >F=>L5=<=; 

92) <EE?54>64=<5 DO=>4 <=D>D<4F<>==>= ?D>4G>F<<, ?><E> <=D>D<4F<< 
?> 7444==O< E6>=EF64< 6 ED54EF64E <4EE>6>= <=D>D<4F<< < (<?<) 
<=D>D<4F<>==>-F5?5>><<G=<>4F<>==OE E5FOE, 6 F>< G<E?5 6 E5F< «�=F5D=5F», 
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>F5=>4 D57G?LF4F>6 F4>>7> ?><E>4, 6 F>< G<E?5 6 D4<>4E 4>7>6>D=OE >F=>L5=<=; 
93) G?D46?5=<5 M>E??G4F4F<5= =56<?>7> D>=44 74 6>7=47D4645=<5 

<?< =4 4>7>6>D=>= >E=>65, 4 F4>65 >><??5>E=>5 >5E?G6<64=<5 ?><5M5=<=, 
6E>4OM<E 6 G>474==O= =56<?>= D>=4. 

 
II. ��������&'$� �$��'�&�� $�'� «�$'&» 

 

� D4<>4E >><<5DG5E>>= 45OF5?L=>EF< $�'� «�$'&» ?> >5D4M5=<O< 
74O6<F5?5= >>47O645F GE?G7< ?> ?D>6545=<N M>E?5DF<7O < >D>D<?5=<N 74>?NG5=<O 
M>E?5DF<7O > 6>7<>6=>EF< <E?>?L7>64=<O 74O6?5==OE $-% < <E -�% E 
45=EF6GNM<<< < ??4=<DG5<O<< 4?O <E?>?L7>64=<O $-% 7D4644=E>>7> =47=4G5=<O, 
E57>==><G ??4=<D>64=<N <E?>?L7>64=<O 6OE>>>G4EF>F=OE ?>?>E 4?O 
>EGM5EF6?5=<O D44<>65M4=<O, 6O?>?=5=<N D45>F ?> ?>47>F>6>5 < (<?<) M>E?5DF<75 
4>>G<5=F>6 4?O >55E?5G5=<O <564G=4D>4=>= ?D46>6>= 74M<FO ?D<E6>5=<= 
(=47=4G5=<=) D44<>G4EF>F <?< D44<>G4EF>F=OE >4=4?>6 4?O D44<>M?5>FD>==OE 
ED54EF6, ?D>6545=<N M>E?5DF<7O F5E=<G5E><E 7444=<= =4 D47D45>F>G 
D44<>M?5>FD>==OE ED54EF6 < (<?<) 6OE>>>G4EF>F=OE GEFD>=EF6 < F5E=<G5E><E 
GE?>6<= 4?O <E E5D<==>7> ?D><76>4EF64, ?D>6545=<N ?D>65D>< E>>F65FEF6<O 
F5E=<G5E><E E4D4>F5D<EF<> 66>7<<OE =4 F5DD<F>D<N $>EE<=E>>= $545D4F<< 
D44<>M?5>FD>==OE ED54EF6 < 6OE>>>G4EF>F=OE GEFD>=EF6 F5E=<G5E><< 
E4D4>F5D<EF<>4< < GE?>6<O< <E?>?L7>64=<O, GF65D645==O< D5L5=<O<< 
�>EG44DEF65==>= >><<EE<< ?> D44<>G4EF>F4<, 4 F4>65 >D>D<?5=<N 74>?NG5=<= > 
D57G?LF4F4E MF>= ?D>65D><, >D74=<74F<< < ?D>6545=<N =4FGD=OE <E?OF4=<= =4 
M?5>FD><47=<F=GN E>6<5EF<<>EFL $-%, <7<5D5=<N F5E=<G5E><E ?4D4<5FD>6 
D44<>M?5>FD>==OE ED54EF6 < 6OE>>>G4EF>F=OE GEFD>=EF6, <7<5D5=<N >>>D4<=4F 
75>457<G5E><E ?G=>F>6 < F>G5> 75<=>= ?>65DE=>EF< 6 <5EF4E GEF4=>6>< $-% (�'') 
< 4D.  

1) �4==O5 > >>?<G5EF65 ?>EFG?<6L<E 74O6>> < >>?<G5EF65 6O44==OE 
74>?NG5=<= M>E?5DF<7O (?>47>F>6?5==OE ??4=>6 G4EF>F=>-F5DD<F>D<4?L=>7> 
D47<5M5=<O $-% E>F<4?L=>-7=4G<<OE, >G?LFGD=>-<4EE>6OE < E?>DF<6=OE 
<5D>?D<OF<=) 74 2021-2022 7>4O ?D<6545=O 6 F45?<F5 1. 

&45?<F4 1 

�4<<5=>64=<5 =4?D46?5=<= D45>FO 
$�'� «�$'&» 

2021 7>4 2022 7>4 �7<5=5=<5 ?>>474F5?5=, % 
�>?-6> 

>5D4M5=<=, 
?>EF. =4 

M>E?5DF<7G, LF. 

�>?-6> 
6O44==OE 

74>?NG5=<=*, 
LF. 

�>?-6> 
>5D4M5=<=, 

?>EF. =4 
M>E?5DF<7G, LF. 

�>?-6> 
6O44==OE 

74>?NG5=<=*, 
LF. 

�>?-6> 
>5D4M5=<=, 

?>EF. =4 
M>E?5DF<7G, LF. 

�>?-6> 
6O44==OE 

74>?NG5=<=*, 
LF. 

1 2 3 4 5 6 7 
$-% ?>46<6=OE D44<>E?G65 12 810 12 261 12 485 12 151 -2,5 -0,9 
$-% D<>E<D>64==>= < E?GF=<>>6>= 
E?G65   

12 359 11 672 11 315 11 297 -8,4 -3,2 

$-% 65M4F5?L=OE < ?N5<F5?LE>>= 
D44<>E?G65  

1 888 1 773 1 332 1 281 -29,4 -27,7 

$-% E>F<4?L=>- 7=4G<<OE, 
>G?LFGD=>-<4EE>6OE < E?>DF<6=OE 
<5D>?D<OF<= 

152 152 63 61 -58,6 -59,9 

�F>7> ?> M>E?5DF<75 $-% 27 209 25 858 25 195 24 790 -7,4 -4,1 
* 4?O $-% E>F<4?L=>-7=4G<<OE, >G?LFGD=>-<4EE>6OE < E?>DF<6=OE <5D>?D<OF<= - ?>47>F>6?5==O5 ??4=O G4EF>F=>-

F5DD<F>D<4?L=>7> D47<5M5=<O $-% 
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�4==O5 > ED54=5= EF><<>EF< D45>F ?> >4=>= 6O?>?=5==>= 74O6>5 ?> 
M>E?5DF<75 -�% $-%, 6ODGG>4 >F >>474=<O >><<5DG5E><E GE?G7 $�'� «�$'&» 74 
2021-2022 7>4O ?D<6545=O 6 F45?<F5 2. 

&45?<F4 2 

�4<<5=>64=<5 =4?D46?5=<= 
D45>FO 

$�'� «�$'&» 

2021 7>4 2022 7>4 �7<5=5=<5 ?>>474F5?5=, % 
�ODGG>4 >F 
D54?<74F<< 
?D>4G>F<<, 

>>474=<O GE?G7, 
FOE. DG5. 

%D54=OO 
EF><<>EFL D45>F 
?> >4=>= 74O6>5, 

FOE. DG5. 

�ODGG>4 >F 
D54?<74F<< 
?D>4G>F<<, 

>>474=<O GE?G7, 
FOE. DG5. 

%D54=OO 
EF><<>EFL D45>F 
?> >4=>= 74O6>5, 

FOE. DG5. 

�ODGG>4 >F 
D54?<74F<< 
?D>4G>F<<, 

>>474=<O GE?G7 

%D54=OO 
EF><<>EFL 
D45>F ?> 

>4=>= 74O6>5 

1 2 3 4 5 6 7 
$-% ?>46<6=OE D44<>E?G65 3 070 584 250,4 2 207 435 181,7 -28,1 -27,5 
$-% D<>E<D>64==>= < 
E?GF=<>>6>= E?G65   

734 167 62,9 606 662 53,7 -17,4 -14,6 

$-% 65M4F5?L=OE < 
?N5<F5?LE>>= D44<>E?G65  

35 233 19,9 30 349 23,7 -13,9 19,2 

$-% E>F<4?L=>- 7=4G<<OE, 
>G?LFGD=>-<4EE>6OE < 
E?>DF<6=OE <5D>?D<OF<= 

9 909 65,2 3 172 52,0 -68 -20,2 

�D>G<5 (&� < &', GE?G7< '&, 
GE?G7< D<?<4?>6, ?D>G<5 
GE?G7<) 

88 692 - 103 988 - 17,2 - 

�F>7> ?> >><<5DG5E>>= 
45OF5?L=>EF< 

3 938 585 111,1 2 951 606 86,4 -25,1 -22,3 

 

�=4?<7 44==OE, ?D<6545==OE 6 F45?<F4E 1 < 2 < E4D4>F5D<7GNM<E >5N5< 
6O?>?=5==OE D45>F 6 =4FGD4?L=>< < 45=56=>< 6OD465=<<, E6<45F5?LEF6G5F > 
E?54GNM5<.  

1. '<5=LL5=<5 >>?<G5EF64 ?>EFG?<6L<E 74O6>> < >>?<G5EF64 6O44==OE 
74>?NG5=<= M>E?5DF<7O ?> <F>74< 2022 7>44 ?D5<<GM5EF65==> >5GE?>6?5=> 
=54DG65EF65==O<< < ?D>F<6>D5G4M<<< <564G=4D>4=><G ?D46G 45=EF6<O<< 
%>54<=5==OE ,F4F>6 �<5D<>< < ?D<<>=G6L<E > =<< <=>EFD4==OE 7>EG44DEF6 < 
<564G=4D>4=OE >D74=<74F<=, E6O74==O<< E 66545=<5< >7D4=<G<F5?L=OE <5D 6 
>F=>L5=<< 7D4644= $>EE<=E>>= $545D4F<< < D>EE<=E><E ND<4<G5E><E ?<F, 6 F>< 
G<E?5, E >7D4=<G5=<5< ?>EF46>> F5?5>><<G=<>4F<>==>7> >5>DG4>64=<O.  � E6O7< E 
MF<< >?5D4F>DO E6O7< $>EE<=E>>= $545D4F<< 6O=G645=O 6=>E<FL <7<5=5=<O 6 
??4=O D476<F<O E5F5=, E>>D4M4FL <=65EF<F<< 6 <>45D=<74F<N < D476<F<5 E5F5=, GF> 
6 E6>N >G5D54L 6?<O5F =4 >>?<G5EF6> D44<>G4EF>F=OE 74O6>>, ?>EFG?4NM<E 6 $�'� 
«�$'&», < 6O44==OE 74>?NG5=<= M>E?5DF<7O M?5>FD><47=<F=>= E>6<5EF<<>EF<. 

'<5=LL5=<5 ?>EFG?<6L<E >5D4M5=<= ?> D<>E<D>64==>= E?GF=<>>6>= E?G655 
F4>65 >5GE?>6?5=> ?>EF5?5==O< 7465DL5=<5< $�'� «$&$%» D45>F ?> >D>D<?5=<N 
D47D5L<F5?L=OE 4>>G<5=F>6 4?O 75<=OE EF4=F<= E?GF=<>>6>= E6O7<, 
?D54=47=4G5==OE 4?O E?GF=<>>6>7> E57<5=F4 FD4=E?>DF=>= E5F< 1-7> < 2-7> 
<G?LF<??5>E>6 F<DD>6>7> F5?56<7<>==>7> 65M4=<O. 

'<5=LL5=<5 ?>EFG?<6L<E >5D4M5=<= ?> ?D>6545=<N M>E?5DF<7O -�% 4?O 
$-% E>F<4?L=>-7=4G<<OE, >G?LFGD=>-<4EE>6OE < E?>DF<6=OE <5D>?D<OF<= E6O74=> 
E D5L5=<O<< �564G=4D>4=>7> >?<<?<=E>>7> >><<F5F4 < DO44 <564G=4D>4=OE 
E?>DF<6=OE D545D4F<= >5 >F>475 >F ?D>6545=<O <564G=4D>4=OE E>D56=>64=<= =4 
F5DD<F>D<< $>EE<=E>>= $545D4F<<. 

2. $47?<G<O 6 >>?<G5EF65 6O44==OE 74>?NG5=<= M>E?5DF<7O < >>?<G5EF65 
>5D4M5=<= 74O6<F5?5= >5GE?>6?5=O 46G<O >5EF>OF5?LEF64<<: 6>-?5D6OE, =5 6E5 
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>5D4M5=<O <<5NF ?>?>6<F5?L=O= D57G?LF4F M>E?5DF<7O -�% 6 E6O7< E 
>FD<F4F5?L=O<< D57G?LF4F4<< D4EG5F>6 -�% $-%, F. 5. ?> D57G?LF4F4< D4EG5F>6 
6OO6?O5FEO =56>7<>6=>EFL >55E?5G5=<O -�% 74O6?5==OE $-% E 45=EF6GNM<<< < 
??4=<DG5<O<< 4?O <E?>?L7>64=<O $-% < D45>F4 ?> 74O6>5 ?D5>D4M45FEO 557 
>D>D<?5=<O 74>?NG5=<O M>E?5DF<7O, <, 6>-6F>DOE, E4<< 74O6<F5?< >F7O64NF 
(>5D4M4NFEO E ?D>EL5>= 4==G?<D>64FL) D4=55 =4?D46?5==O5 74O6><.  

3. %=<65=<5 ED54=5= EF><<>EF< D45>F ?> >4=>= 74O6>5 6 2022 7>4G ?> 
ED46=5=<N E 2021 7>4>< 6 G4EF< EGE>?GF=>= ?>46<6=>= E?G65O, D<>E<D>64==>= < 
E?GF=<>>6>= E?G65 E6O74=> E G<5=LL5=<5< ED54=57> >>?<G5EF64 $-% 6 
D44<>G4EF>F=>= 74O6>5, 4 F4>65 G65?<G5=<5< 4>?< $-%, =5 FD55GNM<E ?D>6545=<O 
D4EG5F>6 -�% E $-% 7D4644=E>>7> =47=4G5=<O.  

� F>65 6D5<O =45?N445FEO G65?<G5=<5 ED54=5= EF><<>EF< D45>F ?> >4=>= 
74O6>5 6 G4EF< $-% 65M4F5?L=OE < ?N5<F5?LE>>= D44<>E?G65, >>F>D>5 E6O74=> E 
=5>>F>DO< G65?<G5=<5< 4>?< D44<>G4EF>F=OE 74O6>> $-% 65M4F5?L=>= E?G65O, 
FD55GNM<E ?D>6545=<O D45>F ?> D4EG5FG -�% E $-% 7D4644=E>>7> =47=4G5=<O. 

2) �4==O5 ?> >>?<G5EF65==O< ?>>474F5?O< E4<OE 6>EFD55>64==OE GE?G7, 
?D54>EF46?O5<OE D<?<4?4<< $�'� «�$'&» ?>?L7>64F5?O< D44<>G4EF>F=>7> 
E?5>FD4, ?D54EF46?5=O 6 F45?<F5 3. 

&45?<F4 3 
7 ?/? �4<<5=>64=<5 ?>>474F5?O 2021 7>4 2022 7>4 

1 2 3 4 

1. 
�>?<G5EF6> ?D>6545==OE =4FGD=OE <E?OF4=<= =4 
M?5>FD><47=<F=GN E>6<5EF<<>EFL D44<>M?5>FD>==OE ED54EF6, LF. 

100/68* 73/57* 

2.  �>?<G5EF6> <7<5D5==OE F5E=<G5E><E ?4D4<5FD>6 $-% < �'', LF. 2256 3141 

3. 

�>?<G5EF6> >D>D<?5==OE 74>?NG5=<= > D57G?LF4F4E ?D>65D>< 
E>>F65FEF6<O F5E=<G5E><E E4D4>F5D<EF<> 66>7<<OE =4 F5DD<F>D<N 
$>EE<=E>>= $545D4F<< D44<>M?5>FD>==OE ED54EF6 < 
6OE>>>G4EF>F=OE GEFD>=EF6 F5E=<G5E><< E4D4>F5D<EF<>4< < 
GE?>6<O< <E?>?L7>64=<O, GF65D645==O< D5L5=<O<< 
�>EG44DEF65==>= >><<EE<< ?> D44<>G4EF>F4<, LF. 

967 600 

4. 
�>?<G5EF6> >?D545?5=<= >>>D4<=4F 75>457<G5E><E ?G=>F>6 < F>G5> 
75<=>= ?>65DE=>EF< 6 <5EF4E GEF4=>6>< $-% (�''), LF. 

594 466 

*6E57> =4FGD=OE <E?OF4=<=/=4FGD=OE <E?OF4=<= E $-% 7D4644=E>>7> =47=4G5=<O 
 

�=4?<7 44==OE, ?D<6545==OE 6 F45?<F5 3, ?>>47O645F E?54GNM55. 
� F5?OE >55E?5G5=<O M?5>FD><47=<F=>= E>6<5EF<<>EF< D44<>M?5>FD>==OE 

ED54EF6 $�'� «�$'&» 6 2022 7>4G ?D<=OF> GG4EF<5 6 73 =4FGD=OE <E?OF4=<OE 
74O6?5==OE D44<>M?5>FD>==OE ED54EF6. �7 =<E >D74=<7>64=> < ?D>6545=> 57 
=4FGD=OE <E?OF4=<= E $-% 7D4644=E>>7> =47=4G5=<O < ?D<=OF> GG4EF<5 6 16 
=4FGD=OE <E?OF4=<OE E $-%, <E?>?L7G5<O<< 4?O =G64 >D74=>6 7>EG44DEF65==>= 
6?4EF< < 557>?4E=>EF< 7>EG44DEF64. �4==O5 ?>>474F5?< 6 2022 7>4G E6<45F5?LEF6GNF 
> =5>>F>D>< E=<65=<< 6>EFD55>64==>EF< GE?G7< ?> ED46=5=<N E 2021 7>4>< 
6E?54EF6<5 E=<65=<O 4<=4<<>< D476<F<O E5F5= E6O7<. 

� E>>F65FEF6<< E ?>EF4=>6?5=<5< �D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 14 
<4O 2014 7. 7 434 «� D44<>G4EF>F=>= E?G655» < ?D<>47>< �<=>><E6O7< $>EE<< >F 
23.03.2016 7 118 «�5 GF65D645=<< ?>DO4>4 6O44G< < D>D<O 74>?NG5=<O > 



15 

E>>F65FEF6<< F5E=<G5E><E E4D4>F5D<EF<> 66>7<<OE =4 F5DD<F>D<N $>EE<=E>>= 
$545D4F<< D44<>M?5>FD>==OE ED54EF6 < 6OE>>>G4EF>F=OE GEFD>=EF6 7D4644=E>>7> 
=47=4G5=<O F5E=<G5E><< E4D4>F5D<EF<>4< < GE?>6<O< <E?>?L7>64=<O, 
GF65D645==O< D5L5=<O<< �>EG44DEF65==>= >><<EE<< ?> D44<>G4EF>F4<» $�'� 
«�$'&» 6 2022 7>4G >D>D<?5=> < 6O44=> ?> D57G?LF4F4< <=EFDG<5=F4?L=>= 
?D>65D>< E>>F65FEF6<O 600 74>?NG5=<= > E>>F65FEF6<< F5E=<G5E><E E4D4>F5D<EF<> 
66>7<<OE $-% < �'' F5E=<G5E><< E4D4>F5D<EF<>4< < GE?>6<O< <E?>?L7>64=<O, 
GF65D645==O< D5L5=<O<< ��$'. 

'<5=LL5=<5 6 2022 7>4G ?D><76>4EF65==OE ?>>474F5?5= ?> ?D54>EF46?5=<N 
GE?G7< ?> ?D>65D>5 E>>F65FEF6<O F5E=<G5E><E E4D4>F5D<EF<> 66>7<<OE =4 
F5DD<F>D<N $>EE<=E>>= $545D4F<< D44<>M?5>FD>==OE ED54EF6 < 6OE>>>G4EF>F=OE 
GEFD>=EF6 F5E=<G5E><< E4D4>F5D<EF<>4< < GE?>6<O< <E?>?L7>64=<O, GF65D645==O< 
D5L5=<O<< ��$', >5GE?>6?5=> E=<65=<5< <<?>DF4 F5?5>><<G=<>4F<>==>7> 
>5>DG4>64=<O 6 E6O7< E =54DG65EF65==O<< < ?D>F<6>D5G4M<<< <564G=4D>4=><G 
?D46G 45=EF6<O<< %>54<=5==OE ,F4F>6 �<5D<>< < ?D<<>=G6L<E > =<< 
<=>EFD4==OE 7>EG44DEF6 < <564G=4D>4=OE >D74=<74F<=, E6O74==O<< E 66545=<5< 
>7D4=<G<F5?L=OE <5D 6 >F=>L5=<< 7D4644= $>EE<=E>>= $545D4F<< < D>EE<=E><E 
ND<4<G5E><E ?<F. 

� 2022 7>4G 5O?> ?D>6545=> 466 >?D545?5=<= >>>D4<=4F 75>457<G5E><E 
?G=>F>6 < F>G5> 75<=>= ?>65DE=>EF< 6 <5EF4E GEF4=>6>< $-% (�''), GF> 5>?55 G5< 
=4 21% <5=LL5 ?>>474F5?5= 2021 7>44. 

'<5=LL5=<5 ?D><76>4EF65==OE ?>>474F5?5= ?> ?D54>EF46?5=<N GE?G7< ?> 
>?D545?5=<N >>>D4<=4F 75>457<G5E><E ?G=>F>6 < F>G5> 75<=>= ?>65DE=>EF< 6 
<5EF4E GEF4=>6>< $-% (�'') E6O74=> E> E=<65=<5< >>?<G5EF64 D47D5L5=<= =4 
<E?>?L7>64=<5 D44<>G4EF>F <?< D44<>G4EF>F=OE >4=4?>6, ?D< >D>D<?5=<< >>F>DOE 
FD55G5FEO GF>G=5=<5 75>7D4D<G5E><E >>>D4<=4F 4> G7?>6OE E5>G=4. 

�<5EF5 E F5< ?> ED46=5=<N E 2021 7>4>< 6 2022 7>4G ?>GF< =4 40% 6>7D>E?> 
>>?<G5EF6> ?D>6545==OE <7<5D5=<= F5E=<G5E><E ?4D4<5FD>6 $-% < �'', GF> 
7>6>D<F > 6>EFD55>64==>EF< GE?G7<. 

3) �> <F>74< >FG5F=>7> 7>44 E>6>>G?=4O 6ODGG>4 >F D54?<74F<< ?> 6E5< 6<44< 
>><<5DG5E>>= 45OF5?L=>EF< E=<7<?4EL 5>?55 G5< =4 25% ?> ED46=5=<N E 
?D54O4GM<< 7>4><. 

�=4?<7 ?>EFG??5=<= 45=56=OE ED54EF6 74 2021 < 2022 7>4O ?>>47O645F, GF> 
>E=>6=4O G4EFL 4>E>4>6 >F ?D>6545=<O D45>F ?> M>E?5DF<75 -�% >55E?5G<645FEO 74 
EG5F «5>?LL>= G5F65D><» >?5D4F>D>6 E>F>6>= E6O7<: ��� «&2 �>54=?», ��� 
«�&%», ��� «�O<?5?�><» < ��� «�574$>=». 

�4==O5 > 4>E>44E >F ?D>6545=<O D45>F ?> M>E?5DF<75 -�% $-% «5>?LL>= 
G5F65D><» >?5D4F>D>6 E>F>6>= E6O7< < ��� «$>EF5?5>><» 74 2021-2022 7>4O 
?D<6545=O 6 F45?<F5 4. 
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&45?<F4 4 

�?5D4F>D E6O7< 

2021 7>4  2022 7>4 
�7<5=5=<5 

?>>474F5?5=, % �ODGG>4, FOE. DG5. 
 557 GG5F4 ��% 

% >F >5M5= 
6ODGG>< 

$�'� «�$'&» 

�ODGG>4,  
FOE. DG5. 

 557 GG5F4 ��% 

% >F >5M5= 6ODGG>< 
$�'� «�$'&» 

��� «&2 �>54=?» 996 471 25% 716 882 24% -28,1 
��� «�&%» 623 055 16% 470 168 16% -24,5 

��� «�O<?5?�><» 813 722 21% 591 685 20% -27,3 
��� «�574$>=» 521 311 13% 579 163 19,6% 11,1 

��� «$>EF5?5>><» 574 335 15% 213 572 7% -62,8 
�F>7>: 3 528 895 90% 2 571 470 87% -27,1 

�5M4O 6ODGG>4 
$�'� «�$'&» 

3 938 585   2 951 606   -25,1 

 

� 2022 7>4G 4>F<6=>EFL >DG?=5=L<E >?5D4F>D>6 E>F>6>= E6O7< 6 >F=>L5=<< 
=4?D46?5=<O D44<>G4EF>F=OE 74O6>> =4 ?D>6545=<5 M>E?5DF<7O M?5>FD><47=<F=>= 
E>6<5EF<<>EF< E4D4>F5D<7>64?4EL E?54GNM<<< ?>>474F5?O<<: 

��� «&2 �>54=?» =4?D46<?> 5531 D44<>G4EF>F=GN 74O6>G, GF> =4 8% <5=LL5 
?>>474F5?5= 2021 7>44 (6020 D44<>G4EF>F=OE 74O6>>); 

��� «�&%» =4?D46<?> 3289 D44<>G4EF>F=OE 74O6>>, GF> =4 16% <5=LL5 
?>>474F5?5= 2021 7>44 (3921 D44<>G4EF>F=4O 74O6>4);  

��� «�O<?5?>><» =4?D46<?> 6 2022 7>4G 4413 D44<>G4EF>F=OE 74O6>>, GF> 
=4 15% 6OL5 ?>>474F5?5= 2021 7>44 (3849 D44<>G4EF>F=OE 74O6>>); 

��� «�574D>=» =4?D46<?> 6 2022 7>4G 5231 D44<>G4EF>F=GN 74O6>G, GF> =4 
4% 6OL5 ?>>474F5?5= 2021 7>44 (5035 D44<>G4EF>F=OE 74O6>>). 

&4>65 =4 E=<65=<5 6ODGG>< 2022 7>44 ?>6?<O?> G<5=LL5=<5 =4 21% 
>>?<G5EF64 =4?D46?5==OE D44<>G4EF>F=OE 74O6>> ��� «$>EF5?5>><» (74 2022 7>4 
972 D44<>G4EF>F=O5 74O6><, 74 2021 7>4 1232 D44<>G4EF>F=O5 74O6><). 

4) �D54?D<OF<5 ?>EF>O==> ?D>6>4<F D45>FO ?> E>65DL5=EF6>64=<N < 
G=<D<>4F<< F5= < =><5=>?4FGDO ?D54>EF46?O5<OE GE?G7 6 F5?OE G65?<G5=<O 
«?D>7D4G=>EF<» F5= =4 >>47O645<O5 GE?G7< < >55E?5G5=<O <4>E<<4?L=>7> 
E>>F65FEF6<O 45=EF6GNM5= =><5=>?4FGDO GE?G7 ?D54?D<OF<O E4D4>F5DG ?>44645<OE 
>5D4M5=<= 74O6<F5?5=.  

&4> 6 2022 7>4G $�'� «�$'&» ?>47>F>6<? < =4?D46<? =4 E>7?4E>64=<5 6 
$>E>><=447>D 4?O 44?L=5=L57> D4EE<>FD5=<O �<=<EF5DEF6>< F<DD>6>7> D476<F<O, 
E6O7< < <4EE>6OE >><<G=<>4F<= $>EE<=E>>= $545D4F<< <4F5D<4?O 4?O 
GF65D645=<O =>6>= D544>F<< �5F>4<>< >?D545?5=<O D47<5D4 ??4FO 74 >>474=<5 
??4F=>= GE?G7< ?> M>E?5DF<75 6>7<>6=>EF< <E?>?L7>64=<O 74O6?5==OE 
D44<>M?5>FD>==OE ED54EF6 < <E M?5>FD><47=<F=>= E>6<5EF<<>EF< E 45=EF6GNM<<< 
< ??4=<DG5<O<< 4?O <E?>?L7>64=<O D44<>M?5>FD>==O<< ED54EF64<< (44?55 - ?D>5>F 
�5F>4<><).  

�D>5>F �5F>4<>< ?D54?4745FEO > D4EE<>FD5=<N 6 F5?OE ?5D5E<>FD4 
45=EF6GNM<E D47<5D>6 ??4FO ?> MF4?4< >>474=<O ??4F=>= GE?G7< ?> M>E?5DF<75 
6>7<>6=>EF< <E?>?L7>64=<O 74O6?5==OE D44<>M?5>FD>==OE ED54EF6 < <E 
M?5>FD><47=<F=>= E>6<5EF<<>EF< E 45=EF6GNM<<< < ??4=<DG5<O<< 4?O 
<E?>?L7>64=<O D44<>M?5>FD>==O<< ED54EF64<< (44?55 3 ?D545?L=O5 D47<5DO ??4FO, 
M>E?5DF<74 M?5>FD><47=<F=>= E>6<5EF<<>EF< E>>F65FEF65==>), GF65D645==OE 
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45=EF6GNM5= �5F>4<>>= >?D545?5=<O D47<5D4 ??4FO 74 >>474=<5 ??4F=>= GE?G7< ?> 
M>E?5DF<75 6>7<>6=>EF< <E?>?L7>64=<O 74O6?5==OE D44<>M?5>FD>==OE ED54EF6 < <E 
M?5>FD><47=<F=>= E>6<5EF<<>EF< E 45=EF6GNM<<< < ??4=<DG5<O<< 4?O 
<E?>?L7>64=<O D44<>M?5>FD>==O<< ED54EF64<<, GF65D645==>= ?D<>47>< 
�<=<EF5DEF64 E6O7< < <4EE>6OE >><<G=<>4F<= $>EE<=E>>= $545D4F<< >F 
26.12.2011 7 355 (44?55 3 45=EF6GNM4O �5F>4<>4), E GG5F>< ?D<<5=5=<O <=45>E>6 
45D?OF>D>6 2020 < 2022 77., GF> ?>76>?O5F <7<5=<FL ?D545?L=O5 D47<5DO ??4FO ?> 
MF4?4< >>474=<O ??4F=>= GE?G7< ?> M>E?5DF<75 M?5>FD><47=<F=>= E>6<5EF<<>EF< 6 
EF>D>=G G65?<G5=<O =4 13,74%. 

&4>65 ?D>5>F>< �5F>4<>< ?D54?474NFEO >>DD5>F<D>6>< E GG5F>< 6OO6?5==OE 
6 E>45 ?D<<5=5=<O 45=EF6GNM5= �5F>4<>< GF>G=5=<=, E6O74==OE E 6EFG??5=<5< 6 
E<?G >F45?L=OE D5L5=<= ��$', 6 F>< G<E?5 D5L5=<O ��$' >F 15.04.2019 7 19-49-
02 «�5 GF>G=5=<< GE?>6<= <E?>?L7>64=<O D44<>M?5>FD>==OE ED54EF6 EF4=44DF4 LTE 
< ?>E?54GNM<E 57> <>4<D<>4F<=», 6 G4EF<: 

- >>DD5>F<D>6>< (GF>G=5=<O) =4<<5=>64=<= F5E=>?>7<G5E><E >?5D4F<= 6 
F5?OE ?D<6545=<O 6 E>>F65FEF6<5 45=EF6GNM<< =>D<4F<6=O< ?D46>6O< 4>F4<; 

- >>DD5>F<D>6>< 65?<G<= FDG4>74FD4F =5>>F>DOE F5E=>?>7<G5E><E >?5D4F<= < 
>>MDD<F<5=F>6 > =<<, 6 F>< G<E?5 6 E>>F65FEF6<< E D5L5=<5< ��$' >F 15.04.2019 
7 19-49-02, GEF4=46?<64NM<< L<D<=G <E?>?L7G5<>7> >4=4?4 E5F< EF4=44DF4 LTE >F 
1 ��F 4> 20 ��F; 

- 66545=<O =>6OE F5E=>?>7<G5E><E >?5D4F<= < >>DD5>F<DGNM<E 
>>MDD<F<5=F>6 > =<<, 6 F>< G<E?5 6 F5?OE GEF4=>6?5=<O FDG4>74FD4F 4?O >>474=<O 
GE?G7< ?> M>E?5DF<75 -�% E5F5= E6O7< ?OF>7> ?>>>?5=<O. 

�D><5 F>7>, F5?LN ?D>5>F4 ?D<>474 >5 GF65D645=<< �5F>4<>< O6?O5FEO 
GEF4=>6?5=<5 ED>>4 ?D54EF46?5=<O >G5D54=OE ?D54?>65=<= ?> ?5D5E<>FDG 
?D545?L=OE D47<5D>6 ??4FO. 

 
III. %&$'�&'$�/� ��������/ � ���/% &���$�/% $/���� 

 

�=F5=E<6=>5 D476<F<5 6E5E ED5D 6<7=< >5M5EF64, D>EF FD55>64=<= > 
?D>7D4G=>EF< 45OF5?L=>EF< ?D54?D<OF<O, > >4G5EF6G < >?5D4F<6=>EF< >>474=<O 
GE?G7, 6=54D5=<5 E<EF5< M?5>FD>==>7> 674<<>45=EF6<O < 4>>G<5=F>>5>D>F4, =>6OE 
<=D>D<4F<>==OE F5E=>?>7<= 6> 6E5 ED5DO 5<7=5E4, 7>EG44DEF65==>7> G?D46?5=<O < 
>5M5EF65==>= 6<7=< O6?O5FEO >E=>6=>= F5=45=F<5= 6 EF4=>6?5=<< 
<=D>D<4F<>==>7> >5M5EF64. 

�>FD55<F5?LE><= E?D>E =4 GE?G7< ?D54?D<OF<O >?D545?O5FEO DO4>< D4>F>D>6, 
646=5=L<< <7 =<E O6?O5FEO 6>7D4EF4=<5 FD55>64=<= ?>?L7>64F5?5= > >4G5EF6G GE?G7 
E6O7<, < >4> E?54EF6<5, > >4G5EF6G >55E?5G5=<O =44?564M57> <E?>?L7>64=<O 
D44<>G4EF>F < E>>F65FEF6GNM<E $-% < (<?<) �'' 7D4644=E>>7> =47=4G5=<O. 

� E>>F65FEF6<< E FD55>64=<O<< $545D4?L=>7> 74>>=4 «� E6O7<» $�'� 
«�$'&» 6 2022 7>4G ?D>6>4<?> >><??5>E <5D>?D<OF<= < D45>F ?> >55E?5G5=<N 
=44?564M57> <E?>?L7>64=<O D44<>G4EF>F=>7> E?5>FD4 < D44<>M?5>FD>==OE ED54EF6. 

�> E>EF>O=<N =4 >>=5F 2022 7>44 =4 F5DD<F>D<< $>EE<=E>>= $545D4F<< 
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M>E??G4F<DG5FEO 5>?55 2,62 <?=. $-% D47?<G=OE E?G65 D44<>E6O7<. �5M55 
>>?<G5EF6> 45=EF6GNM<E =4 >>=5F 2022 7>44 $-% G65?<G<?>EL ?> ED46=5=<N E 
>>=F>< 2021 7>4>< 5>?55 G5< =4 187 FOE. $-% (=4 7,71%). 

 

 
 

�DG??<D>6>4 $-% ?> F5DD<F>D<O< D545D4?L=OE >>DG7>6 $>EE<=E>>= 
$545D4F<< E4D4>F5D<7G5FEO =5D46=><5D=>= ??>F=>EFLN D47<5M5=<O. �E=>6=>5 
>>?<G5EF6> $-% E>ED54>F>G5=> 6 44<<=<EFD4F<6=OE F5=FD4E D57<>=>6, 
M>>=><<G5E>< D476<FOE 7>D>44E < >DG?=OE ?D><OL?5==OE F5=FD4E, 4 F4>65 64>?L 
46F><>5<?L=OE 4>D>7 D545D4?L=>7> 7=4G5=<O. 

� E>>F65FEF6<< E FD55>64=<O<< $545D4?L=>7> 74>>=4 «� E6O7<» $�'� 
«�$'&» 6 2022 7>4G 6 ?>?=>< >5N5<5 6O?>?=5= >><??5>E <5D>?D<OF<= < D45>F ?> 
>55E?5G5=<N =44?564M57> <E?>?L7>64=<O D44<>G4EF>F=>7> E?5>FD4 4?O 5>?55 2,62 
<?=. D44<>M?5>FD>==OE ED54EF6 D47?<G=OE E?G65 D44<>E6O7<, 45=EF6GNM<E =4 
F5DD<F>D<< $>EE<=E>>= $545D4F<<. 

$4E?D545?5=<5 45=EF6GNM<E D44<>M?5>FD>==OE ED54EF6 =4 F5DD<F>D<< 
$>EE<=E>>= $545D4F<< ?> E>EF>O=<N =4 01.01.2023 ?D54EF46?5=> =4 D<EG=>5. 

 

 
$<EG=>>. $4E?D545?5=<5 45=EF6GNM<E D44<>M?5>FD>==OE ED54EF6 =4 

F5DD<F>D<< $>EE<=E>>= $545D4F<< ?> E>EF>O=<N =4 01.01.2023 
 

2021 7. 2022 7.

2 438 710 2 626 691

�<=4<<>4 <7<5=5=<O >>?<G5EF64 45=EF6GNM<E $-%

+7,71%
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�4<5>?LL55 >>?<G5EF6> $-% M>E??G4F<DG5FEO 6 &5=FD4?L=>< D545D4?L=>< 
>>DG75. -F> E6O74=> E E4<>= 6OE>>>= 6 $>EE<< G<E?5==>EFLN < ??>F=>EFLN 
=4E5?5=<O, ?<4<DGNM<< ?>?>65=<5< ?> >E=>6=O< D>=44< M>>=><<><, 
?D><OL?5==><G < E5?LE>>E>7O=EF65==><G ?D><76>4EF6G, 6O7>4=O< M>>=><<>>-
75>7D4D<G5E><< ?>?>65=<5<, D476<F>= <=DD4EFDG>FGD>= < E>744==O< 
?D><76>4EF65==O< < =4GG=>-F5E=<G5E><< ?>F5=F<4?><. 

�>F<6=> D476<645FEO F5?5>><<G=<>4F<>==O= DO=>> =4 F5DD<F>D<OE 
$5E?G5?<>< �DO< < 7>D>44 D545D4?L=>7> 7=4G5=<O %564EF>?>?O. 

�=4?<7 D476<F<O DO=>4 ?>>47O645F, GF> E GG5F>< D4EFGM5= ?>FD55=>EF< 6 
GE?G74E ?5D544G< 44==OE < D4E?D>EFD4=5=<O FO65?>7> >>=F5=F4 (6<45>, E5F56O5 
<7DO < F.4.) ?>FD55G5FEO 6=54D5=<5 F5E=>?>7<=, ?>445D6<64NM<E 5>?55 6OE>><5 
E>>D>EF<, =<7>GN 7445D6>G < G?GGL5==GN DG=>F<>=4?L=>EFL ?> ED46=5=<N E 
F5E=>?>7<O<<, 4>EFG?=O<< 6 =4EF>OM55 6D5<O. 

�F<5G45FEO >5M4O F5=45=F<O ?> >5N54<=5=<N >?5D4F>D4<< E6O7< 
D<>E<D>64==OE < <>5<?L=OE E5F5= E6O7<, <=F57D<D>64=<N F5?5D>=<< < ?5D544G< 
44==OE, E>54<=5=<N IP-E5F5= < E5F5= E >><<GF4F<5= >4=4?>6, ?D< MF>< E=<645FEO 
EF><<>EFL M>E??G4F4F<< E5F5=, ?>6OL45FEO <E 7<5>>EFL, G?D>M45FEO 6=54D5=<5 
=>6OE GE?G7. 

�>-?D56=5<G =45?N445FEO D>EF G<E?4 547>6OE EF4=F<= <>5<?L=>= E6O7< 
EF4=44DF>6 GSM, UMTS < LTE. �> ED46=5=<N E 2021 7>4>< >>?<G5EF6> 
45=EF6GNM<E $-% EF4=44DF>6 GSM, UMTS < LTE 6OD>E?> =4 0,7%, 2,58% < 22,73% 
E>>F65FEF65==>. 

 
 

 

2021 7. 2022 7.

281 763 283 749

�<=4<<>4 <7<5=5=<O >>?<G5EF64 45=EF6GNM<E $-% EF4=44DF4 
GSM

+0,7%

2021 7. 2022 7.

228 127 234 020

�<=4<<>4 <7<5=5=<O >>?<G5EF64 45=EF6GNM<E $-% EF4=44DF4 
UMTS

+2,58%
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� E>>F65FEF6<< E <564G=4D>4=O<< E>7?4L5=<O<< 6 $>EE<=E>>= $545D4F<< 
7465DL5= ?5D5E>4 =4 <E?>?L7>64=<5 F<DD>6OE F5E=>?>7<= 6 F5?5D44<>65M4=<<. 
�>?<G5EF6> 45=EF6GNM<E $-% 4=4?>7>6>7> F5?5D44<>65M4=<O 6 2022 7>4G 
E=<7<?>EL =4 11,23%. 

� >>=FG 2022 7>44 =4EG<FO64?>EL 5>?55 1 700 6?445?LF56 $-% 
F5?5D44<>65M4=<O. �DG?=5=L<< <7 =<E >EF45FEO $�'� «$&$%», >>F>D><G 
?D<=44?56<F 65,7% ?5D544FG<>>6 F5?5D44<>65M4=<O, 45=EF6GNM<E =4 F5DD<F>D<< 
$>EE<=E>>= $545D4F<<. 

 

 

2021 7. 2022 7.

519 871
638 037

�<=4<<>4 <7<5=5=<O >>?<G5EF64 45=EF6GNM<E $-% EF4=44DF4 
LTE

+22,73%

2021 7. 2022 7.

11 429
10 145

�<=4<<>4 <7<5=5=<O >>?<G5EF64 45=EF6GNM<E $-% 4=4?>7>6>7> 
&� < $�

-11,23%
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� 2022 7>4G >F<5G5=> G65?<G5=<5 55E?D>6>4=>7> L<D>>>?>?>E=>7> 4>EFG?4. 
�>?<G5EF6> $-% 55E?D>6>4=>7> L<D>>>?>?>E=>7> 4>EFG?4 G65?<G<?>EL =4 1%. 

 
 
 
 
 

 
 
 
 

�>?<G5EF6> 75<=OE EF4=F<= E?GF=<>>6>= E6O7< =4 F5DD<F>D<< $>EE<=E>>= 
$545D4F<< 6 2022 7>4G G65?<G<?>EL =4 9,16%. 

 
 
 
 
 

 
 
 

2021 7. 2022 7.

10 316 10 182

�<=4<<>4 <7<5=5=<O >>?<G5EF64 45=EF6GNM<E $-% F<DD>6>7> 
&� < $�

-1,30%

2021 7. 2022 7.

106 029 107 077

�<=4<<>4 <7<5=5=<O >>?<G5EF64 45=EF6GNM<E $-% �,�

+1,0%

2021 7. 2022 7.

36 524 39 869

�<=4<<>4 <7<5=5=<O >>?<G5EF64 45=EF6GNM<E $-% �%%%

+9,16%
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� 2022 7>4G 74D<>E<D>64=> G65?<G5=<5 >>?<G5EF64 D44<>D5?5==OE EF4=F<= =4 
21 204 54<=<F (+5,35%). 

 

 
 
 
 

� <=D>D<4F<>==OE 46F><4F<7<D>64==OE E<EF5<4E GGF5=O 44==O5 > 186 705 
45=EF6GNM<E D47D5L5=<OE =4 <E?>?L7>64=<5 D44<>G4EF>F <?< D44<>G4EF>F=OE 
>4=4?>6 < > 5>?55 14,4 <?=. G4EF>F=OE ?D<E6>5=<=. 

 

$4E?D545?5=<5 45=EF6GNM<E D47D5L5=<= =4 <E?>?L7>64=<5 D44<>G4EF>F <?< 
D44<>G4EF>F=OE >4=4?>6 =4 F5DD<F>D<< $>EE<=E>>= $545D4F<< ?> E>EF>O=<N =4 
01.01.2023 ?D54EF46?5=> =4 D<EG=>5. 

 

 
 

$<EG=>>. $4E?D545?5=<5 45=EF6GNM<E D47D5L5=<= =4 <E?>?L7>64=<5 
D44<>G4EF>F <?< D44<>G4EF>F=OE >4=4?>6 =4 F5DD<F>D<< $>EE<=E>>= $545D4F<< ?> 
E>EF>O=<N =4 01.01.2023. 

 

$476<F<5 DO=>4 D44<>E6O7< 74 2022 7>4 6 F5?>< E4D4>F5D<7>64?>EL 
?>?>6<F5?L=>= 4<=4<<>>=. �D><EE>4<?> =4D4M<64=<5 EGM5EF6GNM<E 
6>7<>6=>EF5= < EFD><F5?LEF6> =>6OE >5N5>F>6 F5?5>><<G=<>4F<>==>= 
<=DD4EFDG>FGDO, D4EL<DO?EO 4<4?47>= <E?>?L7G5<OE D44<>G4EF>F, G?GGL4?>EL 
>4G5EF6> >>47O645<OE GE?G7. 

2021 7. 2022 7.

396 219 417 423

�<=4<<>4 <7<5=5=<O >>?<G5EF64 45=EF6GNM<E $-% $$�

+ 5,35%
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IV. ��$��$�/&�/ �� ��%&�����. &����  
� �/�������. ����', ��$�������/% %&$�&����� $����&�/ 

�$���$�/&�/ �� %$�� �& 3 �� 5 ��& 
 

%FD4F57<O D476<F<O D545D4?L=>7> 7>EG44DEF65==>7> G=<F4D=>7> ?D54?D<OF<O 
«�?46=O= D44<>G4EF>F=O= F5=FD» =4 2021 - 2023 7>4O GF65D645=4 ?D<>47>< 
$>E>><=447>D4 >F 29.10.2020 7 140. 

�?O 4>EF<65=<O EFD4F57<G5E><E F5?5= 6 >FG5F=>< ?5D<>45 5O?< D5L5=O 
E?54GNM<5 >E=>6=O5 7444G< ?> =4?D46?5=<O<: 

 

«%6O7L» 
� D4<>4E D54?<74F<< GF65D645==>= %FD4F57<< D476<F<O D545D4?L=>7> 

7>EG44DEF65==>7> G=<F4D=>7> ?D54?D<OF<O «�?46=O= D44<>G4EF>F=O= F5=FD» =4 
2021-2023 7>4O =4 ?D54?D<OF<< >D74=<7>64=O < ?D>6545=O E?54GNM<5 
<5D>?D<OF<O. 

� E>>F65FEF6<< E ?G=>F>< 5.1 %FD4F57<< D476<F<O D545D4?L=>7> 
7>EG44DEF65==>7> G=<F4D=>7> ?D54?D<OF<O «�?46=O= D44<>G4EF>F=O= F5=FD» =4 
2021-2023 7>4O < ?G=>F>< 1.4.2 �?4=4 <5D>?D<OF<= ?> D54?<74F<< %FD4F57<< 
D476<F<O D545D4?L=>7> 7>EG44DEF65==>7> G=<F4D=>7> ?D54?D<OF<O «�?46=O= 
D44<>G4EF>F=O= F5=FD» =4 2021-2023 7>4O ?D>6545= 4=4?<7 EGM5EF6GNM5= E5F< 
D44<>>>=FD>?L=OE ?G=>F>6 ($��) EF4F<>=4D=>= >><?>=5=FO ?>4E<EF5<O >>=FD>?O 
<7?GG5=<= D44<>M?5>FD>==OE ED54EF6, <E?>?L7GNM<E <=O5 4<4?47>=O D44<>G4EF>F 
(?>4E<EF5<4 D44<>>>=FD>?O E6OL5 30 ��F) $�'� «�$'&» E F5?LN 6OO6?5=<O $�� 
E =<7>>= ?D><76>4EF65==>= MDD5>F<6=>EFLN < 6OE>><<< 74FD4F4<< =4 E>45D64=<5, 
4 F4>65 >5>DG4>64==O5 >><??5>E4<< D44<>>>=FD>?O E <EF5>L<< GEF4=>6?5==O< 
ED>>>< M>E??G4F4F<<, 44?L=5=L4O M>E??G4F4F<O >>F>DOE =5E5F ?D><76>4EF65==O5, 
E>7O=EF65==O5 < D<=4=E>6O5 D<E><. �?D545?5=O 23 =5MDD5>F<6=OE $��. 

� 2021 < 2022 7>44E >EGM5EF6?5=O <5D>?D<OF<O ?> 6O6>4G <7 M>E??G4F4F<< 
26 =5MDD5>F<6=OE $�� <7 ??4=<DG5<OE > 6O6>4G 27 $�� (E>7?4E>64==OE ?<EL<>< 
$>E>><=447>D4 >F 05.04.2021 7 01&�-20284 E>7?4E=> �?4=G-7D4D<>G D45>F ?> 
?>6OL5=<N MDD5>F<6=>EF< >EGM5EF6?5=<O <5D>?D<OF<= ?> D44<>>>=FD>?N).  

� >F=>L5=<< ??4=<DG5<>7> > 6O6>4G $�� 6 D<?<4?5 $�'� «�$'&» 6 
�4?L=56>EF>G=>< D545D4?L=>< >>DG75 (E. �5=<=E>>5 �6D5=E>>= 46F>=><=>= 
>5?4EF<) ?>FD55>64?>EL 4>?>?=<F5?L=>5 D<=4=E<D>64=<5 <5D>?D<OF<= ?> 57> 
6O6>4G <7 M>E??G4F4F<<, >EGM5EF6<FL >>F>DO5 ??4=<DG5FEO 4> >>=F4 <4O 2023 7>44. 

�D><5 F>7>, 6 E6O7< E D4EF>D65=<5< 4>7>6>D>6 4D5=4O ?> <=<F<4F<65 
4D5=4>44F5?O, 4 F4>65 6 E6O7< E EGM5EF65==O< ?>6D5645=<5< D44<>>>=FD>?L=>7> 
>5>DG4>64=<O >F G44D4 <>?=<< 4>?>?=<F5?L=> 6O6545=> <7 M>E??G4F4F<< 6 $��.  

&4><< >5D47><, ?> E>EF>O=<N =4 31.12.2022 E>>D4M5=> 32 $��. 
 

«�>=<F>D<=7 %�� < %��» 
� 2022 7>4G 6 D4<>4E ?D>5>F>6 ?> 46F><4F<74F<< ?D>F5EE>6: 
�5D>?D<OF<O, E6O74==O5 E E>744=<5< < D476<F<5< 46F><4F<7<D>64==OE 

E<EF5< <>=<F>D<=74 74?D5M5==>= <=D>D<4F<<, 6 F>< G<E?5 6 E>>F65FEF6<< E 
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D4E?>DO65=<5< �D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 9 4?D5?O 2021 7. 7 904-D, 
$�'� «�$'&» 6 2022 7>4G D54?<7>64=O, D45>FO ?D>4>?64FEO 6 2023 7>4G. 

�4=<< <7 ?D<>D<F5F=OE =4?D46?5=<= D45>F ?D54?D<OF<O 6 ED5D5 <>=<F>D<=74 
ED54EF6 <4EE>6OE >><<G=<>4F<= O6?O5FEO D476<F<5 46F><4F<74F<< 
<=D>D<4F<>==OE E<EF5< %��. 

� 2022 7>4G D54?<7>64=> E?54GNM55: 
- D54?<7>64=4 DG=>F<O 46F><4F<G5E>>7> FD4=E>D<5<D>64=<O 74?<E5= MD<D4 

F5?5- < D44<>>4=4?>6 (�% �&$�) < <=F57D4F<O 44==>7> E5D6<E4 6 �% �%��. � 
2023 D45>FO ?> D54?<74F<< FD4=E>D<5<D>64=<O F5>EF4 5G4GF ?D>4>?64FLEO, 
66>4<FLEO 46F><4F<74F<O =>6OE F<?>6 =4DGL5=<=; 

- ?>4?<E4= 4>7>6>D =4 E>744=<5 �% <�5?DL=, 7465DL5=O ?D>5>F<D>64=<5 < 
D47D45>F>4 �% <�5?DL= 6 D4<>4E ?5D6>= >G5D54< =4 E>744=<5. � 2023 7>4G 
??4=<DG5FEO 7465DL<FL D47D45>F>G �% <�5?DL= 6 D4<>4E 6F>D>= >G5D54< =4 
E>744=<5, ?D>65EF< >?OF=GN M>E??G4F4F<N < ?D<5<>G=O5 <E?OF4=<O. 

�D><5 F>7>, 6 2022 7>4G =4G4?4EL >?OF=>-?D><OL?5==4O M>E??G4F4F<O 
?D>5>F4 «�5D5D45>F>4 �% ���$». � D4<>4E D54?<74F<< 1 MF4?4 5O?4 E>744=4 
GG5F=4O 46F><4F<7<D>64==4O E<EF5<4 <>=<F>D<=74 4G4<>6<7G4?L=OE E5D6<E>6, 
<=F57D<D>64==4O E ?>4E<EF5<4<< $>E>><=447>D4 < $�'� «�$'&». � 2023 7>4G 
??4=<DG5FEO 7465DL5=<5 2 MF4?4 ?D>5>F4 < ?D>6545=<5 >?OF=>= M>E??G4F4F<<. 

� 2022 7>4G ?D><76545=4 <=F57D4F<O �6F><4F<7<D>64==>= E<EF5<O 
<>=<F>D<=74 E>F<4?L=OE E5F5= (�% ��%�) < �6F><4F<7<D>64==>= E<EF5<O 
«'<EFO= <=F5D=5F» (�% '�) ?> <F>7G >>F>D>7> ?D><7>L?> >5N54<=5=<5 E<EF5<, 6 
F>< G<E?5 EF4F<EF<>4, 6 D4<>4E �% '�. 

�D><5 F>7>, 6 2022 7>4G D54?<7>64= ?D>5>F ?> D47D45>F>5 E5D6<E4 E5>D4, 
ED4=5=<O < D47<5F>< 44F4E5F>6 6 F5>EF5 < <7>5D465=<OE 4?O >5GG5=<O =5=D>==OE 
E5F5= (�% ��$%). �D>5>F D47D45>F4= E F5?LN ?D54>EF46?5=<O 6>7<>6=>EF< 
D47<5F>< <7>5D465=<= < F5>EF4, E>45D64M<E =4DGL5=<O 6 46F><4F<7<D>64==OE 
E<EF5<4E.  

� 2022 7>4G ?D>6545=4 <=F57D4F<O %5D6<E>6 �% ��$ (>D4G?5D) E �% '� < 
E5D6<E>6 �% ��$ (<>4G?L E5<4=F<><) E ���. 

&4>65 E 2022 7>44 ?> =4G4?> 2023 7>44 D54?<7G5FEO ?D>5>F ?> 4>D45>F>5  
�% '� (<>4G?L E>F<4?L=OE E5F5=) 4?O ?>4>?NG5=<O =>6OE E>F<4?L=OE E5F5=, ?> 
<F>74< >>F>D>7> ?D><7>=45F D4EL<D5=<5 <EF>G=<>>6 46F><4F<7<D>64==>7> ?><E>4. 

% 2021 7>44 <=<F<<D>64= ?D>5>F «20 L47>6», 6 D4<>4E >>F>D>7> 
>EGM5EF6?O5FEO D54?<74F<O <5D>?D<OF<= ?> 46F><4F<74F<< 6OO6?5=<O < 
>7D4=<G5=<O 4>EFG?4 > =>6O< F<?4< 74?D5M5==>7> >>=F5=F4. �><<<> MF>7>, 6 2021 
7>4G <=<F<<D>64= ?D>5>F «$47D45>F>4 54<=>7> 7<5D<4=>7> <>4G?O 4=4?<74 =4 5475 
F5E=>?>7<= <E>GEEF65==>7> <=F5??5>F4 >4> E5D6<E4 (�4<=O= <>4G?L 4=4?<74) ?> 
4DG7<< F<?4< =4DGL5=<=, ?D>4>?645FEO 6 2022 < 2023 7>44E. 

�><<<> MF>7>, 6 2023 7>4G ??4=<DG5FEO: 
- >?OF=>-?D><OL?5==4O M>E??G4F4F<O ?> ?D>5>FG «�% '� �>4>?NG5=<5 

=>6OE ?><E>>6OE E<EF5<»; 
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- >?OF=>-?D><OL?5==4O M>E??G4F4F<O <=F57D4F<< �% '� E �% �>G?GE 6 
G4EF< <7>5D465=<=; 

- >?OF=>-?D><OL?5==4O M>E??G4F4F<O <=F57D4F<< �% '� E �D7GE 6 G4EF< 
<7>5D465=<=; 

- D54?<74F<O ?D>5>F4 «�>F-D5D<O» 3 46F><4F<7<D>64==>7> ?D>E>645=<O 
?D>65D>> 44<<=<EFD4F>D>6 < <>45D4F>D>6 74>DOFOE 7DG?? </<?< E>>5M5EF6 6 
E>F<4?L=OE E5FOE; 

- >?OF=>-?D><OL?5==4O M>E??G4F4F<O �% ���$. 
 

«�D46>» 
� >>=F5 2021 7>44 =4 5475 $�'� «�$'&» 5O? E>744= &5=FD ?D46>6>= 

?>445D6>< < 74M<FO ?5DE>=4?L=OE 44==OE (44?55 3 &5=FD). 
� F5?OE 6O?>?=5=<O ?>EF46?5==OE ?D< E>744=<< &5=FD4 7>EG44DEF65==OE 

7444G ?> 74M<F5 ?D46 < 74>>==OE <=F5D5E>6 7D4644= ?D< >5D45>F>5 <E 
?5DE>=4?L=OE 44==OE 6 F<DD>6>= ED545, 4 F4>65 ?D>D<?4>F<>5 =4DGL5=<= 6 MF>= 
ED5D5, 6 F5G5=<5 2022 7>44 >55E?5G<64?4EL D54?<74F<O EFD4F57<< D476<F<O < 
?D>46<65=<O &5=FD4 ?GF5< D>D<<D>64=<O 57> <<<464 < G7=4645<>EF<, >4> =>6>7> 
E>F<4?L=> >D<5=F<D>64==>7> ?D>5>F4 $>E>><=447>D4; ?>6OL5=<O 4>65D<O 
=4E5?5=<O > 45OF5?L=>EF< &5=FD4. 

�<<46 < G7=4645<>EFL &5=FD4 4>EF<74?<EL E ?><>MLN D47<5M5=<O 6> 
674<<>45=EF6<< E �D5EE-E?G65>= $�'� «�$'&» 5>?55 1000 ?G5?<>4F<= 6 %��, 
<4F5D<4?>6 6 E>F<4?L=OE E5FOE < <5EE5=465D4E.   

$>D<<D>64=<5 4>65D<O =4E5?5=<O > 45OF5?L=>EF< &5=FD4 >EGM5EF6?O?>EL 
?GF5< =4?46<64=<O ?4DF=5DE><E E6O75= < 4>7>6>D=>7> 74>D5??5=<O E>FDG4=<G5EF64 
E 7>EG44DEF65==O<< < >5M5EF65==O<< >D74=<74F<O<< D545D4?L=>7> < 
D57<>=4?L=>7> GD>6=O, <<5NM<<< ?D46>74M<F=O5 ?>?=><>G<O. � F5>GM5< 7>4G 
?4DF=5D4<< &5=FD4 EF4?<: G?>?=><>G5==O5 ?> ?D464< G5?>65>4; G?>?=><>G5==O5 
?> ?D464< D555=>4; <=>7>DG=>F<>=4?L=O5 F5=FDO ?D54>EF46?5=<O 7>EG44DEF65==OE 
< <G=<F<?4?L=OE GE?G7; >5M5EF65==O5 < <=O5 >D74=<74F<<, E >>F>DO<< <<5NFEO 
4>7>6>D5==>EF< >5 GG4EF<< &5=FD4 6 D4EE<>FD5=<< >5D4M5=<= > =4DGL5=<OE, 
E6O74==OE E <E?>?L7>64=<5< ?5DE>=4?L=OE 44==OE.  

$4EL<D5=<5 4>EFG?4 > ?D46>6>= ?><>M< &5=FD4 =4 44==>< MF4?5 D476<F<O 
D47D5L4?>EL F4>65 ?GF5< E>744=<O 7DG?? ?D46>6>= ?><>M< 7D4644=4< 6 F<DD>6>= 
ED545 6 D<?<4?4E $�'� «�$'&» 6 %565D>-�4?44=><, �D<6>?6E>>< < %<5<DE>>< 
D545D4?L=OE >>DG74E, E>FDG4=<>< >>F>DOE GG4EF6GNF 6 ?<G=>< ?D<5<5 7D4644=, 6 
F>< G<E?5 4=OE 55E??4F=>= ND<4<G5E>>= ?><>M<, ?D>6>4<<OE «�EE>F<4F<5= 
ND<EF>6 $>EE<<».  

$57G?LF4F>< ?D<=OFOE <5D O6?O5FEO G65?<G5=<5 ?D<D>EF4 ?>EFG?<6L<E 6 
&5=FD >5D4M5=<= 7D4644= =4 25% 6 ED46=5=<< E 2021 7>44. �E >>?<G5EF6> 
E>EF46<?> >>>?> 2 000 G5?>65>. 

� >FG5F=>< 7>4G E?5F<4?<EF4<< &5=FD4 (6>?NG4O E?5F<4?<EF>6 D<?<4?>6 6 
>>DG74E) ?> >5D4M5=<O< 7D4644=: 

- 44=> 959 GEF=OE >>=EG?LF4F<< E D47NOE=5=<5< ?D46>6OE =>D< < FD55>64=<= 
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74>>=>44F5?LEF64, 6>?NG4O 26 >>=EG?LF4F<= 6 ?D>F5EE5 ?D>6545=<O ?G5?<G=OE 
<5D>?D<OF<=; 

- =4?D46?5=> 822 ?<EL<5==OE >>=EG?LF4F<< E <7?>65=<5< ?D46>6>= ?>7<F<< 
?> >>=>D5F=>= E<FG4F<< 74O6<F5?O, 6 F>< G<E?5 E ?>47>F>6>>= ?D>5>F>6 4>>G<5=F>6, 
4?O ?>E?54GNM57> <E =4?D46?5=<O 6 >D74=O < >D74=<74F<<; 

- ?>47>F>6?5=> 565 4>>G<5=F>6, 6>?NG4O FD55>64=<O > >?5D4F>D4<, >5D4M5=<O 
6 7>EG44DEF65==O5 < ?D46>>ED4=<F5?L=O5 >D74=O, ?D5F5=7<<, ?D>5>FO <E>>6OE 
74O6?5=<=. 

$45>F4 E?5F<4?<EF>6 D<?<4?>6 &5=FD4 6 >>DG74E, D>D<<D>64=<5 <<< ?D>5>F>6 
?<EL<5==OE >>=EG?LF4F<= < 4>>G<5=F>6, >>>D4<=<DG5FEO < >>=FD>?<DG5FEO 
E?5F<4?<EF4<< &5=FD4. 

�5M55 >>?<G5EF6> 4>7>6>D>6 >5 >>474=<< 5576>7<574=>= ?D46>6>= ?><>M<, 
E6O74==OE E >5D4M5=<O<< E <E>>6O<< 74O6?5=<O<< 6 EG4 < ?>445D64=<5< <E 6 
EG455=OE 74E544=<OE E>EF46<?> - 41. �D< MF><, 4>?O 6O<7D4==OE <E>>6 6>7D>E?4 E 
83 % 6 ?5D6>< ?>?G7>4<< 4> 95 % > >>=FG 7>44.  

� F5?OE 4>EG455=>7> GD57G?<D>64=<O E?>D>6 6 74M<FG <=F5D5E>6 7D4644= 
?>47>F>6?5=> 67 ?D5F5=7<=, G4>6?5F6>DO5<>EFL <E >?5D4F>D4<< ?5DE>=4?L=OE 
44==OE E>EF46<?4 52%. 
 

«$<=4=EO» 
� D4<>4E D<=4=E>6>7> >55E?5G5=<O D54?<74F<< EFD4F57<G5E><E F5?5= < 7444G 

6 2022 7>4G ?D>4>?6<?>EL D>D<<D>64=<5 $>=44 =4GG=>-F5E=<G5E>>7> D476<F<O 
$�'� «�$'&». %D54EF64 D>=44 =4?D46?ONFEO =4 D<=4=E<D>64=<5 <5D>?D<OF<= < 
?D>7D4<< %FD4F57<< D476<F<O $�'� «�$'&» ?> E?54GNM<< =4?D46?5=<O<:  

=4GG=>-<EE?54>64F5?LE><5 < (<?<) >?OF=>->>=EFDG>F>DE><5 D45>FO, 
?D>6>4<<O5 E>5EF65==O<< E<?4<<, 4 F4>65 E ?><>MLN EF>D>==<E >D74=<74F<=; 

D47D45>F>4 E?5F<4?L=>7> ?D>7D4<<=>7> >55E?5G5=<O, ?D>7D4<<=>-
4??4D4F=>7> >><??5>E4 (?D>6>4<<4O E>5EF65==O<< E<?4<<, 4 F4>65 E ?><>MLN 
EF>D>==<E >D74=<74F<=); 

D476<F<5 <4F5D<4?L=>-F5E=<G5E>>= 547O ?D54?D<OF<O. 
 

«�4>G?><» 
� 2022 7>4G 74>?NG5= 961 4>7>6>D =4 >5MGN EG<<G 18,26 <?D4. DG5., <7 =<E: 
- ?> >>=>GD5=F=O< ?D>F54GD4< 394 4>7>6>D4 =4 >5MGN EG<<G 1,69 <?D4. DG5. (6 

F>< G<E?5 4 4>7>6>D4 E 7D<D>< «�%�» (=5 6>?NG4NFEO 6 �?4= 74>G?>< F>64D>6, 
D45>F, GE?G7) =4 >5MGN EG<<G 755,07 <?= DG5.); 

- E 54<=EF65==O< >>=FD475=F>< 567 4>7>6>D>6 =4 >5MGN EG<<G 16,71 <?D4 
DG5. (6 F>< G<E?5 8 4>7>6>D>6 E 7D<D>< «�%�» =4 >5MGN EG<<G 14,39 <?D4. DG5.). 

%FD4F57<5= D476<F<O $�'� «�$'&» =4 2021-2023 7>4O (44?55 3 %FD4F57<O) 
GEF4=>6?5=O F5?56O5 ?>>474F5?< 45OF5?L=>EF<, 6 G4EF=>EF<, ?> =4?D46?5=<N 
«�4>G?><» (?. 6.5). 
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� 2022 7>4G ?D54?D<OF<5< 4>EF<7=GFO E?54GNM<5 ?>>474F5?<: 
 

7 �>>474F5?L MDD5>F<6=>EF< 
�=4G5=<5 ?>>474F5?O ?> 7>44< (%) 

2021 (??4=/ D4>F) 2022 (??4=/D4>F) 2023 (??4=) 

1 
�>?O 74>G?>> 6 >>?<G5EF65==>< 6OD465=<< 
?> >>=>GD5=F=O< ?D>F54GD4<, (%) 

35/36,14 40/41,10 45 

2 
�D>F5=F M>>=><<< ?> D57G?LF4F4< 
?D>6545=<O >>=>GD5=F=OE ?D>F54GD, (%) 

15/9,11 17/23,431 19 

 

&4><< >5D47><, ?> <F>74< 2022 7>44 4>EF<7=GFO 6E5 ?>>474F5?< %FD4F57<< 6 
G4EF< =4?D46?5=<O «�4>G?><». 

�D< MF>< M>>=><<O ?> D57G?LF4F4< ?D>6545=<O >>=>GD5=F=OE ?D>F54GD 
E>EF46<?4 5>?55 192 <?=. DG5., <7 =<E: 

- 5>?55 156 <?=. DG5. E <EF>G=<>>< D<=4=E<D>64=<O «EG5E<4<O»; 
- 5>?55 36 <?=. DG5. E <EF>G=<>>< D<=4=E<D>64=<O «>><<5DF<O». 
 

«�4GG=>-F5E=<G5E>>5 D476<F<5» 
� D4<>4E D54?<74F<< 1 MF4?4 ?D>5>F4 EFD4F57<G5E>>7> D476<F<O 7 15 

«�FD4E?564O <=F57D<D>64==4O F<DD>64O E<EF5<4» 6 2022 7>4G 7465DL5=O D45>FO ?> 
?D>6545=<N =4GG=>-<EE?54>64F5?LE><E D45>F ?> F5<5 «�7GG5=<5 6>7<>6=>EF5= 
<E>GEEF65==>7> <=F5??5>F4, <4L<==>7> >5GG5=<O < =5=D>==OE E5F5= 6 G4EF< 
4=4?<74 <=D>D<4F<>==>7> ?D>EFD4=EF64». � D57G?LF4F5 6O?>?=5==OE D45>F 
?>4F65D645=4 ?D<=F<?<4?L=4O 6>7<>6=>EFL <E?>?L7>64=<O F5E=>?>7<= 
<E>GEEF65==>7> <=F5??5>F4 4?O <>=<F>D<=74 <=D>D<4F<>==>7> ?D>EFD4=EF64, 
D47D45>F4= =4GG=>-<5F>4>?>7<G5E><= 547<E < ?>47>F>6?5= >><??5>F 4>>G<5=F4F<< 
=4 E>744=<5 <=D>D<4F<>==>= E<EF5<O D4==57> 6OO6?5=<O G7D>7 6 <=D>D<4F<>==>= 
ED5D5 < ?D>7=>7<D>64=<O D<E>>6 <E 6>7=<>=>65=<O (�% ���$,). 

$54?<7>64= ?D>5>F4 EFD4F57<G5E>>7> D476<F<O 7 9 «�OO6?5=<5 =4DGL5=<= 6 
<7>5D465=<OE < 6<45>» 6O?>?=5=O =4GG=>-<EE?54>64F5?LE><5 < >?OF=>-
>>=EFDG>F>DE><5 D45>FO ?> D47D45>F>5 F5E=>?>7<= < 4?7>D<F<>6 6OO6?5=<O 
E<=F57<D>64==>7> < <>4<D<F<D>64==>7> 4G4<>6<45>>>=F5=F4 (L<DD ?D>5>F4 
«�G4?<7<»). $45>FO ?D>6>4<?<EL 6 D4<>4E E>6<5EF=>7> E>7?4L5=<O E $>=4>< 
?5DE?5>F<6=OE <EE?54>64=<= < $�'� «��� «�64=F». 

� D57G?LF4F5 ?D>6545==OE D45>F E>744=O < <E?OF4=O F5E=>?>7<< < ?D>F>F<? 
?D>7D4<<=>7> >55E?5G5=<O, >>F>D4O E ?D<<5=5=<5< <>45?5= <E>GEEF65==>7> 
<=F5??5>F4 >?D545?O5F =4?<G<5 ?D<7=4>>6 E<=F57<D>64==>7> >>=F5=F4, 6 F>< G<E?5 
deepfake, 6 4G4<>- < 6<45><4F5D<4?4E. � E>>F65FEF6<< E 74>?NG5==O< E>7?4L5=<5< 
?>?GG5==O5 6 E>45 D45>F D57G?LF4FO <=F5??5>FG4?L=>= 45OF5?L=>EF< ($��), 
6>?NG4NM<5 6 E55O, 6 F>< G<E?5, <5F>4<><, 4?7>D<F<O < <EE>4=O5 >>4O 
?D>7D4<<=>7> >55E?5G5=<O, >EGM5EF6?ONM57> 6OO6?5=<5 ?D<7=4>>6 deepfake, 6 
2023 7>4G 5G4GF ?5D544=O 7>?>6=O< <E?>?=<F5?5< D45>F $�'� «��� «�64=F» 
$>E>><=447>DG, ?>E?5 G57> 5G45F >D74=<7>64=4 <E >?OF=4O M>E??G4F4F<O 6> $�'� 

                                                 
1 D4EEG<F4= 557 GG5F4 =5E>EF>O6L<EEO F>D7>6OE ?D>F54GD (?> >>F>DO< ?>44=4 F>?L>> 1 74O6>4) < 74>G?>> 

G 54<=EF65==>7> >>=FD475=F4. 
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«�$'&». 
� D4<>4E D54?<74F<< ?D>5>F4 EFD4F57<G5E>>7> D476<F<O 7 9 «�OO6?5=<5 

=4DGL5=<= 6 <7>5D465=<OE < 6<45>» =4GG=>-F5E=<G5E><< F5=FD>< $�'� «�$'&» 
?D>6545=4 <EE?54>64F5?LE>4O D45>F4 ?> ?>6OL5=<N >4G5EF64 6OO6?5=<O =4DGL5=<= 
6 <7>5D465=<OE < 6<45><4F5D<4?4E. � D57G?LF4F5 6O?>?=5==>= D45>FO 
?>47>F>6?5=O =45>DO 44==OE (44F4E5FO) < D47D45>F4= <4>5F ?D>7D4<<=>7> 
>55E?5G5=<O =4 >E=>65 F5E=>?>7<= <E>GEEF65==>7> <=F5??5>F4. %>744==O5 <>45?< 
�� >5GG5=O 4?O D4E?>7=464=<O ?>7 F5?4 G5?>65>4, E4D4>F5D=OE 4?O >?D545?5==OE 
6<4>6 7D4D<G5E>>= <=D>D<4F<<, =4DGL4NM5= 74>>=>44F5?LEF6> $>EE<=E>>= 
$545D4F<< («FD5==E5DD<=7» <?< «74F5?<=7», ?D54EF46?ONM<= E>5>= E>?>=5=<5 <?< 
6>6?5G5=<5 =5E>65DL5==>?5F=<E > 45=EF6<O<, ?D54EF46?ONM<< G7D>7G 4?O <E 
6<7=< < 74>D>6LO). �D<<5=5==O= ?>4E>4 4?O ?D<7=4>>6 6OO6?5=<O 74?D5M5==>7> 
7D4D<G5E>>7> >>=F5=F4 O6?O5FEO ?D<=F<?<4?L=> =>6O<, 6 44?L=5=L5< ??4=<DG5FEO 
57> 4>D45>F>4 < D4E?D>EFD4=5=<5 4?O 6OO6?5=<O 4DG7<E 6<4>6 =4DGL4NM5= 
74>>=>44F5?LEF6> 7D4D<G5E>>= <=D>D<4F<<. 

� D4<>4E D54?<74F<< ?D>5>F4 EFD4F57<G5E>>7> D476<F<O 7 23 «$47D45>F>4 
>>=F5?F<< < E>744=<5 <>45?< >557?<G<64=<O ?5DE>=4?L=OE 44==OE» =4GG=>-
F5E=<G5E><< F5=FD>< $�'� «�$'&» ?D>6545=4 <EE?54>64F5?LE>4O D45>F4 ?> 
>F5=>5 D45>F>E?>E>5=>EF<, =4456=>EF< < ?>?57=>EF< <5F>44 >557?<G<64=<O =45>D>6 
?5DE>=4?L=OE 44==OE ?GF5< E<=F57<D>64=<O. �4==O= <5F>4 5O? D47D45>F4= 
$545D4?L=O< <EE?54>64F5?LE><< F5=FD>< «�=D>D<4F<>4 < G?D46?5=<5» 
$>EE<=E>>= �>445<<< =4G> D4=55 =4 ?5D6>< MF4?5 ?D>5>F4 EFD4F57<G5E>>7> 
D476<F<O. 

� E>45 D45>F ?>4F65D645=4 ?D<=F<?<4?L=4O ?D<<5=<<>EFL <5F>44 
>557?<G<64=<O =45>D>6 ?5DE>=4?L=OE 44==OE ?GF5< E<=F57<D>64=<O. $47D45>F4= 
>D<7<=4?L=O= <5F>4 >F5=>< 4=>=<<=>EF< >557?<G5==OE =45>D>6 44==OE. %>744= < 
?D>F5EF<D>64= ?D>F>F<? ?D>7D4<<=>7> >55E?5G5=<O, >EGM5EF6?ONM57> 
>557?<G<64=<5 =45>D>6 ?5DE>=4?L=OE 44==OE <5F>4>< E<=F57<D>64=<O < >F5=>G <E 
4=>=<<=>EF<. 

�D>6545=> <EE?54>64=<5 ?>4E>4>6 > D57G?<D>64=<N 6=GFD<<7D>6>= 
E>5EF65==>EF< < >5>D>FG <7D>6>= 64?NFO 6 EFD4=4E <<D4. � E>45 D45>F 6OO6?5=> 
7=4G<F5?L=>5 >>?<G5EF6> D4>F>D>6, >F >>F>DOE =4?DO<GN 746<EOF 6>?D>EO 
D57G?<D>64=<O 6=GFD<<7D>6>= E>5EF65==>EF< < >5>D>F4 <7D>6>= 64?NFO 6 EFD4=4E 
<<D4. � <EE?54>64=<< >FD465=O =4<5>?55 646=O5 < <7GG5==O5 E?5F<4?<EF4<< 
?D46>6>= 4>>FD<=O ?D5F545=FO EG455=OE >D74=>6 <?< >D74=>6 6?4EF< 6 
ND<E4<>F<OE EFD4= <<D4, >4E4NM<5EO D57G?<D>64=<O 6=GFD<<7D>6>7> <<GM5EF64 < 
<7D>6>= 64?NFO. � >4G5EF65 ?D54?>65=<= 74>>=>44F5?L=>7> E4D4>F5D4, E GG5F>< 
45=EF6GNM5= ?D46>6>= >64?<D<>4F<< 6=GFD<<7D>6>7> <<GM5EF64 6 $>EE<=E>>= 
$545D4F<< < 6 >>=F5>EF5 ?D54>F6D4M5=<O G7D>7 M>>=><<G5E>>7> E4D4>F5D4, 
6OO6?5=4 =5>5E>4<<>EFL GEF4=>6?5=<O ?D46>6>7> EF4FGE4 F4><E >5N5>F>6, >4> 
<7D>64O 64?NF4 (<7D>6>5 <<GM5EF6>), ?GF5>>E, EFD<<<=7>64O ??4FD>D<4.  

�D>6545=> <EE?54>64=<5 G7D>7 <E?>?L7>64=<O F<DD>6OE F5E=>?>7<= < 
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M?5>FD>==OE GEFD>=EF6 45FL<< 4>L>>?L=>7>, <?44L57> < ED54=57> L>>?L=>7> 
6>7D4EF4, < D>D<<D>64=<O 6D54=OE F<DD>6OE ?D<6OG5>. � E>45 D45>F <EE?54>64=O 
=574F<6=O5 ?E<E>E>F<4?L=O5 ?>E?54EF6<O GD57<5D=>7> <E?>?L7>64=<O F<DD>6OE 
F5E=>?>7<= < M?5>FD>==OE GEFD>=EF6 45FL<< 4>L>>?L=>7>, <?44L57> < ED54=57> 
L>>?L=>7> 6>7D4EF4. $4EE<>FD5= < >?<E4= <564G=4D>4=O= >?OF 6=54D5=<O < 
<E?>?L7>64=<O <5E4=<7<>6 >>=FD>?O 74 <E?>?L7>64=<5< F5E=>?>7<= (GEFD>=EF6) 
45FL<<. �>47>F>6?5=O D5>><5=44F<< ?> E=<65=<N =574F<6=OE ?>E?54EF6<= 
<E?>?L7>64=<O F5E=>?>7<= (GEFD>=EF6) 45FL<<. 

�D>6545=> <EE?54>64=<5 D5>><5=44F5?L=OE E5D6<E>6 6 E5F< «�=F5D=5F» < 
G7D>7 <=D>D<4F<>==>= 557>?4E=>EF<, E6O74==OE E D476<F<5< D5>><5=44F5?L=OE 
E5D6<E>6. � E>45 D45>F <EE?54>64=O >5M<5 >E>55==>EF< ?E<E>?>7<G5E>>7> 
6>745=EF6<O E <E?>?L7>64=<5< D5>><5=44F5?L=OE E5D6<E>6 =4 ?>?L7>64F5?O E5F< 
�=F5D=5F. $4EE<>FD5=O < >?<E4=O ?D<=F<?O < 4?7>D<F<O D45>FO 
D5>><5=44F5?L=OE E5D6<E>6, ?D>6545= >57>D >E=>6=OE <7 =<E. �D>4=4?<7<D>64=O 
?>F5=F<4?L=O5 D<E>< < G7D>7O <=D>D<4F<>==>= 557>?4E=>EF<, E6O74==O5 E 
D4E?D>EFD4=5=<5< < D476<F<5< D5>><5=44F5?L=OE E5D6<E>6, < ?>47>F>6?5=O 
D5>><5=44F<< 4?O ?D>F<6>45=EF6<O 44==O< D<E>4< < G7D>74<. 

 

«�D74=<74F<O» 
1) �4?>?=5=<5, >>DD5>F<D>6>4 %FD4F57<< �D54?D<OF<O  
� 2022 7>4G ?D>4>?6<?<EL <5D>?D<OF<O: 
- ?> <>=<F>D<=7G <E?>?=5=<O %FD4F57<< �D54?D<OF<O; 
- >>=FD>?N 4>EF<65=<O ?>4D4745?5=<O<< ?>EF46?5==OE F5?5=; 
- >?D545?5=<N =4?D46?5=<= 4?O 44?L=5=L5= >>DD5>F<D>6>< %FD4F57<<. 
�<5EF5 E F5<, 66<4G <7<5=5=<O 6=5L=5?>?<F<G5E>>= >5EF4=>6><, 6 2022 7>4G 

?D>6545=O D45>FO ?> <EE?54>64=<N D4>F>D>6 6=5L=5= ED54O, >?D545?ONM<E 
EFD4F57<N D476<F<O �D54?D<OF<O, 4>?>?=<F5?L=> <7GG5= =>6O= >><??5>E 
EFD4F57<G5E><E 7444G $>E>><=447>D4. �> D57G?LF4F4< <EE?54>64=<O 5O? D47D45>F4= 
>><??5>E <7 35 =>6OE EFD4F57<G5E><E F5?5= �D54?D<OF<O 4?O D>D<<D>64=<O 
%FD4F57<< =4 ?5D<>4 2024-2026 7>4O. 

2) �?<E4=<5 < ?>445D64=<5 6 4>FG4?L=>< E>EF>O=<< 5<7=5E-?D>F5EE>6 

?D54?D<OF<O 

� 2022 7>4G ?D>6545=4 D45>F4 ?> >?<E4=<N EGM5EF6GNM<E 5<7=5E-?D>F5EE>6, 
74>D5??5==OE 6 54<=>< D57?4<5=F5 45=EF6<= $>E>><=447>D4 < $�'� «�$'&» ?D< 
D54?<74F<< ?>?=><>G<= 6 ED5D5 <4EE>6OE >><<G=<>4F<=. � D57G?LF4F5 
?>47>F>6?5=> 5>?55 100 5<7=5E-?D>F5EE>6. 

�D><5 F>7>, ?D>6545=4 4>FG4?<74F<O >E=>6=OE 5<7=5E-?D>F5EE>6 ���, �$� < 
�GE74?F5D<<. 

3) �?F<<<74F<O >D74=<74F<>==>-LF4F=>= EFDG>FGDO 

�?O >55E?5G5=<O 4>EF<65=<O EFD4F57<G5E><E F5?5= �D54?D<OF<O 6 2022 7>4G 
D47D45>F4=O ?D>5>FO F<?>6>= EFDG>FGDO D<?<4?4 < F<?>6>= EFDG>FGDO G?D46?5=<O 
D<?<4?4 6 EG5N5>F5 $$. 

� 2023 7>4G ??4=<DG5FEO GF65D645=<5 F<?>6OE EFDG>FGD < ?D>6545=<5 



30 

>?F<<<74F<< G<E?5==>EF< D45>F=<>>6 D<?<4?>6, 6 F>< G<E?5 6 F5?OE G65?<G5=<O 
4>?6=>EF=OE >>?44>6 D45>F=<>>6 D<?<4?>6 74 EG5F 6OE6>5>6445<>7> 6 D57G?LF4F5 
>?F<<<74F<< $�&.  

4) �=54D5=<5 <5F>4>?>7<< < E<EF5<O ��- 

� F5?OE ?>6OL5=<O MDD5>F<6=>EF< ??4=<D>64=<O < >D74=<74F<< 
45OF5?L=>EF<, <>F<64F<< D45>F=<>>6 < >EGM5EF6?5=<O >>=FD>?O 4>EF<65=<O 
EFD4F57<G5E><E F5?5= $�'� «�$'&» ?D<>47>< $�'� «�$'&» >F 01.06.2022 7 135 
GF65D645=O >?NG56O5 ?>>474F5?< MDD5>F<6=>EF< (44?55 3 ��-) < <=4<>4F>DO 
�<D5>F>D>6 ?> =4?D46?5=<O< %6O7<, %�� < %��, &�', &%�, �=D>D<4F<>==OE 
F5E=>?>7<= < D<=4=E>6>-E>7O=EF65==>= 45OF5?L=>EF<. 

��- 5O?< D475<FO =4 465 >4F57>D<<: 
- ?D><76>4EF65==O5 (=4?D46?5=O =4 >F5=>G ?4D4<5FD>6 >E=>6=>= 

?D><76>4EF65==>= 45OF5?L=>EF< �<D5>F>D4 ?> =4?D46?5=<N); 
- 7>D<7>=F4?L=O5 (=4?D46?5=O =4 >F5=>G ?4D4<5FD>6 MDD5>F<6=>EF< 

>D74=<74F<< 6=GFD5==5= 45OF5?L=>EF<, ?>4G<=U==OE �<D5>F>DG ?> =4?D46?5=<N 
?>4D4745?5=<= < MDD5>F<6=>EFL 674<<>45=EF6<O ?>4D4745?5=<= <564G E>5>=). 

�D><76545= D4EG5F 7=4G5=<= ��- 74 6F>D>=, FD5F<= < G5F6UDFO= >64DF4?O. � 
D4EG5F >464>7> ��- 6E>4<?< 7444G< ?> E5>DG <EE>4=OE 44==OE, ?D>65D>5 
?D54>EF46?5==OE 44==OE, >5E?54>64=<N 4>FG4?L=>EF< 5<7=5E-?D>F5EE>6, 6?<ONM<E 
=4 ��-, D4EG5FG E4<>7> 7=4G5=<O ��- < E>7?4E>64=<N D57G?LF4F>6 E �<D5>F>D4<< 
?> =4?D46?5=<O<. 

$47D45>F>4 E<EF5<O ��- ?>76>?<?4 ?>6OE<FL MDD5>F<6=>EFL ??4=<D>64=<O < 
>D74=<74F<< 45OF5?L=>EF< �D54?D<OF<O < D4EL<D<FL 4>EFG?=O5 <=EFDG<5=FO 
<>=<F>D<=74 >E=>6=OE =4?D46?5=<= 45OF5?L=>EF< �D54?D<OF<O. &4>65, 6 
D57G?LF4F5 D45>F ?> D4EG5FG < ?D>65D>5 ��- 5O?4 ?>6OL5=4 E<=ED>=<74F<O 
>F5?L=OE ?D><76>4EF65==OE ?D>F5EE>6 < 6OO6?5=4 =5>5E>4<<>EFL >>DD5>F<D>6>< 
DO44 >55E?5G<64NM<E ?D>F5EE>6 6 G4EF< <E <=D>D<4F<74F<<. 

 

«$O=>>» 
'45D64=<5 < G>D5??5=<5 ?>7<F<= �D54?D<OF<O =4 EGM5EF6GNM<E DO=>4E 

�5E<>FDO =4 FO65?GN E<FG4F<N 6 DO45 >FD4E?5=, 6E5 4>?7>ED>G=O5 4>E>4=O5 
4>7>6>D4 �D54?D<OF<O, GE?G7< ?> >>F>DO< ?D54>EF46?O?<EL >>=FD475=F4< 6 2021 
7>4G, 5O?< GE?5L=> ?D>?>=7<D>64=O 4> >>=F4 2022 7>44. �D><5 F>7>, 5O? D4EL<D5= 
DG=>F<>=4? EGM5EF6GNM57> E5D6<E4 4=4?<74 F5>EF>6: ?>O6<?4EL 6>7<>6=>EFL 
46F><4F<G5E>< 6OO6?OFL =5=>D<4F<6=GN ?5>E<>G. � =4EF>OM55 6D5<O ?D>6>4<FEO 
F5EF<D>64=<5 E>>F65FEF6GNM57> ?D>7D4<<=>7> <>4G?O «�=F<<4F», <=F5D5E > 
DG=>F<>=4?G, >>F>D>7> G65 ?D>O6?O?< 45=EF6GNM<5 >>=FD475=FO. 

�=4?<7 EGM5EF6GNM<E < E<56=OE DO=>>6, >?D545?5=<5 =4<5>?55 

?5DE?5>F<6=OE 

� D4<>4E ?D>5>F<D>64=<O =>6OE >><<5DG5E><E ?D>4G>F>6 6 2022 7>4G 4>F<6=> 
?D>6>4<?EO 4=4?<7 EGM5EF6GNM<E, 4 F4>65 =>6OE DO=>>6, ED>D<<D>64==OE 6 E6O7< 
E 75>?>?<F<G5E>>= >5EF4=>6>>= 2022 7>44. �> D57G?LF4F4< ?D>6545==>7> 4=4?<74 
5O? 6OO6?5= ?5DE?5>F<6=O= =>6O= DO=>>, =4 F5>GM<= <><5=F E>>F65FEF6GNM<5 



31 

>><<5DG5E><5 ?D>4G>FO D47D45>F4=O, EF4DF <E D54?<74F<< 74??4=<D>64= =4 ?5D6GN 
?>?>6<=G 2023 7>44. 

%>744=<5 >><<5DG5E>>7> 5?>>4 6 75=5D4?L=>= 4<D5>F<< < D<?<4?4E 

� 2022 7>4G >><?5F5=F<< �D54?D<OF<O, E?>E>5EF6GNM<5 >><<5DF<4?<74F<< 
57> 45OF5?L=>EF<, 5O?< D4EL<D5=O =4 ED5DO <=F5D=5F-<4D>5F<=74 < web-
D47D45>F><. 

$54?<74F<O =>6OE =4?D46?5=<= 45OF5?L=>EF< 

� 2022 7>4G ?D>6545= DO4 <5D>?D<OF<= ?> D4EL<D5=<N E?5>FD4 
?D54>EF46?O5<OE ?D54?D<OF<5< >><<5DG5E><E GE?G7: 

?D>6545=<5 D4EG5F>6 < <7<5D5=<= E F5?LN ?>?GG5=<O E4=<F4D=>-
M?<45<<>?>7<G5E><E 74>?NG5=<= 4?O D47<5M5=<O ?5D544NM<E D44<>F5E=<G5E><E 
>5N5>F>6; 

?D>6545=<5 M>E?5DF<7O <=D>D<4F<>==>= ?D>4G>F<<; 
GE?G7< G4>EF>65DONM57> F5=FD4 $�'� «�$'&».  
 

V. �%����/� $��'�,&�&/ ��/&��,��%&� �$���$�/&�/ 
 

«%6O7L» 
1) $45>FO, E6O74==O5 E D4E?D545?5=<5< < 6O45?5=<5< ?>?>E D44<>G4EF>F 

� 2022 7>4G ?>47>F>6?5=O ?D54?>65=<O 6 ?>7<F<N $>E>><=447>D4 ?> 127 
?D>5>F4< D5L5=<= ��$', 6O=>E<<O< =4 D4EE<>FD5=<5 �>EG44DEF65==>= >><<EE<< 
?> D44<>G4EF>F4< 6 D4<>4E G5FOD5E 74E544=<= ��$', 4 F4>65 ?> 134 74O6>4< =4 
6O45?5=<5 ?>?>E D44<>G4EF>F, ?D54EF46?5==OE 74O6<F5?O<< 6 ��$'. 

�4<5>?55 7=4G<<O<< O6?O?<EL 6>?D>EO D44<>G4EF>F=>7> >55E?5G5=<O =>6OE 
EG5N5>F>6 $>EE<=E>>= $545D4F<<, 4 F4>65 6>?D>EO D44<>G4EF>F=>7> >55E?5G5=<O 
<E?>?L7>64=<O ?5DE?5>F<6=OE D44<>M?5>FD>==OE ED54EF6, 6 F>< G<E?5 >F=>EOM<EEO 
> E5FO< E6O7< F5E=>?>7<< 5G/IMT2020. 

2) $45>FO ?> >55E?5G5=<N DG=>F<>=<D>64=<O �4<=>7> F5E=<G5E>>7> 

E?D46>G=<>4 $-% < �'' 

� F5G5=<5 2022 7>44 D4EE<>FD5=> 670 74O6>> =4 6=5E5=<5 D44<>M?5>FD>==OE 
ED54EF6 6 G>474==O= E?D46>G=<>, ?> D57G?LF4F4< D4EE<>FD5=<O >>F>DOE 6=5E5=> 220 
=>6OE =4<<5=>64=<= D44<>M?5>FD>==OE ED54EF6 < 6OE>>>G4EF>F=OE GEFD>=EF6. 

3) �D>65D>4 E>>F65FEF6<O EG4>6OE D44<>EF4=F<= FD55>64=<O< 

<564G=4D>4=OE 4>7>6>D>6 $>EE<=E>>= $545D4F<< < FD55>64=<O< 

74>>=>44F5?LEF64 $>EE<=E>>= $545D4F<< 

� 2022 7>4G $�'� «�$'&» 6O44=> 4015 74>?NG5=<= > E>>F65FEF6<< EG4>6OE 
D44<>EF4=F<= FD55>64=<O< <564G=4D>4=OE 4>7>6>D>6 $>EE<=E>>= $545D4F<< < 
FD55>64=<O< 74>>=>44F5?LEF64 $>EE<=E>>= $545D4F<<. 

4) �D<E6>5=<5 ?>7O6=OE E<7=4?>6 4?O >?>7=464=<O $-% 7D4644=E>>7> 

=47=4G5=<O 

� 2022 7>4G $�'� «�$'&» >5D47>64= 61581 ?>7O6=>= E<7=4? 4?O 
>?>7=464=<O $-% 7D4644=E>>7> =47=4G5=<O. 

5) $45>FO ?> 74O6?5=<N, >>>D4<=4F<< < D57<EFD4F<< 6 �564G=4D>4=>< 



32 

E>N75 M?5>FD>E6O7< G4EF>F=OE ?D<E6>5=<= 4?O D44<>M?5>FD>==OE ED54EF6 

D47?<G=OE D44<>E?G65 

� 2022 7>4G D45>FO ?> 74O6?5=<N, >>>D4<=4F<< < D57<EFD4F<< 6 
�564G=4D>4=>< E>N75 M?5>FD>E6O7< G4EF>F=OE ?D<E6>5=<= 4?O D44<>M?5>FD>==OE 
ED54EF6, <E?>?L7G5<OE >>E<<G5E><<< E<EF5<4<< $>EE<=E>>= $545D4F<<, 
?D>6>4<?<EL E>7?4E=> E>>F65FEF6GNM5<G ??4=G D45>F, >4>5D5==><G D5L5=<5< 
�>EG44DEF65==>= >><<EE<< ?> D44<>G4EF>F4< (��$'), 4 F4>65 6 E>>F65FEF6<< E 
?>?>65=<O<< $57?4<5=F4 D44<>E6O7< �%-. 

� D4<>4E ?D>6545=<O <5D>?D<OF<= <564G=4D>4=>-?D46>6>= 74M<FO 
G4EF>F=OE ?D<E6>5=<= E?GF=<>>6OE E5F5= $>EE<=E>>= $545D4F<< 74 2022 7>4 6 
�ND> D44<>E6O7< �%- =4?D46?5=>: 

1 74O6>4 =4 ?D5464D<F5?L=GN ?G5?<>4F<N; 
19 74O6>> =4 >>>D4<=4F<N; 
5 74O6>> =4 D57<EFD4F<N. 
$45>FO ?> 74O6?5=<N, >>>D4<=4F<< < D57<EFD4F<< 6 �ND> D44<>E6O7< �%- 

G4EF>F=OE ?D<E6>5=<= 4?O D44<>M?5>FD>==OE ED54EF6, <E?>?L7G5<OE =475<=O<< 
D44<>E?G654<< $>EE<=E>>= $545D4F<<, ?D>6>4<?<EL 6 E>>F65FEF6<< E ?>?>65=<O<< 
$57?4<5=F4 D44<>E6O7< �%-, 74>?NG<F5?L=OE 4>F>6 D57<>=4?L=OE >>=D5D5=F<=, 
46GEF>D>==<E < <=>7>EF>D>==<E E>7?4L5=<=.  

$45>FO ?> 74O6?5=<N, >>>D4<=4F<< < D57<EFD4F<< 6 �ND> D44<>E6O7< �%- 
G4EF>F=OE ?D<E6>5=<= 4?O 75<=OE EF4=F<= E?GF=<>>6>= E6O7< ?D>6>4<?<EL 6 
E>>F65FEF6<< E ?>?>65=<O<< $57?4<5=F4 D44<>E6O7< �%-. 

&45?<F4 5 
�>?<G5EF6> G4EF>F=OE 

?D<E6>5=<= 
%GE>?GF=4O 
?>46<6=4O 

$<>E<D>64==4O 
$44<>-

65M4F5?L=4O 
�%%% 

�>DE>4O, 
F5E=>?>7<G5E>4O 

�>?GG5=> 6 >>>D4<=4F<>==OE 
74?D>E4E >F 44<<=<EFD4F<= 
E6O7< <=>EFD4==OE 7>EG44DEF6 

7605 2418 132 240 31 

%>>>D4<=<D>64=> 
44<<=<EFD4F<O< E6O7< 
<=>EFD4==OE 7>EG44DEF6 

3961 2018 639 236 2 

�4?D46?5=> =4 >>>D4<=4F<N 
6 44<<=<EFD4F<< E6O7< 
<=>EFD4==OE 7>EG44DEF6 

370 4008 237 128 0 

%>>>D4<=<D>64=> 
44<<=<EFD4F<O<< E6O7< 
<=>EFD4==OE 7>EG44DEF6 

247 1875 471 157 3 

 

6) �74<<>45=EF6<5 E <564G=4D>4=O<< >D74=<74F<O<<, 74=<<4NM<<<EO 

6>?D>E4<< D4E?D545?5=<O < D57G?<D>64=<O <E?>?L7>64=<O D44<>G4EF>F=>7> E?5>FD4  

�D<>D<F5F=O< =4?D46?5=<5< G>474==>7> 674<<>45=EF6<O 6 2022 7>4G 
O6?O?>EL GG4EF<5 6 D45>F4E ?> ?>47>F>6>5 > �E5<<D=>= >>=D5D5=F<< D44<>E6O7< 
2023 7>44. � E>45 GG4EF<O D45>F=<>>6 $�'� «�$'&» 6 36 E>5D4=<OE D45>G<E < 
?D>5>F=OE 7DG?? <564G=4D>4=OE < D57<>=4?L=OE >D74=<74F<= 6 >5?4EF< E6O7< 
5O?> ?>47>F>6?5=> 18 6>?44>6 44<<=<EFD4F<< E6O7< $>EE<=E>>= $545D4F<< ?> 
6>?D>E4< <564G=4D>4=>7> D4E?D545?5=<O < D57G?<D>64=<O <E?>?L7>64=<O 
D44<>G4EF>F=>7> E?5>FD4, 6 F>< G<E?5 ?> ?G=>F4< ?>65EF>< 4=O ��$-23, ?> >>F>DO< 



33 

$>E>><=447>D O6?O5FEO >F65FEF65==O< <E?>?=<F5?5<. 
7) �>47>F>6>4 < ?D>6545=<5 ?5D57>6>D>6 ?> >>>D4<=4F<< G4EF>F=OE 

?D<E6>5=<= 4?O D44<>M?5>FD>==OE ED54EF6, <E?>?L7G5<OE D47?<G=O<< 

D44<>E?G654<<, <564G 44<<=<EFD4F<5= E6O7< $>EE<=E>>= $545D4F<< < 

44<<=<EFD4F<O<< E6O7< <=>EFD4==OE 7>EG44DEF6 <?< <56?D46<F5?LEF65==O<< 

E?GF=<>>6O<< >D74=<74F<O<< 

� D4<>4E D45>F ?> <564G=4D>4=>-?D46>6>= 74M<F5 G4EF>F=OE ?D<E6>5=<= 4?O 
D44<>M?5>FD>==OE ED54EF6 $�'� «�$'&» 6 2022 7>4G >EGM5EF6<? ?>47>F>6>G < 
?D>6545=<5 L5EF< ?5D57>6>D>6 ?> >>>D4<=4F<< G4EF>F=OE ?D<E6>5=<= 4?O 
D44<>M?5>FD>==OE ED54EF6, <E?>?L7G5<OE D47?<G=O<< D44<>E?G654<<, <564G 
44<<=<EFD4F<5= E6O7< $>EE<=E>>= $545D4F<< < 44<<=<EFD4F<O<< E6O7< 
<=>EFD4==OE 7>EG44DEF6. 

8) $45>FO ?> >>>D4<=4F<< D44<>G4EF>F=>7> >55E?5G5=<O >E=>6=OE 

E>F<4?L=>-7=4G<<OE < E?>DF<6=OE <5D>?D<OF<= 

� D4<>4E D44<>G4EF>F=>7> >55E?5G5=<O 36 E>F<4?L=>-7=4G<<OE < E?>DF<6=OE 
<5D>?D<OF<= 5O?> D4EE<>FD5=> 63 D44<>G4EF>F=OE 74O6>< >F 10 74O6<F5?5=. 

 

«$44<>>>=FD>?L» 
9) �55E?5G5=<5 =44?564M57> <E?>?L7>64=<O D44<>G4EF>F=>7> E?5>FD4 < 

D44<>M?5>FD>==OE ED54EF6 7D4644=E>>7> =47=4G5=<O =4 F5DD<F>D<< $>EE<=E>>= 

$545D4F<<, 6 F>< G<E?5 6 ?5D<>4 ?>47>F>6>< < ?D>6545=<O 7=4G<<OE >5M5EF65==>-

?>?<F<G5E><E < E?>DF<6=OE <5D>?D<OF<= 6 $>EE<=E>>= $545D4F<< 

� 2022 7>4G 6 ?D>F5EE5 ?D>6545=<O <5D>?D<OF<= D44<>>>=FD>?O 
>EGM5EF6?5=O <5D>?D<OF<O D44<>>>=FD>?O 6 >F=>L5=<< 925 039 $-%, GF> 
E>EF46?O5F 110,98% >F 74??4=<D>64==>7> > >>=FD>?N $-% (??4= 3 833 545). 
�E64G5=> D44<>>>=FD>?5< 6 F5G5=<5 7>44 628 235 $-% (101,7% >F >5M57> G<E?4 
74??4=<D>64==OE > >E64FG $-% =4 2022 7>4 (617 535 $-%). �O?>?=5=> <5D>?D<OF<= 
?> >55E?5G5=<N =44?564M57> <E?>?L7>64=<O D44<>G4EF>F < (<?<) D44<>G4EF>F=OE 
>4=4?>6 (6 G4EF< D44<>>>=FD>?O) 6 >F=>L5=<< 12 434 668 D44<>G4EF>F.  

� E>45 >EGM5EF6?5=<O D44<>>>=FD>?O 6OO6?5=> 31 296 =4DGL5=<= ?>DO4>4 
<E?>?L7>64=<O D44<>G4EF>F=>7> E?5>FD4 < ?D46<? M>E??G4F4F<< $-%, 6 F>< G<E?5 62 
=4DGL5=<O $57?4<5=F4 D44<>E6O7< �564G=4D>4=>7> E>N74 M?5>FD>E6O7< < 522 
=4DGL5=<O E>7?4L5=<= <564G 44<<=<EFD4F<5= E6O7< $>EE<=E>>= $545D4F<< < 
44<<=<EFD4F<O<< E6O7< <=>EFD4==OE 7>EG44DEF6 >5 <E?>?L7>64=<< ?>?>E 
D44<>G4EF>F EF4=F<O<< EGE>?GF=>= ?>46<6=>= E?G65O 6 ?D<7D4=<G=OE D4=>=4E (E> 
EF>D>=O $>EE<=E>>= $545D4F<< 3 122 =4DGL5=<O, E> EF>D>=O <=>EFD4==OE 
7>EG44DEF6 3 400 =4DGL5=<=). 

�FD45>F4=4 8 591 74O6>4 =4 ?><E> <EF>G=<>>6 E>744=<O =54>?GEF<<OE 
D44<>?><5E.  

� F5G5=<5 2022 7>44 6O?>?=5= >>=FD>?L >EGM5EF6?5=<O 26 6D5<5==OE 
74?D5F>6 =4 D45>FG $-%. � E>45 6O?>?=5=<O <5D>?D<OF<= =4DGL5=<= 6D5<5==OE 
74?D5F>6 =4 D45>FG $-% =5 6OO6?5=>. 

� F5G5=<5 7>44 >55E?5G5=> ?D>6545=<5 7 >DG?=OE >5M5EF65==>-?>?<F<G5E><E 



34 

< E?>DF<6=OE <5D>?D<OF<=:  
>F>DOFO5 6E5D>EE<=E><5 E?>DF<6=O5 E>D56=>64=<O «�<<=<5 �7DO 

�4D4?<<?<=F56 «�O 6<5EF5. %?>DF» 6 7. %4=FO-�4=E<=E>5 (E 17 ?> 20 <4DF4); 
�5F5D5GD7E><= <564G=4D>4=O= M>>=><<G5E><= D>DG< (E 15 ?> 18 <N=O);  
?D474=<> 6O?GE>=<>>6 >5M5>5D47>64F5?L=OE L>>? 6 7. %4=>F-�5F5D5GD75 

«�?O5 ?4DGE4» (E 24 ?> 25 <N=O); 
D>EE<=E><= MF4? 5657>4=>7> <564G=4D>4=>7> D4??< «,5?>>6O= ?GFL» (E 6 ?> 

17 <N?O); 
?4D44 6 G5EFL 4=O �>5==>-�>DE>>7> $?>F4 $>EE<< 6 7. %4=>F-�5F5D5GD75 (31 

<N?O). 
�>EF>G=O= M>>=><<G5E><= D>DG< 6 7. �?44<6>EF>> (>. $GEE><=) (E 5 ?> 8 

E5=FO5DO); 
6O5>DO 6 54<=O= 45=L 7>?>E>64=<O (E 9 ?> 11 E5=FO5DO). 
�4 MF4?4E ?>47>F>6>< < 6> 6D5<O ?D>6545=<O <5D>?D<OF<= >EGM5EF6?O?4EL 

D45>F4 ?> >F5=>5 >4G5EF64 ?D54>EF46?5=<O (>F5=>5 ?>>DOF<O) GE?G7 ?>46<6=>= 
D44<>F5?5D>==>= E6O7< >4> =4 >5N5>F4E ?D>6545=<O <5D>?D<OF<=, F4> < =4 
<4DLDGF4E E?54>64=<O 45?574F<=, <5EF4E ?D>6<64=<O 45?574F<= < E?>DF<6=OE 
>><4=4 < F.4., 4 F4>65 D45>F4 ?> ?><E>G < >5=4DG65=<N D44<>M?5>FD>==OE ED54EF6 3 
<EF>G=<>>6 6D54=OE D44<>?><5E < <EF>G=<>>6 =5D47D5L5==OE <7?GG5=<=.  

� ?5D<>4 ?>47>F>6>< < ?D>6545=<O 6E5E G>474==OE <5D>?D<OF<= >55E?5G5=> 
=44?564M55 <E?>?L7>64=<5 D44<>G4EF>F=>7> E?5>FD4 < 55E?><5E>64O D45>F4 
D44<>M?5>FD>==OE ED54EF6 >D74=<74F>D>6 < GG4EF=<>>6 <5D>?D<OF<=. 

10) �5D>?D<OF<O ?> D44<>>>=FD>?N 6 F5?OE >55E?5G5=<O =44?564M57> 

<E?>?L7>64=<O D44<>G4EF>F=>7> E?5>FD4 

� D4<>4E <564G=4D>4=>7> >>=FD>?O <7?GG5=<= 6 F5?OE >55E?5G5=<O 
=44?564M57> <E?>?L7>64=<O D44<>G4EF>F=>7> E?5>FD4 6 ?D<7D4=<G=OE D4=>=4E 6 
D57G?LF4F5 >EGM5EF6?5=<O <5D>?D<OF<= D44<>>>=FD>?O $�'� «�$'&» 5O?> 
6OO6?5=> 400 =4DGL5=<= E>7?4L5=<= >5 <E?>?L7>64=<< D44<>G4EF>F=>7> E?5>FD4 
EF4=F<O<< EGE>?GF=>= ?>46<6=>= E?G65O 6 ?D<7D4=<G=OE D4=>=4E E> EF>D>=O 
$-% <=>EFD4==OE 7>EG44DEF6. 

11) $54?<74F<O <5D>?D<OF<= ?> >F5=>5 >4G5EF64 GE?G7 ?>46<6=>= 

D44<>F5?5D>==>= E6O7< 

�EGM5EF6?5=O ??4=>6O5 <5D>?D<OF<O ?> >F5=>5 >4G5EF64 GE?G7 ?>46<6=>= 
D44<>F5?5D>==>= E6O7< (�$&%), ?D54>EF46?O5<OE >?5D4F>D4<< E6O7< =4 
F5DD<F>D<OE 75 7>D>4>6, D4=>=>6 < =4E5?5==OE ?G=>F>6 $>EE<=E>>= $545D4F<<,  
31 GG4EF>5 46F><>5<?L=OE 4>D>7, E6O7O64NM<E 44<<=<EFD4F<6=O= F5=FD EG5N5>F4 
< 7>D>4 D4=>==>7> 7=4G5=<O, < �>E>>6E>>= >>?LF56>= 46F><>5<?L=>= 4>D>75. 

�FG5F=O5 <4F5D<4?O > ?D>6545=<< >F5=>G=OE <7<5D5=<= >4G5EF64 GE?G7 
�$&% 6 7>D>44E, D4=>=4E, =4E5?5==OE ?G=>F4E < 46F><>5<?L=OE 4>D>74E 
D47<5M5=O =4 >5M54>EFG?=>< <=F5D=5F-D5EGDE5 «>4G5EF6>E6O7<.DD». 

12) �5D>?D<OF<O ?> >>=FD>?N G=<65DE4?L=OE GE?G7 E6O7< < GE?G7 ?>GF>6>= 

E6O7< 
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� D4<>4E >>=FD>?O G=<65DE4?L=OE GE?G7 E6O7< < GE?G7 ?>GF>6>= E6O7< 
?D>6545=O <5D>?D<OF<O 6 >F=>L5=<<: 

4 818 F4>E>D>=>6, <7 =<E 6OO6?5=> 1 110 >5N5>F>6 E ?D<7=4>4<< =4DGL5=<= 
(23%); 

1 562 F>G5> 4>EFG?4, <7 =<E 6OO6?5=> 177 >5N5>F>6 E ?D<7=4>4<< =4DGL5=<= 
(11,3%); 

31 179 F>G5> Wi-Fi 6 ?G5?<G=OE <5EF4E, <7 =<E 6OO6?5=> 263 >5N5>F4  
E ?D<7=4>4<< =4DGL5=<= (0,8%); 
7 154 >F45?5=<= ?>GF>6>= E6O7<, <7 =<E 6OO6?5=> 764 >5N5>F4  
E ?D<7=4>4<< =4DGL5=<= (10,7 %); 
28 969 ?>GF>6OE OM<>>6, <7 =<E 6OO6?5=> 2 110 >5N5>F>6  
E ?D<7=4>4<< =4DGL5=<= (7,3%). 
�D><76545=4 D4EEO?>4 142 000 >>=FD>?L=OE ?<E5<. 
13) �55E?5G5=<5 D44<>>>=FD>?O 6 ?D<7D4=<G=OE D4=>=4E $$ E F5?LN ?D>65D>< 

E>5?N45=<O E> EF>D>=O >?5D4F>D>6 E6O7< $>EE<=E>>= $545D4F<< < <=>EFD4==OE 

7>EG44DEF6 FD55>64=<= E>7?4L5=<= >5 <E?>?L7>64=<< ?>?>E D44<>G4EF>F 6 

?D<7D4=<G=OE D4=>=4E 

� 2022 7>4G D<?<4?4<< $�'� «�$'&» 6OO6?5=> 522 =4DGL5=<O %>7?4L5=<= 
<564G 44<<=<EFD4F<O<< E6O7<: E> EF>D>=O >?5D4F>D>6 E6O7< �75D54=464=4 3 4, 
$5E?G5?<>< �5?4DGEL 3 4, ��$ 3 197, �<F6O 3 9, $<=?O=4<< 3 165, -EF>=<< 3 21, 
$>EE<=E>>= $545D4F<< 3 122. 

�>FG4?L=O= 4=4?<7 D57G?LF4F>6 D44<>>>=FD>?O 6 ?D<7D4=<G=OE D4=>=4E 
$>EE<=E>>= $545D4F<< ?>76>?O5F E6>56D5<5==> <=D>D<<D>64FL $>E>><=447>D < 
�4<<=<EFD4F<N E6O7< $>EE<=E>>= $545D4F<< >5 MDD5>F<6=>EF< <E?>?L7>64=<O 
D>EE<=E><<< >?5D4F>D4<< D44<>G4EF>F=>7> E?5>FD4 6 MF<E D4=>=4E < 6OD454FO64FL 
?D54?>65=<O ?> 74M<F5 D44<>G4EF>F=>7> D5EGDE4 $>EE<=E>>= $545D4F<<. 

 

«�=5E5=<5 ??4FO 74 <E?>?L7>64=<5 D44<>G4EF>F=>7> E?5>FD4» 
14) �>=FD>?L 6=5E5=<O ??4FO 74 <E?>?L7>64=<5 6 $>EE<=E>>= $545D4F<< 

D44<>G4EF>F=>7> E?5>FD4 6 2022 7>4G 

�7<<4=<5 ??4FO 74 <E?>?L7>64=<5 6 $>EE<=E>>= $545D4F<< D44<>G4EF>F=>7> 
E?5>FD4 E 57> ?>?L7>64F5?5= >EGM5EF6?O5FEO E 1 O=64DO 2012 7>44 =4 >E=>64=<< 
?>EF4=>6?5=<O �D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 16 <4DF4 2011 7. 7 171  
«�5 GEF4=>6?5=<< D47<5D>6 D47>6>= ??4FO < 5657>4=>= ??4FO 74 <E?>?L7>64=<5 6 
$>EE<=E>>= $545D4F<< D44<>G4EF>F=>7> E?5>FD4 < 67<<4=<O F4>>= ??4FO» (GFD4F<?> 
E<?G E 01.09.2022) < ?>EF4=>6?5=<O �D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 2 <N=O 
2022 7. 7 1008 «� ?>DO4>5 GEF4=>6?5=<O D47<5D>6 ??4FO < 5657>4=>= ??4FO 74 
<E?>?L7>64=<5 6 D>EE<=E>>= $545D4F<< D44<>G4EF>F=>7> E?5>FD4 < 67<<4=<O F4>>= 
??4FO». $47<5DO ??4FO GEF4=46?<64NFEO $>E>><=447>D>< ?D<<5=<F5?L=> > 
D47D5L5=<O< =4 <E?>?L7>64=<5 D44<>G4EF>F <?< D44<>G4EF>F=OE >4=4?>6 < ?>?>E4< 
D44<>G4EF>F, 6O45?5==OE D5L5=<5< �>EG44DEF65==>= >><<EE<< ?> D44<>G4EF>F4< 
4?O D44<>F5E=>?>7<= E>F>6>= E6O7< <?< G>474==OE 6 ?<F5=7<< =4 >EGM5EF6?5=<5 
45OF5?L=>EF< 6 >5?4EF< >>474=<O GE?G7 E6O7< E <E?>?L7>64=<5< D44<>G4EF>F=>7> 
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E?5>FD4. 
� 2022 7>4G: 
- >EGM5EF6?O?EO ?>EF>O==O= >>=FD>?L 74 E6>56D5<5==>EFLN 6=5E5=<O 7 402 

?>?L7>64F5?O<< D44<>G4EF>F=>7> E?5>FD4 (6?445?LF5< D47D5L5=<= =4 <E?>?L7>64=<5 
D44<>G4EF>F <?< D44<>G4EF>F=OE >4=4?>6) ??4FO 74 <E?>?L7>64=<5 D44<>G4EF>F=>7> 
E?5>FD4; 

- ?> 119 451 D47D5L5=<O< =4 <E?>?L7>64=<5 D44<>G4EF>F <?< D44<>G4EF>F=OE 
>4=4?>6 >EGM5EF6?5=O D4EG5FO D47<5D>6 D47>6>= ??4FO < 5657>4=>= ??4FO 74 
<E?>?L7>64=<5 D44<>G4EF>F=>7> E?5>FD4. 

�> <F>74< 2022 7>44 6 D545D4?L=O= 5N465F $>EE<=E>>= $545D4F<< 6=5E5=> 
16 474,96 <?= DG5?5=, GF> E>EF46?O5F 101,91% >F=>E<F5?L=> ?D>7=>7=OE 
?>>474F5?5=. 

$4E?D545?5=<5 6=5E5=<O ??4FO 74 <E?>?L7>64=<5 D44<>G4EF>F=>7> E?5>FD4 6 
$>EE<=E>>= $545D4F<< ?> E>EF>O=<N =4 31.12.2022 ?D54EF46?5=> =4 D<EG=>5. 

 

 
 

$<EG=>>. $4E?D545?5=<5 6=5E5=<O ??4FO 74 <E?>?L7>64=<5 D44<>G4EF>F=>7> 
E?5>FD4 6 $>EE<=E>>= $545D4F<< ?> E>EF>O=<N =4 31.12.2022 

 

% F5?LN >55E?5G5=<O 6=5E5=<O G>474==>= ??4FO E =4G4?4 2022 7>44 
>EGM5EF6?5=O D4EG5FO < ED>D<<D>64=O ?D54?>65=<O 6 ?D>5>FO: 

- 4 - E 565>64DF4?L=OE ?D<>47>6 $>E>><=447>D4 >5 GEF4=>6?5=<< D47<5D>6 
??4FO 74 <E?>?L7>64=<5 6 $>EE<=E>>= $545D4F<< D44<>G4EF>F=>7> E?5>FD4 ?> 
D47D5L5=<O< =4 <E?>?L7>64=<5 D44<>G4EF>F <?< D44<>G4EF>F=OE >4=4?>6 < ?> 
6O45?5==O< 4?O <E?>?L7>64=<O ?>?>E4< D44<>G4EF>F; 

- 8-<< ?D<>47>6 $>E>><=447>D4 > 6=5EG455=>< ?D5>D4M5=<< D47D5L5=<= =4 
<E?>?L7>64=<5 D44<>G4EF>F <?< D44<>G4EF>F=OE >4=4?>6 6 E6O7< E =56=5E5=<5< 
??4FO 74 <E?>?L7>64=<5 6 $>EE<=E>>= $545D4F<< D44<>G4EF>F=>7> E?5>FD4; 

- 2-E ?D<>47>6 > E?<E4=<< 455<F>DE>>= < >D54<F>DE>>= 744>?65==>EF< ?> 
??4F5 74 <E?>?L7>64=<5 6 $>EE<=E>>= $545D4F<< D44<>G4EF>F=>7> E?5>FD4. 

$44<>G4EF>F=>= E?G65>= 6 ?>?=>< >5N5<5 >55E?5G5=> =4?D46?5=<5 
G654><?5=<= > =5>5E>4<<>EF< 6=5E5=<O ??4FO 74 <E?>?L7>64=<5 6 $>EE<=E>>= 

�4?L=56>EF>G=O= 

D545D4?L=O= >>DG7

�D<6>?6E><= 

D545D4?L=O= >>DG7

$5E?G5?<>4 �DO< < 

7. %564EF>?>?L

%565D>-�4?44=O= 

D545D4?L=O= >>DG7

%<5<DE><= 

D545D4?L=O= >>DG7

'D4?LE><= 

D545D4?L=O= >>DG7

&5=FD4?L=O= 

D545D4?L=O= >>DG7

.6=O= < %565D>-

�46>47E><= 
D545D4?L=O5 

>>DG74

1 337,52

3 204,75

24,82

2 436,77
1 994,66

1 210,25

3 932,01

2 026,13
1 373,80

3 212,59

27,48

2 468,42
2 044,81

1 232,80

4 059,13

2 055,93

�?4=, <?=. DG5. �=5E5=> 6 D545D4?L=O= 5N465F, <?=.DG5.
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$545D4F<< D44<>G4EF>F=>7> E?5>FD4 6 2022 7>4G: 7 402 ?>?L7>64F5?O< 
D44<>G4EF>F=O< E?5>FD>< (6?445?LF4< D47D5L5=<= =4 <E?>?L7>64=<5 D44<>G4EF>F 
<?< D44<>G4EF>F=OE >4=4?>6) =4?D46?5=> 33 662 G654><?5=<= > =5>5E>4<<>EF< 
6=5E5=<O ??4FO 74 <E?>?L7>64=<5 6 $>EE<=E>>= $545D4F<< D44<>G4EF>F=>7> 
E?5>FD4. 

$4E?D545?5=<5 >>?<G5EF64 =4?D46?5==OE G654><?5=<= > =5>5E>4<<>EF< 
6=5E5=<O ??4FO 74 <E?>?L7>64=<5 6 $>EE<=E>>= $545D4F<< D44<>G4EF>F=>7> E?5>FD4 
?> E>EF>O=<N =4 31.12.2022 ?D54EF46?5=> =4 D<EG=>5. 

 

 
 

$<EG=>>. $4E?D545?5=<5 >>?<G5EF64 =4?D46?5==OE G654><?5=<= > 
=5>5E>4<<>EF< 6=5E5=<O ??4FO 74 <E?>?L7>64=<5 6 $>EE<=E>>= $545D4F<< 
D44<>G4EF>F=>7> E?5>FD4 ?> E>EF>O=<N =4 31.12.2022 

 

15) �6F><4F<74F<O ?D>F5EE4 >55E?5G5=<O 6=5E5=<O ??4FO 74 <E?>?L7>64=<5 6 

$>EE<=E>>= $545D4F<< D44<>G4EF>F=>7> E?5>FD4 6> $�'� «�$'&» 

� 2022 7>4G ?D>4>?65=4 D45>F4 ?> 46F><4F<74F<< ?D>F5EE>6 6 D4<>4E 
46F><4F<74F<< >55E?5G5=<O 6=5E5=<O ??4FO 74 <E?>?L7>64=<5 6 $>EE<=E>>= 
$545D4F<< D44<>G4EF>F=>7> E?5>FD4: 

D>D<<D>64=<5 D<=4=E>6OE >FG5F>6 > 6=5E5=<</=56=5E5=<< ??4FO 74 
<E?>?L7>64=<5 6 $>EE<=E>>= $545D4F<< D44<>G4EF>F=>7> E?5>FD4; 

66>4 44==OE, ?>EFG?4NM<E <7 $545D4?L=>7> >47=4G5=EF64, >>?<= ??4F56=OE 
4>>G<5=F>6; 

4>EG455=4O D45>F4 ?> 67OE>4=<N 744>?65==>EF< ?> ??4F5 74 <E?>?L7>64=<5 
D44<>G4EF>F=>7> E?5>FD4; 

D>D<<D>64=<5 4>>G<5=F>6 4?O 67OE>4=<O 744>?65==>EF< ?> >??4F5 
<E?>?L7>64=<O 6 $>EE<=E>>= $545D4F<< D44<>G4EF>F=>7> E?5>FD4 6 EG455=>< 
?>DO4>5; 

?D>6545=<5 <=65=F4D<74F<< D4EG5F>6 E ?>?L7>64F5?O<< D44<>G4EF>F=O< 
E?5>FD>< ?> ??4F5 74 <E?>?L7>64=<5 6 $>EE<=E>>= $545D4F<< D44<>G4EF>F=>7> 
E?5>FD4. 

�>?>?=<F5?L=> ?D>6>4<?4EL D45>F4 ?> 6=5E5=<N <7<5=5=<= 6 ?>>4?L=O5 

�4?L=56>EF>G=O= 
D545D4?L=O= >>DG7

�D<6>?6E><= 
D545D4?L=O= >>DG7

$5E?G5?<>4 �DO< 
< 7. %564EF>?>?L

%565D>-�4?44=O= 
D545D4?L=O= >>DG7

%<5<DE><= 
D545D4?L=O= >>DG7

'D4?LE><= 
D545D4?L=O= >>DG7

&5=FD4?L=O= 
D545D4?L=O= >>DG7

.6=O= < %565D>-
�46>47E><= 

D545D4?L=O5 
>>DG74

�5E>>?L>> >>DG7>6

3104

4467

413

3108

4691
3696

5223
4301 4659
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=>D<4F<6=O5 ?D46>6O5 4>FO, D57G?<DGNM<5 6>?D>EO >55E?5G5=<O 67<<4=<O ??4FO 
74 <E?>?L7>64=<5 6 $>EE<=E>>= $545D4F<< D44<>G4EF>F=>7> E?5>FD4. 

 

«�>=<F>D<=7 %�� < %��» 
16) 'G4EF<5 6 ?D54>EF46?5=<< 7>EG44DEF65==OE DG=>F<= ?> >>=FD>?N < 

=447>DG 74 E>5?N45=<5< 74>>=>44F5?LEF64 $>EE<=E>>= $545D4F<< > ED54EF64E 

<4EE>6>= <=D>D<4F<< 

�> <F>74< GG4EF<O 6 ?D54>EF46?5=<< 7>EG44DEF65==OE DG=>F<= ?> >>=FD>?N 
< =447>DG 74 E>5?N45=<5< 74>>=>44F5?LEF64 $>EE<=E>>= $545D4F<< > ED54EF64E 
<4EE>6>= <=D>D<4F<< 4>EF<7=GFO E?54GNM<5 D57G?LF4FO: 

- >EGM5EF6?5= <>=<F>D<=7 6 >F=>L5=<< 8,1 FOE. %�� D545D4?L=>7> < 
D57<>=4?L=>7> GD>6=5=, 6OO6?5=> 5>?55 12,6 FOE. =4DGL5=<= ?D>D<?L=>7> 
74>>=>44F5?LEF64, ?> >>F>DO< F5=FD4?L=O< 4??4D4F>< < F5DD<F>D<4?L=O<< 
>D74=4<< $>E>><=447>D4 6 93% E?GG456 ?D<=OFO E>>F65FEF6GNM<5 <5DO 
D547<D>64=<O; 

- 6 D4<>4E <>=<F>D<=74 E5F< «�=F5D=5F» =4 ?D54<5F 6OO6?5=<O 74?D5M5==>7> 
>>=F5=F4 ($545D4?L=O= 74>>= 7 149-$�) 6OO6?5=> 5>?55 67,8 FOE. EEO?>> E 
EG<F<44?L=O< >>=F5=F><, <7 =<E G44?5=> 5>?55 57,7 FOE. EEO?>>, 64,4 FOE. EEO?>> 
=4 <4F5D<4?O E ?>D=>7D4D<G5E><<< <7>5D465=<O<< =5E>65DL5==>?5F=<E, <7 =<E 
G44?5=> 53,7 FOE. EEO?>>, 61,9 FOE. EEO?>> =4 =4D>>>>=F5=F, <7 =<E G44?5=> 47,7 
FOE. EEO?>>; 

- 6 D4<>4E <>=<F>D<=74 E5F< «�=F5D=5F» =4 ?D54<5F 6OO6?5=<O <=D>D<4F<<, 
=4?D46?5==>= =4 >E>>D5?5=<5 E<<6>?>6 7>EG44DEF65==>= 6?4EF< ($545D4?L=O= 
74>>= 7 149-$�) 6OO6?5=> 480 <4F5D<4?>6 E 74?D5M5==O< >>=F5=F><; 

- 6 D4<>4E <>=<F>D<=74 4G4<>6<7G4?L=OE E5D6<E>6 =4 ?D54<5F 6OO6?5=<O 
=4DGL5=<= ?D>D<?L=>7> 74>>=>44F5?LEF64 ($545D4?L=O= 74>>= 7 149-$�) 
=4?D46?5=> =4 M>E?5DF<7G < ?>4F65D645=> 1044 =4DGL5=<=; 

- 6 D57G?LF4F5 <>=<F>D<=74 F5?5>4=4?>6, D4E?D>EFD4=ONM<EEO 6 >455?L=OE < 
E?GF=<>>6OE E5FOE, 6OO6?5=> 1 712 =4DGL5=<= (?D>4=4?<7<D>64=4 6 051 74?<EL), <7 
>>F>DOE 6 >455?L=OE F5?5>4=4?4E 3 1 308 =4DGL5=<= (5 309 74?<E5=), 6 E?GF=<>>6OE 
F5?5>4=4?4E 3 404 =4DGL5=<O (742 74?<E5=); 

- 6OO6?5=4 <=D>D<4F<O > ??4=<DG5<>< ?D>6545=<< 395 =5E>7?4E>64==OE 
4>F<=, <=D>D<4F<O ?> >>F>DO< G5D57 6>7<>6=>EF< $>E>><=447>D4 =4?D46?5=4 6 
�5=5D4?L=GN �D>>GD4FGDG $>EE<=E>>= $545D4F<<; 

- E?5F<4?<EF4<< D<?<4?>6 $�'� «�$'&» ?D<=OF> GG4EF<5 6 9,6 FOE. 
<5D>?D<OF<= E<EF5<4F<G5E>>7> =45?N45=<O 6 >F=>L5=<< %��, ?D>6>4<<OE 
F5DD<F>D<4?L=O<< >D74=4<< $>E>><=447>D4 (%� %��); 

17) ->E?5DF=4O D45>F4 6 ED5D5 ED54EF6 <4EE>6>= <=D>D<4F<< < <4EE>6OE 

>><<G=<>4F<= 

� D4<>4E M>E?5DF=>= D45>FO 6 ED5D5 ED54EF6 <4EE>6>= <=D>D<4F<< < 
<4EE>6OE >><<G=<>4F<= 6 F5G5=<5 2022 7>44 ?D>6545=> 39 635 M>E?5DF<7 < 
<EE?54>64=<= =4 ?D54<5F 6OO6?5=<O <=D>D<4F<<, 74?D5M5==>= > D4E?D>EFD4=5=<N 
6 ED54EF64E <4EE>6>= <=D>D<4F<< < <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< 
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«�=F5D=5F». 
%?54G5F >F<5F<FL, GF> 5>?LL4O G4EFL M>E?5DF=OE <EE?54>64=<= 6 2022 7>4G 

?D>6>4<?4EL =4 ?D54<5F 6OO6?5=<O <=D>D<4F<<, D4E?D>EFD4=5=<5 >>F>D>= 6 
$>EE<=E>>= $545D4F<< 74?D5M5=> 6 E>>F65FEF6<< E $545D4?L=O< 74>>=>< 7 149-
$�, 6 F>< G<E?5 ?> ?<=<< «45FE>4O ?>D=>7D4D<O» ?D>6545=> 36 834 M>E?5DF<7O, ?> 
6OO6?5=<N =4?<G<O E?>E>5>6 < ?D<7O6>6 > E4<>G5<=EF6G 3 470 M>E?5DF<7. �4?<G<5 
?D>F<6>?D46=>= <=D>D<4F<< ?> ?<=<< «45FE>4O ?>D=>7D4D<O» ?> D57G?LF4F4< 
M>E?5DF=>= >F5=>< ?>4F65D4<?>EL 6 89% E?GG456, 4 ?> =4?D46?5=<N 6OO6?5=<O 
EG<F<44?L=>7> >>=F5=F4 3 6 63% E?GG456. 

� D4<>4E M>E?5DF=>= 45OF5?L=>EF< F4>65 ?D>6545=> 3 M>E?5DF<7O <4F5D<4?>6 
=4 ?D54<5F E>>F65FEF6<O 74>>=>44F5?LEF6G $>EE<=E>>= $545D4F<< 6 ED5D5 %��, 
>EGM5EF6?O5<OE ?> ?DO<O< ?>DGG5=<O<, ?>EFG?4NM<< <7 $>E>><=447>D4. 

�D><5 F>7>, 6 >FG5F=O= ?5D<>4 ?>47>F>6?5=> < ?>4?<E4=> M>E?5DF4<< 
?D54?D<OF<O =4 5G<46=>< =>E<F5?5 14 M>E?D5EE-74>?NG5=<=, ?D54EF46?O5<OE 
$>E>><=447>D>< 6 D4<>4E EG455=OE D475<D4F5?LEF6, 6E57> 6 2022 7>4G  
$�'� «�$'&» 5O?> ?D>6545=> 1 713 <EE?54>64=<= <4F5D<4?>6 %�� 6 D>D<5 
M>E?D5EE-<EE?54>64=<=. 

�D><7>L?> 7=4G<F5?L=>5 G65?<G5=<5 M>E?D5EE-<EE?54>64=<= 
4G4<>6<7G4?L=OE ?D><76545=<=, D4E?D>EFD4=O5<OE =4 4G4<>6<7G4?L=OE E5D6<E4E, 6 
2022 7>4G >5N5< ?D>6545==OE <EE?54>64=<= ?> 44==><G =4?D46?5=<N =4 90% 
5>?LL5 >5N5<4 2021 7>44. 

�5E<>FDO =4 F>F D4>F, GF> ?><E> < >5=4DG65=<5 E4=F>6 6 E5F< «�=F5D=5F» E 
?D<7=4>4<< =4DGL5=<O 74>>=>44F5?LEF64 6 5>?LL<=EF65 E?GG456 E>?44O645FEO 
EF<E<==>, E?54G5F >5D4F<FL 6=<<4=<5 =4 6>7D>EL<= GD>65=L >>?<G5EF64 <4F5D<4?>6 
< <=D>D<4F<<, ?>EFG?4NM<E 6> $�'� «�$'&» 4?O ?D>6545=<O M>E?5DF<7O.  
� F5?>< ?> <F>74< 2022 7>44 >5M<= >5N5< ?D>6545==OE M>E?5DF<7 < <EE?54>64=<= 
=4 10,87% 5>?LL5 >5N5<4 2021 7>44. 

�?4=>6O5 ?>>474F5?< ?> M>E?5DF=>= D45>F5 6 ED5D5 %�� < %��, E>7?4E=> 
�D>7D4<<5 45OF5?L=>EF< $�'� «�$'&» =4 2022 7>4, 6O?>?=5=O 5>?55 G5< =4 
117%. �5D56O?>?=5=<5 ??4=>6OE ?>>474F5?5= 4>EF<7=GF> 6 E6O7< E 
E>>F65FEF6GNM<< G<E?>< >5D4M5=<= 7D4644= < >D74=<74F<= > =4?<G<< 6 E5F< 
«�=F5D=5F» 74?D5M5==>= <=D>D<4F<<, ?>EFG?<6L5= G5D57 D>D<G ?D<5<4 74O6>> =4 
E4=F5 $>E>><=447>D4. 

 

«�545=<5 D55EFD>6 D5EGDE>6 E5F< «�=F5D=5F»» 
18) 'G4EF<5 6 >EGM5EF6?5=<< 7>EG44DEF65==>= DG=>F<< 6 G4EF< 6545=<O 

�4<=>7> D55EFD4 4><5==OE <<5=, G>474F5?5= EFD4=<F E4=F>6 6 E5F< «�=F5D=5F» 

< E5F56OE 44D5E>6, ?>76>?ONM<E <45=F<D<F<D>64FL E4=FO 6 E5F< «�=F5D=5F», 

E>45D64M<5 <=D>D<4F<N, D4E?D>EFD4=5=<5 >>F>D>= 6 $>EE<=E>>= $545D4F<< 

74?D5M5=> (EF4FLO 15.1 $545D4?L=>7> 74>>=4 7 149-$�) 
� 2022 7>4G 6 D4<>4E D54?<74F<< EF4FL< 15.1 $545D4?L=>7> 74>>=4 7 149-$� 

?>ED54EF6>< M?5>FD>==>= D>D<O, D47<5M5==>= =4 >D<F<4?L=>< E4=F5 
$>E>><=447>D4 (http://eais.rkn.gov.ru/feedback), ?>EFG?<?> 691 946 >5D4M5=<= (6 2021 
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7>4G 3 1 127 561). 
�> ED46=5=<N E ?D>L?O< 7>4>< >F<5G5= D>EF >>?<G5EF64 ?>EFG?<6L<E 

>5D4M5=<= ?> ?<=<O< «6>6?5G5=<5 =5E>65DL5==>?5F=<E», «=574>>==O= >5>D>F 
=4D>>F<>>6» < «?D>4464 ?5>4DEF6 >=?4==». �> ?<=<O<: «45FE>4O ?>D=>7D4D<O», 
«>=?4==-F>D7>6?O 4?>>7>?5<», «?D<7O6O > E4<>G5<=EF6G», «>=?4==-474DF=O5 <7DO» 
< «?>EFD4446L<5 =5E>65DL5==>?5F=<5» >F<5G5=> E=<65=<5 >>?<G5EF64 >5D4M5=<=: 

?> ?<=<< «6>6?5G5=<5 =5E>65DL5==>?5F=<E» 6 2022 7>4G ?>EFG?<?> 24 978 
>5D4M5=<= (6 2021 7>4G 3 21 380); 

?> ?<=<< «=574>>==O= >5>D>F =4D>>F<>>6» 6 2022 7>4G ?>EFG?<?> 85 856 
>5D4M5=<= (6 2021 7>4G 3 81 123); 

?> ?<=<< «?D>4464 ?5>4DEF6 >=?4==» 6 2022 7>4G ?>EFG?<?> 9 643 >5D4M5=<O 
(6 2021 7>4G 3 8 872); 

?> ?<=<< «45FE>4O ?>D=>7D4D<O» 6 2022 7>4G ?>EFG?<?> 26 639 >5D4M5=<= (6 
2021 7>4G 3 32 546); 

?> ?<=<< «>=?4==-F>D7>6?O 4?>>7>?5<» 6 2022 7>4G ?>EFG?<?> 43 697 
>5D4M5=<= (6 2021 7>4G 3 45 023); 

?> ?<=<< «?D<7O6O > E4<>G5<=EF6G» 6 2022 7>4G ?>EFG?<?> 9 270 >5D4M5=<= 
(6 2021 7>4G 3 12 898); 

?> ?<=<< «>=?4==-474DF=O5 <7DO» 6 2022 7>4G ?>EFG?<?> 489 113 >5D4M5=<= 
(6 2021 7>4G 3 925 216); 

?> ?<=<< «?>EFD4446L<5 =5E>65DL5==>?5F=<5» 6 2022 7>4G ?>EFG?<?> 415 
>5D4M5=<= (6 2021 7>4G 3 503). 

�D><5 F>7>, 6 2022 7>4G D54?<7>64=O =>6O5 ?<=<<: 
?> ?<=<< «?D>4464 65F5D<=4D=>= ?D>4G>F<< >=?4==» 6 2022 7>4G ?>EFG?<?> 

963 >5D4M5=<O; 
?> ?<=<< «>DG6<5 < 67DO6G4FO5 65M5EF64» 6 2022 7>4G ?>EFG?<?> 1342 

>5D4M5=<O; 
?> ?<=<< «7>E.74M<F4 >ED4=O5<OE ?<F» 6 2022 7>4G ?>EFG?<?> 30 >5D4M5=<=. 
� 2022 7>4G 6 D4<>4E D54?<74F<< EF4FL< 15.1 $545D4?L=>7> 74>>=4 7 149-$� 

>5D45>F4=> 692 634 (6 2021 7>4G 3 1 164 373) 74O6>>, ?>EFG?<6L<E ?>ED54EF6>< 
M?5>FD>==>= D>D<O, 6 F>< G<E?5 D4=55 >FG5F=>7> ?5D<>44, D47<5M5==>= =4 
>D<F<4?L=>< E4=F5 $>E>><=447>D4 (http://eais.rkn.gov.ru/feedback).  

� E6O7< E =4?<G<5< ?D<7=4>>6 74?D5M5==>= <=D>D<4F<< 6 G?>?=><>G5==O5 
>D74=O (?>EF4=>6?5=<5 �D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 26 >>FO5DO 2012 7. 
7 1101) =4?D46?5=> 263 713 (6 2021 7>4G 3 222 493) EEO?>> =4 ?>F5=F<4?L=> 
?D>F<6>?D46=GN <=D>D<4F<N.  

�D><5 F>7>, 74 >FG5F=O= ?5D<>4 >5D45>F4=> 76 917 (6 2021 7>4G 3 91 406) 
EG455=OE D5L5=<= > ?D<7=4=<< <=D>D<4F<< 74?D5M5==>= > D4E?D>EFD4=5=<N =4 
F5DD<F>D<< $>EE<=E>>= $545D4F<< (<?< M>EFD5<<EFE>>=). �4 >E=>64=<< EG455=OE 
D5L5=<= 6 �4<=O= D55EFD 74 >FG5F=O= ?5D<>4 5O?> 6=5E5=> 119 797 (6 2021 7>4G 3 
138 002) EEO?>> =4 <=F5D=5F-D5EGDEO, E>45D64M<5 F4>GN ?D>F<6>?D46=GN 
<=D>D<4F<N, 6>?NG4O 35 086 (6 2021 7>4G 3 45 565) «655-75D>4?». 
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�E57> 6 2022 7>4G 6 �4<=O= D55EFD 6 E6O7< E =4?<G<5< 74?D5M5==>= 
<=D>D<4F<< 6=5E5=> 384 300 (6 2021 7>4G 3 351 949) E4=F>6 </<?< G>474F5?5= 
EFD4=<F E4=F>6 6 E5F< «�=F5D=5F».  

� E6O7< E G44?5=<5< 74?D5M5==>= <=D>D<4F<< ?<5> >7D4=<G5=<5< 4>EFG?4 > 
=5= ?D>64=45D4<< E>EF<=74 <7 �4<=>7> D55EFD4 <E>?NG5=> 363 103 (6 2021 7>4G 3 
254 443) E4=F4 </<?< G>474F5?O EFD4=<F E4=F>6 6 E5F< «�=F5D=5F».  

�4 >FG5F=O= ?5D<>4 >?5D4F>D4< E6O7<, >>47O64NM<< GE?G7< ?> 
?D54>EF46?5=<N 4>EFG?4 > E5F< «�=F5D=5F» =4 F5DD<F>D<< $>EE<=E>>= $545D4F<<, 
=4?D46?5=> =4 5?>><D>6>G 180 363 (6 2021 7>4G 3 173 838) E4=F4 </<?< G>474F5?5= 
EFD4=<F E4=F>6 E5F< «�=F5D=5F». 

19) 'G4EF<5 6 >EGM5EF6?5=<< 7>EG44DEF65==>= DG=>F<< 6 G4EF< 6545=<O 

$55EFD4 >D74=<74F>D>6 D4E?D>EFD4=5=<O <=D>D<4F<< 6 E5F< «�=F5D=5F» 

(EF4FL< 10.1, 15.4 $545D4?L=>7> 74>>=4 7 149-$�) 

� D4<>4E D54?<74F<< EF4FL< 10.1 $545D4?L=>7> 74>>=4 7 149-$� 6 2022 7>4G 6 
$>E>><=447>D ?>EFG?<?> 32 >5D4M5=<O >D74=>6, >EGM5EF6?ONM<E >?5D4F<6=>-
D47OE>=GN 45OF5?L=>EFL < >55E?5G5=<5 557>?4E=>EF< $>EE<=E>>= $545D4F<<, > 
=4?D46?5=<< FD55>64=<= >D74=<74F>D4< D4E?D>EFD4=5=<O <=D>D<4F<< 6 E5F< 
«�=F5D=5F» > =4G4?5 >EGM5EF6?5=<O 45OF5?L=>EF< ?> >55E?5G5=<N 
DG=>F<>=<D>64=<O <=D>D<4F<>==OE E<EF5< < (<?<) ?D>7D4<< 4?O M?5>FD>==OE 
6OG<E?<F5?L=OE <4L<=, >>F>DO5 ?D54=47=4G5=O < (<?<) <E?>?L7GNFEO 4?O ?D<5<4, 
?5D544G<, 4>EF46>< < (<?<) >5D45>F>< M?5>FD>==OE E>>5M5=<= ?>?L7>64F5?5= E5F< 
«�=F5D=5F». 

�> E>EF>O=<N =4 >>=5F 2022 7>44 6 $55EFD5 �$� E>45D6<FEO <=D>D<4F<O  
> 296 >D74=<74F>D4E D4E?D>EFD4=5=<O <=D>D<4F<< 6 E5F< «�=F5D=5F», 6 F>< G<E?5 
?>446L<E G654><?5=<5 6 <=<F<4F<6=>< ?>DO4>5. 

�4 >FG5F=O= ?5D<>4 6 $55EFD �$� 6=5E5=O E6545=<O > 75 >D74=<74F>D4E 
D4E?D>EFD4=5=<O <=D>D<4F<<. 

�4 =5?D54EF46?5=<5 G654><?5=<O > =4G4?5 >EGM5EF6?5=<O 45OF5?L=>EF< 6 
'?D46?5=<5 $>E>><=447>D4 ?> &5=FD4?L=><G D545D4?L=><G >>DG7G =4?D46?5=O 
<4F5D<4?O 4?O ?D<6?5G5=<O > 44<<=<EFD4F<6=>= >F65FEF65==>EF< ?> G4EF< 1 EF4FL< 
13.31 �>45>E4 $>EE<=E>>= $545D4F<< >5 44<<=<EFD4F<6=OE ?D46>=4DGL5=<OE 6 
>F=>L5=<< 6 >D74=<74F>D>6 D4E?D>EFD4=5=<O <=D>D<4F<<. 

20) 'G4EF<5 6 >EGM5EF6?5=<< 7>EG44DEF65==>= DG=>F<< 6 G4EF< 6545=<O 

$55EFD4 =>6>EF=OE 47D574F>D>6 (EF4FLO 10.4 $545D4?L=>7> 74>>=4 7 149-$�) 

� D4<>4E D54?<74F<< EF4FL< 10.4 $545D4?L=>7> 74>>=4 7 149-$� ?> 
E>EF>O=<N =4 >>=5F 2022 7>44 6 $55EFD =>6>EF=OE 47D574F>D>6 6>?NG5=> 4 
<=F5D=5F-D5EGDE4: 

�>6>EF< (�75=) (https://dzen.ru/news), ?>E5M45<>EFL 5>?55 1 <?=.; 
�>6>EF<@mail.ru (https://news.mail.ru), ?>E5M45<>EFL 5>?55 1 <?=.; 
$4<5?5D/=>6>EF< (https://news.rambler.ru), ?>E5M45<>EFL 3,4 <?=.; 
%��2 (http://smi2.ru), ?>E5M45<>EFL 5>?55 1,3 <?=. 
� >F=>L5=<< G>474==OE D5EGDE>6 5O? ?D>6545= <>=<F>D<=7 =4 GEF4=>6?5=<5 
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D4>F4 <E?>?=5=<O >5O74==>EF5=. � E>45 ?D>6545==>= ?D>65D>< =4DGL5=<= 
6?445?LF4<< =>6>EF=OE 47D574F>D>6 FD55>64=<= ?G=>F4 10 G4EF< 1 EF4FL< 10.4 
$545D4?L=>7> 74>>=4 7 149-$� =5 6OO6?5=>. 

&D55>64=<= G?>?=><>G5==OE >D74=>6 > ?D5>D4M5=<< D4E?D>EFD4=5=<O 
=>6>EF=>= <=D>D<4F<< 6 2022 7>4G =5 ?>EFG?4?>. 

21) 'G4EF<5 6 >EGM5EF6?5=<< 7>EG44DEF65==>= DG=>F<< 6 G4EF< 6545=<O 

$55EFD4 4G4<>6<7G4?L=OE E5D6<E>6 (EF4FLO 10.5 $545D4?L=>7> 74>>=4 7 149-$�) 

� 2022 7>4G ?>EFG?<?> 6 E>>5M5=<= > 6>?NG5=<< <=D>D<4F<< 6 D4<>4E 
D54?<74F<< EF4FL< 10.5 $545D4?L=>7> 74>>=4 7 149-$� 6 $55EFD 4G4<>6<7G4?L=OE 
E5D6<E>6, =4 >E=>64=<< >>F>DOE 6 $55EFD 4G4<>6<7G4?L=OE E5D6<E>6 6>?NG5= 1 
4G4<>6<7G4?L=O= E5D6<E 3 '<?? (https://chillvision.ru/). 

�> E>EF>O=<N =4 >>=5F 2022 7>44 6 $55EFD 4G4<>6<7G4?L=OE E5D6<E>6 
6>?NG5=> 24 4G4<>6<7G4?L=OE E5D6<E4. 

22) 'G4EF<5 6 >EGM5EF6?5=<< 7>EG44DEF65==>= DG=>F<< 6 G4EF< 6545=<O 

$55EFD4 4><5==OE <<5=, G>474F5?5= EFD4=<F E4=F>6 6 E5F< «�=F5D=5F» < 

E5F56OE 44D5E>6, ?>76>?ONM<E <45=F<D<F<D>64FL E4=FO 6 E5F< «�=F5D=5F», 

E>45D64M<5 <=D>D<4F<N, D4E?D>EFD4=O5<GN E =4DGL5=<5< 46F>DE><E < (<?<) 

E<56=OE ?D46 (EF4FL< 15.2, 15.6, 15.6-1 $545D4?L=>7> 74>>=4 7 149-$�) 

� 2022 7>4G 6 D4<>4E <E?>?=5=<O EF4FL< 15.2 $545D4?L=>7> 74>>=4 7 149-$� 
6 $>E>><=447>D ?> E<EF5<5 674<<>45=EF6<O ?>EFG?<?> 12 721 >?D545?5=<5 
�>E>>6E>>7> 7>D>4E>>7> EG44 (�>E7>DEG4) > ?D<=OF<< ?D5464D<F5?L=OE 
>55E?5G<F5?L=OE <5D, =4?D46?5==OE =4 >55E?5G5=<5 74M<FO >5N5>F>6 46F>DE><E < 
(<?<) E<56=OE ?D46, D4E?D>EFD4=O5<OE ?>ED54EF6>< E5F< «�=F5D=5F». 

�7 =<E, 6 >F=>L5=<<: 
><=>D<?L<>6 3 10 608; 
?<F5D4FGD=OE ?D><76545=<= 3 1 591; 
<G7O>4?L=OE ?D><76545=<= 3 93; 
E>>5M5=<= 6 MD<D F5?5?5D544G 3 215; 
?D>7D4<< 4?O -�� 3 159; 
?D><76545=<5 <E>GEEF64 3 52; 
?D><76545=<= =4G>< 3 1; 
5474 44==OE 3 2.  
�><<<> >?D545?5=<= �>E7>DEG44, 6 D4<>4E G65 <<5NM<EEO >?D545?5=<= 

?>EFG?<?> 38 080 74O6?5=<= ?D46>>5?444F5?5= 6 >F=>L5=<< 458 237 G>474F5?5= 
E4=F>6 </<?< EFD4=<F E4=F>6 E5F< «�=F5D=5F», =4DGL4NM<E 46F>DE><5 < (<?<) 
E<56=O5 ?D464. 

� E6O7< E =5?D<=OF<5< <5D ?> G44?5=<N <=D>D<4F<<, D4E?D>EFD4=O5<>= E 
=4DGL5=<5< 46F>DE><E < (<?<) E<56=OE ?D46, 6 >FG5F=O= ?5D<>4 4>EFG? =4 
F5DD<F>D<< $>EE<=E>>= $545D4F<< >7D4=<G5= > 41 065 �=F5D=5F-D5EGDE4<. 

�D><5 F>7>, 74 >FG5F=O= ?5D<>4 6 $>E>><=447>D ?>EFG?<?> 13 470 
>?D545?5=<= �>E7>DEG44 >5 >F<5=5 ?D5464D<F5?L=OE >55E?5G<F5?L=OE <5D, 6 
D57G?LF4F5 G57> 5O?< ?D5>D4M5=O <5DO D547<D>64=<O 6 >F=>L5=<< 38 655 D5EGDE>6 
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<7 D4=55 5?>><DG5<OE. 
�F45?L=> E?54G5F >F<5F<FL, GF> 6 2022 7>4G 6 D4<>4E D54?<74F<< EF4F5= 15.6 < 

15.6-1 $545D4?L=>7> 74>>=4 7 149-$� ?>EFG?<?> 149 D5L5=<= �>E7>DEG44 > 
?>EF>O==>= 5?>><D>6>5 458 E4=F>6 6 E5F< «�=F5D=5F» < =4 ?>EF>O==>= >E=>65 
>7D4=<G5= 4>EFG? > 12 001 �=F5D=5F-D5EGDE4< =4 >E=>64=<< D5L5=<= �<=F<DDO 
$>EE<<. 

23) 'G4EF<5 6 >EGM5EF6?5=<< 7>EG44DEF65==>= DG=>F<< 6 G4EF< 6545=<O 
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> <=D>D<4F<>==O< D5EGDE4<, <=D>D<4F<>==>-F5?5>><<G=<>4F<>==O< E5FO<, 
4>EFG? > >>F>DO< >7D4=<G5= (��%�); 
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<75<D4F5?L=OE >><<EE<= EG5N5>F>6 $>EE<=E>>= $545D4F<< <?< <75<D4F5?L=OE 
>><<EE<=, >D74=<7GNM<E 6O5>DO 6 >D74=O ?G5?<G=>= 6?4EF< D545D4?L=>= 
F5DD<F>D<<. 

� F5?OE D54?<74F<< 44==>7> <5E4=<7<4 $>E>><=447>D>< E &�� $>EE<< 
?>4?<E4=> %>7?4L5=<5 > ?>DO4>5 674<<>45=EF6<O &5=FD4?L=>= <75<D4F5?L=>= 
>><<EE<< $>EE<=E>>= $545D4F<<, <75<D4F5?L=OE >><<EE<= EG5N5>F>6 $>EE<=E>>= 
$545D4F<<, <75<D4F5?L=OE >><<EE<= <G=<F<?4?L=OE >5D47>64=<=, <75<D4F5?L=OE 
>><<EE<=, >D74=<7GNM<E 6O5>DO 6 >D74=O ?G5?<G=>= 6?4EF< D545D4?L=OE 
F5DD<F>D<=, < $545D4?L=>= E?G65O ?> =447>DG 6 ED5D5 E6O7<, <=D>D<4F<>==OE 
F5E=>?>7<= < <4EE>6OE >><<G=<>4F<=, 55 F5DD<F>D<4?L=OE >D74=>6. 

�D><5 F>7>, $>E>><=447>D>< 6 F5?OE >D74=<74F<< MDD5>F<6=>7> 
674<<>45=EF6<O 6 D4<>4E D54?<74F<< EF4FL< 15.3-1 $545D4?L=>7> 74>>=4 7 149-$� 
E>744=4 <=D>D<4F<>==4O E<EF5<4, > >>F>D>= <<5NF 4>EFG? 4>?6=>EF=O5 ?<F4 &�� 
$>EE<< < <75<D4F5?L=OE >><<EE<= E>>F65FEF6GNM<E GD>6=5= 4?O =4?D46?5=<O 
?D54EF46?5=<= 6 M?5>FD>==>< 6<45. 

�4 >E=>64=<< 6OL5G>474==OE ?D54EF46?5=<= $>E>><=447>D>< 74 2022 7>4 
=4?D46?5=> =4 <E>?NG5=<5 <7 ?><E>>6>= 6O44G< 11 <=F5D=5F-EFD4=<F, E>45D64M<E 
<=D>D<4F<N, D4E?D>EFD4=O5<GN E =4DGL5=<5< FD55>64=<= 74>>=>44F5?LEF64 
$>EE<=E>>= $545D4F<< > 6O5>D4E < D5D5D5=4G<4E, < (<?<) 47<F4F<>==O< 
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<4F5D<4?4<, <77>F>6?5==O< < (<?<) D4E?D>EFD4=O5<O< E =4DGL5=<5< FD55>64=<= 
74>>=>44F5?LEF64 $>EE<=E>>= $545D4F<< > 6O5>D4E < D5D5D5=4G<4E. �D><5 F>7>, 
?>GF>6O5 E5D6<EO �5=?, /=45>E < $4<5?5D >7D4=<G<?< ?>?GG5=<5 ?<E5< E 
?>GF>6OE OM<>>6, D4E?D>EFD4=O6L<E <=D>D<4F<N, =4DGL4NMGN FD55>64=<O 
74>>=>44F5?LEF64 $>EE<=E>>= $545D4F<< > 6O5>D4E < D5D5D5=4G<4E.  

32) 'G4EF<5 6 >EGM5EF6?5=<< 7>EG44DEF65==OE DG=>F<= ?> 6545=<N D55EFD>6 

6 G4EF< D54?<74F<< EF4FL< 15.3-2 $545D4?L=>7> 74>>=4 7 149-$� 
� E>>F65FEF6<< E> EF4FL5= 15.3-2 $545D4?L=>7> 74>>=4 7 149-$� 

$>E>><=447>D >7D4=<G<645F 4>EFG? 6 E5F< «�=F5D=5F» > <=D>D<4F<>==O< D5EGDE4< 
=5>4=>>D4F=> (E<EF5<4F<G5E><) D47<5M46L<< ?D>F<6>?D46=GN <=D>D<4F<N. 
�>EFG? > ?>4>5=O< D5EGDE4< >7D4=<G<645FEO =4 ?>EF>O==>= >E=>65, E=OF<5 
>7D4=<G5=<= =5 ?D54GE<>FD5=>. � F5?OE MDD5>F<6=>7> <E?>?=5=<O 74>>=4 6 D55EFD5 
398-$� 6 2022 7>4G D54?<7>64= E>>F65FEF6GNM<= <5E4=<7< ?>EF>O==>7> 
>7D4=<G5=<O 4>EFG?4 > <=D>D<4F<>==O< D5EGDE4< 6 E5F< «�=F5D=5F». 

� 2022 7>4G 6 D4<>4E D54?<74F<< G>474==>= EF4FL< >FD45>F4=4 5?>><D>6>4 70 
<=D>D<4F<>==OE D5EGDE>6, =4 >>F>DOE =5>4=>>D4F=> D47<5M4?4EL <=D>D<4F<O, 
D4E?D>EFD4=O5<4O E =4DGL5=<5< FD55>64=<= 74>>=>44F5?LEF64 $>EE<=E>>= 
$545D4F<<. 

 

«�>=<F>D<=7 < G?D46?5=<5 E5FLN E6O7< >5M57> ?>?L7>64=<O» 
33) %>744=<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O <=D>D<4F<>==>= E<EF5<O 

<>=<F>D<=74 <4DLDGF>6 FD4D<>4 6 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< 

«�=F5D=5F», <>=<F>D<=74 < G?D46?5=<O E5FLN E6O7< >5M57> ?>?L7>64=<O 

� 2022 7>4G EGM5EF65==> 6>7D>E?4 =47DG7>4, E6O74==4O E D547<D>64=<5< =4 
<=F<45=FO <=D>D<4F<>==>= 557>?4E=>EF<. �>4F65D4<?4EL D54?<74F<O G7D>7, 
6OO6?5==OE ?> D57G?LF4F4< 2021 7>44. �E=>6=O5 G7D>7O &�' %%�� 6EFD5F<? G65 
E 7>F>6O<< <=EFDG<5=F4<< ?D>F<6>45=EF6<O.  

%>744=> ?>4D4745?5=<5, >DG7?>EGF>G=> D5L4NM55 7444G< F5=FD4 
D547<D>64=<O =4 >><?LNF5D=O5 <=F<45=FO: 

>D74=<7>64=O GE<?5==O= >DG7?>EGF>G=O= <>=<F>D<=7 < D547<D>64=<5 =4 
<=F<45=FO, E6O74==O5 E 4>EFG?=>EFLN D5EGDE>6, <4DLDGF<74F<5= 6 E5FOE E6O7<, 
>><?LNF5D=O<< < DDoS-4F4>4<<, <=F<45=F4< 6 >5?4EF< <=D>D<4F<>==>= 
557>?4E=>EF<; 

>D74=<7>64=> >?5D4F<6=>5 674<<>45=EF6<5 E �4F<>=4?L=O< 
>>>D4<=4F<>==O< F5=FD>< ?> >><?LNF5D=O< <=F<45=F4< (��&��), 12 &5=FD>< 
$%� $>EE<<, &5=FD>< <>=<F>D<=74 < D547<D>64=<O =4 >><?LNF5D=O5 4F4>< 6 
>D54<F=>-D<=4=E>6>< E5>F>D5 ($<=&�$&), E5FLN RSNet ($%� $>EE<<), ��� 
«$>EF5?5>><», $>EF5?5>><-%>?4D, �>7<F<6 &5E=>?>46<E, E?G654<< 
<=D>D<4F<>==>= 557>?4E=>EF< >?5D4F>D>6 E6O7<, 4 F4>65 E DO4>< 7>EG44DEF65==OE 
>D74=>6 < GG4EF=<>>6 <=D>D<4F<>==>7> 674<<>45=EF6<O 6 D>EE<=E>>< E57<5=F5 
E5F< «�=F5D=5F».  

� 467GEF5 2022 7>44 &�' %%�� ?D>6545=O GG5=<O E F5?LN ?D>65D>< 
4>EF4F>G=>EF< <5D >55E?5G5=<O 557>?4E=>EF< DG=>F<>=<D>64=<O E5F5= E6O7< < 
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>?NG56OE M?5<5=F>6 D>EE<=E>>7> E57<5=F4 E5F< «�=F5D=5F». 'G4EF=<>4<< GG5=<= 
O6?O?<EL >D74=O 7>EG44DEF65==>= 6?4EF<, D545D4?L=O5 < D57<>=4?L=O5 >?5D4F>DO 
E6O7<, >DG?=5=L<5 >><?4=<< 6 >5?4EF< ><55D557>?4E=>EF<, ED54EF64 <4EE>6>= 
<=D>D<4F<< < >D74=<74F>DO D4E?D>EFD4=5=<O <=D>D<4F<<. 'G5=<O ?>>474?< 
7>F>6=>EFL D>EE<=E>>7> E57<5=F4 E5F< «�=F5D=5F» > 46F>=><=>= D45>F5 6 E?GG45 
>F>?NG5=<O 57> >F 7?>54?L=>= E5F<. �FG5F >5 <F>74E >><??5>E=>7> GG5=<O 
=4?D46?5= 6 �<=F<DDO $>EE<<. 

�> <E?>?=5=<5 ?>4?G=>F4 «4» ?G=>F4 12 �D46<? ?D54>EF46?5=<O <7 
D545D4?L=>7> 5N465F4 EG5E<4<< =4 E>744=<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O 
<=D>D<4F<>==>= E<EF5<O <>=<F>D<=74 <4DLDGF>6 FD4D<>4 6 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F», <>=<F>D<=74 < G?D46?5=<O E5FLN E6O7< 
>5M57> ?>?L7>64=<O, GF65D645==OE ?>EF4=>6?5=<5< �D46<F5?LEF64 $>EE<=E>>= 
$545D4F<< >F 30 4?D5?O 2019 7. 7 528 (�D46<?4 ?D54>EF46?5=<O EG5E<4<<, 
GF65D645==O5 ?>EF4=>6?5=<5< �D46<F5?LEF64 $>EE<=E>>= $545D4F<< 7 528), 6 
D4<>4E 4>7>6>D4 >F 31.03.2022 7 &�'-2022, 74>?NG5==>7> <564G $�'� «�$'&» < 
��� «$>EF5?5>><», E>744=O E?54GNM<5 ?>4E<EF5<O < 6O?>?=5=O D45>FO: 

D47D45>F4=4 ?>4E<EF5<4 ?G5?<G=>7> ?>DF4?4 (���), 6>?NG4NM4O 6 E55O 
<=EFDG<5=FO <>=<F>D<=74 4>EFG?=>EF< E5D6<E>6 < D5EGDE>6 E5F< «�=F5D=5F», 
Looking glass, 4 F4>65 =>6>EF<, ?D46>6GN <=D>D<4F<N < ?5D5=4?D46?5=<O 
?>?L7>64F5?5= =4 7>EG44DEF65==O5 D5EGDEO; 

6O?>?=5=O D45>FO ?> 4>D45>F>5 ?>4E<EF5<O «$55EFD 44D5E=>-=><5D=OE 
D5EGDE>6 E5F< «�=F5D=5F» ($��$), 6>?NG4NM5= 6 E55O <>4G?L EF4F<EF<>< < 
4=4?<F<><, <>4G?L, >F>5D464NM<= <EF>D<N <7<5=5=<= 44==OE 6 $��$ < 4DG7<E 
D57<>=4?L=OE D57<EFD4FGD4E, <=D>D<4F<N ?> EF4F<EF<>5 <E?>?L7>64=<O E5D6<E>6 
$��$, ?>76>?ONMGN ?D>6>4<FL 4=4?<7 <=D>D<4F<< > >>?<G5EF65 < E4D4>F5D5 
>5D4M5=<= ?>?L7>64F5?5= E5F< «�=F5D=5F» > $��$. &4>65 E>744= <>4G?L 
>?5D4F<6=>7> ?>?GG5=<O <=D>D<4F<< <7 D57<>=4?L=OE <=F5D=5F-D57<EFD4FGD, 
?>76>?ONM<= >F>5D464FL 6 $��$ 6 D56<<5 D54?L=>7> 6D5<5=< 6=5E5==O5 
<7<5=5=<O 6 �� RIPE; 

E>744=4 ?>4E<EF5<4 G?D46?5=<O ?>DGG5=<O<< (�'�), >>F>D4O ?D54=47=4G5=4 
4?O 46F><4F<74F<< 45OF5?L=>EF< &�' %%��, E6O74==>= E =4?D46?5=<5< < 
>>=FD>?5< <E?>?=5=<O ?>DGG5=<=; 

6O?>?=5=O D45>FO ?> <4ELF45<D>64=<N ?>4E<EF5<O <=D>D<4F<>==>= 
557>?4E=>EF< 6 >5N5<5 D45>F 2022 7>44, 4 <<5==> D4E?D>EFD4=5=<5 DG=>F<>=4?4 
>55E?5G5=<O 557>?4E=>EF< =4 >><?>=5=FO =>6OE <=D>D<4F<>==OE ?>4E<EF5<, 
D47<5M45<OE 6 �% «&�' %%��»; 

6O?>?=5=O D45>FO ?> ?>6F>D=>= 4FF5EF4F<< �% «&�' %%��» ?> 
FD55>64=<O< 74M<FO <=D>D<4F<< 6 E>>F65FEF6<< E FD55>64=<O<< �D<>474 $%&-� 
$>EE<< >F 11.02.2013 7 17 «�5 GF65D645=<< &D55>64=<= > 74M<F5 <=D>D<4F<<, =5 
E>EF46?ONM5= 7>EG44DEF65==GN F4==G, E>45D64M5=EO 6 7>EG44DEF65==OE 
<=D>D<4F<>==OE E<EF5<4E» (74D57<EFD<D>64= 6 �<=NEF5 $>EE<< 31 <4O 2013 7., 
D57<EFD4F<>==O= 7 28608); 
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?D>6545=4 7>EG44DEF65==4O D57<EFD4F<O ?D>7D4<< 4?O -��, D47D45>F4==OE 6 
E>45 D54?<74F<< 4>7>6>D>6 =4 E>744=<5 < D476<F<5 �% «&�' %%��»; 

4>F>< >F 30.11.2022 66545=O 6 ?D><OL?5==GN M>E??G4F4F<N �'�, 
<=D>D<4F<>==>-6OG<E?<F5?L=4O <=DD4EFDG>FGD4, $��$ 6 >5N5<5 4>D45>F>> 2020 
7>44; 

4>F>< >F 19.09.2022 66545=4 6 M>E??G4F4F<N ?>4E<EF5<4 <=D>D<4F<>==>= 
557>?4E=>EF<. 

&4>65 6 2022 7>4G 6 D4<>4E D54?<74F<< ?>4?G=>F4 «5» ?G=>F4 12 �D46<? 
?D54>EF46?5=<O EG5E<4<<, GF65D645==OE ?>EF4=>6?5=<5< �D46<F5?LEF64 
$>EE<=E>>= $545D4F<< 7 528, < 6 F5?OE ?>6OL5=<O GEF>=G<6>EF<, F5?>EF=>EF< < 
557>?4E=>EF< DG=>F<>=<D>64=<O D>EE<=E>>7> E57<5=F4 E5F< «�=F5D=5F»: 

>55E?5G5=> DG=>F<>=<D>64=<5 �% «&�' %%��» 6 D4<>4E 4>7>6>D4  
>F 25.02.2022 7 &�-2022; 

?D>4>?645FEO ?D54>EF46?5=<5 4>EFG?4 > E5D6<EG D575D6=OE >>D=56OE 
E5D65D>6 DNS < E5D6<EG >ML<DGNM<E DNS-D57>?65D>6 4?O >?5D4F>D>6 E6O7<, 
<<5NM<E =><5D 46F>=><=>= E<EF5<O, E>5EF65==<>>6 <?< <=OE 6?445?LF56 
F5E=>?>7<G5E><E E5F5= E6O7<, >D74=<74F>D>6 D4E?D>EFD4=5=<O <=D>D<4F<< 6 E5F< 
«�=F5D=5F», ?>?L7>64F5?5= GE?G74<< E6O7< 6 D4<>4E 4>7>6>D4 >F 26.02.2021 
7 �%��-2021. 

� F5?OE D54?<74F<< <5D>?D<OF<O «�55E?5G5=<5 E5>D4 <=D>D<4F<< >5 44D5E4E, 
=><5D4E 46F>=><=OE E<EF5< < E6O75= <564G =<<<, <4DLDGF4E FD4D<>4 6 E5F< 
«�=F5D=5F», 4 F4>65 G?D46?5=<O ?D>7D4<<=>-F5E=<G5E><<< ED54EF64<<, 
>55E?5G<64NM<<< 557>?4E=>EFL D>EE<=E>>7> E57<5=F4 E5F< «�=F5D=5F» (?>4?G=>F 
«6» ?G=>F4 2 �D46<? ?D54>EF46?5=<O EG5E<4<<, GF65D645==OE ?>EF4=>6?5=<5< 
�D46<F5?LEF64 $>EE<=E>>= $545D4F<< 7 528) E>744=4 >D74=<74F<>==4O EFDG>FGD4, 
>55E?5G<64NM4O >>=FD>?L F5?>EF=>EF<, GEF>=G<6>EF< < 557>?4E=>EF< 
DG=>F<>=<D>64=<O D>EE<=E>>7> E57<5=F4 E5F< «�=F5D=5F». � &�' %%�� 
>D74=<7>64=> >DG7?>EGF>G=>5 456GDEF6>. �?5D4F<6=O5 456GD=O5 >EGM5EF6?ONF 
>>=FD>?L 74 E>EF>O=<5< E5F< E6O7< >5M57> ?>?L7>64=<O < E5F< «�=F5D=5F» 6 G4EF< 
>FE?56<64=<O E>EF>O=<O < <=F<45=F>6 E5F< < >?5D4F<6=>7> D547<D>64=<O =4 =<E. 
'G<FO64O D4E?>?>65=<5 $>EE<< 6 >4<==44F4F<G4E>6OE ?>OE4E, >E>5O= 7D4D<> 
456GDEF64 D45>F=<>>6 >?5D4F<6=>-4<E?5FG5DE>>7> >F45?4 ?>76>?<? >D74=<7>64FL 
?5D6GN ?<=<N ?>445D6>< >?5D4F>D>6 E6O7< 6 >DG7?>EGF>G=>< D56<<5. $45>F=<>< 
D4EE<4FD<64NF >5D4M5=<O, ?>EFG?<6L<5 =4 E?5F<4?L=> 6O45?5==O= ?DO<>= 
F5?5D>==O= =><5D <?< M?5>FD>==O= 44D5E: ndr@noc.gov.ru. 

� 2023 7>4G 74??4=<D>64=> D476<F<5 �% «&�' %%��», 6 G4EF=>EF< 
D47D45>F>4 =>6OE ?>4E<EF5<: 

<>4G?O >?D545?5=<O EFD4=>6>= ?D<=44?56=>EF< ?> IP-44D5EG 3 $>EE<=E>4O 
4>65D5==4O 5474 44==OE IP-75>?>>4F<< (GeoIP); 

E<EF5<O >>=FD>?O >4G5EF64 E6O7<, 6>?NG4NM4O 6 E55O <>5<?L=>5 ?D<?>65=<5 
< D4E?D545?5==GN E<EF5<G ?D>5=<>>6 4?O ?D>6545=<O F5EF<D>64=<O >4G5EF64 
<>5<?L=>= E5F<. 
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�>45D=<74F<N DG=>F<>=4?4 ?>?GG4F F4><5 ?>4E<EF5<O �% «&�' %%��», 
>4> ���, ?>4E<EF5<4 <=65=F4D<74F<< D5EGDE>6 (��$%), %�' �%��, 54<=O= 
?>DF4? ?>?L7>64F5?5= (���), ?D>7D4<<=>-4??4D4F=O5 ED54EF64 <>=<F>D<=74 (��% 
«�>=<F>D<=7»), $��$. 

$476<F<5 DG=>F<>=4?4 ��� ?>76>?<F ?>?G?OD<7<D>64FL 45OF5?L=>EFL &�' 
%%�� < 44EF ?>?L7>64F5?O< E5F< «�=F5D=5F» G4>5=O=, <=>7>DG=>F<>=4?L=O= 
<=EFDG<5=F4D<= 6 >5?4EF< E6O7<. �?4=<DG5<O5 4>D45>F>< 6>?NG4NF 6 E55O: 
G?GGL5=<5 <=F5DD5=E4, 4>?>?=<F5?L=O= DG=>F<>=4? D4745?4 «�>=<F>D<=7», 
<=F57D4F<N E5D6<E4 46F><4F<G5E>>= ?D>65D>< =4EFD>=>< web-E5D65D4 < ?>GF>6>7> 
E5D65D4. 

�>D45>F>< ��$% 6>?NG4NF 6 E55O <=EFDG<5=FO, ?>76>?ONM<5 ?>?GG4FL 
44==O5 6 D4<>4E ?D<>474 >F 30.11.2021 7 236 «� 6=5E5=<< <7<5=5=<= 6 ?D<>47 
$>E>><=447>D4 >F 31.07.2019 7 221», D>D<<D>64FL «�4E?>DF» >?5D4F>D4 E6O7<, 
>5=>6?OFL E>EF>O=<O >5N5>F4 < >>DD5>F<D>64FL >L<5>< >?5D4F>D4 E6O7<, 
E>65DL5==O5 ?D< 6=5E5=<< 44==OE. ��$% ?>?GG<F 4>D45>F4==O= <>4G?L 
6<7G4?<74F<< >5N5>F>6 E6O7< =4 >4DF5, 6>7<>6=>EFL 6O7DG64FL 44==O5 6 
46F><4F<7<D>64==GN E<EF5<G G?D46?5=<O 5<7=5E-?D>F5EE4<<, 4DG7<5 <=EFDG<5=FO, 
?>76>?ONM<5 E>FDG4=<>G &�' %%�� ?>6OE<FL >4G5EF6> < E>>D>EFL >5D45>F>< 
E6545=<=, ?>EFG?4NM<E >F >?5D4F>D>6 E6O7<. 

%�' �%�� ?>?GG<F >5=>6?5=<5 ?D>7D4<<=>7> >55E?5G5=<O 4?O ?>EFD>5=<O 
7D4D<>>6 EF4F<EF<><, <=EFDG<5=FO 5OEFD>= ?D>65D>< >?5D4F>D>6 E6O7< =4 ?D54<5F 
?>4>?NG5=<O > �%��, ?5D5D45>F4==GN «?4=5?L ?D<5>D>6», =>6O= <5E4=<7< 
?>?GG5=<O D55EFD4 74?D5M5==OE D5EGDE>6 $>E>><=447>D4, 4 F4>65 =>6O5 >FG5FO.  

� D4<>4E E>744=<O GeoIP �%�� ?>?GG<F 6>7<>6=>EF< D575D6<D>64=<O, E5>D4, 
>5D45>F>< < ?5D544G< 44==OE 6 %�' �%�� <7 =5746<E<<OE, 75>7D4D<G5E>< 
D4E?D545?5==OE <EF>G=<>>6. 
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45OF5?L=>EF<: $4==57> 6OO6?5=<O F>G5> <=D>D<4F<>==>= =4?DO65==>EF< (&��) 4?O 
>55E?5G5=<O D54?<74F<< DG=>F<< $44<>G4EF>F=>= E?G65O ?> <>=<F>D<=7G 
<=D>D<4F<>==>-F5?5>><<G=<>4F<>==OE E5F5= < <=D>D<4F<>==>7> ?D>EFD4=EF64 6 
G4EF< E>5?N45=<O 74>>=>44F5?LEF64 $>EE<=E>>= $545D4F<< 6 ED5D5 E6O7<, 
<=D>D<4F<>==OE F5E=>?>7<=, <4EE>6OE >><<G=<>4F<= 6 G4EF< >EGM5EF6?5=<O 
E?5F<4?<7<D>64==>7>, F5<4F<G5E>>7> <>=<F>D<=74 %�� < %�� 6 E5F< «�=F5D=5F» 
=4 ?D54<5F ?><E>4 < ?D>7=>7<D>64=<O ?>F5=F<4?L=OE <=D>D<4F<>==OE G7D>7 6 
D47?<G=OE ED5D4E >5M5EF65==OE >F=>L5=<=. 

%<EF5<4 ?D54=47=4G5=4 4?O 6=GFD5==57> <E?>?L7>64=<O 6> $�'� «�$'&» < 6 
2022 7>4G 5O?4 D54?<7>64=4 DG=>F<>=4?L=>EFL: 

" �=<F<4F<O 747DG7>< 44==OE 6 E<EF5<G =4 ?D<<5D5 E>F<4?L=>= E5F< ��; 
" �=F5DD5=E 74?GE>4 4=4?<74 <=D>D<4F<>==>7> ?>?O; 
" �5D45>F>4 < E>ED4=5=<5 44==OE <=D>D<4F<>==>7> ?>?O; 
" $>D<<D>64=<5 D4E?D>EFD4=5=<O F>G5> <=D>D<4F<>==>= =4?DO65==>EF< 

(&��); 
" �D4D<G5E>>5 ?D54EF46?5=<5 ?D>7=>74 D4E?D>EFD4=5=<O &��; 
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" �OO6?5=<5 M<>F<>=4?L=>7> >>D4E4 <=D>D<4F<>==>7> ?>?O. 
�465DL5=<5 D54?<74F<< E>744=<O E<EF5<O ??4=<DG5FEO 6 3 >64DF4?5 2023 7>44. 
  

«%>744=<N   54<=>= <=D>D<4F<>==>= E<EF5<O GG5F4 >5>D>F4 D5>?4<O 6 
E5F< «�=F5D=5F»» 

38) �5D>?D<OF<O ?> E>744=<N 54<=>= <=D>D<4F<>==>= E<EF5<O GG5F4 

>5>D>F4 D5>?4<O 6 E5F< «�=F5D=5F» <7 D4=55 E>744==>7> ?D>F>F<?4, <<5O 6 6<4G 

D54?<74F<N >><??5>E4 F5E=<G5E><E < >D74=<74F<>==OE <5D>?D<OF<= ?> 

<>=<F>D<=7G, E5>DG < ED4=5=<N <=D>D<4F<< > D47<5M45<>= 6 E5F< «�=F5D=5F» 

D5>?4<O, D5>?4<>44F5?OE < D5>?4<>D4E?D>EFD4=<F5?OE. 

$54?<74F<O <5D>?D<OF<O >EGM5EF6?O?4EL 6 F5?OE >55E?5G5=<O 6O?>?=5=<O 
FD55>64=<= EF4FL< 181 $545D4?L=>7> 74>>=4 >F 13 <4DF4 2006 7. 7 38-$� «� 
D5>?4<5», >>F>D4O FD55G5F >55E?5G<FL GG5F, ED4=5=<5 < >5D45>F>G <=D>D<4F<< > 
D5>?4<5, D4E?D>EFD4=O5<>= 6 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< 
«�=F5D=5F», 6>?NG4O E6545=<O > 55 D5>?4<>44F5?OE < D5>?4<>D4E?D>EFD4=<F5?OE, 
>?5D4F>D4E D5>?4<=OE E<EF5<. �E=>6=4O F5?L, ?D5E?54G5<4O $545D4?L=O< 74>>=>< 
7 38-$�, 3 >55E?5G5=<5 ?D>E?56<645<>EF< D5>?4<O, D47<5M45<>= 6 
<=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F», 4?O G57> =4 
D5>?4<>44F5?5=, D5>?4<>D4E?D>EFD4=<F5?5= < >?5D4F>D>6 D5>?4<=OE E<EF5< 
6>7?4745FEO >5O74==>EFL ?D54>EF46?OFL =5>5E>4<<GN <=D>D<4F<N G5D57 
>F>5D4==OE E?5F<4?L=>= >><<EE<5= >?5D4F>D>6 D5>?4<=OE 44==OE 6 $545D4?L=GN 
E?G65G ?> =447>DG 6 ED5D5 E6O7<, <=D>D<4F<>==OE F5E=>?>7<= < <4EE>6OE 
>><<G=<>4F<=, 4 =4 D44<>G4EF>F=GN E?G65G 3 >5O74==>EFL D54?<7>64FL 
>D74=<74F<>==O5 < F5E=<G5E><5 <5DO, >55E?5G<64NM<5 GG5F, ED4=5=<5 < >5D45>F>G 
F4>>= <=D>D<4F<<. $�'� «�$'&» 6 2022 7>4G >D74=<7>64=O D45>FO ?> E>744=<N 
�4<=>= <=D>D<4F<>==>= E<EF5<O GG5F4 >5>D>F4 D5>?4<O 6 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F» (�$�$). �$�$, E>744645<4O 6 D4<>4E 
<E?>?=5=<O >5O74F5?LEF6 ?> 4>7>6>D4< =4 E>744=<5 E<EF5<O O6?O5FEO 
6OE>>>=47DG65==>= E<EF5<>= < 7465DL5=<5 D45>F ?> D54?<74F<< <5D>?D<OF<O 5G45F 
>EGM5EF6?5=> 6> 2-< >64DF4?5 2023 7>44.  

 

«%>744=<5 E4=F4 4?O EFDG>FGD=>7> ?>4D4745?5=<O F5=FD4 ?D46>6>= 
?><>M< 7D4644=4< 6 F<DD>6>= ED545» 

39) �5D>?D<OF<O ?> E>744=<N E4=F4 4?O EFDG>FGD=>7> ?>4D4745?5=<O F5=FD4 

?D46>6>= ?><>M< 7D4644=4< 6 F<DD>6>= ED545. 

� 2022 7>4G E>744= E4=F 4?O EFDG>FGD=>7> ?>4D4745?5=<O F5=FD4 ?D46>6>= 
?><>M< 7D4644=4< 6 F<DD>6>= ED545 (&��). %4=F &�� ?D54=47=4G5= 4?O 
>55E?5G5=<O <=D>D<4F<>==>7> ?D<EGFEF6<O 6 ?D>EFD4=EF65 E5F< «�=F5D=5F» < 
>F>DOF>EF< 45OF5?L=>EF< &�� 6 F5?OE ?D46>6>= ?><>M< 7D4644=4< 6 F<DD>6>= 
ED545, E>45=EF6<N D>D<<D>64=<N 7D4<>F=>7> ?D46>6>7> ?>6545=<O 7D4644= < 
?>6OL5=<O 74M<M5==>EF< <E <=F5D5E>6 6 >4G5EF65 ?>FD55<F5?5= F<DD>6OE GE?G7 
>4> =5>5E>4<<>7> GE?>6<O ?>6OL5=<O GD>6=O < >4G5EF64 6<7=< 7D4644=. %4=F &�� 
>55E?5G<645F 6>7<>6=>EFL 4?O ?>?L7>64F5?5= E5F< «�=F5D=5F» D47<5M4FL 



57 

>5D4M5=<O 6 44D5E &�� ?>ED54EF6>< E4=F4. 
 

«%>744=<5 �>D?>D4F<6=>7> ?>DF4?4 %?G65O» 
40) �5D>?D<OF<O ?> E>744=<N, 6=54D5=<N < 444?F4F<< >>D?>D4F<6=>7> 

?>DF4?4 $�'� «�$'&». 

� 2022 7>?G E>744= < 66545= 6 M>E??G4F4F<N >>D?>D4F<6=O= ?>DF4? %?G65O. 
�>D?>D4F<6=O= ?>DF4? %?G65O >55E?5G<645F 46F><4F<74F<N ?D>F5EE>6 
>><<G=<>4F<< <564G EFDG>FGD=O<< ?>4D4745?5=<O<<. 

� 2022 7>4G 5O?< D54?<7>64=O:  
- �6F><4F<74F<O E>744=<O < >5D45>F>< 74O6>> =4 ?>45>D ?5DE>=4?4; 
- '?GGL5= <=F5DD5=E 54<=>7> E?D46>G=<> E>FDG4=<>>6 %?G65O E 

6>7<>6=>EFLN ?><E>4 E>FDG4=<>4 ?> $��, 4>?6=>EF< < ?D>G<E 4FD<5GF>6, E 
6>7<>6=>EFLN ?D>E<>FD4 >D74=<74F<>==>= EFDG>FGDO; 

-  �>7<>6=>EFL >=?4== >><<G=<>4F<< (G4FO < 7DG??>6O5 G4FO) 6 
<7>?<D>64==>= E5F< E E>FDG4=<>4<< %?G65O; 

- %>744=O D4745? «�>D?>D4F<6=4O >G?LFGD4» < «�=?4== 5<5?<>F5>4»; 
- $G=>F<>=4?L=>EFL ?>EF4=>6>< < >>=FD>?O 7444G E>FDG4=<>4<. 
 

«%>744=<5 54<=>= F<DD>6>= ??4FD>D<O $�'� «�$'&» 
41) �5D>?D<OF<5 ?> E>744=<N 6> $�'� «�$'&» >D74=<74F<>==>3

F5E=<G5E>>7> >5N54<=5=<O ?D>7D4<<=OE, 6OG<E?<F5?L=OE < F5?5>><<G=<>4F<>==OE 

ED54EF6, E6O75= <564G =<<< < M>E??G4F4F<>==>7> ?5DE>=4?4, >55E?5G<64NM57> 

?D54>EF46?5=<5 D45>F=<>4< $�'� «�$'&» <=D>D<4F<>==OE, 6OG<E?<F5?L=OE < 

F5?5>><<G=<>4F<>==OE D5EGDE>6, 6>7<>6=>EF5= < GE?G7, =5>5E>4<<OE 4?O 

>EGM5EF6?5=<O ?D>D5EE<>=4?L=>= 45OF5?L=>EF< -  54<=>= F<DD>6>= ??4FD>D<O 

$�'� «�$'&». 

� 2022 7>4G E>744=4 < 66545=4 6 M>E??G4F4F<N �4<=4O F<DD>64O ??4FD>D<4 
$�'� «�$'&» (44?55 - �&�). �&� 3 MF> >D74=<74F<>==>3F5E=<G5E>>5 >5N54<=5=<5 
?D>7D4<<=OE, 6OG<E?<F5?L=OE < F5?5>><<G=<>4F<>==OE ED54EF6, E6O75= <564G 
=<<< < M>E??G4F4F<>==>7> ?5DE>=4?4, >55E?5G<64NM55 ?D54>EF46?5=<5 
<=D>D<4F<>==OE, 6OG<E?<F5?L=OE < F5?5>><<G=<>4F<>==OE D5EGDE>6, 
6>7<>6=>EF5= < GE?G7 D45>F=<>4< (EFDG>FGD=O< ?>4D4745?5=<O<)  

$�'� «�$'&» (44?55 F4>65 3 ?>FD55<F5?<, ?>?L7>64F5?<), =5>5E>4<<OE 4?O 
>EGM5EF6?5=<O ?D>D5EE<>=4?L=>= 45OF5?L=>EF<. &4>65 �&� 6>?NG45F 6 E55O 
E>6>>G?=>EFL D47?<G=OE ?D<?>65=<=, 547 44==OE, E5D65D>6, 4<E>>6OE <4EE<6>6, 
E5F56>7> >5>DG4>64=<O, ?<=<= E6O7< < >55E?5G<645F 4>EFG? ?>FD55<F5?5= > 
<=D>D<4F<>==O< D5EGDE4<. 

%>744=<5 �&� >55E?5G<?> 4>EF<65=<5 E?54GNM<E F5?5=: 
- ?D54>EF46?5=<5 =4 5475 �&� E>6D5<5==OE F<DD>6OE E5D6<E>6 4?O 6=5L=<E 

< 6=GFD5==<E ?>?L7>64F5?5= $�'� «�$'&»; 
- >?F<<<74F<O 6OG<E?<F5?L=OE <>M=>EF5= $�'� «�$'&»; 
- >?F<<<74F<O E5F56>= <=DD4EFDG>FGDO ��% $�'� «�$'&»; 
- E>>D4M5=<5 6D5<5=< D47D45>F>< < 6=54D5=<O =>6OE D5L5=<=/GE?G7; 
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- ?5D5E>4 =4 <E?>?L7>64=<5 %�� ?<5> �� D>EE<=E>>7> ?D><EE>645=<O. 
&4>65 =4 5475 �&� E>7445FEO < ?>445D6<645FEO DO4 547>6OE E5D6<E>6 4?O 

=G64 $�'� «�$'&»: 
 54<=4O E<EF5<4 ED4=5=<O <EE>4=OE >>4>6, ?D54=47=4G5==4O 4?O 

F5=FD4?<7>64==>7> ED4=5=<O 6E5E <EE>4=OE >>4>6, D47D454FO645<OE  
$�'� «�$'&» <?< 4?O $�'� «�$'&» (6=5L=<<< <E?>?=<F5?O<<), >>=FD>?O 

65DE<>==>EF< < >55E?5G5=<O D45>FO <5E4=<7<>6 CI/CD 4?O E>6<5EF=>7> 
<E?>?L7>64=<O E5D6<E4 6E5<< 6=GFD5==<<< < 6=5L=<<< D47D45>FG<>4<< ($�'� 
«�$'&», $>E>><=447>D, 6=5L=<5 ?>4DO4G<><); 

- 54<=4O E<EF5<4 >>=FD>?O 4>EFG?4 ?>?L7>64F5?5=, ?D54=47=4G5==4O 4?O 
>55E?5G5=<O 54<=>7> <5E4=<7<4 46F>D<74F<<, 4GF5=F<D<>4F<< < <45=F<D<>4F<< 
?>?L7>64F5?5= 6> 6=GFD5==<E <=D>D<4F<>==OE E<EF5<4E $�'� «�$'&»; 

- 54<=4O E<EF5<4 <>=<F>D<=74, ?D54=47=4G5==4O 4?O >FE?56<64=<O ?4D4<5FD>6 
< 464D<= 6E5E ?D>7D4<<=OE < 4??4D4F=OE E<EF5< �&�; 

- 54<=4O E<EF5<4 6GD=4?<D>64=<O, >>F>D4O ?D54>EF46?O5F 54<=O= <=F5DD5=E < 
547O 44==OE 4?O ED4=5=<O 6E5E ?>7>6 (6GD=4?>6) ?D>7D4<<=OE < ?D>7D4<<=>-
4??4D4F=OE E5D6<E>6 �&�, >55E?5G<645F 4>?7>6D5<5==>5 ED4=5=<5 ?>7>6 6 
E?5F<4?<7<D>64==>= 5475 44==OE < ?D54>EF46?O5F 4>EFG? > 44==O< ?>7<D>64=<O 
74<=F5D5E>64==O< EFDG>FGD=O< ?>4D4745?5=<O< $�'� «�$'&»; 

- 54<=4O ?>GF>64O E?G654, ?D54=47=4G5==4O 4?O >55E?5G5=<O  
$�'� «�$'&» 54<=O< E5D6<E>< >5<5=4 M?5>FD>==O<< ?<EL<4<<, O6?O5FEO 

>D>EE??4FD>D<5==>= E<EF5<>= < =5 <<55F >7D4=<G5=<= ?> >>?<G5EF6G 
?>?L7>64F5?5= < ?>?L7>64F5?LE><E GEFD>=EF6; 

- 54<=O= <5EE5=465D, ?D54=47=4G5==O= 4?O D45>G5= >><<G=<>4F<< <564G 
D45>F=<>4<< $�'� «�$'&» < $>E>><=447>D4 >>F>DO= D4765D=GF =4 
<=DD4EFDG>FGD5 $�'� «�$'&», ED4=<F 44==O5 6 74>DOF>< >>=FGD5  

$�'� «�$'&» < =5 FD55G5F ?D<6O7>< > =><5DG <>5<?L=>7> F5?5D>=4, 
?>76>?O5F >F?D46?OFL F5>EF>6O5 E>>5M5=<O, E>5<D4FL 4G4<> </<?< 
6<45>>>=D5D5=F<<, ?5D54464FL D4=?O, >5N54<=OFL ?>?L7>64F5?5= 6 >><4=4O, 4 
F4>65 <<55FEO >D>EE??4FD>D<5==O= >?<5=F 4?O �� < E<4DFD>=>6. 

�4 D57G?LF4FO D45>F ?> E>744=<N �&� 5G4GF ?>?GG5=O <E>?NG<F5?L=O5 
?D464. 

 

«�>=<F>D<=7 E>5?N45=<O >?5D4F>D4<< E6O7< >5O74==>EF< ?> ?D>65D>5 
4>EF>65D=>EF< E6545=<= >5 45>=5=F5 < E6545=<= > ?>?L7>64F5?OE GE?G74<< 
E6O7<» 

42) �EGM5EF6?5=<5 >D74=<74F<>==>-F5E=<G5E><E <5D, =5>5E>4<<OE 4?O 

D54?<74F<< <>=<F>D<=74 E>5?N45=<O >?5D4F>D4<< E6O7< >5O74==>EF< ?> ?D>65D>5 

4>EF>65D=>EF< E6545=<= >5 45>=5=F5 < E6545=<= > ?>?L7>64F5?OE GE?G74<< E6O7< 

45>=5=F4 - ND<4<G5E>>7> ?<F4 <?< <=4<6<4G4?L=>7> ?D54?D<=<<4F5?O, 6 F>< G<E?5 

?D54EF46?5==OE ?<F><, 45=EF6GNM<< >F <<5=< >?5D4F>D4 E6O7< 

�> <E?>?=5=<5 ?G=>F4 2 EF4FL< 44.2 $545D4?L=>7> 74>>=4 «� E6O7<» 
D44<>G4EF>F=4O E?G654 ($�'� «�$'&») E>7?4E=> ?D<>47G $�'� «�$'&» >F 
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27.10.2022 7 257 665?4 6 M>E??G4F4F<N ?D>7D4<<=>-4??4D4F=O= >><??5>E 
<=D>D<4F<>==>7> D5EGDE4 >>=FD>?O E>EF>O=<O <45=F<D<>4F<>==OE <>4G?5= 4?O 
>EGM5EF6?5=<O >D74=<74F<>==>-F5E=<G5E><E <5D, =5>5E>4<<OE 4?O D54?<74F<< 
<>=<F>D<=74 E>5?N45=<O >?5D4F>D4<< E6O7< >5O74==>EF< ?> ?D>65D>5 
4>EF>65D=>EF< E6545=<= >5 45>=5=F4E < E6545=<= > ?>?L7>64F5?OE GE?G7< E6O7< 
45>=5=F>6 3 ND<4<G5E><E ?<F ?<5> <=4<6<4G4?L=OE ?D54?D<=<<4F5?5=, 6 F>< 
G<E?5 ?D54EF46?5==OE ?<F4<<, 45=EF6GNM<<< >F <<5=< >?5D4F>D4 E6O7< (��� 
�%��). 

%>7?4E=> ?G=>FG 4 �D46<? ?D54EF46?5=<O >?5D4F>D4<< ?>46<6=>= 
D44<>F5?5D>==>= E6O7< <=D>D<4F<<, =5>5E>4<<>= 4?O >EGM5EF6?5=<O <>=<F>D<=74 
E>5?N45=<O >?5D4F>D4<< E6O7< >5O74==>EF< ?> ?D>65D>5 4>EF>65D=>EF< E6545=<= >5 
45>=5=F4E < E6545=<= > ?>?L7>64F5?OE GE?G74<< E6O7< 45>=5=F>6 - ND<4<G5E><E ?<F 
?<5> <=4<6<4G4?L=OE ?D54?D<=<<4F5?5=, GF65D645==OE ?>EF4=>6?5=<5< 
�D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 22 <N?O 2022 7. 7 1313, >?5D4F>D4< �$&% 
=4?D46?5=O G654><?5=<O > 66>45 «�%��» 6 M>E??G4F4F<N. �D><76545=4 
<=F57D4F<O E 5474<< ��� $>EE<<, $�% $>EE<< < �%��. 

� 2022 7>4G >D74=<7>64=> 74M<M5==>5 ?>4>?NG5=<5 G5FOD5E >?5D4F>D>6 
E6O7< > ��� �%��: ��� «�O<?5?>><», ��� «�574D>=», ��� «�&%», ��� «&2 
�>54=?». � =4EF>OM<= <><5=F >EGM5EF6?O5FEO ?>4>?NG5=<5 >?5D4F>D>6 
?>46<6=>= D44<>F5?5D>==>= E6O7< > ��� �%��, >>F>D>5 4>?6=> 7465DL<FLEO > 
31.05.2023. 

 

«�55E?5G5=<5 E>5?N45=<O >?5D4F>D4<< E6O7< FD55>64=<= ?D< >>474=<< 
GE?G7 E6O7< < GE?G7 ?> ?D>?GE>G FD4D<>4 6 E5F< E6O7< >5M57> ?>?L7>64=<O» 

43) %>744=<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O < D476<F<O E<EF5<O 

>55E?5G5=<O E>5?N45=<O >?5D4F>D4<< E6O7< FD55>64=<= ?D< >>474=<< GE?G7 E6O7< < 

GE?G7 ?> ?D>?GE>G FD4D<>4 6 E5F< E6O7< >5M57> ?>?L7>64=<O 

�> <E?>?=5=<5 ?G=>F4 3 EF4FL< 46.1 $545D4?L=>7> 74>>=4 «� E6O7<» 
D44<>G4EF>F=4O E?G654 ($�'� «�$'&») E>7?4E=> ?D<>47G $�'� «�$'&» >F 
28.12.2022 7 321 665?4 6 >?OF=GN M>E??G4F4F<N F5EF>6O= DD47<5=F E<EF5<O 
>55E?5G5=<O E>5?N45=<O >?5D4F>D4<< E6O7< FD55>64=<= ?D< >>474=<< GE?G7 E6O7< < 
GE?G7 ?> ?D>?GE>G FD4D<>4 6 E5F< E6O7< >5M57> ?>?L7>64=<O (E<EF5<4 «�=F<DD>4» 
?5D6>7> MF4?4). 

%>7?4E=> ?>EF4=>6?5=<N �D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 3 =>O5DO 
2022 7. 7 1978 «�5 GF65D645=<< FD55>64=<= > E<EF5<5 >55E?5G5=<O E>5?N45=<O 
>?5D4F>D4<< E6O7< FD55>64=<= ?D< >>474=<< GE?G7 E6O7< < GE?G7 ?> ?D>?GE>G 
FD4D<>4 6 E5F< E6O7< >5M57> ?>?L7>64=<O < �D46<? DG=>F<>=<D>64=<O < 
674<<>45=EF6<O E<EF5<O >55E?5G5=<O E>5?N45=<O >?5D4F>D4<< E6O7< FD55>64=<= 
?D< >>474=<< GE?G7 E6O7< < GE?G7 ?> ?D>?GE>G FD4D<>4 6 E5F< E6O7< >5M57> 
?>?L7>64=<O E <=D>D<4F<>==O<< E<EF5<4<< < <=O<< E<EF5<4<<, 6 F>< G<E?5 E 
E<EF5<4<< >?5D4F>D>6 E6O7<» 6 2022 7>4G: 

E>744=4 &5=FD4?L=4O E<EF5<4 G?D46?5=<O; 
E<>=F<D>64=O < =4EFD>5=O 3 G7?4 674<<>45=EF6<O 4?O ?>4>?NG5=<O 
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>?5D4F>D>6 &5=FD4?L=>7> D545D4?L=>7> >>DG74; 
>EGM5EF6?5=4 <=F57D4F<O E <=D>D<4F<>==O<< E<EF5<4<< �<=F<DDO < 

$>E>><=447>D4; 
>D74=<7>64=> 74M<M5==>5 ?>4>?NG5=<5 G5FOD5E >?5D4F>D>6 E6O7< > E<EF5<5 

«�=F<DD>4» ?5D6>7> MF4?4: ��� «�574D>=», ��� «�&%», ��� «�O<?5?>><», 
��� «&2 �>54=?»; 

D47D45>F4=O ?D>F>>>?O 674<<>45=EF6<O <564G E<EF5<4<<, 4 F4>65 
?>47>F>6?5=O ?D>5>FO F5E=<G5E><E GE?>6<= 4?O ?>4>?NG5=<O > E<EF5<4< 
>?5D4F>D>6 E6O7<. 

�4==>5 <5D>?D<OF<5 ?D<65?> > 6>7<>6=>EF< E 16 O=64DO 2023 7>44 
>EGM5EF6?OFL 65D<D<>4F<N 6O7>6>6, ?D>E>4OM<E G5D57 F5?5D>==O5 E5F< 
?>4>?NG5==OE >?5D4F>D>6 E6O7<, ?>76>?O5F ?>?GG4FL < ED4=<FL 6 E<EF5<5 
«�=F<DD>4» <=F<45=FO > 745?>><D>64==OE 6O7>64E G >?5D4F>D>6 �$&%. �4 O=64DL 
2023 7>44 745?>><D>64=> 26 001 357 6O7>6>6 <7 311 768 871 =4?D46?5==OE =4 
65D<D<>4F<N, GF> E>EF46?O5F 8,34%. &4>65 ?D>6545=O ?>47>F>6<F5?L=O5 D45>FO > 
?>4>?NG5=<N 4DG7<E >?5D4F>D>6 E6O7< 6 &5=FD4?L=>< D545D4?L=>< >>DG75, 
>>F>DO< =4?D46?5=O 1214 G654><?5=<= > ??4=<DG5<>= 44F5 ?>4>?NG5=<O > E<EF5<5 
«�=F<DD>4». 

 
VI. ���$���/ ����&��� 

 

�D74=<74F<O FDG44 < D57G?<D>64=<5 FDG4>6OE >F=>L5=<= =4 ?D54?D<OF<< 
>EGM5EF6?O5FEO 6 E>>F65FEF6<< E &DG4>6O< >>45>E>< $>EE<=E>>= $545D4F<<, 
<=O<< =>D<4F<6=O<< ?D46>6O<< 4>F4<< $>EE<=E>>= $545D4F<<, E>45D64M<<< 
=>D<O FDG4>6>7> ?D464, < ?>>4?L=O<< =>D<4F<6=O<< 4>F4<<, F4><<< >4>: 
�>??5>F<6=O= 4>7>6>D, ?D46<?4 6=GFD5==57> FDG4>6>7> D4E?>DO4>4, ?>?>65=<5 > 
?5DE>=4?L=OE 44==OE D45>F=<>>6, ?>?>65=<5 >5 >D74=<74F<< D45>FO ?> >ED4=5 
FDG44 =4 ?D54?D<OF<<, ?>?>65=<5 >5 >??4F5 FDG44, ?>?>65=<O > EFDG>FGD=OE 
?>4D4745?5=<OE, 4>?6=>EF=O5 <=EFDG>F<< < 4D. 

�44D>64O D45>F4 6 >FG5F=O= ?5D<>4 >EGM5EF6?O?4EL 6 F5?OE D54?<74F<< 
>><??5>E4 <5D>?D<OF<=, ?D54GE<>FD5==OE %FD4F57<5= D476<F<O D545D4?L=>7> 
7>EG44DEF65==>7> G=<F4D=>7> ?D54?D<OF<O «�?46=O= D44<>G4EF>F=O= F5=FD» =4 
2021-2023 7>4O < �D>7D4<<>= 45OF5?L=>EF< $�'� «�$'&» =4 2022 7>4. 

�44D>64O ?>?<F<>4 $�'� «�$'&» 6 2022 7>4G 5O?4 =4?D46?5=4 =4: 
>EGM5EF6?5=<5 >D74=<74F<>==>-LF4F=OE <5D>?D<OF<= < ?5D5D4E?D545?5=<5 

<<5NM<EEO FDG4>6OE D5EGDE>6 6 F5?OE ?>6OL5=<O MDD5>F<6=>EF< 
?D><76>4EF65==>= 45OF5?L=>EF< ?D54?D<OF<O; 

>?F<<<74F<N >44D>6>7> 45?>?D><76>4EF64 < E>>D4M5=<5 <745D65> =4 
6O?>?=5=<5 DG=>F<= <E?>?=5=<O FD55>64=<= FDG4>6>7> 74>>=>44F5?LEF64, 
46F><4F<74F<N >44D>6>7> GG5F4; 

>EGM5EF6?5=<5 <5D ?> ?>6OL5=<N MDD5>F<6=>EF< ?D>F<6>45=EF6<O 
>>DDG?F<<; 

?>6OL5=<N GD>6=O E>F<4?L=OE ?D>7D4<< < <4F5D<4?L=>7> EF<<G?<D>64=<O 
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D45>F=<>>6; 
D476<F<5 6=GFD5==<E >><<G=<>4F<=; 
>55E?5G5=<5 ?D54?D<OF<O 6OE>>>>64?<D<F<D>64==O<< E?5F<4?<EF4<<, 

D>F4F<N ?5DE>=4?4, 4=4?<7 F5>GG5EF< >44D>6; 
D476<F<5 D45>F=<>>6, ?>6OL5=<5 GD>6=O >64?<D<>4F<<. 
�D74=<74F<>==>-LF4F=4O EFDG>FGD4 $�'� «�$'&» >F65G45F F5>GM<< F5?O< < 

7444G4< ?D54?D<OF<O, ?>76>?O5F MDD5>F<6=> 674<<>45=EF6>64FL < D4F<>=4?L=> 
D4E?D545?OFL < =4?D46?OFL D45>FG ?5DE>=4?4 4?O D5L5=<O 7444G ?D><76>4EF65==>= 
45OF5?L=>EF<, >?F<<<7<D>64FL >E=>6=>= ?D><76>4EF65==O= ?D>F5EE, 4 F4>65 
D4E?D545?OFL <<5NM<5EO FDG4>6O5 D5EGDEO 6 GE?>6<OE =4?<G<O =5>?D545?5==>EF< 
?D< ?D>7=>7<D>64=<< >5N5<>6 ?D><76>4EF64. 

�>?<G5EF6> >E=>6=>7> ?D><76>4EF65==>7> ?5DE>=4?4 >EF464?>EL =5<7<5==O<. 
� F5?OE E>65DL5=EF6>64=<O >D74=<74F<>==>= EFDG>FGDO ?>4D4745?5=<= 6=5E5=O 
E>>F65FEF6GNM<5 <7<5=5=<O 6 LF4F=>5 D4E?<E4=<5. 

�> E>EF>O=<N =4 31.12.2022 LF4F=4O G<E?5==>EFL E>EF46<?4 5 100,5 LF. 54., 
D4>F<G5E>4O G<E?5==>EFL D45>F=<>>6 3 4 707 G5?., G>><??5>F>64==>EFL 3 92%. 

�D54?D<OF<5 G>><??5>F>64=> 6OE>>>>64?<D<F<D>64==O<< E?5F<4?<EF4<<, 
85% <7 >>F>DOE <<5NF 6OEL55 >5D47>64=<5. �4==O5 ?> G<E?5==>EF< 
$�'� «�$'&» =4 31.12.2022 < >4G5EF65==O= E>EF46 ?5DE>=4?4 $�'� «�$'&» =4 
31.12.2022 ?D54EF46?5=O 6 F45?<F4E 6 < 7. 

&45?<F4 6 

7  
?/? 

�4<<5=>64=<5 D<?<4?4  
$�'� «�$'&» 

'<E?5==>EFL 
D45>F=<>>6 

,F4F=4O  
G<E?5==>EFL 

�>?<G5EF6> 
74=OFOE 
LF4F=OE 

4>?6=>EF5= 

�4>4=E<< 
%  

G>><??5>-
F>64==>EF< 

% F5>GG5EF< 
6 2022 

1 
75=5D4?L=4O 4<D5>F<O 
$�'� «�$'&» 

1606 1838 1604 234 87 % 15 % 

2 
D<?<4? $�'� «�$'&» 
6 �$�  

363 377 355 22 94 % 15 % 

3 
D<?<4? $�'� «�$'&» 
6 �$�  

533 550 524 26 96 % 9 % 

4 
D<?<4? $�'� «�$'&» 
6 $� 

101 101 101 0 100 % 8 % 

5 
D<?<4? $�'� «�$'&» 
6 %�$� 

403 446 400 46 90 % 22 % 

6 
D<?<4? $�'� «�$'&» 
6 %$� 

369 382 365 17 96 % 10 % 

7 
D<?<4? $�'� «�$'&» 
6 '$� 

335 354 332 22 94 % 17 % 

8 
D<?<4? $�'� «�$'&» 
6 &$�  

597 633 589 44 93 % 12 % 

9 
D<?<4? $�'� «�$'&» 
6 .%�$� 

400 419,5 394,5 25 94 % 15 % 

�&��� 4 707 5 100,5 4 664,5 436 92% 15 % 
 

&45?<F4 7 
7 
?/? 

�4<<5=>64=<5 �>?<G5EF6> D45>F=<>>6 % E>>F=>L5=<5 

1 �>?<G5EF6> <G6G<= 2 965 67 % 
2 �>?<G5EF6> 65=M<= 1 742 33 % 
3 �5D47>64=<5 6OEL55 4 001 85 % 
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7 
?/? 

�4<<5=>64=<5 �>?<G5EF6> D45>F=<>>6 % E>>F=>L5=<5 

?D>D5EE<>=4?L=>5 
 

$45>F4 ?> D4EEF4=>6>5 >44D>6 >EGM5EF6?O?4EL =4 >E=>65 <E >64?<D<>4F<<, 
?<G=OE < 45?>6OE >4G5EF6. 

� 2022 7>4G 5O?> ?D<=OF> =4 D45>FG 6 $�'� «�$'&» 918 D45>F=<>>6.  
�>6OL5=<5 ?> 4>?6=>EF< ?>?GG<?> 642 D45>F=<>4 $�'� «�$'&», GF> 

E>EF46?O5F 13,65 % >F >5M5= G<E?5==>EF<. 
� 2022 7>4G ?D>6545=> <4ELF45=>5 <EE?54>64=<5 GD>6=O 6>6?5G5==>EF< 

?5DE>=4?4. � <EE?54>64=<< ?D<=O?< GG4EF<5 5>?55 3282 D45>F=<>>6 $�'� «�$'&» 
(GD>65=L 6>6?5G5==>EF< D45>F=<>>6 $�'� «�$'&» 3 73%).  

�?O D54?<74F<< E<EF5<O 4<EF4=F<>==>7> >5GG5=<O Webtutor lite 
(«�55FLNF>D») 5O?> ?D>6545=> >><??5>E=>5 F5EF<D>64=<5 ?> F5<5 «�ED4=4 FDG44» 
(120 6>?D>E>6), ?D>6545= >>=FD>?L 7=4=<= ?> G>474==>= F5<5 4?O 6E5E D45>F=<>>6 
75=5D4?L=>= 4<D5>F<< $�'� «�$'&».  

� D4<>4E <>4G?O «�5GG4NM<5 >GDEO» 5O?> 74?GM5=> >5GG5=<5 ?> 46G< 
=4?D46?5=<O<: 

Microsoft Excel 2016: >E=>6O D45>FO; 
Microsoft Excel 2016: >E=>6O D45>FO 6 ?D<?>65=<<. 
� 2022 7>4O 5O?> >D74=<7>64=> 6=GFD5==55 >5GG5=<5 6 >G=>< < 

4<EF4=F<>==>< D>D<4F5, GG4EF<5 ?D<=O?< 808 D45>F=<>>6 $�'� «�$'&». 
�=GFD5==55 >5GG5=<5 6 2022 7>4G 5O?> =4?D46?5=> =4 D476<F<5 7<5><E < 
G?D46?5=G5E><E =46O>>6, D45>FG E >D>EE-DG=>F<>=4?L=O<< 674<<>45=EF6<O<< < 
E>744=<N ?D>7D4<< ?> =4EF46=<G5EF6G. 

�?O ?D<6?5G5=<O <>?>4OE E?5F<4?<EF>6 6 2022 7>4G 5O?> 74>?NG5=> 
4 4>7>6>D4 > ?D4>F<G5E>>= ?>47>F>6>5 ($�'�, �'', $�' =5DF< < 7474 <<. �G5><=4, 
$�%'), 2 %>7?4L5=<O > E>FDG4=<G5EF65 (�&'%�, ��' <<. �><>=>E>64 (D4>G?LF5F 
?>?<F>?>7<<). �D74=<7>64=O < ?D>6545=O 11 6=5L=<E <5D>?D<OF<= 
($�'� «�$'&» / $>E>><=447>D) 6 >4G5EF65 <=4GEFD<4?L=OE ?4DF=5D>6 =4 
>5D47>64F5?L=OE ??>M44>4E.  

$47D45>F4=> �>?>65=<5 >5 >D74=<74F<< EF46<D>6>< EFG45=F>6 < <>?>4OE 
E?5F<4?<EF>6, >>F>D>5 >?D545?O5F ?>DO4>> >D74=<74F<< 6> $�'� «�$'&» 
EF46<D>6>< EFG45=F>6, >5GG4NM<EEO 6 >5D47>64F5?L=OE >D74=<74F<OE ED54=57> 
?D>D5EE<>=4?L=>7> < 6OEL57> >5D47>64=<O, < <>?>4OE E?5F<4?<EF>6 3 
6O?GE>=<>>6 >5D47>64F5?L=OE >D74=<74F<=, ?> =4?D46?5=<O< 45OF5?L=>EF< 
EFDG>FGD=OE ?>4D4745?5=<= $�'� «�$'&». 

�> 6=5L=<E >D74=<74F<OE ?D>L?< ?>47>F>6>G < ?5D5?>47>F>6>G 195 
D45>F=<>>6. �E=>6=>5 =4?D46?5=<5 ?>6OL5=<O >64?<D<>4F<< 3 <=D>D<4F<>==O5 
F5E=>?>7<<. 

�5O74F5?L=>5 >5GG5=<5 ?> ?D>7D4<<4< >ED4=O FDG44, M?5>FD>557>?4E=>EF<, 
?>64D=>= 557>?4E=>EF<, 7D4644=E>>= >5>D>=O, 4 F4>65 ?> 4DG7<< 6>?D>E4<, 
E6O74==O< E >D74=<74F<5= < >EGM5EF6?5=<5< ?D><76>4EF65==>= 45OF5?L=>EF<, 
?D>L?< 6 E?5F<4?<7<D>64==OE GG55=OE GGD5645=<OE 155 D45>F=<>>6.  



63 

�D><5 F>7>, =4 D45>G<E <5EF4E >EGM5EF6?O?>EL >5GG5=<5 ?GF5<: 
?D>6545=<O FD5=<=7>6; 
>5<5=4 >?OF>< D45>F=<>>6, <<5NM<E 6OE>><5 ?>>474F5?< 6 D45>F5; 
>5<5=4 >?OF>< < >>=EG?LF4F<= <564G EFDG>FGD=O<< ?>4D4745?5=<O<<; 
GG4EF<O D45>F=<>>6 6 D4EL<D5==OE 74E544=<OE >><<EE<= $�'� «�$'&»; 
<=D>D<<D>64=<O D45>F=<>>6 G5D57 ?>DF4? D44<>G4EF>F=>= E?G65O, <=F5D=5F-

E4=F < 6=GFD5==<= E4=F $�'� «�$'&» > F5>GM<E F5=45=F<OE 6 >5?4EF< E6O7<, 
D57G?<D>64=<O <E?>?L7>64=<O D44<>G4EF>F=>7> E?5>FD4. 

� F5?OE G?GGL5=<O <>F<64F<< ?5DE>=4?4 > ?>6OL5=<N ?D><76>4<F5?L=>EF< 
FDG44 6 D4<>4E E>F<4?L=>= ?>?<F<>< ?D54?D<OF<O ?D<=<<4?<EL <5DO ?> 
<4F5D<4?L=><G EF<<G?<D>64=<N D45>F=<>>6. 

� 2022 7>4G 5O?4 >>474=4 <4F5D<4?L=4O ?><>ML 361 D45>F=<>G =4 EG<<G 
13 944,00 FOE. DG5?5=. �<4O <4F5D<4?L=>= ?><>M< < >>?<G5EF6> >5D4M5=<= 
D45>F=<>>6 G>474=O 6 F45?<F5 8. 

&45?<F4 8 

7 
?/? 

�<4 <4F5D<4?L=>= ?><>M< �>?-6> >5D4M5=<= 

1 $>645=<5 D555=>4 91 
2 �OE>4 =4 ?5=E<N D45>F=<>4 22 
3 �>7D555=<5 D45>F=<>4 8 
4 �>7D555=<5 ?5=E<>=5D4 2 
5 �>7D555=<5 G?5=>6 E5<L< 128 
6 &O65?>5 <4F5D<4?L=>5 ?>?>65=<5 29 
7 �=>>?>7<G5E>>5 745>?564=<5 51 
8 �45>?564=<5 (>?5D4F<<) E?>6=>5 0 
9 �><>ML >4<=>><< <4<4< 4?O >F4OE4 45F5= 23 

 

� F5?OE ?D54>EF46?5=<O <4F5D<4?L=>= ?><>M< D45>F=<>4< $�'� «�$'&» 6 
E?GG45 ?D<7O64 =4 6>5==GN E?G65G ?> <>5<?<74F<< <?< 74>?NG5=<O <<< >>=FD4>F4 
> 4>5D>6>?L=>< E>45=EF6<< 6 6O?>?=5=<< 7444G, 6>7?>65==OE =4 �>>DG65==O5 
%<?O $>EE<=E>>= $545D4F<< >EGM5EF6?5=O E?54GNM<5 6O??4FO: 54<=>6D5<5==4O 
?><>ML 6 <><5=F ?D<>EF4=>6?5=<O FDG4>6>7> 4>7>6>D4 < 565<5EOG=4O 
<4F5D<4?L=4O ?><>ML 6 F5G5=<5 60 4=5= ?D55O64=<O D45>F=<>4 6 DO44E 
�>>DG65==OE %<?. �><>ML >>474=4 7 D45>F=<>4< =4 EG<<G 1 974 500 DG5. 

'?GGL5=4 ?D>7D4<<4 4>5D>6>?L=>7> <54<F<=E>>7> EFD4E>64=<O. � 2022 7>4G 
GE?G74 4>5D>6>?L=>7> <54<F<=E>>7> EFD4E>64=<O ?D54>EF46?5=4 4 463 D45>F=<>4< 
$�'� «�$'&» =4 EG<<G 67 244 999 DG5?5=. 

�F>D>= 7>4 ?>4DO4 4?O D45>F=<>>6 D54?<7G5FEO ?D>7D4<<4 E4=4F>D=>-
>GD>DF=>7> ?5G5=<O. � 2022 7>4G =4 >74>D>6?5=<5 < 6>EEF4=>6?5=<5 5O?< 
=4?D46?5=O 29 G5?>65> 6 D47?<G=O5 D57<>=O EFD4=O. 

� 2022 7>4G 74?GM5=4 ?D>7D4<<4 «%>F<4?L=O= >4D5F5D<=», >>F>D4O 
=4?D46?5=4 =4 GE<?5=<5 E>F<4?L=>= 74M<M5==>EF< D45>F=<>>6 $�'� «�$'&», < 
6O764?4 74<=F5D5E>64==>EFL G D45>F=<>>6, 6 150 >5D4M5=<= 74 >><?5=E4F<5= 74 7>4, 
=4 EG<<G 30 336 598 DG5?5=. �4<5>?55 6>EFD55>64==O<< EF4?< >><?5=E4F<O 74FD4F 
=4 ?5>4DEF65==O5 ED54EF64, <54<F<=E><5 GE?G7<, E?>DF < >5D47>64=<5. � F5G5=<5 
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7>44 ?D>7D4<<4 GE>65DL5=EF6>64?4EL, 5O? D4EL<D5= ?5D5G5=L GE?G7 4?O 
>><?5=E4F<<. 

� D4<>4E E?>DF<6=>->74>D>6<F5?L=OE <5D>?D<OF<= D45>F=<>< $�'� «�$'&» 
?D<=O?< GG4EF<5 6 23 E>D56=>64=<OE < FGD=<D4E. 2022 7>4 EF4? G44G=O< 4?O 
>><4=4O D45>F=<>>6 $�'� «�$'&» ?> <<=<-DGF5>?G: ?>554<?4 6 '5<?<>=4F5 «IT 
�D5<L5D �<74 2022», 74=O?4 II <5EF> 6 �G5>5 «�7D> $>EE<< - 2022», EF4?4 
E5D55DO=O< ?D<75D>< 6 FGD=<D5 «FINTECH IT CUP». 

� 2022 7>4G 74 4>5D>E>65EF=O= FDG4 < 6OE>><5 ?>>474F5?< 6 D45>F5 5O?< 
=47D4645=O �?47>44D=>EFLN �D57<45=F4 $>EE<=E>>= $545D4F<< 3 3 D45>F=<>4, 
�544?LN >D45=>< «�4 74E?G7< ?5D54 �F5G5EF6><» II EF5?5=< 3 1 D45>F=<>, 
654><EF65==O<< =47D444<< 3 44 D45>F=<>4, 5?47>44D=>EFLN DG>>6>4<F5?O 
$>E>><=447>D4 3 94 D45>F=<>4, 5?47>44D=>EFLN $�'� «�$'&» 3 221 D45>F=<>, 
?>G5F=>= 7D4<>F>= $�'� «�$'&» 3 143 D45>F=<>4, =47DG4=O<< 7=4>4<<  
$�'� «�$'&» 3 183 D45>F=<>4. 

� G4EF< ?>6OL5=<O <=D>D<<D>64=<O D45>F=<>>6 < D476<F<O 6=GFD5==<E 
>><<G=<>4F<= 5O?< ?D>6545=O E?54GNM<5 <5D>?D<OF<O: 

?D474=>64=<5 �=O 74M<F=<>4 �F5G5EF64, �564G=4D>4=>7> 65=E>>7> 4=O; 
E5<5==>5 <5D>?D<OF<5 ?> 45FE>>= ><55D557>?4E=>EF<; 
L4E<4F=O= FGD=<D; 
E>744= ?5F=<= 557>6>= >?G5; 
4>F<O 6 ?>445D6>G %��: F6>DG5E><5 D45>FO 45F5= D45>F=<>>6 =4 F5<G «Za 

<<D =4 �>=54EE5»; 
>D74=<74F<O GG4EF<O 6 5?47>F6>D<F5?L=OE 4>F<OE E>6<5EF=> E ��$;  
4>=>DE>4O 4>F<O;  
>D74=<7>64=> GG4EF<5 6> 6E5D>EE<=E>>= 4>F<< «�?>4 65?4=<=»; 
74?GM5=O =>6O5 >4=4?O >><<G=<>4F<<: �>DF4?, 465 >>D?>D4F<6=O5 74>DOFO5 

7DG??O 6 &5?57D4<<; 
74>G??5= < 6O445FEO ?D< ?D<5<5 =4 D45>FG ?D<65FEF65==O= =45>D 4?O =>6OE 

D45>F=<>>6 ?D54?D<OF<O; 
GEF4=>6?5=O 7>=O ?<F4=<O (65=4<=7>6O5 4??4D4FO) 4?O D45>F=<>>6  

$�'� «�$'&». 
� >FG5F=>< 2022 7>4G ED54=5<5EOG=4O 74D45>F=4O ??4F4 >4=>7> D45>F=<>4 

E>EF46<?4 87 742 DG5. 
�4D45>F=4O ??4F4 D45>F=<>4< $�'� «�$'&» 6 F5G5=<5 2022 7>44 

6O??4G<64?4EL 6 ED>><, GEF4=>6?5==O5 �>??5>F<6=O< 4>7>6>D><, 744>?65==>EF< 
?> 6O??4F5 74D45>F=>= ??4FO =5F. 

 
VII. ��$��$�/&�/ �� �%$��� &$'�� 

 

�>?<F<>4 $�'� «�$'&» 6 >5?4EF< >ED4=O FDG44 ?D54GE<4FD<645F: 
>55E?5G5=<5 ?D<>D<F5F4 E>ED4=5=<O 6<7=< < 74>D>6LO D45>F=<>>6 6 ?D>F5EE5 

FDG4>6>= 45OF5?L=>EF<; 
>55E?5G5=<5 557>?4E=OE GE?>6<= FDG44, G?D46?5=<5 D<E>4<< 
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?D><76>4EF65==>7> FD46<4F<7<4 < ?D>D5EE<>=4?L=>= 745>?5645<>EF<; 
>5O74F5?LEF64 ?> GEFD4=5=<N >?4E=>EF5= < E=<65=<N GD>6=5= 

?D>D5EE<>=4?L=OE D<E>>6 =4 D45>G<E <5EF4E; 
E>65DL5=EF6>64=<5 E<EF5<O G?D46?5=<O >ED4=>= FDG44; 
>FD465=<5 F5?5= 6 >5?4EF< >ED4=O FDG44. 
&5?O<< E<EF5<O G?D46?5=<O >ED4=>= FDG44 O6?ONFEO: 
?D54>F6D4M5=<5 =5EG4EF=OE E?GG456, ?D>D5EE<>=4?L=OE 745>?564=<=, 

<<>D>?>6D5645=<= (<<>D>FD46<), <=F<45=F>6 < 464D<=; 
?D54G?D5645=<5 ?D><76>4EF65==>7> FD46<4F<7<4; 
E=<65=<5 745>?5645<>EF< D45>F=<>>6; 
E>744=<5 >?F<<4?L=OE GE?>6<= FDG44 4?O ?>6OL5=<O ?D><76>4<F5?L=>EF< 

FDG44. 
-DD5>F<6=O< <=EFDG<5=F>< E>744=<O 557>?4E=OE GE?>6<= FDG44 D45>F=<>>6 

O6?O5FEO ?D>6545=<5 E?5F<4?L=>= >F5=>< GE?>6<= FDG44 6 E>>F65FEF6<< E 
$545D4?L=O< 74>>=>< >F 28 45>45DO 2013 7. 7 426-$� «� E?5F<4?L=>= >F5=>5 
GE?>6<= FDG44». $57G?LF4FO E?5F<4?L=>= >F5=>< ?>76>?ONF ?>?GG<FL >5N5>F<6=GN 
>F5=>G E>EF>O=<O GE?>6<= FDG44 =4 ?D54?D<OF<<. � >FG5F=>< ?5D<>45 ?D>6545=4 
E?5F<4?L=4O >F5=>4 =4 1167 D45>G<E <5EF4E (495 6 D<?<4?4E < 672 6 75=5D4?L=>= 
4<D5>F<<). 

�?O >5=4DG65=<O 6E5E ?>F5=F<4?L=OE >?4E=>EF5= < D<E>>6, >>F>DO5 <>7GF 
6>7=<>=GFL 6 ?D>F5EE5 45OF5?L=>EF< ?D54?D<OF<O, 4 F4>65 4?O <E>?NG5=<O 
6>7<>6=>EF< ?D<G<=5=<O 6D544 74>D>6LN D45>F=<>>6, =4 ?D54?D<OF<< ?D>6545=4 
<45=F<D<>4F<O >?4E=>EF5= (6OO6?5=<5 6D54=OE < >?4E=OE D4>F>D>6 D45>G5= ED54O 
< FDG4>6>7> ?D>F5EE4) < >F5=>4 ?D>D5EE<>=4?L=OE D<E>>6 =4 D45>G<E <5EF4E. 

%<EF5<4 >5GG5=<O < ?D>65D>4 7=4=<= FD55>64=<= >ED4=O FDG44 D45>F=<>>6 
?D>6>4<FEO 6 E>>F65FEF6<< E ?>EF4=>6?5=<5< �D46<F5?LEF64 $>EE<=E>>= $545D4F<< 
>F 24 45>45DO 2021 7. 7 2464 «� ?>DO4>5 >5GG5=<O ?> >ED4=5 FDG44 < ?D>65D>< 
7=4=<O FD55>64=<= >ED4=O FDG44». � D4<>4E =5?D5DO6=>7> 5657>4=>7> >5GG5=<O 6 
2022 7>4G =4 ?D54?D<OF<< >5GG5=> 1990 D45>F=<>>6 (941 6 D<?<4?4E < 1049 6 
75=5D4?L=>= 4<D5>F<<), 6 GG55=OE F5=FD4E >5GG5=> 302 D45>F=<>4 (279 6 D<?<4?4E 
< 23 6 75=5D4?L=>= 4<D5>F<<). 

� F5?OE =45?N45=<O 74 E>EF>O=<5< 74>D>6LO D45>F=<>>6 =4 ?D54?D<OF<< 
?D>6>4OFEO ?D5464D<F5?L=O5 < ?5D<>4<G5E><5 <54<F<=E><5 >E<>FDO, >>F>DO5 
O6?ONFEO 646=5=L<< ?D>D<?4>F<G5E><< <5D>?D<OF<5<, ?>76>?ONM<< >F5=<64FL 
E>EF>O=<5 74>D>6LO < E6>56D5<5==> 6OO6?OFL =4G4?L=O5 D>D<O ?D>D5EE<>=4?L=OE 
745>?564=<=, ?D54?D<=<<4FL <5DO ?> ?5G5=<N < D545<?<F4F<<. � E>>F65FEF6<< E 
?D<>47>< �<=<EF5DEF64 �4D46>>ED4=5=<O $>EE<=E>>= $545D4F<< >F 28.01.2021 
7 29= 6 2022 7>4G >D74=<7>64=> < ?D>6545=> 496 ?5D<>4<G5E><E <54<F<=E><E 
>E<>FD>6 D45>F=<>>6 ?D54?D<OF<O (486 6 D<?<4?4E, 10 6 75=5D4?L=>= 4<D5>F<<) < 
71 ?D5464D<F5?L=O= <54<F<=E><= >E<>FD D45>F=<>>6 (69 6 D<?<4?4E < 2 6 
75=5D4?L=>= 4<D5>F<<). 

�4 ?D54?D<OF<< ?D>6545=O E4=<F4D=>-?D>F<6>M?<45<<G5E><5 
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(?D>D<?4>F<G5E><5) <5D>?D<OF<O, =4?D46?5==O5 =4 ?D54G?D5645=<5 6D54=>7> 
6>745=EF6<O D4>F>D>6 ?D><76>4EF65==>= ED54O < FDG4>6>7> ?D>F5EE4 =4 74>D>6L5 
D45>F=<>>6. �D>6545= >>=FD>?L D4>F<G5E><E 7=4G5=<= 6D54=OE ?D><76>4EF65==OE 
D4>F>D>6 =4 186 D45>G<E <5EF4E (165 6 D<?<4?4E, 21 6 75=5D4?L=>= 4<D5>F<<). 
$4>F>DO ?D><76>4EF65==>= ED54O, 6>745=EF6GNM<5 =4 D45>F=<>>6, E>>F65FEF6GNF 
7<7<5=<G5E><< =>D<4F<64<. �> 6E5E ?><5M5=<OE E>744NFEO 4>?GEF<<O5 
<<>D>>?<<4F<G5E><5 GE?>6<O, >>F>DO5 =5 6O7O64NF =4DGL5=<= E>EF>O=<O 
74>D>6LO, GEG4L5=<O E4<>GG6EF6<O < ?>=<65=<O D45>F>E?>E>5=>EF< D45>F=<>>6. 

� E>>F65FEF6<< E $545D4?L=O< 74>>=>< >F 30 <4DF4 1999 7. 7 52-$� «� 
E4=<F4D=>-M?<45<<>?>7<G5E>>< 5?47>?>?GG<< =4E5?5=<O» ?D>6>4<FEO 64>F<=4F<O 
D45>F=<>>6 $�'� «�$'&» ?D>F<6 6<DGE=OE 745>?564=<= (>?5M56>7> M=F5D4?<F4, 
7D<??4). �D>D<?4>F<G5E><5 ?D<6<6>< ?D>F<6 >?5M56>7> 6<DGE=>7> M=F5D4?<F4 
?D>6>4<?<EL 6E5< D45>F=<>4<, >F=>EOM<<EO > ?D>D5EE<>=4?L=O< 7DG??4< D<E>4, 
>>F>DO5 D45>F4NF <?< =4?D46?ONFEO =4 D45>FO 6 M=45<<G=O5 D4=>=O ?> >?5M56><G 
M=F5D4?<FG. � 2022 7>4G ?D<6<6>< ?D>F<6 >?5M56>7> 6<DGE=>7> M=F5D4?<F4 
E45?4=O 78 D45>F=<>4< 6 D<?<4?4E. �>?GE> > ?D>D5EE<>=4?L=>= 45OF5?L=>EF< 
D45>F=<>>6 >EGM5EF6?O5FEO EFD>7> E GG5F>< <54<F<=E><E 74>?NG5=<=. 

�4=<< <7 >E=>6=OE 6<4>6 45OF5?L=>EF< $�'� «�$'&» ?> >55E?5G5=<N 
557>?4E=OE GE?>6<= FDG44 6 D4<>4E 74??4=<D>64==OE <5D>?D<OF<= O6?O5FEO 
>>=FD>?L 74 >55E?5G5=<5< D45>F=<>>6 E?5F<4?L=>= >4564>=, E?5F<4?L=>= >5G6LN < 
4DG7<<< ED54EF64<< <=4<6<4G4?L=>= 74M<FO, >>F>DO= ?D>6>4<FEO 6 E>>F65FEF6<< E 
GF65D645==O<< =>D<4<<. � 2022 7>4G E?5F<4?L=>= >4564>=, E?5F<4?L=>= >5G6LN < 
4DG7<<< ED54EF64<< <=4<6<4G4?L=>= 74M<FO >55E?5G5=O 389 D45>F=<>>6 (331 3 6 
D<?<4?4E, 58 3 6 75=5D4?L=>= 4<D5>F<<). 

�> $�'� «�$'&» >D74=<7>64=4 D45>F4 ?> >55E?5G5=<N ED54EF64<< 74M<FO 
>F ?445=<O E 6OE>FO (6 E>>F65FEF6<< E FD55>64=<O<< &5E=<G5E>>7> D57?4<5=F4 
&4<>65==>7> E>N74 «� 557>?4E=>EF< ED54EF6 <=4<6<4G4?L=>= 74M<FO» (&$ &% 
019/2011). �?O 6O?>?=5=<O D45>F =4 6OE>F5 6 2022 7>4G 6 D<?<4?4E 74>G??5=> 7 
>><??5>F>6 MDD5>F<6=OE ED54EF6 <=4<6<4G4?L=>= 74M<FO. �D< ?>45>D5 ED54EF6 
74M<FO >F ?445=<O E 6OE>FO >E>5>5 6=<<4=<5 >5D4M4?>EL =4 ?D<<5=5=<5 E<EF5< 
>55E?5G5=<O 557>?4E=>EF<. 

� 2023 7>4G 45OF5?L=>EFL $�'� «�$'&» 6 ED5D5 >ED4=O FDG44 5G45F 
=4?D46?5=4 =4 ?D54G?D5645=<5 ?D><76>4EF65==>7> FD46<4F<7<4, ?D>D5EE<>=4?L=OE 
745>?564=<=, 4 F4>65 =4 GE<?5=<5 ?<G=>= >F65FEF65==>EF< 74 557>?4E=>EFL E6>57> 
FDG44. -F> 6545F > <E>?NG5=<N =5EG4EF=OE E?GG456 =4 ?D54?D<OF<<, 445F GG6EF6> 
=4456=>EF< < EF45<?L=>EF<, E=<645F F5>GG5EFL >44D>6, GF> F>65 5?47>F6>D=> 6?<O5F 
=4 EF45<?L=>EFL 6E57> ?D54?D<OF<O. 

 
VIII. $������&�/ �$��$���/ -��$��-$$��&����%&� 

 

�> <E?>?=5=<5 '>474 �D57<45=F4 $>EE<=E>>= $545D4F<< >F 4 <N=O 2008 7. 
7 889 «� =5>>F>DOE <5D4E ?> ?>6OL5=<N M=5D75F<G5E>>= < M>>?>7<G5E>>= 
MDD5>F<6=>EF< D>EE<=E>>= M>>=><<><», D47D45>F4=4 < GF65D645=4 «�D>7D4<<4 6 
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>5?4EF< M=5D7>E55D565=<O < ?>6OL5=<O M=5D75F<G5E>>= MDD5>F<6=>EF<  
$�'� «�$'&»» =4 ?5D<>4 2021 - 2025 77. 

� D4<>4E D54?<74F<< �D>7D4<<O 6 >5?4EF< M=5D7>E55D565=<O < ?>6OL5=<O 
M=5D75F<G5E>>= MDD5>F<6=>EF< D545D4?L=>7> 7>EG44DEF65==>7> G=<F4D=>7> 
?D54?D<OF<O «�?46=O= D44<>G4EF>F=O= F5=FD» =4 ?5D<>4 2021-2025 7>4O, 
GF65D645==>= 6D<> 75=5D4?L=>7> 4<D5>F>D4 $�'� «�$'&» 17.11.2021, < 
?>6OL5=<O M=5D75F<G5E>>= MDD5>F<6=>EF< $�'� «�$'&» 6 2022 7>4G E<?4<< 
D45>F=<>>6 $�'� «�$'&» ?D>4>?6<?<EL < 6O?>?=5=O D45>FO ?> E?54GNM<< 
<5D>?D<OF<O< M=5D7>E55D565=<O:  

- D45>FO ?> 74<5=5 ?N<<=5EF5=F=OE E65F<?L=<>>6 =4 E65F>4<>4=O5 6 
>>?<G5EF65 80 LF. < ?N<<=5EF5=F=OE ?4<? =4 E65F>4<>4=O5 6 >>?<G5EF65 364 LF.; 

- 74<5=4 G??>F=<F5?5= < D57G?<D>6>4 >>>=;  
- GG5F <E?>?L7G5<OE M=5D75F<G5E><E D5EGDE>6, >EGM5EF6?5=<5 >>=FD>?O 74 

>5>E=>64==>EFLN EF><<>EF< 74FD4F, ?D54NO6?O5<OE M=5D7>E=4564NM<<< 
>D74=<74F<O<< < G?D46?ONM<<< >><?4=<O<<; 

- D47NOE=<F5?L=4O D45>F4 E D45>F=<>4<< ?D54?D<OF<O 6 F5?OE M>>=><<< 
M=5D7>D5EGDE>6, > =5>5E>4<<>EF< >F>?NG5=<O =5<E?>?L7G5<>7> 
M?5>FD>>5>DG4>64=<O < >E65M5=<O, MDD5>F<6=><G <E?>?L7>64=<N DG=>F<>=4?L=OE 
M=5D7>E55D574NM<E 6>7<>6=>EF5= ?5DE>=4?L=OE >><?LNF5D>6 =4 D45>G<E <5EF4E < 
<=>7> >5>DG4>64=<O; 

- 74>G?>4 >5>DG4>64=<O, 5OF>6OE M=5D7>?>FD55?ONM<E GEFD>=EF6, 
>><?LNF5D=>= < >D74=<74F<>==>= F5E=<>< E 5>?55 6OE>><< >?4EE>< 
M=5D7>MDD5>F<6=>EF<; 

- >F>?NG5=<5 65=F<?OF<>==OE GEF4=>6>> < >>=4<F<>=5D>6 6 =5D45>G55 6D5<O; 
- D57G?<D>64=<5 >F?GE>4 F5??4 (?> 6D5<5=< EGF>>, ?> ?>7>4=O< GE?>6<O<, ?> 

F5<?5D4FGD5 6 ?><5M5=<OE); 
- >D74=<74F<O <4>E<<4?L=>7> 4>EFG?4 4=56=>7> E65F4, ?>6OL5=<5 E65F>>F44G< 

EGM5EF6GNM<E <EF>G=<>>6 (G44?5=<5 7DO7< E> E65F<?L=<>>6, ?D<<5=5=<5 5>?55 
MDD5>F<6=OE >FD464F5?5=, ?D<<5=5=<5 M>>=><=OE ?4<? < E65F<?L=<>>6).  

�=D>D<4F<O > 4>EF<7=GFOE D57G?LF4F4E, 6 F>< G<E?5 ?> ?>>474F5?O<, 
E4D4>F5D<7GNM<< MDD5>F<6=>EFL M=5D7>E55D565=<O < ?>6OL5=<5 M=5D75F<G5E>>= 
MDD5>F<6=>EF<, ?> ?>>474F5?N M>>?>7<G5E>>= 557>?4E=>EF< 5G45F ?D54>EF46?5=4 6 
D4<>4E <E?>?=5=<O D4E?>DO65=<O $�'� «�$'&» >F 20.12.2021 7 288 «� 
D54?<74F<< �D>7D4<<O 6 >5?4EF< M=5D7>E55D565=<O < ?>6OL5=<O M=5D75F<G5E>>= 
MDD5>F<6=>EF< D545D4?L=>7> 7>EG44DEF65==>7> G=<F4D=>7> ?D54?D<OF<O «�?46=O= 
D44<>G4EF>F=O= F5=FD» =4 ?5D<>4 2021-2025 7>4O» 6 ED>> =5 ?>74=55 1 <4O 2023 
7>44. 
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IX. �%����/� %&$�&���'�%��� ������&��� $����&�/ 
�$���$�/&�/ � 2022 ���' 

 

&45?<F4 9 

7 ?/? �4<<5=>64=<5 ?>>474F5?O 

�?4=>6>5 
7=4G5=<5 

?>>474F5?O 
6 >FG5F=>< 

?5D<>45 

$4>F<G5E>< 
4>EF<7=GF>5 

7=4G5=<5 
?>>474F5?O 
6 >FG5F=>< 

?5D<>45 

�F>?>=5=<5, 
% 

�D<G<=O >F>?>=5=<O 

1 �>?O ?> >E=>6=><G ?D>4G>FG 
(D45>F5/GE?G75)  
=4 DO=>5 45OF5?L=>EF< 
?D54?D<OF<O  

- - - - 

2 %555EF><<>EFL =4 DG5?L 
?D>446 (>F=>L5=<5 
E555EF><<>EF< ?D>446 > 
6ODGG>5) 

0,440 0,390 -11,36% $>EF 6ODGG>< (>><<5DF<O) 
=4 2,84% >F=>E<F5?L=> 
74??4=<D>64==>= 65?<G<=O, 
>?F<<<74F<O D4EE>4>6 6 
F5?>< ?> ?D54?D<OF<N 74 
EG5F E>>D4M5=<O 
<4F5D<4?L=OE 74FD4F, >??4FO 
GE?G7 EF>D>==<E 
>D74=<74F<= (>><<G=4?L=O5 
GE?G7<, E6O7L, GE?G7< 6 
>5?4EF< <=D>D<4F<>==OE 
F5E=>?>7<= < F.4.), 
>F>?>=5=<5 D4>F<G5E>>= 
G<E?5==>EF< D45>F=<>>6 >F 
74??4=<D>64==>= (6 EF>D>=G 
G<5=LL5=<O). 

3 �D><76>4<F5?L=>EFL FDG44  
(>F=>L5=<5 6ODGG>< > 
ED54=5E?<E>G=>= 
G<E?5==>EF< 74 >FG5F=O= 
?5D<>4), FOE. DG5?5=/G5?. 

594,94 661,94 11,26% 

4 $5=F455?L=>EFL ?> G<EF>= 
?D<5O?<  (>F=>L5=<5 G<EF>= 
?D<5O?< > 6ODGG>5) 

0,164 0,014 -91,46% %=<65=<5 G<EF>= ?D<5O?< 
=4 91,21% 6 E6O7< E 
<7<5=5=<5< 6 D4<>4E 
74>>=>44F5?LEF64 ?> �' 
<5E4=<7<4 >FD465=<O 6 GG5F5 
D4EE>4>6 E>F<4?L=>7> 
E4D4>F5D4 < D57G?OD=OE 
67=>E>6 6 ��� 
«$44<>G4EF>F=O= E?5>FD» 

5 �>?7>64O =47DG7>4 
(>F=>L5=<5 EG<<O 
E>6>>G?=OE >5O74F5?LEF6  
> ?D<5O?< >F ?D>446) 

55,00 47,79 -13,11% �D56OL5=<5 =4 9,36 % 
?D<5O?< >F ?D>446 
(>><<5DF<O) =44 ??4=>6O< 
?>>474F5?5< (74 EG5F 
G65?<G5=<O 6ODGG>< =4 
2,84%)  

6 �<>6<4=>EFL (>F=>L5=<5 
D47=<FO <564G >5>D>F=O<< 
4>F<64<< < 4>?7>ED>G=>= 
455<F>DE>>= 
744>?65==>EFLN > 
>D4F>>ED>G=O< 
>5O74F5?LEF64<) 

0,16 0,19 18,75% �D56OL5=<5 =4 8,33% D4>F4 
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E6O7< 

9.27. %6545=<O, G>474==O5 6 
=4EF>OM5< ?G=>F5, O6?ONFEO 
E?G655=>= <=D>D<4F<5= 
>7D4=<G5==>7> 
D4E?D>EFD4=5=<O, < 

1,0 1,0 0,00% �>4>6>= ?>>474F5?L 
4>EF<7=GF 
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7 ?/? �4<<5=>64=<5 ?>>474F5?O 

�?4=>6>5 
7=4G5=<5 

?>>474F5?O 
6 >FG5F=>< 

?5D<>45 

$4>F<G5E>< 
4>EF<7=GF>5 

7=4G5=<5 
?>>474F5?O 
6 >FG5F=>< 

?5D<>45 

�F>?>=5=<5, 
% 

�D<G<=O >F>?>=5=<O 

=4?D46?ONFEO 6 ?>DO4>5, 
GEF4=>6?5==>< 
74>>=>44F5?LEF6>< 
$>EE<=E>>= $545D4F<< 

9.27.1. %6545=<O, G>474==O5 6 
=4EF>OM5< ?G=>F5, O6?ONFEO 
E?G655=>= <=D>D<4F<5= 
>7D4=<G5==>7> 
D4E?D>EFD4=5=<O, < 
=4?D46?ONFEO 6 ?>DO4>5, 
GEF4=>6?5==>< 
74>>=>44F5?LEF6>< 
$>EE<=E>>= $545D4F<< 

1,0 1,0 0,00% �>4>6>= ?>>474F5?L 
4>EF<7=GF 

9.27.2. %6545=<O, G>474==O5 6 
=4EF>OM5< ?G=>F5, O6?ONFEO 
E?G655=>= <=D>D<4F<5= 
>7D4=<G5==>7> 
D4E?D>EFD4=5=<O, < 
=4?D46?ONFEO 6 ?>DO4>5, 
GEF4=>6?5==>< 
74>>=>44F5?LEF6>< 
$>EE<=E>>= $545D4F<< 

1,0 1,0 0,00% �>4>6>= ?>>474F5?L 
4>EF<7=GF 

9.28. �55E?5G5= 4>EFG? > 
<=D>D<4F<< >5 44D5E4E, 
=><5D4E 46F>=><=OE E<EF5< 
< E6O75= <564G =<<< 
>?5D4F>D4< E6O7<, <<5NM<< 
=><5D 46F>=><=>= E<EF5<O, 
E>5EF65==<>4< <?< <=O< 
6?445?LF4< F5E=>?>7<G5E><E 
E5F5= E6O7<, >D74=<74F>D4< 
D4E?D>EFD4=5=<O 
<=D>D<4F<< 6 E5F< 
«�=F5D=5F» < <=O< ?<F4<, 
<<5NM<< =><5D 46F>=><=>= 
E<EF5<O, GE?. 54. 

1,0 1,0 0,00% �>4>6>= ?>>474F5?L 
4>EF<7=GF. �>EFG? > E5D6<EG 
D575D6=OE >>D=56OE 
E5D65D>6 DNS < E5D6<EG 
>ML<DGNM<E DNS-
D57>?65D>6 4?O >?5D4F>D>6 
E6O7<, <<5NM<E =><5D 
46F>=><=>= E<EF5<O, 
E>5EF65==<>>6 <?< <=OE 
6?445?LF56 F5E=>?>7<G5E><E 
E5F5= E6O7<, >D74=<74F>D>6 
D4E?D>EFD4=5=<O 
<=D>D<4F<< 6 E5F< 
«�=F5D=5F», ?>?L7>64F5?5= 
GE?G74<< E6O7< >D74=<7>64=. 
�>4?<E4= 4>7>6>D 7 �%��-
2021 >F 26.02.2021, 
>5O74F5?LEF64 ?> >>F>D><G 
6O?>?=5=O 

 
X. �%����/� -������'�%��� ������&��� ��/&��,��%&� 

 

�D>7D4<<>= 45OF5?L=>EF< $�'� «�$'&» =4 2022 7>4 5O?< >?D545?5=O 
>E=>6=O5 ?>>474F5?< 45OF5?L=>EF< ?D54?D<OF<O, ??4=>6O5 < D4>F<G5E><5 7=4G5=<O 
>>F>DOE ?D<6545=O 6 F45?<F5 10. 

&45?<F4 10 
(FOE. DG5?5=) 

7 ?/? �4<<5=>64=<5 ?>>474F5?O 'F65D645==O= 
??4= 

$4>F �E?>?=5=<5 
(+,-) % 

1. �ODGG>4 (=5FF>) >F ?D>446< 2 870 003,15 2 951 606,00 81 602,85 102,84% 
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7 ?/? �4<<5=>64=<5 ?>>474F5?O 'F65D645==O= 
??4= 

$4>F �E?>?=5=<5 
(+,-) % 

F>64D>6, ?D>4G>F<<, D45>F, 
GE?G7 (74 6OG5F>< =4?>74 =4 
4>546?5==GN EF><<>EFL, 
4>F<7>6 < 4DG7<E 
>5O74F5?L=OE ??4F565=) 

1.1. �>474=<5 GE?G7 6 D4<>4E 
>55E?5G5=<O =44?564M57> 
<E?>?L7>64=<O D44<>G4EF>F 
< D44<>G4EF>F=OE >4=4?>6, 
$-% < �'' 

2 852 745,52 2 911 623,00 58 877,48 102,06% 

1.2. 'E?G7< '4>EF>65DONM57> 
F5=FD4 

80,00 7,00 -  73,00 8,75% 

1.3. �>474=<5 GE?G7 ?> 
?D54>EF46?5=<N 4>EFG?4 > 
D57G?LF4F4< 
DG=>F<>=<D>64=<O 
�%�&$� 

11 510,96 13 087,00 1 576,04 113,69% 

1.4. �>474=<5 GE?G7 6 D4<>4E 
DG=>F<>=<D>64=<O &�' 
%%�� 

- - - 0,00% 

1.5. �D>G<5 (7>E>>=FD4>F $��, 
<EE?54>64=<5 DO=>4 
<=D>D<4F<>==>= 
?D>4G>F<<, ?><E> 
<=D>D<4F<< 6 %�� < 
<=D>D<4F<>==>-
F5?5>><<G=<>4F<>==OE 
E5FOE, >F5=>4 D57G?LF4F>6 
?><E>4) 

5 666,67 26 889,00 21 222,33 474,51% 

2. '<EF4O ?D<5O?L (G5OF>>) 471 829,18 41 479,00 -  430 350,18 8,79% 
3. '<EFO5 4>F<6O 29 057 075,67 27 762 571,00 - 1 294 504,67 95,54% 
4. '4EFL ?D<5O?<, ?>4?564M4O 

?5D5G<E?5=<N 6 
D545D4?L=O= 5N465F* (<7 
G<EF>= ?D<5O?<) 

759 989,00 759 989,00 - 100,00% 

4.1. 6 F>< G<E?5 G4EFL ?D<5O?<, 
?>4?564M4O ?5D5G<E?5=<N 6 
D545D4?L=O= 5N465F 6 
??4=<DG5<>< 7>4G ?> <F>74< 
45OF5?L=>EF< ?D54?D<OF<O 74 
?D54L5EF6GNM<= 7>4 

759 989,00 759 989,00 - 100,00% 

* '>47O645FEO G4EFL ?D<5O?< ?D54?D<OF<O, ?>4?564M4O ?5D5G<E?5=<N 6 D545D4?L=O= 5N465F 6 F5>GM5< 7>4G 
?> <F>74< 45OF5?L=>EF< ?D54?D<OF<O 74 ?D54L5EF6GNM<= 7>4 

 

�>>474F5?< D<=4=E>6>= GEF>=G<6>EF< ?D54?D<OF<O =4 >>=5F >FG5F=>7> 
?5D<>44 E>EF46<?<: 

>>MDD<F<5=F 45E>?NF=>= ?<>6<4=>EF< 3 10,35; 
>>MDD<F<5=F F5>GM5= ?<>6<4=>EF< 3 11,95; 
>>MDD<F<5=F ?>>DOF<O >5O74F5?LEF6 ?D<F>>>< 45=56=OE ED54EF6 3 0,21, GF> 6 

E>>F65FEF6<< E <564G=4D>4=O<< EF4=44DF4<< E4D4>F5D<7G5F =<7><= GD>65=L D<E>4 
?>F5D< ??4F565E?>E>5=>EF<. &4><< >5D47><, ?D54?D<OF<5 E>ED4=O5F E?>E>5=>EFL 
?>74E<FL F5>GM<5 >5O74F5?LEF64 74 EG5F E6><E 4>F<6>6 < <<55F 74?4E ?D>G=>EF<, 
>5GE?>6?5==O= 4>EF4F>G=> 6OE>><< GD>6=5< E>5EF65==>7> >4?<F4?4.  
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XI. ��$�$��&�/ � %��� �/�������/  
�$��$���/ ��/&��,��%&� �$���$�/&�/ �� 2022 ��� 

 

� F45?<F5 ?D<6545=O >5>5M5==O5 44==O5 > E>45 6O?>?=5=<O �D>7D4<<O 
45OF5?L=>EF< $�'� «�$'&» 74 2022 7>4, GF65D645==>= ?D<>47>< $>E>><=447>D4 >F 
29.10.2021 7 225 (E <7<5=5=<O<< >F 21.01.2022 7 11, >F 31.03.2022 7 56, >F 
29.04.2022 7 83, >F 15.08.2022 7 138, >F 14.09.2022 7 156, >F 14.11.2022 7 188, >F 
09.12.2022 7 197). 

(FOE. DG5?5=) 
7 ?/? �4<<5=>64=<5 ?>>474F5?O 'F65D645==O= 

??4= 
$4>F �E?>?=5=<5 

(+,-) % 
1. $476<F<5 < >55E?5G5=<5 

DG=>F<>=<D>64=<O D44<>>>=FD>?O 
94 628,17 88 403,90 -  6 224,27 93,42% 

1.1. E>5EF65==O5 ED54EF64 4 311,80 2 320,65 - 1 991,15 53,82% 
1.2. D545D4?L=O= 5N465F 90 316,37 86 083,25 - 4 233,12 95,31% 

1.2.1. EG5E<4<O D44<>G4EF>F=>= E?G655 =4 
D<=4=E>6>5 >55E?5G5=<5 74FD4F, 
E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE 
=4 =55 DG=>F<= 

90 316,37 86 083,25 - 4 233,12 95,31% 

1.2.2. EG5E<4<O =4 E>744=<5 < >55E?5G5=<5 
DG=>F<>=<D>64=<O <=D>D<4F<>==>= 
E<EF5<O <>=<F>D<=74 <4DLDGF>6 FD4D<>4 
6 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F», 
<>=<F>D<=74 < G?D46?5=<O E5FLN E6O7< 
>5M57> ?>?L7>64=<O 

- - - - 

1.2.3. EG5E<4<O =4 E>744=<5 < 6=54D5=<5, 
DG=>F<>=<D>64=<5 �6F><4F<7<D>64==>= 
E<EF5<O >55E?5G5=<O 557>?4E=>EF< 
D>EE<=E>>7> E57<5=F4 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< "�=F5D=5F" 
(�%��) 

- - - - 

1.2.4. EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 
E>744=<5 < >55E?5G5=<5 
DG=>F<>=<D>64=<O < D476<F<O E<EF5<O 
>55E?5G5=<O E>5?N45=<O >?5D4F>D4<< 
E6O7< FD55>64=<= ?D< >>474=<< GE?G7 
E6O7< < GE?G7 ?> ?D>?GE>G FD4D<>4 6 E5F< 
E6O7< >5M57> ?>?L7>64=<O 

- - - - 

1.2.5. EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 
>EGM5EF6?5=<5 >D74=<74F<>==>-
F5E=<G5E><E <5D, =5>5E>4<<OE 4?O 
D54?<74F<< <>=<F>D<=74 E>5?N45=<O 
>?5D4F>D4<< E6O7< >5O74==>EF< ?> 
?D>65D>5 4>EF>65D=>EF< E6545=<= >5 
45>=5=F5 < E6545=<= > ?>?L7>64F5?OE 
GE?G74<< E6O7< 45>=5=F4 - ND<4<G5E>>7> 
?<F4 <?< <=4<6<4G4?L=>7> 
?D54?D<=<<4F5?O, 6 F>< G<E?5 
?D54EF46?5==OE ?<F><, 45=EF6GNM<< >F 
<<5=< >?5D4F>D4 E6O7< 

- - - - 

1.2.6. EG5E<4<O ��% - - - - 
1.3. ?D>G<5 <EF>G=<>< (?>EFG??5=<5 ED54EF6 6 

>4G5EF65 6>76D4F4 455<F>DE>>= 
744>?65==>EF< ?D>L?OE ?5F) 

- - - - 

2. �D<>5D5F5=<5 46F>FD4=E?>DF=OE ED54EF6 25 750,00 29 842,02 4 092,02 115,89% 
2.1. E>5EF65==O5 ED54EF64 25 750,00 29 842,02 4 092,02 115,89% 
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7 ?/? �4<<5=>64=<5 ?>>474F5?O 'F65D645==O= 
??4= 

$4>F �E?>?=5=<5 
(+,-) % 

2.2. D545D4?L=O= 5N465F - - - - 
2.2.1. EG5E<4<O D44<>G4EF>F=>= E?G655 =4 

D<=4=E>6>5 >55E?5G5=<5 74FD4F, 
E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE 
=4 =55 DG=>F<= 

- - - - 

2.2.2. EG5E<4<O =4 E>744=<5 < >55E?5G5=<5 
DG=>F<>=<D>64=<O <=D>D<4F<>==>= 
E<EF5<O <>=<F>D<=74 <4DLDGF>6 FD4D<>4 
6 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F», 
<>=<F>D<=74 < G?D46?5=<O E5FLN E6O7< 
>5M57> ?>?L7>64=<O 

- - - - 

2.2.3. EG5E<4<O =4 E>744=<5 < 6=54D5=<5, 
DG=>F<>=<D>64=<5 �6F><4F<7<D>64==>= 
E<EF5<O >55E?5G5=<O 557>?4E=>EF< 
D>EE<=E>>7> E57<5=F4 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< "�=F5D=5F" 
(�%��) 

- - - - 

2.2.4. EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 
E>744=<5 < >55E?5G5=<5 
DG=>F<>=<D>64=<O < D476<F<O E<EF5<O 
>55E?5G5=<O E>5?N45=<O >?5D4F>D4<< 
E6O7< FD55>64=<= ?D< >>474=<< GE?G7 
E6O7< < GE?G7 ?> ?D>?GE>G FD4D<>4 6 E5F< 
E6O7< >5M57> ?>?L7>64=<O 

- - - - 

2.2.5. EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 
>EGM5EF6?5=<5 >D74=<74F<>==>-
F5E=<G5E><E <5D, =5>5E>4<<OE 4?O 
D54?<74F<< <>=<F>D<=74 E>5?N45=<O 
>?5D4F>D4<< E6O7< >5O74==>EF< ?> 
?D>65D>5 4>EF>65D=>EF< E6545=<= >5 
45>=5=F5 < E6545=<= > ?>?L7>64F5?OE 
GE?G74<< E6O7< 45>=5=F4 - ND<4<G5E>>7> 
?<F4 <?< <=4<6<4G4?L=>7> 
?D54?D<=<<4F5?O, 6 F>< G<E?5 
?D54EF46?5==OE ?<F><, 45=EF6GNM<< >F 
<<5=< >?5D4F>D4 E6O7< 

- - - - 

2.2.6. EG5E<4<O ��% - - - - 
3. �D<>5D5F5=<5 744=<=, ?><5M5=<= < 

75<5?L=OE GG4EF>>6 
14 080,00 12 074,17 - 2 005,83 85,75% 

3.1. E>5EF65==O5 ED54EF64 14 080,00 12 074,17 - 2 005,83 85,75% 
3.2. D545D4?L=O= 5N465F - - - - 

3.2.1. EG5E<4<O D44<>G4EF>F=>= E?G655 =4 
D<=4=E>6>5 >55E?5G5=<5 74FD4F, 
E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE 
=4 =55 DG=>F<= 

- - - - 

3.2.2. EG5E<4<O =4 E>744=<5 < >55E?5G5=<5 
DG=>F<>=<D>64=<O <=D>D<4F<>==>= 
E<EF5<O <>=<F>D<=74 <4DLDGF>6 FD4D<>4 
6 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F», 
<>=<F>D<=74 < G?D46?5=<O E5FLN E6O7< 
>5M57> ?>?L7>64=<O 

- - - - 

3.2.3. EG5E<4<O =4 E>744=<5 < 6=54D5=<5, 
DG=>F<>=<D>64=<5 �6F><4F<7<D>64==>= 
E<EF5<O >55E?5G5=<O 557>?4E=>EF< 
D>EE<=E>>7> E57<5=F4 <=D>D<4F<>==>-

- - - - 
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7 ?/? �4<<5=>64=<5 ?>>474F5?O 'F65D645==O= 
??4= 

$4>F �E?>?=5=<5 
(+,-) % 

F5?5>><<G=<>4F<>==>= E5F< "�=F5D=5F" 
(�%��) 

3.2.4. EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 
E>744=<5 < >55E?5G5=<5 
DG=>F<>=<D>64=<O < D476<F<O E<EF5<O 
>55E?5G5=<O E>5?N45=<O >?5D4F>D4<< 
E6O7< FD55>64=<= ?D< >>474=<< GE?G7 
E6O7< < GE?G7 ?> ?D>?GE>G FD4D<>4 6 E5F< 
E6O7< >5M57> ?>?L7>64=<O 

- - - - 

3.2.5. EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 
>EGM5EF6?5=<5 >D74=<74F<>==>-
F5E=<G5E><E <5D, =5>5E>4<<OE 4?O 
D54?<74F<< <>=<F>D<=74 E>5?N45=<O 
>?5D4F>D4<< E6O7< >5O74==>EF< ?> 
?D>65D>5 4>EF>65D=>EF< E6545=<= >5 
45>=5=F5 < E6545=<= > ?>?L7>64F5?OE 
GE?G74<< E6O7< 45>=5=F4 - ND<4<G5E>>7> 
?<F4 <?< <=4<6<4G4?L=>7> 
?D54?D<=<<4F5?O, 6 F>< G<E?5 
?D54EF46?5==OE ?<F><, 45=EF6GNM<< >F 
<<5=< >?5D4F>D4 E6O7< 

- - - - 

3.2.6. EG5E<4<O ��% - - - - 
4. $5>>=EFDG>F<O, EFD><F5?LEF6>, 

>4?<F4?L=O= D5<>=F 
18 648,12 478,00 - 18 170,12 2,56% 

4.1. E>5EF65==O5 ED54EF64 18 648,12 478,00 - 18 170,12 2,56% 
4.2. D545D4?L=O= 5N465F - - - - 

4.2.1. EG5E<4<O D44<>G4EF>F=>= E?G655 =4 
D<=4=E>6>5 >55E?5G5=<5 74FD4F, 
E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE 
=4 =55 DG=>F<= 

- - - - 

4.2.2. EG5E<4<O =4 E>744=<5 < >55E?5G5=<5 
DG=>F<>=<D>64=<O <=D>D<4F<>==>= 
E<EF5<O <>=<F>D<=74 <4DLDGF>6 FD4D<>4 
6 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F», 
<>=<F>D<=74 < G?D46?5=<O E5FLN E6O7< 
>5M57> ?>?L7>64=<O 

- - - - 

4.2.3. EG5E<4<O =4 E>744=<5 < 6=54D5=<5, 
DG=>F<>=<D>64=<5 �6F><4F<7<D>64==>= 
E<EF5<O >55E?5G5=<O 557>?4E=>EF< 
D>EE<=E>>7> E57<5=F4 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< "�=F5D=5F" 
(�%��) 

- - - - 

4.2.4. EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 
E>744=<5 < >55E?5G5=<5 
DG=>F<>=<D>64=<O < D476<F<O E<EF5<O 
>55E?5G5=<O E>5?N45=<O >?5D4F>D4<< 
E6O7< FD55>64=<= ?D< >>474=<< GE?G7 
E6O7< < GE?G7 ?> ?D>?GE>G FD4D<>4 6 E5F< 
E6O7< >5M57> ?>?L7>64=<O 

- - - - 

4.2.5. EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 
>EGM5EF6?5=<5 >D74=<74F<>==>-
F5E=<G5E><E <5D, =5>5E>4<<OE 4?O 
D54?<74F<< <>=<F>D<=74 E>5?N45=<O 
>?5D4F>D4<< E6O7< >5O74==>EF< ?> 
?D>65D>5 4>EF>65D=>EF< E6545=<= >5 
45>=5=F5 < E6545=<= > ?>?L7>64F5?OE 

- - - - 
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7 ?/? �4<<5=>64=<5 ?>>474F5?O 'F65D645==O= 
??4= 

$4>F �E?>?=5=<5 
(+,-) % 

GE?G74<< E6O7< 45>=5=F4 - ND<4<G5E>>7> 
?<F4 <?< <=4<6<4G4?L=>7> 
?D54?D<=<<4F5?O, 6 F>< G<E?5 
?D54EF46?5==OE ?<F><, 45=EF6GNM<< >F 
<<5=< >?5D4F>D4 E6O7< 

4.2.6. EG5E<4<O ��% - - - - 
5. $476<F<5 < >55E?5G5=<5 

DG=>F<>=<D>64=<O 46F><4F<7<D>64==OE 
E<EF5< < ?D<>5D5F5=<5 6OG<E?<F5?L=>= 
F5E=<>< 

15 494 685,82 14 931 703,23 - 562 982,59 96,37% 

5.1. E>5EF65==O5 ED54EF64 275 107,22 204 475,80 - 70 631,42 74,33% 
5.2. D545D4?L=O= 5N465F 15 219 578,60 14 727 227,43 - 492 351,17 96,77% 

5.2.1. EG5E<4<O D44<>G4EF>F=>= E?G655 =4 
D<=4=E>6>5 >55E?5G5=<5 74FD4F, 
E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE 
=4 =55 DG=>F<= 

943 979,19 451 845,98 - 492 133,21 47,87% 

5.2.2. EG5E<4<O =4 E>744=<5 < >55E?5G5=<5 
DG=>F<>=<D>64=<O <=D>D<4F<>==>= 
E<EF5<O <>=<F>D<=74 <4DLDGF>6 FD4D<>4 
6 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F», 
<>=<F>D<=74 < G?D46?5=<O E5FLN E6O7< 
>5M57> ?>?L7>64=<O 

123 465,26 123 250,25 - 215,01 99,83% 

5.2.3. EG5E<4<O =4 E>744=<5 < 6=54D5=<5, 
DG=>F<>=<D>64=<5 �6F><4F<7<D>64==>= 
E<EF5<O >55E?5G5=<O 557>?4E=>EF< 
D>EE<=E>>7> E57<5=F4 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< "�=F5D=5F" 
(�%��) 

13 836 670,24 13 836 667,29 - 2,95 100,00% 

5.2.4. EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 
E>744=<5 < >55E?5G5=<5 
DG=>F<>=<D>64=<O < D476<F<O E<EF5<O 
>55E?5G5=<O E>5?N45=<O >?5D4F>D4<< 
E6O7< FD55>64=<= ?D< >>474=<< GE?G7 
E6O7< < GE?G7 ?> ?D>?GE>G FD4D<>4 6 E5F< 
E6O7< >5M57> ?>?L7>64=<O 

168 067,42 168 067,42 - 100,00% 

5.2.5. EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 
>EGM5EF6?5=<5 >D74=<74F<>==>-
F5E=<G5E><E <5D, =5>5E>4<<OE 4?O 
D54?<74F<< <>=<F>D<=74 E>5?N45=<O 
>?5D4F>D4<< E6O7< >5O74==>EF< ?> 
?D>65D>5 4>EF>65D=>EF< E6545=<= >5 
45>=5=F5 < E6545=<= > ?>?L7>64F5?OE 
GE?G74<< E6O7< 45>=5=F4 - ND<4<G5E>>7> 
?<F4 <?< <=4<6<4G4?L=>7> 
?D54?D<=<<4F5?O, 6 F>< G<E?5 
?D54EF46?5==OE ?<F><, 45=EF6GNM<< >F 
<<5=< >?5D4F>D4 E6O7< 

147 396,49 147 396,49 - 100,00% 

5.2.6. EG5E<4<O ��% - - - - 
5.3. ?D>G<5 <EF>G=<>< (?>EFG??5=<5 ED54EF6 6 

>4G5EF65 6>76D4F4 455<F>DE>>= 
744>?65==>EF< ?D>L?OE ?5F) 

- - - - 

6. $476<F<5 < >55E?5G5=<5 
DG=>F<>=<D>64=<O E<EF5<O <>=<F>D<=74 
ED54EF6 <4EE>6>= <=D>D<4F<< < 
<4EE>6OE >><<G=<>4F<= 

83 802,41 83 780,98 - 21,43 99,97% 

6.1. E>5EF65==O5 ED54EF64 - - - - 
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7 ?/? �4<<5=>64=<5 ?>>474F5?O 'F65D645==O= 
??4= 

$4>F �E?>?=5=<5 
(+,-) % 

6.2. D545D4?L=O= 5N465F 83 802,41 83 780,98 - 21,43 99,97% 
6.2.1. EG5E<4<O D44<>G4EF>F=>= E?G655 =4 

D<=4=E>6>5 >55E?5G5=<5 74FD4F, 
E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE 
=4 =55 DG=>F<= 

83 802,41 83 780,98 - 21,43 99,97% 

6.2.2. EG5E<4<O =4 E>744=<5 < >55E?5G5=<5 
DG=>F<>=<D>64=<O <=D>D<4F<>==>= 
E<EF5<O <>=<F>D<=74 <4DLDGF>6 FD4D<>4 
6 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F», 
<>=<F>D<=74 < G?D46?5=<O E5FLN E6O7< 
>5M57> ?>?L7>64=<O 

- - - - 

6.2.3. EG5E<4<O =4 E>744=<5 < 6=54D5=<5, 
DG=>F<>=<D>64=<5 �6F><4F<7<D>64==>= 
E<EF5<O >55E?5G5=<O 557>?4E=>EF< 
D>EE<=E>>7> E57<5=F4 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< "�=F5D=5F" 
(�%��) 

- - - - 

6.2.4. EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 
E>744=<5 < >55E?5G5=<5 
DG=>F<>=<D>64=<O < D476<F<O E<EF5<O 
>55E?5G5=<O E>5?N45=<O >?5D4F>D4<< 
E6O7< FD55>64=<= ?D< >>474=<< GE?G7 
E6O7< < GE?G7 ?> ?D>?GE>G FD4D<>4 6 E5F< 
E6O7< >5M57> ?>?L7>64=<O 

- - - - 

6.2.5. EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 
>EGM5EF6?5=<5 >D74=<74F<>==>-
F5E=<G5E><E <5D, =5>5E>4<<OE 4?O 
D54?<74F<< <>=<F>D<=74 E>5?N45=<O 
>?5D4F>D4<< E6O7< >5O74==>EF< ?> 
?D>65D>5 4>EF>65D=>EF< E6545=<= >5 
45>=5=F5 < E6545=<= > ?>?L7>64F5?OE 
GE?G74<< E6O7< 45>=5=F4 - ND<4<G5E>>7> 
?<F4 <?< <=4<6<4G4?L=>7> 
?D54?D<=<<4F5?O, 6 F>< G<E?5 
?D54EF46?5==OE ?<F><, 45=EF6GNM<< >F 
<<5=< >?5D4F>D4 E6O7< 

- - - - 

6.2.6. EG5E<4<O ��% - - - - 
7. �D>G55 >5>DG4>64=<5 21 444,38 15 429,61 - 6 014,77 71,95% 

7.1. E>5EF65==O5 ED54EF64 14 125,42 8 361,43 - 5 763,99 59,19% 
7.2. D545D4?L=O= 5N465F 7 318,96 7 068,18 -             

250,78 
96,57% 

7.2.1. EG5E<4<O D44<>G4EF>F=>= E?G655 =4 
D<=4=E>6>5 >55E?5G5=<5 74FD4F, 
E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE 
=4 =55 DG=>F<= 

7 318,96 7 068,18 -             
250,78 

96,57% 

7.2.2. EG5E<4<O =4 E>744=<5 < >55E?5G5=<5 
DG=>F<>=<D>64=<O <=D>D<4F<>==>= 
E<EF5<O <>=<F>D<=74 <4DLDGF>6 FD4D<>4 
6 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F», 
<>=<F>D<=74 < G?D46?5=<O E5FLN E6O7< 
>5M57> ?>?L7>64=<O 

- - - - 

7.2.3. EG5E<4<O =4 E>744=<5 < 6=54D5=<5, 
DG=>F<>=<D>64=<5 �6F><4F<7<D>64==>= 
E<EF5<O >55E?5G5=<O 557>?4E=>EF< 
D>EE<=E>>7> E57<5=F4 <=D>D<4F<>==>-

- - - - 
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7 ?/? �4<<5=>64=<5 ?>>474F5?O 'F65D645==O= 
??4= 

$4>F �E?>?=5=<5 
(+,-) % 

F5?5>><<G=<>4F<>==>= E5F< "�=F5D=5F" 
(�%��) 

7.2.4. EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 
E>744=<5 < >55E?5G5=<5 
DG=>F<>=<D>64=<O < D476<F<O E<EF5<O 
>55E?5G5=<O E>5?N45=<O >?5D4F>D4<< 
E6O7< FD55>64=<= ?D< >>474=<< GE?G7 
E6O7< < GE?G7 ?> ?D>?GE>G FD4D<>4 6 E5F< 
E6O7< >5M57> ?>?L7>64=<O 

- - - - 

7.2.5. EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 
>EGM5EF6?5=<5 >D74=<74F<>==>-
F5E=<G5E><E <5D, =5>5E>4<<OE 4?O 
D54?<74F<< <>=<F>D<=74 E>5?N45=<O 
>?5D4F>D4<< E6O7< >5O74==>EF< ?> 
?D>65D>5 4>EF>65D=>EF< E6545=<= >5 
45>=5=F5 < E6545=<= > ?>?L7>64F5?OE 
GE?G74<< E6O7< 45>=5=F4 - ND<4<G5E>>7> 
?<F4 <?< <=4<6<4G4?L=>7> 
?D54?D<=<<4F5?O, 6 F>< G<E?5 
?D54EF46?5==OE ?<F><, 45=EF6GNM<< >F 
<<5=< >?5D4F>D4 E6O7< 

- - - - 

7.2.6. EG5E<4<O ��% - - - - 
8. �D>6545=<5 =4GG=>-<EE?54>64F5?LE><E 

D45>F 
24 035,22 19 435,22 - 4 600,00 80,86% 

8.1. E>5EF65==O5 ED54EF64 24 035,22 19 435,22 - 4 600,00 80,86% 
8.2. D545D4?L=O= 5N465F - - - - 
9. �=D>D<4F<>==>5 >55E?5G5=<5 2 810,00 2 000,00 - 810,00 71,17% 

9.1. E>5EF65==O5 ED54EF64 2 810,00 2 000,00 - 810,00 71,17% 
9.2. D545D4?L=O= 5N465F - - - - 
10. �F>7> ?D><76>4EF65==4O ED5D4 15 779 884,12 15 183 147,13 - 596 736,99 96,22% 

10.1. E>5EF65==O5 ED54EF64 378 867,78 278 987,29 - 99 880,49 73,64% 
10.2. D545D4?L=O= 5N465F 15 401 016,34 14 904 159,84 - 496 856,50 96,77% 

10.2.1. EG5E<4<O D44<>G4EF>F=>= E?G655 =4 
D<=4=E>6>5 >55E?5G5=<5 74FD4F, 
E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE 
=4 =55 DG=>F<= 

1 125 416,93 628 778,39 - 496 638,54 55,87% 

10.2.2. EG5E<4<O =4 E>744=<5 < >55E?5G5=<5 
DG=>F<>=<D>64=<O <=D>D<4F<>==>= 
E<EF5<O <>=<F>D<=74 <4DLDGF>6 FD4D<>4 
6 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F», 
<>=<F>D<=74 < G?D46?5=<O E5FLN E6O7< 
>5M57> ?>?L7>64=<O 

123 465,26 123 250,25 - 215,01 99,83% 

10.2.3. EG5E<4<O =4 E>744=<5 < 6=54D5=<5, 
DG=>F<>=<D>64=<5 �6F><4F<7<D>64==>= 
E<EF5<O >55E?5G5=<O 557>?4E=>EF< 
D>EE<=E>>7> E57<5=F4 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< "�=F5D=5F" 
(�%��) 

13 836 670,24 13 836 667,29 - 2,95 100,00% 

10.2.4. EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 
E>744=<5 < >55E?5G5=<5 
DG=>F<>=<D>64=<O < D476<F<O E<EF5<O 
>55E?5G5=<O E>5?N45=<O >?5D4F>D4<< 
E6O7< FD55>64=<= ?D< >>474=<< GE?G7 
E6O7< < GE?G7 ?> ?D>?GE>G FD4D<>4 6 E5F< 
E6O7< >5M57> ?>?L7>64=<O 

168 067,42 168 067,42 - 100,00% 

10.2.5. EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 147 396,49 147 396,49 - 100,00% 
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7 ?/? �4<<5=>64=<5 ?>>474F5?O 'F65D645==O= 
??4= 

$4>F �E?>?=5=<5 
(+,-) % 

>EGM5EF6?5=<5 >D74=<74F<>==>-
F5E=<G5E><E <5D, =5>5E>4<<OE 4?O 
D54?<74F<< <>=<F>D<=74 E>5?N45=<O 
>?5D4F>D4<< E6O7< >5O74==>EF< ?> 
?D>65D>5 4>EF>65D=>EF< E6545=<= >5 
45>=5=F5 < E6545=<= > ?>?L7>64F5?OE 
GE?G74<< E6O7< 45>=5=F4 - ND<4<G5E>>7> 
?<F4 <?< <=4<6<4G4?L=>7> 
?D54?D<=<<4F5?O, 6 F>< G<E?5 
?D54EF46?5==OE ?<F><, 45=EF6GNM<< >F 
<<5=< >?5D4F>D4 E6O7< 

10.2.6. EG5E<4<O ��% - - - - 
10.3. ?D>G<5 <EF>G=<>< (?>EFG??5=<5 ED54EF6 6 

>4G5EF65 6>76D4F4 455<F>DE>>= 
744>?65==>EF< ?D>L?OE ?5F) 

- - - - 

11. '65?<G5=<5 D575D6=>7> D>=44 $�'� 
"�$'&" < D>=44 D<=4=E>6OE D575D6>6 
4?O ?<>6<44F<< GD576OG4==OE E<FG4F<= 6 
$�'� "�$'&" 

89 398,74 89 398,74 - 100,00% 

11.1. E>5EF65==O5 ED54EF64 89 398,74 89 398,74 - 100,00% 
11.2. D545D4?L=O= 5N465F - - - - 
12. $57G?OD=O= 67=>E GGD54<F5?O =4 6545=<5 

GEF46=>= 45OF5?L=>EF< ��� 
"$44<>G4EF>F=O= E?5>FD" 

130 000,00 56 000,00 - 74 000,00 43,08% 

12.1. E>5EF65==O5 ED54EF64 130 000,00 56 000,00 - 74 000,00 43,08% 
12.2. D545D4?L=O= 5N465F - - - - 
13. $476<F<5 E<EF5<O E>F<4?L=>7> 

>55E?5G5=<O D45>F=<>>6 ?D54?D<OF<O 6 
E>>F65FEF6<< E 45=EF6GNM<<< =4 
?D54?D<OF<< >>??5>F<6=O< 4>7>6>D>< < 
'EF46>< ?D54?D<OF<O (E>744=<5 
%>F<4?L=>7> D>=44) 

427 761,81 - - 427 761,81 - 

13.1. E>5EF65==O5 ED54EF64 427 761,81 - - 427 761,81 - 
13.2. D545D4?L=O= 5N465F - - - - 
14. �D>G<5 D>D<O ?>FD55?5=<O ?D<5O?< 

($>=4 =4GG=>-F5E=<G5E>>7> D476<F<O) 
168 827,45 168 827,45 - 100,00% 

14.1. E>5EF65==O5 ED54EF64 168 827,45 168 827,45 - 100,00% 
14.2. D545D4?L=O= 5N465F - - - - 
15. �F>7> ?> <5D>?D<OF<O<: 16 595 872,12 15 497 373,32 - 1 098 

498,80 
93,38% 

15.1. E>5EF65==O5 ED54EF64 1 194 855,78 593 213,48 - 601 642,30 49,65% 
15.2. D545D4?L=O= 5N465F 15 401 016,34 14 904 159,84 - 496 856,50 96,77% 

15.2.1. EG5E<4<O D44<>G4EF>F=>= E?G655 =4 
D<=4=E>6>5 >55E?5G5=<5 74FD4F, 
E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE 
=4 =55 DG=>F<= 

1 125 416,93 628 778,39 - 496 638,54 55,87% 

15.2.2. EG5E<4<O =4 E>744=<5 < >55E?5G5=<5 
DG=>F<>=<D>64=<O <=D>D<4F<>==>= 
E<EF5<O <>=<F>D<=74 <4DLDGF>6 FD4D<>4 
6 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F», 
<>=<F>D<=74 < G?D46?5=<O E5FLN E6O7< 
>5M57> ?>?L7>64=<O 

123 465,26 123 250,25 - 215,01 99,83% 

15.2.3. EG5E<4<O =4 E>744=<5 < 6=54D5=<5, 
DG=>F<>=<D>64=<5 �6F><4F<7<D>64==>= 
E<EF5<O >55E?5G5=<O 557>?4E=>EF< 
D>EE<=E>>7> E57<5=F4 <=D>D<4F<>==>-

13 836 670,24 13 836 667,29 - 2,95 100,00% 



88 

7 ?/? �4<<5=>64=<5 ?>>474F5?O 'F65D645==O= 
??4= 

$4>F �E?>?=5=<5 
(+,-) % 

F5?5>><<G=<>4F<>==>= E5F< "�=F5D=5F" 
(�%��) 

15.2.4. EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 
E>744=<5 < >55E?5G5=<5 
DG=>F<>=<D>64=<O < D476<F<O E<EF5<O 
>55E?5G5=<O E>5?N45=<O >?5D4F>D4<< 
E6O7< FD55>64=<= ?D< >>474=<< GE?G7 
E6O7< < GE?G7 ?> ?D>?GE>G FD4D<>4 6 E5F< 
E6O7< >5M57> ?>?L7>64=<O 

168 067,42 168 067,42 - 100,00% 

15.2.5. EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 
>EGM5EF6?5=<5 >D74=<74F<>==>-
F5E=<G5E><E <5D, =5>5E>4<<OE 4?O 
D54?<74F<< <>=<F>D<=74 E>5?N45=<O 
>?5D4F>D4<< E6O7< >5O74==>EF< ?> 
?D>65D>5 4>EF>65D=>EF< E6545=<= >5 
45>=5=F5 < E6545=<= > ?>?L7>64F5?OE 
GE?G74<< E6O7< 45>=5=F4 - ND<4<G5E>>7> 
?<F4 <?< <=4<6<4G4?L=>7> 
?D54?D<=<<4F5?O, 6 F>< G<E?5 
?D54EF46?5==OE ?<F><, 45=EF6GNM<< >F 
<<5=< >?5D4F>D4 E6O7< 

147 396,49 147 396,49 - 100,00% 

15.2.6. EG5E<4<O ��% - - - - 
15.3. ?D>G<5 <EF>G=<>< (?>EFG??5=<5 ED54EF6 6 

>4G5EF65 6>76D4F4 455<F>DE>>= 
744>?65==>EF< ?D>L?OE ?5F) 

- - - - 

 

�4 D476<F<5 ?D><76>4EF65==>= ED5DO $�'� «�$'&» 6 2022 7>4G 5O?> 
=4?D46?5=> 3  15 183 147,13 FOE. DG5?5=, 6 F>< G<E?5: 

74 EG5F E>5EF65==OE ED54EF6 3   278 987,29 FOE. DG5?5=, 6 F>< G<E?5: 
74 EG5F ED54EF6 D545D4?L=>7> 5N465F4 3 14 904 159,84 FOE. DG5?5=, 6 F>< 

G<E?5: 
EG5E<4<O D44<>G4EF>F=>= E?G655 =4 D<=4=E>6>5 >55E?5G5=<5 74FD4F, 

E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE =4 =55 DG=>F<= 3 628 778,39 FOE. DG5?5=; 
EG5E<4<O =4 E>744=<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O <=D>D<4F<>==>= 

E<EF5<O <>=<F>D<=74 <4DLDGF>6 FD4D<>4 6 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F», <>=<F>D<=74 < G?D46?5=<O E5FLN E6O7< 
>5M57> ?>?L7>64=<O 3 123 250,25 FOE. DG5?5=; 

EG5E<4<O =4 E>744=<5 < 6=54D5=<5, DG=>F<>=<D>64=<5 �6F><4F<7<D>64==>= 
E<EF5<O >55E?5G5=<O 557>?4E=>EF< D>EE<=E>>7> E57<5=F4 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F» (�%��) 3 13 836 667,29 FOE. DG5?5=; 

EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 E>744=<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O 
< D476<F<O E<EF5<O >55E?5G5=<O E>5?N45=<O >?5D4F>D4<< E6O7< FD55>64=<= ?D< 
>>474=<< GE?G7 E6O7< < GE?G7 ?> ?D>?GE>G FD4D<>4 6 E5F< E6O7< >5M57> ?>?L7>64=<O 
3 168 067,42 FOE. DG5?5=; 

EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 >EGM5EF6?5=<5 >D74=<74F<>==>-
F5E=<G5E><E <5D, =5>5E>4<<OE 4?O D54?<74F<< <>=<F>D<=74 E>5?N45=<O 
>?5D4F>D4<< E6O7< >5O74==>EF< ?> ?D>65D>5 4>EF>65D=>EF< E6545=<= >5 45>=5=F5 < 
E6545=<= > ?>?L7>64F5?OE GE?G74<< E6O7< 45>=5=F4 - ND<4<G5E>>7> ?<F4 <?< 
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<=4<6<4G4?L=>7> ?D54?D<=<<4F5?O, 6 F>< G<E?5 ?D54EF46?5==OE ?<F><, 
45=EF6GNM<< >F <<5=< >?5D4F>D4 E6O7< 3 147 396,49 FOE. DG5?5=. 

 

�5D>?D<OF<O ?> D476<F<N < >55E?5G5=<N DG=>F<>=<D>64=<O 
D44<>>>=FD>?O 

�4 D476<F<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O D44<>>>=FD>?O 6 2022 7>4G 
=4?D46?5=> 88 403,90 FOE. DG5?5=, 6 F>< G<E?5: 

74 EG5F E>5EF65==OE ED54EF6 3 2 320,65 FOE. DG5?5=; 
74 EG5F ED54EF6 D545D4?L=>7> 5N465F4 3 86 083,25 FOE. DG5?5=, 6 F>< G<E?5: 
EG5E<4<O D44<>G4EF>F=>= E?G655 =4 D<=4=E>6>5 >55E?5G5=<5 74FD4F, 

E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE =4 =55 DG=>F<= 3 86 083,25 FOE. DG5?5=. 
&5E=<G5E>>5 >E=4M5=<5 E<EF5<O D44<>>>=FD>?O $�'� «�$'&» ?D>6>4<FEO 6 

F5?OE >55E?5G5=<O 6O?>?=5=<O <=65=5D=>-F5E=<G5E><E DG=>F<=, 6>7?>65==OE =4 
$�'� «�$'&» ?>EF4=>6?5=<5< �D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 14 <4O 
2014 7. 7 434, 6O?>?=5=<O ??4=>6OE < 6=5??4=>6OE <5D>?D<OF<= ?> 
D44<>>>=FD>?N E GG5F>< FD55>64=<= �>?>65=<O > 54<=>= F5E=<G5E>>= ?>?<F<>5.  

% F5?LN >?D545?5=<O 6>7<>6=>EF< >>=>GD5=F>E?>E>5=>7> <<?>DF>74<5M5=<O 
?D>6>4<FEO 4=4?<7 DO=>4 D44<>>>=FD>?L=>7> < <7<5D<F5?L=>7> >5>DG4>64=<O. �D< 
<EE>4=OE F5E=<G5E><E < F5=>6OE ?4D4<5FD4E ?D<>D<F5F >F445FEO F>64D4< 
D>EE<=E>>7> ?D><EE>645=<O. 

&5E=<G5E>>5 E>65DL5=EF6>64=<5 E<EF5<O D44<>>>=FD>?O $�'� «�$'&» 6 
2022 7>4G >EGM5EF6?5=> 6 G4EF< >55E?5G5=<O E?5>FD4?L=>7> 4=4?<74 < <>=<F>D<=74. 

1. %F4F<>=4D=O5 >><??5>EO D44<>>>=FD>?O 
�D< >EGM5EF6?5=<< ??4=>6>= 74<5=O EF4F<>=4D=OE >><??5>E>6 

D44<>>>=FD>?O, >><??5>EO, =4 >>F>DOE =5 6>EFD55>64= DG=>F<>=4? <7<5D5=<O < 
?5?5=7>64=<O, F5?5E>>5D47=> 74<5=OFL =4 <4?>7454D<F=O5 >><??5>EO 
D44<><>=<F>D<=74. &4>65 ?D54?>?4745FEO 74>DOF<5 =5>5E?G6<645<OE 
D44<>>>=FD>?L=OE ?G=>F>6 ?> >>>=G4=<< ED>>4 ?>?57=>7> <E?>?L7>64=<O 
>5>DG4>64=<O 6 7>D>44E E =<7>>= MDD5>F<6=>EFLN <E?>?L7>64=<O.  

� 2022 7>4G ?D<>5D5F5=<5 ?>?=>DG=>F<>=4?L=OE <7<5D<F5?L=>-
?5?5=74F<>==OE >><??5>E>6 D44<>>>=FD>?O < <4?>7454D<F=OE >><??5>E>6 
D44<><>=<F>D<=74 =5 >EGM5EF6?O?>EL. 

2. �>5<?L=O5 >><??5>EO 
� 2022 7>4G ?D<>5D5F5=<5 <>5<?L=OE >><??5>E>6 <>=<F>D<=74 E5F5= E>F>6>= 

E6O7< < 55E?D>6>4=>7> L<D>>>?>?>E=>7> 4>EFG?4 =5 >EGM5EF6?O?>EL. 
3. %?5F<4?L=O5 ED54EF64 
3.1. �<D>6>= DO=>> <=DD4EFDG>FGDO 55E?D>6>4=OE L<D>>>?>?>E=OE E5F5= 

?5D544G< 44==OE >?5D4F>DE>>7> >?4EE4 5657>4=> D4EF5F =4 60-100%. �4=4 <7 646=OE 
F5=45=F<= D476<F<O E5F5= 3 ?>6OL5=<5 ??>F=>EF< 45>=5=F>6 < >5M<= D>EF =47DG7><. 
%5F< EF4=>6OFEO =5 F>?L>> ED54EF6>< ?>4>?NG5=<O ?>?L7>64F5?O, => < <=EFDG<5=F>< 
4?O =46<74F<< < E5>D4 D47?<G=OE 44==OE. 

�4<5>?55 ?>?G?OD=O5 6 <<D5 4<4?47>=O G4EF>F, 6 >>F>DOE D45>F4NF GEFD>=EF64 
EF4=44DF4 Wi-Fi, 6>?NG4NF E?54GNM<5 ?>?>EO G4EF>F: 868 - 928 ��F; 2400 - 2483,5 
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��F; 3650 - 3700 ��F; 5150 - 5850 ��F; 5900 - 6500 ��F. 
�4 E57>4=OL=<= 45=L =4 DO=>5 ?D54EF46?5=> 7=4G<F5?L=>5 >>?<G5EF6> 

4>EFG?=OE GEFD>=EF6, ?>76>?ONM<E ?>?L7>64F5?N GEF4=46?<64FL D45>GGN G4EF>FG 
D44<>M?5>FD>==>7> ED54EF64, >F?<G4NMGNEO >F EF4=44DF=OE 7=4G5=<=. �D< MF><, 
F5=>64O 4>EFG?=>EFL < ?D>EF>F4 =4EFD>=>< >5>DG4>64=<O E>7445F ?D54?>EO?>< > 
<E?>?L7>64=<N 44==>7> >5>DG4>64=<O G4EF=O<< ?<F4<< < >D74=<74F<O<<, GF> 6545F > 
EFD5<<F5?L=><G G65?<G5=<N >>?<G5EF64 D44<>M?5>FD>==OE ED54EF6, D45>F4NM<E 557 
E>>F65FEF6GNM<E D47D5L<F5?L=OE 4>>G<5=F>6 < E>744NM<E ?><5E< >?5D4F>D4< E6O7<, 
45=EF6GNM<< =4 74>>==OE >E=>64=<OE.  

�45=F<D<>4F<O (D4E>DOF<5 <=D>D<4F<<) 6 45=EF6GNM<E E5FOE E6O7< 6>7<>6=4 
4?O >7D4=<G5==>7> >DG74, <E?>?L7G5<>7> >?5D4F>D4<< E6O7< >5>DG4>64=<O, GF> 45?45F 
?D4>F<G5E>< =56>7<>6=O< >?D545?5=<5 ?D<=44?56=>EF< D44<>M?5>FD>==OE ED54EF6 6 
E5FOE E6O7<, <E?>?L7GNM<E E>6D5<5==>5 >5>DG4>64=<5 EF4=44DF4 Wi-Fi. 
%?54>64F5?L=>, 7=4G<F5?L=> 74FDG4=5=> E6>56D5<5==>5 6OO6?5=<5 ?>4>5=OE 
D44<>M?5>FD>==OE ED54EF6, DG=>F<>=<DGNM<E E ?D<7=4>4<< =4DGL5=<= ?D46<? < 
?>DO4>4 <E?>?L7>64=<O D44<>G4EF>F=>7> E?5>FD4. 

�=4?<7<DGO DO=>> ?D><76>4<F5?5= < ?>EF46M<>>6 D44<>>>=FD>?L=>7> 
>5>DG4>64=<O, ?D<<5=O5<>7> 6 ?>4D4745?5=<OE D44<>>>=FD>?O, 4 F4>65 6 F5?OE 
6OD45>F>< >?F<<4?L=OE D5L5=<= ?> >55E?5G5=<N ?D>6545=<O D44<>>>=FD>?O 
ED54EF64<< D44<><>=<F>D<=74 55E?D>6>4=OE L<D>>>?>?>E=OE E5F5= ?5D544G< 44==OE 
?D54?>GF5=<5 >F44=> >><??5>E4< >F5G5EF65==OE ?D><76>4<F5?5=.  

�?O ?D<>5D5F5=<O >5>DG4>64=<O, >55E?5G<64NM57> 6O?>?=5=<5 <5D>?D<OF<= ?> 
6OO6?5=<N D44<>M?5>FD>==OE ED54EF6, DG=>F<>=<DGNM<E E =4DGL5=<O<< ?D46<? < 
?>DO4>4 <E?>?L7>64=<O D44<>G4EF>F=>7> E?5>FD4 E?5F<4?<EF4<< D44<>>>=FD>?O 
D47D45>F4=O F5E=<G5E><5 FD55>64=<O > 44==><G >5>DG4>64=<N, 4 <<5==>: 

E>4=<D>64=<5 < >?D545?5=<5 E?G655=>= <=D>D<4F<< 6 E5FOE EF4=44DF4 Wi-Fi ?> 
EF4=44DF=>= E5F>5 D44<>G4EF>F 6 4<4?47>=4E G4EF>F 2400 - 2483,5 ��F, 5150 - 5350 
��F < 5650 - 6425 ��F; 

>?D545?5=<5 74=OFOE G4EF>F=OE >4=4?>6; 
<45=F<D<F<D>64=<5 >5=4DG65==OE 4>F<6=OE $-% ?> SSID, MAC 44D5EG, <E 

F<?G < <<5=< ?D><76>4<F5?O; 
>55E?5G5=<5 =5?D5DO6=>7> DG=>F<>=<D>64=<O 6 F5G5=<5 =5 <5=55 3 G4E>6; 
<4EE>7454D<F=O5 E4D4>F5D<EF<>< 4>?6=O ?>76>?OFL >EGM5EF6?5=<5 

<5D>?D<OF<= D44<>>>=FD>?O ?> ?>>4?<74F<< <EF>G=<>>6 D44<><7?GG5=<= EF4=44DF4 
Wi-Fi =4 ?N5>= F5DD<F>D<<.  

% GG5F>< 6OL5<7?>65==>7> 6 2022 7>4G >EGM5EF6?5=> ?D<>5D5F5=<5 8 
(6>EL<<) <4?>7454D<F=OE ?D>7D4<<=>-4??4D4F=OE >><??5>E>6 D44<><>=<F>D<=74 
55E?D>6>4=OE L<D>>>?>?>E=OE E5F5= ?5D544G< 44==OE EF4=44DF4 IEEE 802.11 
a/b/g/n/ac/ax 4?O ?>EF46>< 6 D<?<4? $�'� «�$'&» 6 �4?L=56>EF>G=>< D545D4?L=>< 
>>DG75 (7. %454D>6E>, 1 LFG>4), D<?<4? $�'� «�$'&» 6 �D<6>?6E>>< D545D4?L=>< 
>>DG75 (7. �<6=<= �>67>D>4, 2 LFG><), D<?<4? $�'� «�$'&» 6 %565D>-�4?44=>< 
D545D4?L=>< >>DG75 (7. %4=>F-�5F5D5GD7, 1 LFG>4), D<?<4? $�'� «�$'&» 6 
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%<5<DE>>< D545D4?L=>< >>DG75 (7. �>6>E<5<DE>, 1 LFG>4), D<?<4? $�'� «�$'&» 6 
'D4?LE>>< D545D4?L=>< >>DG75 (7. �>4F5D<=5GD7, 2 LFG><), D<?<4? $�'� «�$'&» 
6 .6=>< < %565D>-�46>47E>>< D545D4?L=OE >>DG74E (7. $>EF>6-=4-�>=G, 1 LFG>4). 

�E57> 2022 7>4G ?D<>5D5F5=> 8 LFG> <4?>7454D<F=OE ?D>7D4<<=>-4??4D4F=OE 
>><??5>E>6 D44<><>=<F>D<=74 55E?D>6>4=OE L<D>>>?>?>E=OE E5F5= ?5D544G< 
44==OE EF4=44DF4 IEEE 802.11 a/b/g/n/ac/ax EF><<>EFLN 1 250 000,00 DG5?5= 74 
54<=<FG =4 >5MGN EG<<G 10 000,00 FOE. DG5?5=. 

�5D5G5=L ?D<>5D5F5==OE 6 2022 7>4G E?5F<4?L=OE ED54EF6 D44<>>>=FD>?O 
?D54EF46?5= 6 F45?<F5. 

 

&45?<F4. �5D5G5=L ?D<>5D5F5==OE 6 2022 7>4G E?5F<4?L=OE ED54EF6 
D44<>>>=FD>?O 

 

7 ?/? �4<<5=>64=<5 <5D>?D<OF<O 
�>?<G5EF6> 

54<=<F, LFG> 

%F><<>EFL 
54<=<FO, FOE. 

DG5?5= 

%G<<4, FOE. 
DG5?5= 

�??4F4 6 2022 
7>4G, FOE. 

DG5?5= 
1 2 3 4 5 6 

1. 

«&���$-%�» �4?>7454D<F=O= 
?D>7D4<<=>-4??4D4F=O= >><??5>E 
D44<><>=<F>D<=74 55E?D>6>4=OE 
L<D>>>?>?>E=OE E5F5= ?5D544G< 44==OE 
EF4=44DF4 IEEE 802.11a/b/g/n/ac/ax 
(7. %454D>6E> (1 LF.), 7. �<6=<= 
�>67>D>4 (2 LF.), 7. %4=>F-�5F5D5GD7 (1 
LF.), 7. �>6>E<5<DE> (1 LF.), 
7. �>4F5D<=5GD7 (2 LF.), 7. $>EF>6-=4-
�>=G (1 LF.)) 

8 1 250,00 10 000,00 10 000,00 

�&��� 8 E 10 000,00 10 000,00 
 

3.2. $<=4=E>6>5 >55E?5G5=<5 D4EE>4>6 74 EG5F ED54EF6, ?D54>EF46?5==OE 
$�'� «�$'&» <7 D575D6=>7> D>=44 �D46<F5?LEF64 $>EE<=E>>= $545D4F<<: 5 000,00 
FOE. DG5?5= [E6545=<O, G>474==O5 6 =4EF>OM5< ?G=>F5, O6?ONFEO E?G655=>= 
<=D>D<4F<5= >7D4=<G5==>7> D4E?D>EFD4=5=<O, < =4?D46?ONFEO 6 ?>DO4>5, 
GEF4=>6?5==>< 74>>=>44F5?LEF6>< $>EE<=E>>= $545D4F<<]. 

�F>7> D4EE>4O ?> ?D<>5D5F5=<N E?5F<4?L=OE ED54EF6 D44<>>>=FD>?O 6 2022 
7>4G E>EF46<?< 15 000,00 FOE. DG5?5=. 

4. %D54EF64 <7<5D5=<= 
4.1. % F5?LN D4765DFO64=<O ?<?>F=OE 7>= E5F5= E6O7< ?OF>7> ?>>>?5=<O 

(5G/IMT2020) �>EG44DEF65==4O >><<EE<O ?> D44<>G4EF>F4< D5L5=<5< >F 28 <4DF4 
2022 7. 7 22-62-02 «� 6O45?5=<< ?>?>E D44<>G4EF>F, 6=5E5=<< <7<5=5=<= 6 
D5L5=<O ��$' < ?D>4?5=<< ED>>4 45=EF6<O D5L5=<= ��$'» 6O45?<?4 ?>?>EG 
D44<>G4EF>F 37-42,5 ��F 4?O >D74=<74F<< F5EF<D>64=<O F5E=>?>7<< E6O7< ?OF>7> 
?>>>?5=<O 6 7>D>45 �>E>65 4?O ��� «�&%». $4=55 �>EG44DEF65==4O >><<EE<O ?> 
D44<>G4EF>F4< D5L5=<5< >F 24 45>45DO 2018 7. 7 18-48-02 «�5 <E?>?L7>64=<< 
?>?>E D44<>G4EF>F D44<>M?5>FD>==O<< ED54EF64<< E6O7< ?OF>7> ?>>>?5=<O» 
>?D545?<?4 4<4?47>=O D44<>G4EF>F 4800-4990 ��F < 25,25-27,5 ��F 4?O 
>D74=<74F<< F5EF<D>64=<O F5E=>?>7<< E6O7< ?OF>7> ?>>>?5=<O ?N5>= 
74<=F5D5E>64==>= >D74=<74F<5= =4 DO45 F5DD<F>D<=, 6 F>< G<E?5 6 7>D>44E: 
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�5D55=F5, �>4F5D<=5GD75, �474=<, �4?<=<=7D445, �5<5D>6>, �D4E=>44D5, �>E>65, 
�GD<4=E>5, %4=>F-�5F5D5GD75, %>G<, &><E>5, '?LO=>6E>5 < 6 $5E?G5?<>5 
&4F4DEF4=. 

� =4EF>OM55 6D5<O ?>4D4745?5=<O D44<>>>=FD>?O $�'� «�$'&» =5 
D4E?>?474NF 4>EF4F>G=O< >>?<G5EF6>< >5>DG4>64=<O 4?O >>=FD>?O ?5DE?5>F<6=OE 
E5F5= 5G.  

&5=45=F<< D476<F<O E>6D5<5==OE D44<>F5E=>?>7<=, 6>?NG4O G65?<G5=<5 
E>>D>EF5= ?5D544G< 44==OE < G<E?4 ?>?L7>64F5?5= E5F5= D44<>E6O7< ?D<6>4<F > 
GE?>6=5=<N D44<>M?5>FD>==>= >5EF4=>6><, >E6>5=<N 5>?55 6OE>><E 4<4?47>=>6 
D44<>G4EF>F < D>EFG G<E?4 74D57<EFD<D>64==OE $-%, 6 F>< G<E?5 < 6 5>?55 6OE>><E 
4<4?47>=4E D44<>G4EF>F. � ?5DE?5>F<65 >6<445FEO ?>6E5<5EF=>5 6=54D5=<5 E5F5= 
E6O7< EF4=44DF4 5G NR FR2, D45>F4NM<E 6 4<4?47>=4E D44<>G4EF>F 27-30 ��F. 

% D>EF>< =><<=4?4 D44<>G4EF>FO D4EFGF ?>F5D< E<7=4?4 =4 D4E?D>EFD4=5=<5 6 
E6>5>4=>< ?D>EFD4=EF65, >4> E?54EF6<5, 4?O >55E?5G5=<O ?D<5<?5<>= 44?L=>EF< 
D44<>E6O7<, ?D><76>4<F5?< >5>DG4>64=<O E?54GNF ?> ?GF< G65?<G5=<O 
=4?D46?5==>EF< <7?GG5=<O $-%. 

/6?OOEL E?5F<4?<7<D>64==O<< GEFD>=EF64<< ?> ED46=5=<N E <>5<?L=O<< 
>><??5>E4<< D44<>>>=FD>?O < >5?444O ?>6OL5==O< 5OEFD>45=EF6<5< < 
<>5<?L=>EFLN, 4 F4>65 ?>F5=F<4?L=> 5>?LL<< 4<4?47>=>< D45>G<E G4EF>F, 
4=4?<74F>DO E?5>FD4 =5EGF >E=>6=GN =47DG7>G ?> <7<5D5=<N F5E=<G5E><E 
?4D4<5FD>6 <7?GG5=<= $-% < >D>D<?5=<N ?D>F>>>?>6 <7<5D5=<O F5E=<G5E><E 
?4D4<5FD>6 <7?GG5=<= $-%. �D>65EF< 6 7>D>4E><E GE?>6<OE <7<5D5=<O F5E=<G5E><E 
?4D4<5FD>6 <7?GG5=<= $-%, D45>F4NM<E 6 4<4?47>=5 D44<>G4EF>F 6OL5 6 ��F =4 
=4?D46?5==GN 4=F5==G < D47<5M5==OE =4 >DOL4E 744=<=, 6>7<>6=> F>?L>> 6 <5EF5 
D47<5M5=<O ?5D544NM5= 4=F5==O $-% E <E?>?L7>64=<5< ?>DF4F<6=>7> 4=4?<74F>D4 
E?5>FD4. �D><5 F>7>, ?>DF4F<6=O5 4=4?<74F>DO E?5>FD4 <E?>?L7GNFEO 6 >4G5EF65 
=>E<<OE ?5?5=74F>D>6 E>6<5EF=> E =4?D46?5==O<< 4=F5==4<< < ?>76>?ONF 
>?D545?OFL <5EF>?>?>65=<5 <EF>G=<>>6 <7?GG5=<=. �5?444NF DG=>F<>=4?>< 
45<>4G?OF<< < E?GE>6>7> >>=FD>?O 4=4?>7>6OE E<7=4?>6. �=4?<74F>DO E?5>FD4 
<=F57D<D>64=O 6 46F><4F<7<D>64==GN E<EF5<G D44<>>>=FD>?O, >4> E 
<E?>?L7>64=<5< D4=?>6>7> <5F>44 E>?DO65=<O, F4> < 6 D56<<5 D54?L=>7> 6D5<5=<. 
� D56<<5 D54?L=>7> 6D5<5=< ?>76>?ONF ?D>6>4<FL >?D545?5=<5 74=OF>EF< ?>?>E 
D44<>G4EF>F, 4 F4>65 >F45?L=OE D44<>G4EF>F < D44<>G4EF>F=OE >4=4?>6.  

�> D57G?LF4F4< ?D>6545==>7> 4G4<F4 <<5NM<EEO F5E=<G5E><E ED54EF6 
D44<>>>=FD>?O, 5>?55 91% 6E5E <7<5D5=<=, E6O74==OE E 6O?>?=5=<5< <5D>?D<OF<= 
?> >5=4DG65=<N <EF>G=<>>6 =5D47D5L5==OE <7?GG5=<=, 4 F4>65 <EF>G=<>>6 ?><5E 
D44<>?D<5<G, >EGM5EF6?ONFEO E <E?>?L7>64=<5< =>E<<OE 4=4?<74F>D>6 E?5>FD4.  

�4<5>?55 6>EFD55>64==O<< O6?ONFEO 4=4?<74F>DO E?5>FD4 E <4>E<<4?L=>= 
D45>G5= G4EF>F>= 4> 44 ��F. �4 F5>GM<= <><5=F ?>4D4745?5=<O<< D44<>>>=FD>?O 
M>E??G4F<DGNFEO 4=4?<74F>DO E?5>FD4 E <4>E<<4?L=>= D45>G5= G4EF>F>= 40-44 ��F, 
GF> E>EF46?O5F 22% >F >5M57> >>?<G5EF64 <<5NM<EEO 4=4?<74F>D>6 E?5>FD4. 
%D54=<= 6>7D4EF 44==OE 4=4?<74F>D>6 E>EF46?O5F 5>?55 9 ?5F. 
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� ?>4D4745?5=<OE D44<>>>=FD>?O D<?<4?>6 $�'� «�$'&» <<55FEO 215 
<>5<?L=OE >><??5>E>6, E ?><>MLN >>F>DOE 6O?>?=ONFEO D45>FO ?> <7<5D5=<N 
F5E=<G5E><E ?4D4<5FD>6 <7?GG5=<= $-% < D44<><>=<F>D<=7G. �D< MF>< >=< 
4>?6=O 5OFL G>><??5>F>64=O =5>5E>4<<O< >5>DG4>64=<5<, 6 F>< G<E?5 
4=4?<74F>D4<< E?5>FD4 E <4>E<<4?L=>= D45>G5= G4EF>F>= 4> 44 ��F 4?O 6O?>?=5=<O 
D45>F 6 E>>F65FEF6<< E ??4=>< D44<>>>=FD>?O < 6=5??4=>6OE D45>F ?> 74O6>4< 
$>E>><=447>D4, 4 F4>65 64?>54< =4 ?><5E< >F >?5D4F>D>6 E6O7<. 

�<5NM<=EO ?4D> 4=4?<74F>D>6 E?5>FD4 E 6>7<>6=>EFLN ?D>6545=<O ?DO<OE 
<7<5D5=<= 4> 44 ��F =5 ?>76>?O5F G>><??5>F>64FL 6E5 M><?46< <>5<?L=OE 
>><??5>E>6 44==O< >5>DG4>64=<5<. 

'G<FO64O, GF> 4=4?<74F>DO <E?>?L7GNFEO =4 ?>EF>O==>= >E=>65 4?<F5?L=>5 
6D5<O 6 E?>6=OE «?>?56OE GE?>6<OE», E >464O< 7>4>< D4EF5F >>?<G5EF6> 6OE>4>6 
<7 EFD>O 4=4?<74F>D>6 44==>7> F<?4. �4 >E=>64=<< 45D5>F=OE 654><>EF5= 
(E>EF46?5==OE ?> D57G?LF4F4< 4>7>6>D>6 =4 4<47=>EF<>G) F5=4 D45>F ?> 
6>EEF4=>6?5=<N D45>F>E?>E>5=>EF< 4=4?<74F>D>6 E?5>FD4 E =G?56>= >EF4F>G=>= 
EF><<>EFLN O6?O5FEO 4>D>7>EF>OM5=, GF> M>>=><<G5E>< =5 F5?5E>>5D47=>.  

% GG5F>< 6OL5<7?>65==>7> 6 2022 7>4G ?D<>5D5F5=> 3 (FD<) 4=4?<74F>D4 
E?5>FD4 FPH 6 >><??5>F5 E >?F<O<< FPH-B26, FPH-K7, FPH-K15, FPH-K16, FPH-
K43 4?O '?D46?5=<O D44<>>>=FD>?O D<?<4?4 $�'� «�$'&» 6 &5=FD4?L=>< 
D545D4?L=>< >>DG75 (7. �>E>64) EF><<>EFLN 6 926 638,00 DG5?5= 74 54<=<FG =4 
>5MGN EG<<G 20 779,91 FOE. DG5?5= 

�E?>?L7>64=<5 ?D<>5D5F5==OE 4=4?<74F>D>6 EGM5EF65==> ?>6OE<F 
MDD5>F<6=>EFL ?D< >EGM5EF6?5=<< <5D>?D<OF<= D44<>>>=FD>?O =4 F5DD<F>D<< 
7. �>E>6O < �>E>>6E>>= >5?4EF<.  

4.2. 'G<FO64O 4>F<6=O= D>EF $-%, D45>F4NM<E 6 4<4?47>=5 G4EF>F 4> 90 ��F, 
6>7=<>45F =5>5E>4<<>EFL ?D>6545=<O D44<>>>=FD>?O 6 G>474==>< 4<4?47>=5 G4EF>F, 
4 F4>65 ?D<>5D5F5=<O E>>F65FEF6GNM57> >5>DG4>64=<O.  

�><??5>F 4=F5== E 4<4?47>=>< D45>G<E G4EF>F 4> 90 ��F FD55G5FEO 4?O 
?D>6545=<O <7<5D5=<= E>6<5EF=> E E>>F65FEF6GNM<<< ?D<5<=O<< GEFD>=EF64<< 
??>F=>EF< ?>F>>4 M=5D7<<, ?>?OD<74F<>==OE E4D4>F5D<EF<>, =4?D46?5=<O 
D4E?D>EFD4=5=<O M?5>FD><47=<F=>7> <7?GG5=<O, MDD5>F<6=>= ??>M44< < 
>>MDD<F<5=F4 GE<?5=<O 4=F5==, 4?O <E?>?L7>64=<O 6 E>EF465 ED54EF6 <7<5D5=<= 
?4D4<5FD>6 M?5>FD><47=<F=>= E>6<5EF<<>EF<. 

�4==>5 >5>DG4>64=<5 ?D54=47=4G5=> 4?O D5L5=<O E?54GNM<E 7444G: 
D4EL<D5=<O F5E=<G5E><E 6>7<>6=>EF5= 7DG?? D44<>>>=FD>?O ?D< ?D>6545=<< 

<5D>?D<OF<= ?> D44<>>>=FD>?N 6 «?>?56OE GE?>6<OE» < FDG4=>4>EFG?=OE <5EF4E; 
<>=<F>D<=74 ?>?>E D44<>G4EF>F E F5?LN >5=4DG65=<O <EF>G=<>>6 

=5D47D5L5==OE <7?GG5=<=; 
D4EL<D5=<O F5E=<G5E><E 6>7<>6=>EF5= 7DG?? D44<>>>=FD>?O 6 G4EF< 

?D>6545=<O <5D>?D<OF<= ?> ?><E>G <EF>G=<>>6 ?><5E D44<>?D<5<G. 
� =4EF>OM55 6D5<O 6 EFDG>FGD=OE ?>4D4745?5=<OE D44<>>>=FD>?O D<?<4?4 

$�'� «�$'&» 6 &5=FD4?L=>< D545D4?L=>< >>DG75 ED54EF64 <7<5D5=<=, 
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?>76>?ONM<5 ?D>6>4<FL <7<5D5=<O 6 4<4?47>=5 G4EF>F 4> 90 ��F, ?D54EF46?5=O 
54<=<G=O<< M>75<??OD4<<, GF> EGM5EF65==> E=<645F 6>7<>6=>EF< E<EF5<O 
D44<>>>=FD>?O. �D<>5D5F5=<5 1 (>4=>7>) >><??5>F4 4=F5== E 4<4?47>=>< D45>G<E 
G4EF>F 4> 90 ��F ?>76>?<F ?>4=OFL MDD5>F<6=>EFL < >?5D4F<6=>EFL <5D>?D<OF<= 
D44<>>>=FD>?O 6 D<?<4?5 $�'� «�$'&» 6 &5=FD4?L=>< D545D4?L=>< >>DG75 =4 
F5DD<F>D<< 7. �>E>6O < �>E>>6E>>= >5?4EF<.  

� 2022 7>4G 4?O D<?<4?4 $�'� «�$'&» 6 &5=FD4?L=>< D545D4?L=>< >>DG75 
(7. �>E>64) ?D<>5D5F5= 1 >><??5>F 4=F5== E 4<4?47>=>< D45>G<E G4EF>F 4> 90 ��F 6 
E>EF465: �6-80/1 (17,6&26,5 ��F) �6-80/2 (26&40 ��F) �6-80/3�� (40&90 ��F) 
(E>EF46 >><??5>F4: 5?>> 75F5D>4<=4 3 1 LF., >455?L E>54<=<F5?L=O= 
6OE>>>G4EF>F=O= 3 2 LF., >455?L ?<F4=<O E>54<=<F5?L=O= 3 1LF., E5F56>= >455?L, 
FD5=>74 E ?>6>D>F=O< GEFD>=EF6>< 3 1LF., ���018026, ���026040, ���040060, 
���060078, ���078090) EF><<>EFLN 3 708,90 FOE. DG5?5=. 

�D<>5D5F5=<5 1 (>4=>7>) >><??5>F4 4=F5== E 4<4?47>=>< D45>G<E G4EF>F 4> 90 
��F ?>76>?<F ?>4=OFL MDD5>F<6=>EFL < >?5D4F<6=>EFL <5D>?D<OF<= D44<>>>=FD>?O 
6 D<?<4?5 $�'� «�$'&» 6 &5=FD4?L=>< D545D4?L=>< >>DG75 =4 F5DD<F>D<< 
7. �>E>6O < �>E>>6E>>= >5?4EF<. 

�5D5G5=L ?D<>5D5F5==OE 6 2022 7>4G ED54EF6 <7<5D5=<= D44<>>>=FD>?O 
?D<6545= 6 F45?<F5. 

 

&45?<F4. �5D5G5=L ?D<>5D5F5==OE 6 2022 7>4G ED54EF6 <7<5D5=<= 
D44<>>>=FD>?O 

 

7 ?/? �4<<5=>64=<5 <5D>?D<OF<O 
�>?<G5EF6> 

54<=<F, 
LF./>><??. 

%F><<>EFL 
54<=<FO, FOE. 

DG5?5= 

%G<<4, 
FOE. DG5?5= 

�??4F4 6 2022 
7>4G, FOE. 

DG5?5= 
1 2 3 4 5 6 

1. 
�=4?<74F>D E?5>FD4 FPH 6 >><??5>F5 E 
>?F<O<< FPH-B26, FPH-K7, FPH-K15, 
FPH-K16, FPH-K43 (7. �>E>64) 

3 6 931,638 20 779,91 20 779,91 

2. 

�><??5>F 4=F5== E 4<4?47>=>< D45>G<E 
G4EF>F 4> 90 ��F 6 E>EF465: �6-80/1 
(17,6&26,5 ��F) �6-80/2 (26&40 ��F) 
�6-80/3�� (40&90 ��F) (7. �>E>64) 

1 3 708,90 3 708,90 3 708,90 

�&��� 4 E 24 488,81 24 488,81 
 

4.3. $<=4=E>6>5 >55E?5G5=<5 D4EE>4>6 74 EG5F ED54EF6, ?D54>EF46?5==OE 
$�'� «�$'&» <7 D575D6=>7> D>=44 �D46<F5?LEF64 $>EE<=E>>= $545D4F<<:  
46 594,44 FOE. DG5?5= [E6545=<O, G>474==O5 6 =4EF>OM5< ?G=>F5, O6?ONFEO 
E?G655=>= <=D>D<4F<5= >7D4=<G5==>7> D4E?D>EFD4=5=<O, < =4?D46?ONFEO 6 
?>DO4>5, GEF4=>6?5==>< 74>>=>44F5?LEF6>< $>EE<=E>>= $545D4F<<]. 

�F>7> D4EE>4O ?> ?D<>5D5F5=<N ED54EF6 <7<5D5=<= D44<>>>=FD>?O 6 2022 
7>4G E>EF46<?< 71 083,25 FOE. DG5?5=. 

5. �=O5 D4EE>4O ?> =4?D46?5=<N >55E?5G5=<O DG=>F<>=<D>64=<O 
D44<>>>=FD>?O 

� 2022 7>4G <=OE D4EE>4>6 ?> =4?D46?5=<N >55E?5G5=<O DG=>F<>=<D>64=<O 
D44<>>>=FD>?O =5 ??4=<D>64?>EL. 

 



95 

�F>7> D4EE>4O ?> =4?D46?5=<N >55E?5G5=<O DG=>F<>=<D>64=<O 
D44<>>>=FD>?O 6 2022 7>4G E>EF46<?< 86 083,25 FOE. DG5?5=. 

 

6. � D4<>4E D54?<74F<< >><<5DG5E>>= <=<F<4F<6O «$�'� «�$'&» >4> 
M>E?5DF=O= F5=FD ?> 6O44G5 E4=<F4D=>-M?<45<<>?>7<G5E><E 74>?NG5=<= 
ND<4<G5E><< < D<7<G5E><< ?<F4< 4?O D47<5M5=<O ?5D544NM<E D44<>F5E=<G5E><E 
>5N5>F>6 ($1) < 4?O 66>44 <E 6 M>E??G4F4F<N ($2)» =4 5475 D<?<4?>6 $�'� «�$'&» 
6 %<5<DE>><, %565D>-�4?44=>< < &5=FD4?L=>< D545D4?L=OE >>DG74E 6 2022 7>4G 
5O?> ?D<>5D5F5=> >5>DG4>64=<5 D44<>>>=FD>?O (ED54EF64 <7<5D5=<O) =4 >5MGN 
EG<<G 2 320,65  FOE. DG5?5= (557 GG5F4 =4?>74 =4 4>546?5==GN EF><<>EFL) (<EF>G=<> 

D<=4=E<D>64=<O 3 4<>DF<74F<O): 
<7<5D<F5?< GD>6=5= M?5>FD><47=<F=OE <7?GG5=<= 6 >><??5>F5 E 4=F5==O<< 

?D5>5D47>64F5?O<< (2 <7<5D<F5?O) 3 2 069,91 FOE. DG5?5= (557 GG5F4 =4?>74 =4 
4>546?5==GN EF><<>EFL) 4?O ?D>6545=<O <7<5D5=<= <=F5=E<6=>EF< 
M?5>FD><47=<F=OE <7?GG5=<= ?5D544NM<E D44<>F5E=<G5E><E >5N5>F>6;  

<7<5D<F5?< ?4D4<5FD>6 M?5>FD<G5E>>7> < <47=<F=>7> ?>?5= <>4<D<>4F<O 50 
�F 4?O ?D>6545=<O <7<5D5=<= ?D><OL?5==OE M?5>FD><47=<F=OE ?>?5= G4EF>F>= 50 
�F, 6 E?GG45 5E?< =4 �$&� EF><F FD4=ED>D<4F>D=4O ?>4EF4=F<O (2 <7<5D<F5?O) =4 
>5MGN EG<<G 250,74 FOE. DG5?5= (557 GG5F4 =4?>74 =4 4>546?5==GN EF><<>EFL). 

�E57> ?> ?G=>FG «$476<F<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O D44<>>>=FD>?O» 
6 2022 7>4G E>EF46<?< 88 403,90 FOE. DG5?5=. 

 

�D<>5D5F5=<5 46F>FD4=E?>DF=OE ED54EF6 
�4 ?D<>5D5F5=<5 46F>FD4=E?>DF=OE ED54EF6 6 2022 7>4G =4?D46?5=> 29 842,02 

FOE. DG5?5=, 6 F>< G<E?5: 
74 EG5F E>5EF65==OE ED54EF6 3  29 842,02 FOE. DG5?5=; 
74 EG5F ED54EF6 D545D4?L=>7> 5N465F4 3 0,00 FOE. DG5?5=. 
� 2022 7>4G ?D<>5D5F5=> 6 46F>FD4=E?>DF=OE ED54EF6 4?O =G64 75=5D4?L=>= 

4<D5>F<< (<EF>G=<> D<=4=E<D>64=<O 3 4<>DF<74F<O), 6 F>< G<E?5:  
5 46F><>5<?5= >?4EE4 � Toyota Camry =4 EG<<G 24 597,50 FOE. DG5?5=; 
1 46F><>5<?L >?4EE4 N1 F5?L=><5F4??<G5E><= DGD7>= FORD TRANSIT FCD 

310M =4 EG<<G 5 244 ,52 FOE. DG5?5=. 
'65?<G5=<5 D4EE>4>6 =4 15% >5GE?>6?5=>, F5< GF> 6 EG<<G D4EE>4>6 6>?NG5= 

��%, F.>. ?>EF46M<> 46F><>5<?5= Toyota Camry ?D<<5=O5F G?D>M5==GN E<EF5<G 
=4?>7>>5?>65=<O. 

 

�D<>5D5F5=<5 744=<=, ?><5M5=<= < 75<5?L=OE GG4EF>>6 
�4 ?D<>5D5F5=<5 744=<=, ?><5M5=<= < 75<5?L=OE GG4EF>>6 6 2022 7>4G 

=4?D46?5=> 12 074,17 FOE. DG5?5=, 6 F>< G<E?5: 
74 EG5F E>5EF65==OE ED54EF6 3  12 074,17 FOE. DG5?5=; 
74 EG5F ED54EF6 D545D4?L=>7> 5N465F4 3 0,00 FOE. DG5?5=. 
� >FG5F=>< ?5D<>45 $�'� «�$'&» 5O?> ?D<>5D5F5=> ?><5M5=<5 (<EF>G=<> 

D<=4=E<D>64=<O 3 4<>DF<74F<O), >5M5= ??>M44LN 3 537,9 >6.<, D4E?>?>65==>5 =4 
2 MF465 744=<O, ?> 44D5EG: 7. �4D=4G?, G?. �=F5D=4F<>=4?L=4O, 4.72, ?><5M. �5 
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(44?55 3 ?><5M5=<5). �><5M5=<5 6O45?5=> 6 E4<>EF>OF5?L=O= >5N5>F 
=546<6<<>EF< < ?>EF46?5=> =4 >444EFD>6O= GG5F 28.12.2017 7. 74 
7 22:63:050216:375. 

 

$5>>=EFDG>F<O, EFD><F5?LEF6>, >4?<F4?L=O= D5<>=F 
�4 D5>>=EFDG>F<N, EFD><F5?LEF6>, >4?<F4?L=O= D5<>=F 6 2022 7>4G 

<7D4EE>4>64=> 478,00 FOE. DG5?5=, 6 F>< G<E?5: 
74 EG5F E>5EF65==OE ED54EF6 3 478,00 FOE. DG5?5=; 
74 EG5F ED54EF6 D545D4?L=>7> 5N465F4 3 0,00 FOE. DG5?5=. 
� D4<>4E <5D>?D<OF<= ?> ?D>6545=<N D5<>=F=OE D45>F < ?5D5>5>DG4>64=<N 

?><5M5=<= 4?O >D74=<74F<< <>=<F>D<=7>6>7> 74?4 &�' %%�� 6 =>6>< ?><5M5=<< 
?> 44D5EG: 7. �>E>64, G?<F4 �5DE=OO �D4E=>E5?LE>4O, 4>< 3, EFD>5=<5 2; ?D>6545=O 
?D54?D>5>F=O5 D45>FO, 4 F4>65 D47D45>F4=4 E<5F4 =4 ?D>5>F=>-<7OE>4F5?L=O5 
D45>FO =4 >5MGN EG<<G 198,00 FOE. DG5?5= (<EF>G=<> D<=4=E<D>64=<O 3 

4<>DF<74F<O). 
� D4<>4E >?F<<<74F<< 74FD4F =4 ?>EF>O==O5 D5<>=FO ?><5M5=<=, =4 D4EE>4O 

?> E>45D64=<N <<GM5EF64 < ?D<6545=<O ??>M445= > =>D<4< D47<5M5=<O 
D45>F=<>>6 F5E=<G5E>>= 547O, D4E?>?>65==>= ?> 44D5EG: %454D>6E><= >D4=, 
%454D>6E><= D4=>=, E. �4?<=>6>4, G?. &5=FD4?L=4O, 4. 22 ??4=<DG5FEO 6O?>?=<FL 
D45>FO ?> E=>EG >5N5>F4 =546<6<<>EF< (?<F.�, �1, �3) < ?D<6545=<5 57> 6 
=>D<4F<6=>5 E>EF>O=<5, 4>?GEF<<>5  4?O 44?L=5=L57> <E?>?L7>64=<O ?> F5?56><G 
=47=4G5=<N < ?> 6>EEF4=>6?5=<N ?>?=OE E4D4>F5D<EF<> >5N5>F4 =546<6<<>EF<, 
E>>F65FEF6GNM<E FD55>64=<O< &5E=<G5E>>7> D57?4<5=F4 > 557>?4E=>EF< 744=<= < 
E>>DG65=<=. � 2022 7>4G ?D>6545=O <=65=5D=>-75>?>7<G5E><5 < <=65=5D=>-
75>457<G5E><5 <7OE>4=<O =4 >5MGN EG<<G 280,00 FOE. DG5?5= 557 GG5F4 ��% 
(<EF>G=<> D<=4=E<D>64=<O 3 4<>DF<74F<O). 

 

�5D>?D<OF<O ?> D476<F<N < >55E?5G5=<N DG=>F<>=<D>64=<O 
46F><4F<7<D>64==OE E<EF5< < ?D<>5D5F5=<5 6OG<E?<F5?L=>= F5E=<>< 

�4 D476<F<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O 46F><4F<7<D>64==OE E<EF5< < 
?D<>5D5F5=<5 6OG<E?<F5?L=>= F5E=<>< 6 2022 7>4G =4?D46?5=> 14 931 703,23 FOE. 
DG5?5=, 6 F>< G<E?5: 

74 EG5F G<EF>= ?D<5O?< (D>=4 =4GG=>-F5E=<G5E>>7> D476<F<O) 3 84 641,22 FOE. 
DG5?5= (557 GG5F4 =4?>74 =4 4>546?5==GN EF><<>EFL); 

74 EG5F 4<>DF<74F<< 3 119 834,58 FOE. DG5?5= (557 GG5F4 =4?>74 =4 
4>546?5==GN EF><<>EFL); 

74 EG5F ED54EF6 D545D4?L=>7> 5N465F4 3  14 727 227,43 FOE. DG5?5=, 6 F>< 
G<E?5: 

EG5E<4<O D44<>G4EF>F=>= E?G655 =4 D<=4=E>6>5 >55E?5G5=<5 74FD4F, 
E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE =4 =55 DG=>F<= 3 451 845,98 FOE. DG5?5=; 

EG5E<4<O =4 E>744=<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O <=D>D<4F<>==>= 
E<EF5<O <>=<F>D<=74 <4DLDGF>6 FD4D<>4 6 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F», <>=<F>D<=74 < G?D46?5=<O E5FLN E6O7< 
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>5M57> ?>?L7>64=<O 3 123 250,25 FOE. DG5?5=; 
EG5E<4<O =4 E>744=<5 < 6=54D5=<5, DG=>F<>=<D>64=<5 �6F><4F<7<D>64==>= 

E<EF5<O >55E?5G5=<O 557>?4E=>EF< D>EE<=E>>7> E57<5=F4 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F» (�%��) 3 13 836 667,29 FOE. DG5?5=; 

EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 E>744=<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O 
< D476<F<O E<EF5<O >55E?5G5=<O E>5?N45=<O >?5D4F>D4<< E6O7< FD55>64=<= ?D< 
>>474=<< GE?G7 E6O7< < GE?G7 ?> ?D>?GE>G FD4D<>4 6 E5F< E6O7< >5M57> ?>?L7>64=<O 
3 168 067,42 FOE. DG5?5=; 

EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 >EGM5EF6?5=<5 >D74=<74F<>==>-
F5E=<G5E><E <5D, =5>5E>4<<OE 4?O D54?<74F<< <>=<F>D<=74 E>5?N45=<O 
>?5D4F>D4<< E6O7< >5O74==>EF< ?> ?D>65D>5 4>EF>65D=>EF< E6545=<= >5 45>=5=F5 < 
E6545=<= > ?>?L7>64F5?OE GE?G74<< E6O7< 45>=5=F4 - ND<4<G5E>>7> ?<F4 <?< 
<=4<6<4G4?L=>7> ?D54?D<=<<4F5?O, 6 F>< G<E?5 ?D54EF46?5==OE ?<F><, 
45=EF6GNM<< >F <<5=< >?5D4F>D4 E6O7< 3 147 396,49 FOE. DG5?5=. 

ü $476<F<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O 46F><4F<7<D>64==OE E<EF5< 6 
2022 7>4G 5O?> ?D54GE<>FD5=> 74 EG5F ?D>6545=<O <5D>?D<OF<= ?> E>744=<N 
(<>45D=<74F<<) ?D>7D4<<=OE ?D>4G>F>6 6 >5N5<5 14 792 136,10 FOE. DG5?5=, 6 F>< 
G<E?5: 

74 EG5F G<EF>= ?D<5O?< (D>=4 =4GG=>-F5E=<G5E>>7> D476<F<O) 3 60 657,20 FOE. 
DG5?5= (557 GG5F4 =4?>74 =4 4>546?5==GN EF><<>EFL); 

74 EG5F 4<>DF<74F<< 3 20 505,25 FOE. DG5?5= (557 GG5F4 =4?>74 =4 4>546?5==GN 
EF><<>EFL);  

74 EG5F D545D4?L=>7> 5N465F4 3 14 710 973,65 FOE. DG5?5=. 
�EF>G=<> D<=4=E<D>64=<O 3 E>5EF65==O5 ED54EF64 ?D54?D<OF<O 

ø � 2021 7>4G =4G4FO D45>FO ?> E>744=<N �>D?>D4F<6=>7> ?>DF4?4 $�'� 
«�$'&». �5M4O EG<<4 ?D>5>F4 E>EF46?O5F 27 463,10 FOE. DG5?5= (557 GG5F4 =4?>74 
=4 4>546?5==GN EF><<>EFL), 6 F>< G<E?5: F5>GM<5 D4EE>4O (?D<>5D5F5=<5 ?<F5=7<=) 
3 2 998,00 FOE. DG5?5=, >4?<F4?L=O5 D4EE>4O (<EF>G=<> D<=4=E<D>64=<O 3 G<EF4O 

?D<5O?L (D>=4 =4GG=>-F5E=<G5E>>7> D476<F<O) 3 24 465,10 FOE. DG5?5=. 
� D4<>4E 4>7>6>D4 E ��� «%>??5D �&» >F 12.10.2021 7 2021.160497 6 

E>>F65FEF6<< E MF4?=>EFLN D45>F ?> E>744=<N ?>DF4?4 6 2022 7>4G 5O?< 6O?>?=5=O 
D45>FO =4 EG<<G 17 634,73 FOE. DG5?5=.  

ø � 2022 7>4G E F5?LN E>65DL5=EF6>64=<O F5E=>?>7<G5E><E ?D>F5EE>6 
M>E?5DF<7O 6>7<>6=>EF< <E?>?L7>64=<O 74O6?5==OE D44<>M?5>FD>==OE ED54EF6 < <E 
M?5>FD><47=<F=>= E>6<5EF<<>EF< E 45=EF6GNM<<< < ??4=<DG5<O<< 4?O 
<E?>?L7>64=<O D44<>M?5>FD>==O<< ED54EF64<< (44?55 3 M>E?5DF<74 -�%) =4G4FO 
D45>FO ?> E>744=<N <=D>D<4F<>==>= E<EF5<O E>5EF65==O<< E<?4<< (<EF>G=<> 

D<=4=E<D>64=<O 3 G<EF4O ?D<5O?L (D>=4 =4GG=>-F5E=<G5E>>7> D476<F<O) 3  
33 034,48 FOE. DG5?5=. 

� D4<>4E 44==>7> ?D>5>F4 6 >FG5F=>< ?5D<>45: 
E>744=4 ??4FD>D<4 6 E>>F65FEF6<< E <<>D>E5D6<E=>= 4DE<F5>FGD>=, 6 >>F>D>= 

?D>7D4<<=O5 <=F5DD5=EO <<5NF >5D4F=GN E>6<5EF<<>EFL: 



98 

E5D6<EO «'?D46?5=<5 $'�» 
E5D6<E «�>>G<5=FO»; 
E5D6<E «�D<E=>5 ��»; 
E5D6<E «�6F>D<74F<O < ?D464 4>EFG?4»; 
D54?<7>64= <=F5DD5=E ?>?L7>64F5?O, =5>5E>4<<O= 4?O 46F><4F<74F<< 

DG=>F<= G?D46?5=<O < >>=FD>?O ?D>F5EE>6 F5E=>?>7<G5E>>= >5D45>F>< 
D44<>G4EF>F=>= 74O6><; 

D54?<7>64= ?D>F5EE 46F><4F<7<D>64==>7> F5EF<D>64=<O ?D>7D4<<=>7> 
>55E?5G5=<O 6 E>>F65FEF6<< E F5E=>?>7<G5E><< ?D>F5EE>< M>E?5DF<7O -�%; 

D54?<7>64=4 <=F57D4F<O E >5?4G=>= 65DE<5= $7->D<E;  
444?F<D>64=O L45?>=O ?>47>F>6>< 4>>G<5=F>6 4?O $7->D<E. 
ø � 2022 7>4G E F5?LN L<D>>>7> D4E?D>EFD4=5=<O <=D>D<4F<< > 

45OF5?L=>EF< &5=FD4 ?D46>6>= ?><>M< 7D4644=4< 6 F<DD>6>= ED545, >>F>DO= =4G4? 
>>47O64FL >>=EG?LF4F<6=GN ND<4<G5E>GN ?><>M< 7D4644=4< $>EE<=E>>= 
$545D4F<< EF46L<<< 65DF64<< =574>>==>7> <E?>?L7>64=<O ?5DE>=4?L=OE 44==OE, 
4 F4>65 ?D>6545=<O ?D>E65F<F5?LE>>= D45>FO 7D4644= 5O? E>744= >F45?L=O= E4=F 
(<EF>G=<> D<=4=E<D>64=<O 3 4<>DF<74F<O) 3 424,10 FOE. DG5?5=. 

ø � 2022 7>4G 66545=4 6 M>E??G4F4F<N �4<=4O F<DD>64O ??4FD>D<4 $�'� 
«�$'&» (44?55 - �&�) (<EF>G=<> D<=4=E<D>64=<O 3 4<>DF<74F<O) 3  
19 082,59 FOE. DG5?5=. $47D45>F>4 ??4FD>D<O >EGM5EF6?O?4EL E>5EF65==O<< E<?4<< 
?D54?D<OF<O. �&� 3 MF> >D74=<74F<>==>3F5E=<G5E>>5 >5N54<=5=<5 ?D>7D4<<=OE, 
6OG<E?<F5?L=OE < F5?5>><<G=<>4F<>==OE ED54EF6, E6O75= <564G =<<< < 
M>E??G4F4F<>==>7> ?5DE>=4?4, >55E?5G<64NM55 ?D54>EF46?5=<5 <=D>D<4F<>==OE, 
6OG<E?<F5?L=OE < F5?5>><<G=<>4F<>==OE D5EGDE>6, 6>7<>6=>EF5= < GE?G7 
D45>F=<>4< (EFDG>FGD=O< ?>4D4745?5=<O<) $�'� «�$'&» (44?55 F4>65 3 
?>FD55<F5?<, ?>?L7>64F5?<), =5>5E>4<<OE 4?O >EGM5EF6?5=<O ?D>D5EE<>=4?L=>= 
45OF5?L=>EF<. &4>65 �&� 6>?NG45F 6 E55O E>6>>G?=>EFL D47?<G=OE ?D<?>65=<=, 
547 44==OE, E5D65D>6, 4<E>>6OE <4EE<6>6, E5F56>7> >5>DG4>64=<O, ?<=<= E6O7< < 
>55E?5G<645F 4>EFG? ?>FD55<F5?5= > <=D>D<4F<>==O< D5EGDE4<.  

%>744=<5 �&� >55E?5G<?> 4>EF<65=<5 E?54GNM<E F5?5=: 
ý ?D54>EF46?5=<5 =4 5475 �&� E>6D5<5==OE F<DD>6OE E5D6<E>6 4?O 6=5L=<E 

< 6=GFD5==<E ?>?L7>64F5?5= $�'� «�$'&»; 
ý >?F<<<74F<O 6OG<E?<F5?L=OE <>M=>EF5= $�'� «�$'&»; 
ý >?F<<<74F<O E5F56>= <=DD4EFDG>FGDO ��% $�'� «�$'&»; 
ý E>>D4M5=<5 6D5<5=< D47D45>F>< < 6=54D5=<O =>6OE D5L5=<=/GE?G7; 
ý ?5D5E>4 =4 <E?>?L7>64=<5 %�� ?<5> �� D>EE<=E><5 ?D><EE>645=<O. 
ø �O?>?=5=O D45>FO ?> E>744=<N < 6=54D5=<N ?D>7D4<<=>7> <>4G?O E5>D4 

< ?>EFD>5=<O >FG5F=>EF< 4?O �>D?>D4F<6=>7> ?>DF4?4 $�'� «�$'&» (<EF>G=<> 

D<=4=E<D>64=<O 3 G<EF4O ?D<5O?L (D>=4 =4GG=>-F5E=<G5E>>7> D476<F<O) 3 9 987,99 
FOE. DG5?5=. 

� D4<>4E 4>7>6>D4 E ��� «�54<4 �><» >F 18.11.2022 7 ��-221118 
D54?<7>64= 4>?>?=<F5?L=O= DG=>F<>=4? �>D?>D4F<6=>7> ?>DF4?4 $�'� «�$'&» 
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?>76>?<6L<= ?>6OE<FL MDD5>F<6=>EFL E<EF5<O G?D46?5=<O < 6=GFD<>>D?>D4F<6=>= 
>FG5F=>EF< 6> $�'� «�$'&» < $>E>><=447>D5. 

ø � >FG5F=>< ?5D<>45 >>474=O GE?G7< ?> <EE?54>64=<N ><55D557>?4E=>EF< 
(<EF>G=<> D<=4=E<D>64=<O 3 4<>DF<74F<O) =4 EG<<G 998,56 FOE. DG5?5=. 

�EF>G=<> D<=4=E<D>64=<O 3 D545D4?L=O= 5N465F 

ø $476<F<5 <=D>D<4F<>==>= E<EF5<O <>=<F>D<=74 < G?D46?5=<O E5FLN E6O7< 
>5M57> ?>?L7>64=<O 3 122 304,64 FOE. DG5?5= (<EF>G=<> D<=4=E<D>64=<O 3 

D545D4?L=O= 5N465F, EG5E<4<O =4 E>744=<5 < DG=>F<>=<D>64=<5 <=D>D<4F<>==>= 

E<EF5<O <>=<F>D<=74 <4DLDGF>6 FD4D<>4 6 E5F< �=F5D=5F, <>=<F>D<=74 < 

G?D46?5=<O E5FLN E6O7< >5M57> ?>?L7>64=<O). 
� 2022 7>4G 6 D4<>4E 4>7>6>D4 =4 6O?>?=5=<5 D45>F ?> D476<F<N 

<=D>D<4F<>==>= E<EF5<O <>=<F>D<=74 < G?D46?5=<O E5FLN E6O7< >5M57> 
?>?L7>64=<O 5O? 6O?>?=5= E?54GNM<= ?5D5G5=L D45>F: 

- 6O?>?=5=4 4>D45>F>4 ?>4E<EF5<O «$55EFD 44D5E=>-=><5D=OE D5EGDE>6 E5F< 
«�=F5D=5F»: 

E>744= <>4G?L EF4F<EF<>< < 4=4?<F<><, 6>?NG4NM<= =>6O= DG=>F<>=4?: 
>FG5F ?> «GF5G>4<» 46F>=><=OE E<EF5<; >FG5F ?> <EF>D<O< <7<5=5=<= 44==OE 6 
$��$; >FG5F EF4F<EF<>5 <E?>?L7>64=<5 E5D6<E>6 $��$; 

E>744= <>4G?L >?5D4F<6=>7> ?>?GG5=<O <=D>D<4F<< <7 D57<>=4?L=OE 
<=F5D=5F D57<EFD4FGD; 

?D>6545=4 ?D>7D4<<=>-4??4D4F=4O <>4<D<>4F<O <=DD4EFDG>FGDO $��$; 
E>744=, =4EFD>5= < 6O=5E5= =4 >F45?L=GN <=DD4EFDG>FGDO 65EL DG=>F<>=4? 

<>4G?O EF4F<EF<>< < 4=4?<F<><, GF> >55E?5G<?> 6>7<>6=>EFL E>744=<O 
D5EGDE>5<><E 4=4?<F<G5E><E < EF4F<EF<G5E><E >FG5F>6 557 6?<O=<O =4 
D45>F>E?>E>5=>EFL >E=>6=>= ��; 

- D47D45>F4=4 ?>4E<EF5<4 G?D46?5=<O ?>DGG5=<O<<, >>F>D4O ?D54=47=4G5=4 
4?O 46F><4F<74F<< 45OF5?L=>EF< &�' %%��, E6O74==>= E =4?D46?5=<5< < 
>>=FD>?5< <E?>?=5=<O ?>DGG5=<=; 

- E>744= ?G5?<G=O= ?>DF4? ?>?L7>64F5?5= (E4=F &�') E>45D64M<= 6 E555 
<=EFDG<5=FO: E5D6<E ?> E5>DG 44==OE > E5>OE «�>=<F>D<=7» E>744= >4> 
4?LF5D=4F<64 ?>?G?OD=><G 74DG556=><G D5EGDEG3 downdetector.com; E5D6<E 4?O 
?D>65D>< <4DLDGF<74F<< <7 G44?U==>= 46F>=><=>= E<EF5<O «Looking glass»; 
=>6>EF=>= D4745?; 4>>G<5=FO; ?D>G<= DG=>F<>=4?; 

$47D45>F>4 6>?NG<?4 6 E55O 4<74==-<4>5F; F5E=<G5E>GN 4>>G<5=F4F<N; CMS 
<>4G?L, <>4G?L 44<<=<EFD<D>64=<O; Front-end, back-end; E>744=<5 547>6>7> 
DG=>F<>=4?4 E4=F4; <=F57D4F<O E �% &�' 6 G4EF< ?>?GG5=<O 44==OE 4?O Looking 
glass; E>744=<5 D4EL<D5==>7> DG=>F<>=4?4 («�>=<F>D<=7», EF4F<EF<>< 4=><4?<= < 
?D); 

- ?D<>5D5F5=> >5>DG4>64=<5; 
- ?D<>5D5F5=O ?<F5=7<< ��; 
- 6O?>?=5=O D45>FO ?> <4ELF45<D>64=<N ?>4E<EF5<O <=D>D<4F<>==>= 

557>?4E=>EF< 6 >5N5<5 D45>F 2022 7>44, 4 <<5==> D4E?D>EFD4=5=<5 DG=>F<>=4?4 
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>55E?5G5=<O 557>?4E=>EF< =4 >><?>=5=FO =>6OE <=D>D<4F<>==OE ?>4E<EF5<, 
D47<5M45<OE 6 �% «&�' %%��»; 

- 6O?>?=5=O D45>FO ?> ?>6F>D=>= 4FF5EF4F<< �% «&�' %%��» ?> 
FD55>64=<O< 74M<FO <=D>D<4F<< 6 E>>F65FEF6<< E FD55>64=<O<< ?D<>474 $%&-� 
$>EE<< >F 11.02.2012 7 17. 

� 2022 7>4G D54?<7>64=> D476<F<5 <=D>D<4F<>==>= E<EF5<O <>=<F>D<=74 < 
G?D46?5=<O E5FLN E6O7< >5M57> ?>?L7>64=<O =4 >5MGN EG<<G 132 688,46 FOE. 
DG5?5= (>4?<F4?L=O5 D4EE>4O 3 122 304,64 FOE. DG5?5=). 

ø %>744=<5 �6F><4F<7<D>64==>= E<EF5<O >55E?5G5=<O 557>?4E=>EF< 
D>EE<=E>>7> E57<5=F4 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F» 
?GF5< <>45D=<74F<< �%�� < D4EL<D5=<O 55 6>7<>6=>EF5=; D45>FO ?> 
<>45D=<74F<< < GEF4=>6>5 &%�' =4 G7?4E E6O7< 6 F5?OE D4EL<D5=<O E>744645<>= 
�%�� < >55E?5G5=<O 55 DG=>F<>=<D>64=<O 3 7 087 357,34 FOE. DG5?5= (<EF>G=<> 

D<=4=E<D>64=<O 3 D545D4?L=O= 5N465F, EG5E<4<O =4 E>744=<5 < 6=54D5=<5, 

DG=>F<>=<D>64=<5 �6F><4F<7<D>64==>= E<EF5<O >55E?5G5=<O 557>?4E=>EF< 

D>EE<=E>>7> E57<5=F4 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F» 

(�%��)). 
ø $<=4=E>6>5 >55E?5G5=<5 D4EE>4>6 74 EG5F ED54EF6, ?D54>EF46?5==OE $�'� 

«�$'&» <7 D575D6=>7> D>=44 �D46<F5?LEF64 $>EE<=E>>= $545D4F<<: 1 668 395,73 
FOE. DG5?5= [E6545=<O, G>474==O5 6 =4EF>OM5< ?G=>F5, O6?ONFEO E?G655=>= 
<=D>D<4F<5= >7D4=<G5==>7> D4E?D>EFD4=5=<O, < =4?D46?ONFEO 6 ?>DO4>5, 
GEF4=>6?5==>< 74>>=>44F5?LEF6>< $>EE<=E>>= $545D4F<<] (<EF>G=<> 

D<=4=E<D>64=<O 3 D545D4?L=O= 5N465F). 
ø $<=4=E>6>5 >55E?5G5=<5 D4EE>4>6 74 EG5F ED54EF6, ?D54>EF46?5==OE $�'� 

«�$'&» E>7?4E=> ?<EL<G $>E>><=447>D4 >F 22.08.2022 7 02��-1056-�%�: 
5 073 136,60 FOE. DG5?5= [E6545=<O, G>474==O5 6 =4EF>OM5< ?G=>F5, O6?ONFEO 
E?G655=>= <=D>D<4F<5= >7D4=<G5==>7> D4E?D>EFD4=5=<O, < =4?D46?ONFEO 6 
?>DO4>5, GEF4=>6?5==>< 74>>=>44F5?LEF6>< $>EE<=E>>= $545D4F<<] (<EF>G=<> 

D<=4=E<D>64=<O 3 D545D4?L=O= 5N465F). 
ø �O?>?=5=<5 D45>F ?> ?5D5D45>F>5 (<>4<D<>4F<<) %��, ?>EF46>4 

(?5D544G4) >5>DG4>64=<O < M>75<??OD>6 ���, ?D54>EF46?5=<5 ?<F5=7<= 6 D4<>4E 
>EGM5EF6?5=<O >D74=<74F<>==>-F5E=<G5E><E <5D, =5>5E>4<<OE 4?O D54?<74F<< 
<>=<F>D<=74 E>5?N45=<O >?5D4F>D4<< E6O7< >5O74==>EF< ?> ?D>65D>5 
4>EF>65D=>EF< E6545=<= >5 45>=5=F5 < E6545=<= > ?>?L7>64F5?OE GE?G74<< E6O7< 
45>=5=F4 3 ND<4<G5E>>7> ?<F4 ?<5> <=4<6<4G4?L=>7> ?D54?D<=<<4F5?O, 6 F>< 
G<E?5 ?D54EF46?5==OE ?<F><, 45=EF6GNM<< >F <<5=< >?5D4F>D4 E6O7< (��� �%�� 
6F>D>= >G5D54<) 3 147 396,49 FOE. DG5?5= (<EF>G=<> D<=4=E<D>64=<O 3 D545D4?L=O= 

5N465F, EG5E<4<O =4 >EGM5EF6?5=<5 >D74=<74F<>==>-F5E=<G5E><E <5D, 

=5>5E>4<<OE 4?O D54?<74F<< <>=<F>D<=74 E>5?N45=<O >?5D4F>D4<< E6O7< 

>5O74==>EF< ?> ?D>65D>5 4>EF>65D=>EF< E6545=<= >5 45>=5=F5 < E6545=<= > 

?>?L7>64F5?OE GE?G74<< E6O7< 45>=5=F4 3 ND<4<G5E>>7> ?<F4 ?<5> <=4<6<4G4?L=>7> 

?D54?D<=<<4F5?O, 6 F>< G<E?5 ?D54EF46?5==OE ?<F><, 45=EF6GNM<< >F <<5=< 
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>?5D4F>D4 E6O7<). 
��� �%�� E>7445FEO 6 F5?OE E5>D4, >5D45>F>< < ED4=5=<O E6545=<=, 

?>44645<OE >?5D4F>D4<< ?>46<6=>= D44<>F5?5D>==>= E6O7< 6 E>>F65FEF6<< E 
74>>=>44F5?LEF6>< $>EE<=E>>= $545D4F<< 4?O >>=FD>?O 45OF5?L=>EF< >?5D4F>D4 6 
D4<>4E E>5?N45=<O FD55>64=<= $545D4?L=>7> 74>>=4 >F 7 <N?O 2003 7. 7 126-$� < 
�D46<? >>474=<O GE?G7 F5?5D>==>= E6O7<, GF65D645==OE ?>EF4=>6?5=<5< 
�D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 9 45>45DO 2014 7. 7 1342. 

%>744=<5 ��� �%�� 74??4=<D>64=> ?>MF4?=> 6 2021 - 2023 7>44E.  
� D4<>4E ?5D6>= >G5D54< ?D>5>F4 6 2021 7>4G E>744= ��� �%�� ?5D6>= 

>G5D54<, E>EF>OM<= <7 6>EL<< M?5<5=F>6 (-?5<5=F ��$-74?D>E>6, -?5<5=F 
674<<>45=EF6<O E HLR �$&%, -?5<5=F G?D46?5=<O >?<5=FE><<< ?D<?>65=<O<<, 
-?5<5=F >5D45>F>< 44==OE, -?5<5=F <=D>D<4F<>==>= 557>?4E=>EF<, -?5<5=F 
<=F57D4F<>==>7> 674<<>45=EF6<O E 4DG7<<< �% &�' %%��, -?5<5=F 
<=D>D<4F<>==>7> 674<<>45=EF6<O E 6=5L=<<< �% < ��, -?5<5=F 747DG7>< 44==OE). 

� 2022 7>4G 6 F5?OE >EGM5EF6?5=<O >D74=<74F<>==>-F5E=<G5E><E <5D, 
=5>5E>4<<OE 4?O D54?<74F<< <>=<F>D<=74 E>5?N45=<O >?5D4F>D4<< E6O7< 
>5O74==>EF< ?> ?D>65D>< 4>EF>65D=>EF< E6545=<= >5 45>=5=F5 < E6545=<= > 
?>?L7>64F5?OE GE?G74<< E6O7< 45>=5=F4 - ND<4<G5E>>7> ?<F4 ?<5> <=4<6<4G4?L=>7> 
?D54?D<=<<4F5?O, 6 F>< G<E?5 ?D54EF46?5==OE ?<F><, 45=EF6GNM<< >F <<5=< 
>?5D4F>D4 E6O7<, 74>?NG5= 4>7>6>D =4 E>744=<5 ��� �%�� 6F>D>= >G5D54<. 
�>7>6>D D54?<7>6O645FEO 6 G5FOD5 MF4?4. 

� 2022 7>4G 6O?>?=5=<5 D45>F ?> ?5D5D45>F>5 (<>4<D<>4F<<) %��, ?>EF46>4 
(?5D544G4) >5>DG4>64=<O < M>75<??OD>6 ���, ?D54>EF46?5=<5 ?<F5=7<= 6 D4<>4E 
>EGM5EF6?5=<O >D74=<74F<>==>-F5E=<G5E><E <5D, =5>5E>4<<OE 4?O D54?<74F<< 
<>=<F>D<=74 E>5?N45=<O >?5D4F>D4<< E6O7< >5O74==>EF< ?> ?D>65D>5 
4>EF>65D=>EF< E6545=<= >5 45>=5=F5 < E6545=<= > ?>?L7>64F5?OE GE?G74<< E6O7< 
45>=5=F4 3 ND<4<G5E>>7> ?<F4 ?<5> <=4<6<4G4?L=>7> ?D54?D<=<<4F5?O, 6 F>< 
G<E?5 ?D54EF46?5==OE ?<F><, 45=EF6GNM<< >F <<5=< >?5D4F>D4 E6O7< (��� �%�� 
6F>D>= >G5D54<), >EGM5EF6?5=O =4 >5MGN EG<<G 162 258,49 FOE. DG5?5= 
(>4?<F4?L=O5 D4EE>4O 3 147 396,49 FOE. DG5?5=). 

ø �D<>5D5F5=<5 >5>DG4>64=<O <=DD4EFDG>FGDO, 6>?NG4NM55 6 E55O 
E5D65D=>5 < >><<G=<>4F<>==>5 >5>DG4>64=<5 4?O D54?<74F<< ?D>5>F4 6 >5?4EF< 
E>744=<O E<EF5<O GG5F4 >5>D>F4 D5>?4<O 6 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= 
E5F< «�=F5D=5F» «�4<=O= D55EFD <=F5D=5F-D5>?4<O» =4 EG<<G 3 152 534,69 FOE. 
DG5?5= (<EF>G=<> D<=4=E<D>64=<O 3 D545D4?L=O= 5N465F, EG5E<4<O 

D44<>G4EF>F=>= E?G655 =4 D<=4=E>6>5 >55E?5G5=<5 74FD4F, E6O74==OE E 

6O?>?=5=<5< 6>7?>65==OE =4 =55 DG=>F<=, ED54EF64 =4 E>744=<5 < >55E?5G5=<5 

DG=>F<>=<D>64=<O �4<=>= <=D>D<4F<>==>= E<EF5<O GG5F4 >5>D>F4 D5>?4<O 6 

<=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F» (�$�$)). 
�5>DG4>64=<5 <=DD4EFDG>FGDO ?D<764=> >55E?5G<FL =5>5E>4<<O5 

F5E=<G5E><5 D5EGDEO 4?O D4765DFO64=<O < 55E?5D55>==>7> DG=>F<>=<D>64=<O 
�4<=>= <=D>D<4F<>==>= E<EF5<O GG5F4 >5>D>F4 D5>?4<O 6 <=D>D<4F<>==>= 
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F5?5>><<G=<>4F<>==>= E5F< <=F5D=5F» (�$�$). 
ø �>EF46>4 (?5D544G4) 6 E>5EF65==>EFL >5>DG4>64=<O <=DD4EFDG>FGDO 

(E5D65DO, 65EF><5 4<E><) 4?O D54?<74F<< ?D>5>F4 6 >5?4EF< E>744=<O E<EF5<O GG5F4 
>5>D>F4 D5>?4<O 6 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F» 
«�4<=O= D55EFD <=F5D=5F-D5>?4<O» =4 EG<<G 3 20 655,00 FOE. DG5?5= (<EF>G=<> 

D<=4=E<D>64=<O 3 D545D4?L=O= 5N465F, EG5E<4<O D44<>G4EF>F=>= E?G655 =4 

D<=4=E>6>5 >55E?5G5=<5 74FD4F, E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE =4 =55 

DG=>F<=, ED54EF64 =4 E>744=<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O �4<=>= 

<=D>D<4F<>==>= E<EF5<O GG5F4 >5>D>F4 D5>?4<O 6 <=D>D<4F<>==>-

F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F» (�$�$)). 
� 2022 7>4G >EGM5EF6?5=4 ?>EF46>4 >5>DG4>64=<O <=DD4EFDG>FGDO =4 >5MGN 

EG<<G 23 221,71 FOE. DG5?5= (>4?<F4?L=O5 D4EE>4O 3 20 655,00 FOE. DG5?5=). 
ø �D<>5D5F5=<5 >5>DG4>64=<O <=DD4EFDG>FGDO, 6>?NG4NM55 6 E55O 

E5D65D=>5 < >><<G=<>4F<>==>5 >5>DG4>64=<5 4?O D54?<74F<< ?D>5>F>6 6 >5?4EF< 
D476<F<O 46F><4F<7<D>64==OE E<EF5< <>=<F>D<=74 ED54EF6 <4EE>6OE 
>><<G=<>4F<= 3 203 488,97 FOE. DG5?5= (<EF>G=<> D<=4=E<D>64=<O 3 D545D4?L=O= 

5N465F, EG5E<4<O D44<>G4EF>F=>= E?G655 =4 D<=4=E>6>5 >55E?5G5=<5 74FD4F, 

E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE =4 =55 DG=>F<=, ED54EF64 =4 E>744=<5 < 

>55E?5G5=<5 DG=>F<>=<D>64=<O 46F><4F<7<D>64==OE E<EF5< <>=<F>D<=74 ED54EF6 

<4EE>6OE >><<G=<>4F<=). 
ø �O?>?=5=<5 D45>F ?> E>744=<N <=D>D<4F<>==>= E<EF5<O D4==57> 

6OO6?5=<O G7D>7 6 <=D>D<4F<>==>= ED5D5 < ?D>7=>7<D>64=<O D<E>>6 <E 
6>7=<>=>65=<O (�% ���$,) 3 9 900,00 FOE. DG5?5= (<EF>G=<> D<=4=E<D>64=<O 3 

D545D4?L=O= 5N465F, EG5E<4<O D44<>G4EF>F=>= E?G655 =4 D<=4=E>6>5 

>55E?5G5=<5 74FD4F, E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE =4 =55 DG=>F<=, 

ED54EF64 =4 E>744=<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O 46F><4F<7<D>64==OE 

E<EF5< <>=<F>D<=74 ED54EF6 <4EE>6OE >><<G=<>4F<=). 
�?4=<DG5FEO ?>MF4?=4O D47D45>F>4 <=D>D<4F<>==>= E<EF5<O ���$, 6 2022 - 

2023 77.  
� 2022 7>4G 6O?>?=5=<5 D45>F ?> E>744=<N <=D>D<4F<>==>= E<EF5<O 

D4==57> 6OO6?5=<O G7D>7 6 <=D>D<4F<>==>= ED5D5 < ?D>7=>7<D>64=<O D<E>>6 <E 
6>7=<>=>65=<O D54?<7>64=O 6 D4<>4E 1 < 2 MF4?>6 =4 >5MGN EG<<G 9 900,00 FOE. 
DG5?5=). 

ø �O?>?=5=<5 D45>F ?> E>744=<N <=D>D<4F<>==>= E<EF5<O 6OO6?5=<O 
?D<7=4>>6 =4DGL5=<= 74>>=>44F5?LEF64 $>EE<=E>>= $545D4F<< 6 <7>5D465=<OE < 
6<45><4F5D<4?4E E <E?>?L7>64=<5< F5E=>?>7<= <E>GEEF65==>7> <=F5??5>F4 
(��'�'%) 3 57 736,77 FOE. DG5?5= (<EF>G=<> D<=4=E<D>64=<O 3 D545D4?L=O= 

5N465F, EG5E<4<O D44<>G4EF>F=>= E?G655 =4 D<=4=E>6>5 >55E?5G5=<5 74FD4F, 

E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE =4 =55 DG=>F<=, ED54EF64 =4 E>744=<5 < 

>55E?5G5=<5 DG=>F<>=<D>64=<O 46F><4F<7<D>64==OE E<EF5< <>=<F>D<=74 ED54EF6 

<4EE>6OE >><<G=<>4F<=).  
� 2022 7>4G 6 D4<>4E 46GE MF4?>6 6O?>?=5=O D45>FO ?> E>744=<N 
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<=D>D<4F<>==>= E<EF5<O 6OO6?5=<O ?D<7=4>>6 =4DGL5=<= 74>>=>44F5?LEF64 
$>EE<=E>>= $545D4F<< 6 <7>5D465=<OE < 6<45><4F5D<4?4E E <E?>?L7>64=<5< 
F5E=>?>7<= <E>GEEF65==>7> <=F5??5>F4 =4 >5MGN EG<<G 57 736,77 FOE. DG5?5=. 

ø �O?>?=5=<5 D45>F ?> E>744=<N F5EF>6>7> DD47<5=F4 E<EF5<O >55E?5G5=<O 
>?5D4F>D4<< E6O7< FD55>64=<= ?D< >>474=<< GE?G7 E6O7< < GE?G7 ?> ?D>?GE>G 
FD4D<>4 < E5F< E6O7< >5M57> ?>?L7>64=<O 6 D4<>4E E>744=<O E<EF5<O >55E?5G5=<O 
E>5?N45=<O >?5D4F>D4<< E6O7< FD55>64=<= ?D< >>474=<< GE?G7 E6O7< < GE?G7 ?> 
?D>?GE>G FD4D<>4 6 E5F< E6O7< >5M57> ?>?L7>64=<O (E<EF5<4 �=F<DD>4 ?5D6>7> 
MF4?4) 3 168 067,42 FOE. DG5?5= (<EF>G=<> D<=4=E<D>64=<O 3 D545D4?L=O= 5N465F, 

EG5E<4<O =4 6>7<5M5=<5 74FD4F =4 E>744=<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O < 

D476<F<O E<EF5<O >55E?5G5=<O E>5?N45=<O >?5D4F>D4<< E6O7< FD55>64=<= ?D< 

>>474=<< GE?G7 E6O7< < GE?G7 ?> ?D>?GE>G FD4D<>4 6 E5F< E6O7< >5M57> ?>?L7>64=<O). 
� 2022 7>4G =4G4F> E>744=<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O < D476<F<O 

E<EF5<O >55E?5G5=<O E>5?N45=<O >?5D4F>D4<< E6O7< FD55>64=<= ?D< >>474=<< 
GE?G7 E6O7< < GE?G7 ?> ?D>?GE>G FD4D<>4 6 E5F< E6O7< >5M57> ?>?L7>64=<O (?D>5>F 
�=F<DD>4). �D>5>F>< �=F<DD>4 ?D54GE<>FD5=4 D54?<74F<O F5=FD4?<7>64==>= 
E<EF5<O 65D<D<>4F<< 6O7>6>6, ?D54=47=4G5==>= 4?O <E>?NG5=<O 6>7<>6=>EF< 
E>65DL5=<O 76>=>>6 E ?>4<5=>= F5?5D>==>7> =><5D4 6=GFD< $>EE<=E>>= $545D4F<< 
(E<EF5<4 «�=F<DD>4»). 

�D54?4745<4O > E>744=<N E<EF5<4 ?>4D47G<5645F F5=FD4?<7>64==>5 
?>4F65D645=<5 6O7>64 >?5D4F>D4<< E6O7< > E>65DL45<OE <E 45>=5=F4<< 76>=>4E 
< ?5D544G< MF>= <=D>D<4F<< 6 4>65D5==GN E<EF5<G, ?D< >5D4M5=<< > >>F>D>= 
>?5D4F>D E6O7< E<>65F ?>?GG<FL ?>4F65D645=<5 <EF>G=<>4 6O7>64, GL< 45>=5=FO 
44==O= 76>=>> ?D<=<<4NF. � E?GG45 =5 ?>4F65D645=<O E<EF5<>=, 44==O= 6O7>6 
<>65F 5OFL 745?>><D>64= >?5D4F>D>< E6O7<. %>744645<4O E<EF5<4 6 >><??5>E5 
D5L5=<= ?>76>?<F >4=>7=4G=> >?D545?<FL E>>F65FEF6<5 6O7O64NM57> =><5D4 
45>=5=F4 ?D< 6O7>65 >F >4=>7> >?5D4F>D4 E6O7< > 4DG7><G >?5D4F>DG 6 E5F< E6O7< 
>5M57> ?>?L7>64=<O. 

� 2022 7>4G 6O?>?=5=O D45>FO ?> E>744=<N F5EF>6>7> DD47<5=F4 E<EF5<O 
>55E?5G5=<O >?5D4F>D4<< E6O7< FD55>64=<= ?D< >>474=<< GE?G7 E6O7< < GE?G7 ?> 
?D>?GE>G FD4D<>4 < E5F< E6O7< >5M57> ?>?L7>64=<O 6 D4<>4E E>744=<O E<EF5<O 
>55E?5G5=<O E>5?N45=<O >?5D4F>D4<< E6O7< FD55>64=<= ?D< >>474=<< GE?G7 E6O7< < 
GE?G7 ?> ?D>?GE>G FD4D<>4 6 E5F< E6O7< >5M57> ?>?L7>64=<O =4 >5MGN EG<<G 
168 067,42 FOE. DG5?5=. 

$4EE>4O =4 E>744=<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O < D476<F<O E<EF5<O 
>55E?5G5=<O E>5?N45=<O >?5D4F>D4<< E6O7< FD55>64=<= ?D< >>474=<< GE?G7 E6O7< < 
GE?G7 ?> ?D>?GE>G FD4D<>4 6 E5F< E6O7< >5M57> ?>?L7>64=<O 6 2022 7>4G E>EF46?ONF 
168 067,42 FOE. DG5?5=. 

ü $4EE>4O =4 ?D<>5D5F5=<5 6OG<E?<F5?L=>= F5E=<>< (6 F>< G<E?5 E5F56>7> < 
E5D65D=>7> >5>DG4>64=<O) 6 2022 7>4G E>EF46<?< 139 567,13 FOE. DG5?5=, 6 F>< 
G<E?5: 

- G<EF>= ?D<5O?< (D>=4 =4GG=>-F5E=<G5E>>7> D476<F<O) 3 23 984,02 FOE. 
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DG5?5= (557 GG5F4 =4?>74 =4 4>546?5==GN EF><<>EFL); 
- 4<>DF<74F<< 3 99 329,33 FOE. DG5?5= (557 GG5F4 =4?>74 =4 4>546?5==GN 

EF><<>EFL); 
- D545D4?L=>7> 5N465F4 3 16 253,78 FOE. DG5?5=, 6 F>< G<E?5: 
EG5E<4<O D44<>G4EF>F=>= E?G655 =4 D<=4=E>6>5 >55E?5G5=<5 74FD4F, 

E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE =4 =55 DG=>F<= 3 7 530,55 FOE. DG5?5=; 
EG5E<4<O =4 E>744=<5 < DG=>F<>=<D>64=<5 <=D>D<4F<>==>= E<EF5<O 

<>=<F>D<=74 <4DLDGF>6 FD4D<>4 6 E5F< �=F5D=5F, <>=<F>D<=74 < G?D46?5=<O E5FLN 
E6O7< >5M57> ?>?L7>64=<O 3 945,61 FOE. DG5?5=; 

EG5E<4<O =4 E>744=<5 < 6=54D5=<5, DG=>F<>=<D>64=<5 �6F><4F<7<D>64==>= 
E<EF5<O >55E?5G5=<O 557>?4E=>EF< D>EE<=E>>7> E57<5=F4 <=D>D<4F<>==>-
F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F» (�%��) 3 7 777,62 FOE. DG5?5=; 

EG5E<4<O =4 E>744=<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O < D476<F<O E<EF5<O 
>55E?5G5=<O E>5?N45=<O >?5D4F>D4<< E6O7< FD55>64=<= ?D< >>474=<< GE?G7 E6O7< < 
GE?G7 ?> ?D>?GE>G FD4D<>4 6 E5F< E6O7< >5M57> ?>?L7>64=<O 3 0,00 FOE. DG5?5=; 

EG5E<4<O =4 >EGM5EF6?5=<5 >D74=<74F<>==>-F5E=<G5E><E <5D, =5>5E>4<<OE 
4?O D54?<74F<< <>=<F>D<=74 E>5?N45=<O >?5D4F>D4<< E6O7< >5O74==>EF< ?> 
?D>65D>5 4>EF>65D=>EF< E6545=<= >5 45>=5=F5 < E6545=<= > ?>?L7>64F5?OE GE?G74<< 
E6O7< 45>=5=F4 3 ND<4<G5E>>7> ?<F4 ?<5> <=4<6<4G4?L=>7> ?D54?D<=<<4F5?O, 6 F>< 
G<E?5 ?D54EF46?5==OE ?<F><, 45=EF6GNM<< >F <<5=< >?5D4F>D4 E6O7< 3 0,00 FOE. 
DG5?5=. 

�EF>G=<> D<=4=E<D>64=<O 3 E>5EF65==O5 ED54EF64 ?D54?D<OF<O 

ø � 2022 7>4G 6 F5?OE 74<5=O >5>DG4>64=<O EF4DL5 6 ?5F D45>F=<>4< 
75=5D4?L=>= 4<D5>F<< $�'� «�$'&» 5O?> ?D<>5D5F5=> 2 54<=<FO 
<=>7>DG=>F<>=4?L=OE GEFD>=EF6 6 E>>F65FEF6<< E �4<=O<< F5E=<G5E><<< 
FD55>64=<O<< < =>D<4F<64<< 74FD4F =4 F>64DO, D45>FO, GE?G7< ?D< >EGM5EF6?5=<< 
74>G?>>, ?D>6>4<<OE ��&, G?D46?5=<O<< (7DG??4<<) <=D>D<4F<>==OE F5E=>?>7<= 
D<?<4?>6 $�'� «�$'&», GF65D645==O<< ?D<>47>< $�'� «�$'&» >F 22.04.2022 
7 99 (E <7<5=5=<O<<) (<EF>G=<> D<=4=E<D>64=<O 3 4<>DF<74F<O) 3 1 180,44 FOE. 
DG5?5= (557 ��%). 

ø �D<>5D5F5=> 16 >><<GF4F>D>6 Cisco Systems (?> 48 ?>DF>6 >464O=) 4?O 
?>4>?NG5=<O IP F5?5D>=>6 (<EF>G=<> D<=4=E<D>64=<O 3 4<>DF<74F<O) 3 2 288,00 
FOE. DG5?5= 557 GG5F4 ��%, 6 D4<>4E <5D>?D<OF<= ?> <>45D=<74F<< F5?5D>==>= 
E5F< $�'� «�$'&» =4?D46?5==OE =4 >F>47 >F <E?>?L7>64=<O ?>>4?L=OE 
46F><4F<G5E><E F5?5D>==OE EF4=F<= 4?O D45>F=<>>6 75=5D4?L=>= 4<D5>F<<. 

ø �D<>5D5F5=> >5>DG4>64=<5 D4EL<D5=<O 4<E>>6>7> ?D>EFD4=EF64 E<EF5<O 
ED4=5=<O 44==OE 4?O ED4=5=<O D575D6=OE >>?<= >5D47>6 ED54EF6 74M<FO 
<=D>D<4F<< < E>5OF<= <=D>D<4F<>==>= 557>?4E=>EF< (<EF>G=<> D<=4=E<D>64=<O 

3 4<>DF<74F<O) 3 5 218,33 FOE. DG5?5= 557 GG5F4 ��%, 6 F5?OE 74M<FO <=D>D<4F<< 
>F =5E4=>F<>=<D>64==>7> 4>EFG?4, 6 E>>F65FEF6<< E ?D<>474<< $%&-� >F 
11.02.2013 7. 7 17, 4 F4>65 >F 18.02.2013 7. 7 21. 

ø �>?>EF46>4 >5>DG4>64=<O 6<45>>>=D5D5=FE6O7< 4?O 75=5D4?L=>= 4<D5>F<< 
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$�'� «�$'&» (<EF>G=<> D<=4=E<D>64=<O 3 4<>DF<74F<O) 3 5 968,54 FOE. DG5?5= 
557 GG5F4 ��%. � 2021 7>4G 5O? 74>?NG5= 4>7>6>D >F 22.12.2021 7 2021.210303 E 
��� «%��$& $'�%» (E>7?4E>64=<5 >DG?=>= E45?>< ?<EL<> $>E>><=447>D4 >F 
23.11.2021 7 02��-79420, �D>F>>>? >><<EE<< >F 17.11.2021 7 38). � E6O7< E F5<, 
GF> 6 2021 7>4G >>=FD475=F 6O?>?=<? E6>< >5O74F5?LEF64 ?> 74>?NG5==><G 4>7>6>DG 
G4EF<G=>, 6 2022 7>4G >EGM5EF6?5=4 4>?>EF46>4 E5D65D4 ��%, 45>>45D>6, >4<5D < 
��-?4=5?5=. 

ø �D<>5D5F5=> >5>DG4>64=<5 6<45>>>=D5D5=FE6O7< 4?O D<?<4?>6 $�'� 
«�$'&» (<EF>G=<> D<=4=E<D>64=<O 3 D>=4 =4GG=>-F5E=<G5E>>7> D476<F<O) 3 23 
984,02 FOE. DG5?5= 557 GG5F4 ��%. � D4<>4E 4>7>6>D4 E ��� «�DN??>6 �><» >F 
15.11.2022 7 2022.184331 >EGM5EF6?5=4 ?>EF46>4 G4EF< >5>DG4>64=<O 4?O 
>D74=<74F<< 6<45>>>=D5D5=FE6O7< D<?<4?>6 6 %$�, %�$� < .%�$�. �> 
GE?>6<O< 4>7>6>D4 4>?>EF46>4 >5>DG4>64=<O ??4=<DG5FEO 6 I >64DF4?5 2023 7>44. 

ø �5D5=>E ?>EF46>< =4 2023 7>4 >5>DG4>64=<O E6O7< 4?O >55E?5G5=<O 
D45>F>E?>E>5=>EF< DG=>F<>=4?4 46F><4F<7<D>64==OE < <=D>D<4F<>==OE E<EF5< 
$�'� «�$'&» =4 EG<<G 43 149,58 FOE. DG5?5= (557 ��%) (<EF>G=<> 

D<=4=E<D>64=<O 3 D>=4 =4GG=>-F5E=<G5E>>7> D476<F<O). �>=FD475=F>< ��� 
«�<>D><4L» =5 6O?>?=5=O >5O74F5?LEF64 ?> ?>EF46>5 >5>DG4>64=<O 6 2022 7>4G 
E>7?4E=> GE?>6<O< 4>7>6>D4 >F 18.11.2022 7 2022.18557 (E>7?4E>64=<5 >DG?=>= 
E45?>< 3 ?D>F>>>? >F 07.10.2022 7 29). 

ø �D<>5D5F5=O F5?5D>==O5 4??4D4FO ?D46<F5?LEF65==>= E>F>6>= E6O7< 
(<EF>G=<> D<=4=E<D>64=<O 3 4<>DF<74F<O) 3 313,16 FOE. DG5?5= 557 GG5F4 ��%. 
�>FD55=>EFL 6 ?D<>5D5F5=<< 2-E F5?5D>==OE 4??4D4F>6 �-633% (4>?GE>45FEO 
?>EF46>4 �-633%-01) >5GE?>6?5=4 >D74=<74F<5= ?D46<F5?LEF65==>= E>F>6>= E6O7< 
(�%%) 4?O 6D<> 75=5D4?L=>7> 4<D5>F>D4 < 4<D5>F>D4 ?> 557>?4E=>EF< $�'� 
«�$'&», 6 6<4G >F>474 >F ?D46<F5?LEF65==>= F5?5D>==>= E6O7< (�&%), >>F>D4O 
>EGM5EF6?O?4EL ?>ED54EF64< ?5D544G< E<7=4?4 ?> >455?N. 

ø �?O >55E?5G5=<O 6>7<>6=>EF< >D74=<74F<< 6OE>>>E>>D>EF=>7> 
?>4>?NG5=<O >5>DG4>64=<O (E5D65D>6, 5?M=4 L4EE<, E<EF5< ED4=5=<O 44==OE, 
E5F56OE >><<GF4F>D>6 < <4DLDGF<74F>D>6) ?D<>5D5F5=O 2 LF. <>4G?5= D4EL<D5=<O 
4?O Cisco Nexus 7004 (<EF>G=<> D<=4=E<D>64=<O 3 4<>DF<74F<O) 3 2 998,37 FOE. 
DG5?5= 557 GG5F4 ��%. 

ø � E6O7< E F5<, GF> E>44F4=EF64 $�'� «�$'&» >5 <E?>?L7>64=<< 6 2022 
7>4G >EF4F>>6 EG5E<4<=, ?D54>EF46?5==OE $�'� «�$'&» 6 2021 7>4G, 5O?< 
G4>6?5F6>D5=O G4EF<G=>, =<65?D<6545==O5 D4EE>4O 5O?< >EGM5EF6?5=O 74 EG5F 
E>5EF65==OE ED54EF6 ?D54?D<OF<O (<EF>G=<> D<=4=E<D>64=<O 3 4<>DF<74F<O): 

?>EF46>4 E5D65D=>7> >5>DG4>64=<O < >><??5>FGNM<E =4 EG<<G 31 406,55 FOE. 
DG5?5= 557 ��%; 

?>EF46>4 >5>DG4>64=<O ED4=5=<O 44==OE < D575D6=OE >>?<= =4 EG<<G 47 
750,81 FOE. DG5?5= 557 ��%; 

?>EF46>4 >><<GF4F>D>6 =4 EG<<G 1 890,00 FOE. DG5?5= 557 ��%. 
ø �D<>5D5F5= ?D>7D4<<=>-4??4D4F=O= >><??5>E (���) E<EF5<O 



106 

46F><4F<G5E>>7> >?>65M5=<O (�%�) %�$'&-�=D>D< < >?NG4 4>F<64F<< E5D6<E4 
?DO<>= F5E=<G5E>>= ?>445D6>< (<EF>G=<> D<=4=E<D>64=<O 3 E<5L4==O=, 

4<>DF<74F<O, D545D4?L=O= 5N465F (EG5E<4<O D44<>G4EF>F=>= E?G655 =4 

D<=4=E>6>5 >55E?5G5=<5 74FD4F, E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE =4 =55 

DG=>F<=; EG5E<4<O =4 E>744=<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O <=D>D<4F<>==>= 

E<EF5<O <>=<F>D<=74 <4DLDGF>6 FD4D<>4 6 <=D>D<4F<>==>-

F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F», <>=<F>D<=74 < G?D46?5=<O E5FLN E6O7< 

>5M57> ?>?L7>64=<O; EG5E<4<O =4 E>744=<5 < 6=54D5=<5, DG=>F<>=<D>64=<5 

�6F><4F<7<D>64==>= E<EF5<O >55E?5G5=<O 557>?4E=>EF< D>EE<=E>>7> E57<5=F4 

<=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F» (�%��)) 3 514,17 FOE. 
DG5?5= 557 GG5F4 ��% (617,00 E GG5F>< ��%).  

� 2022 7>4G 74>?NG5= 4>7>6>D ?>EF46>< E ��� «�D4=L�&» >F 29.06.2022 
72022.98218  E> E<5L4==O< <EF>G=<>>< D<=4=E>6>7> >55E?5G5=<O: 617,00 FOE. 
DG5?5= = EG5E<4<O D44<>G4EF>F=>= E?G655 =4 D<=4=E>6>5 >55E?5G5=<5 74FD4F, 
E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE =4 =55 DG=>F<= 30,64% <?< 189,05 FOE. 
DG5?5= + EG5E<4<O =4 E>744=<5 &�' %%�� 4,84%  <?< 29,86 FOE. DG5?5=  + 
EG5E<4<O =4 E>744=<5 < 6=54D5=<5 �6F><4F<7<D>64==>= E<EF5<O >55E?5G5=<O 
557>?4E=>EF< D>EE<=E>>7> E57<5=F4 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< 
«�=F5D=5F» (�%��) 3,23%  <?< 19,93 FOE. DG5?5= + E>5EF65==O5 ED54EF64 61,29% 
<?< 378,16 FOE. DG5?5=): 

<EF>G=<> D<=4=E<D>64=<O 3 D545D4?L=O= 5N465F 

EG5E<4<O D44<>G4EF>F=>= E?G655 =4 D<=4=E>6>5 >55E?5G5=<5 74FD4F, 

E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE =4 =55 DG=>F<=: 

1 >><??5>F >5>DG4>64=<O E 189 048,80 DG5?5= E 1 D47 6 7>4 = 189,05 FOE. 
DG5?5=; 

EG5E<4<O =4 E>744=<5 < 6=54D5=<5, DG=>F<>=<D>64=<5 �6F><4F<7<D>64==>= 
E<EF5<O >55E?5G5=<O 557>?4E=>EF< D>EE<=E>>7> E57<5=F4 <=D>D<4F<>==>-

F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F» (�%��): 

1 >><??5>F >5>DG4>64=<O E 19 929,10 DG5?5= E 1 D47 6 7>4 = 19,93 FOE. DG5?5=; 
EG5E<4<O =4 E>744=<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O <=D>D<4F<>==>= 

E<EF5<O <>=<F>D<=74 <4DLDGF>6 FD4D<>4 6 <=D>D<4F<>==>-

F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F», <>=<F>D<=74 < G?D46?5=<O E5FLN E6O7< 

>5M57> ?>?L7>64=<O: 

1 >><??5>F >5>DG4>64=<O E 29 862,80 DG5?O E 1 D47 6 7>4 = 29,86 FOE. DG5?5=; 
<EF>G=<> D<=4=E<D>64=<O 3 4<>DF<74F<O: 

1 >><??5>F >5>DG4>64=<O E 378 159,30 DG5?5= E 1 D47 6 7>4 = 378,16 FOE. 
DG5?5= (315,13 FOE. DG5?5= 557 ��%). 

 

�EF>G=<> D<=4=E<D>64=<O 3 D545D4?L=O= 5N465F 

ø �>EF46>4 ED54EF6 74M<FO <56E5F56>7> 674<<>45=EF6<O < 
>D<?F>7D4D<G5E>>= 74M<FO ���, «�>=F<=5=F» 3 6 727,00 FOE. DG5?5= (<EF>G=<> 

D<=4=E<D>64=<O 3 D545D4?L=O= 5N465F, EG5E<4<O D44<>G4EF>F=>= E?G655 =4 

D<=4=E>6>5 >55E?5G5=<5 74FD4F, E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE =4 =55 



107 

DG=>F<=). 
�55E?5G5=<5 L<DD>64=<O ?5D544645<>= <=D>D<4F<< E5DF<D<F<D>64==O<< 

ED54EF64<< 74M<FO >4=4?>6 E6O7< =5>5E>4<<> 6 E>>F65FEF6<< E FD55>64=<O<< 
$545D4?L=OE 74>>=>6 $>EE<=E>>= $545D4F<< >F 27 <N?O 2006 7. 7 149-$� «�5 
<=D>D<4F<<, <=D>D<4F<>==OE F5E=>?>7<OE < > 74M<F5 <=D>D<4F<<», ?D<>47>6 
$545D4?L=>= E?G65O ?> F5E=<G5E>><G < M>E?>DF=><G >>=FD>?N $>EE<< >F 18 
D56D4?O 2013 7. 7 21 «�5 GF65D645=<< %>EF464 < E>45D64=<O >D74=<74F<>==OE < 
F5E=<G5E><E <5D ?> >55E?5G5=<N 557>?4E=>EF< ?5DE>=4?L=OE 44==OE ?D< <E 
>5D45>F>5 6 <=D>D<4F<>==OE E<EF5<4E ?5DE>=4?L=OE 44==OE» < >F 11 D56D4?O 
2013 7. 7 17 «�5 GF65D645=<< &D55>64=<= > 74M<F5 <=D>D<4F<<, =5 E>EF46?ONM5= 
7>EG44DEF65==GN F4==G, E>45D64M5=EO 6 7>EG44DEF65==OE <=D>D<4F<>==OE 
E<EF5<4E». 

���, «�>=F<=5=F» >55E?5G<645F >D<?F>7D4D<G5E>GN 74M<FG <=D>D<4F<<, 
?5D544645<>= ?> >F>DOFO< >4=4?4< E6O7<, <564G ?>>4?L=O<< 6OG<E?<F5?L=O<< 
E5FO<<, <E E57<5=F4<< < >F45?L=O<< >><?LNF5D4<<. 

�4 5475 ���, «�>=F<=5=F» EGM5EF6G5F 6>7<>6=>EFL >D74=<74F<< 
74M<M5==>7> G44?5==>7> 4>EFG?4 > E5F< 4?O <>5<?L=OE E>FDG4=<>>6. 

���, «�>=F<=5=F» <<55F E5DF<D<>4FO E>>F65FEF6<O $545D4?L=>= E?G65O 
?> F5E=<G5E>><G < M>E?>DF=><G >>=FD>?N $>EE<< < $545D4?L=>= E?G65O 
557>?4E=>EF<, GF> 445F 6>7<>6=>EFL <E?>?L7>64=<O <E 6 >D74=<74F<OE E 
?>6OL5==O<< FD55>64=<O<< > GD>6=N 557>?4E=>EF<. ���, «�>=F<=5=F» 
?>?=>EFLN E>>F65FEF6G5F FD55>64=<O< 74>>=4 > 74M<F5 ?5DE>=4?L=OE 44==OE, 
?D54NO6?O5<O< > E5F56><G >5>DG4>64=<N, < <>7GF ?D<<5=OFLEO 4?O 74M<FO E<EF5< 
?5DE>=4?L=OE 44==OE 4> ?5D6>7> >?4EE4 6>?NG<F5?L=> < 4?O 74M<FO E6545=<=, 
E>EF46?ONM<E 7>EG44DEF65==GN F4==G. 

� 2022 7>4G >EGM5EF6?5=4 ?>EF46>4 ED54EF6 74M<FO <56E5F56>7> 
674<<>45=EF6<O < >D<?F>7D4D<G5E>>= 74M<FO ���, «�>=F<=5=F» =4 >5MGN 
EG<<G 6 727,00 FOE. DG5?5=, D57G?LF4F5 >>F>D>= >EGM5EF6?5=> >5=>6?5=<5 
4??4D4F=>= ??4FD>D<O ���, «�>=F<=5=F» 6 D<?<4?5 $�'� «�$'&» 6 %<5<DE>>< 
D545D4?L=>< >>DG75 (6 LFG>), 6 D<?<4?5 $�'� «�$'&» 6 .6=>< < %565D>-
�46>47E>>< D545D4?L=OE >>DG74E (10 LFG>), 66<4G <EF5G5=<O <E ED>>4 E?G65O, 
D5>><5=4>64==>7> ?D><76>4<F5?5< (5>?55 5 ?5F). 

ø �>EF46>4 E5D65D=>7> >5>DG4>64=<O < >5>DG4>64=<O M?5>FD>?<F4=<O 4?O 
�45>D4F>D<< ?> <EE?54>64=<N ?5DE?5>F<6=OE F5E=>?>7<= < 5?>><D>64=<N G7D>7 3 
7 757,69 FOE. DG5?5= (<EF>G=<> D<=4=E<D>64=<O 3 D545D4?L=O= 5N465F, EG5E<4<O 

=4 E>744=<5 < 6=54D5=<5, DG=>F<>=<D>64=<5 �6F><4F<7<D>64==>= E<EF5<O 

>55E?5G5=<O 557>?4E=>EF< D>EE<=E>>7> E57<5=F4 <=D>D<4F<>==>-

F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F» (�%��)). 
� 2022 7>4G >EGM5EF6?5=4 ?>EF46>4 E5D65D=>7> >5>DG4>64=<O < >5>DG4>64=<O 

M?5>FD>?<F4=<O =4 >5MGN EG<<G 7 757,69 FOE. DG5?5=, 6 F>< G<E?5: 
E5D65D=>5 >5>DG4>64=<5: 2 LF. E 3 633 296,44 DG5?5= E 1 D47 6 7>4 = 7 266,59 

FOE. DG5?5=.  
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>5>DG4>64=<5 M?5>FD>?<F4=<O: 3 LF. E 163 699,87 DG5?5= E 1 D47 6 7>4 = 491,10 
FOE. DG5?5=. 

%5D65D=>5 >5>DG4>64=<5 4?O 6<DFG4?<74F<< =5>5E>4<<> 4?O D4765DFO64=<O < 
F5EF<D>64=<O ?D>7D4<<=OE D5L5=<= (?D>7D4<<=>7> >55E?5G5=<O) <=D>D<4F<>==>= 
557>?4E=>EF<, E5F56OE 674<<>45=EF6<=, <56E5F56OE M>D4=>6, E>6<5EF=> E 
>><??5>E>< IXIA. 

� �45>D4F>D<< ?> <EE?54>64=<N ?5DE?5>F<6=OE F5E=>?>7<= < 5?>><D>64=<N 
G7D>7 =5>5E>4<<> >55E?5G<FL 6>7<>6=>EFL ?>4>?NG5=<O F5?5>><<G=<>4F<>==OE 
GEFD>=EF6, E>>F65FEF6GNM<E ��%& $ 55950-2014. 

�5>DG4>64=<5 M?5>FD>?<F4=<O =5>5E>4<<> 6 E6O7< E F5<, GF> ?<F4=<5 
?>EF>O==O< F>>>< O6?O5FEO ?D5<<GM5EF65==O< 64D<4=F>< 4?O 
F5?5>><<G=<>4F<>==OE 4??4D4F=OE < 74?>6. 

ø �>EF46>4 <=>7>DG=>F<>=4?L=>7> GEFD>=EF64 (�$' F65F=>5, D>D<4F �3, 
F<? 3) 3 614,50 FOE. DG5?5= (<EF>G=<> D<=4=E<D>64=<O 3 D545D4?L=O= 5N465F, 

EG5E<4<O D44<>G4EF>F=>= E?G655 =4 D<=4=E>6>5 >55E?5G5=<5 74FD4F, E6O74==OE E 

6O?>?=5=<5< 6>7?>65==OE =4 =55 DG=>F<=, ED54EF64 =4 E>744=<5 < >55E?5G5=<5 

DG=>F<>=<D>64=<O 46F><4F<7<D>64==OE E<EF5< <>=<F>D<=74 ED54EF6 <4EE>6OE 

>><<G=<>4F<=). 
� 2022 7>4G >EGM5EF6?5=4 ?>EF46>4 <=>7>DG=>F<>=4?L=>7> GEFD>=EF64 6 

>>?<G5EF65 1 LF. =4 >5MGN EG<<G 614,50 FOE. DG?5=, E>>F65FEF6GNM57> E?54GNM<< 
FD55>64=<O<: D>D<4F 5G<47< 4?O ?5G4F< 3 �4 < �3, F65F=>EFL ?5G4F< 3 F65F=4O, 
?>445D6>4 PostScript 3 >5O74F5?L=4, ?<5> M<G?OF<O, >5O74F5?L=4O 46GEEF>D>==OO 
?5G4FL, D47D5L5=<5 ?5G4F< =5 <5=55 1200E1200, =4?<G<5 GEFD>=EF64 46F>?>44G< 
5G<47< 4?O E>4=<D>64=<O 3 >5O74F5?L=>, 46GEEF>D>==55 E>4=<D>64=<5, F65F=>EFL 
E>4=<D>64=<O 3 F65F=>5, D47D5L5=<5 E>4=<D>64=<O, =5 <5=55, dpi 3 600E600, 
DG=>F<< E>4=<D>64=<O 3 6 ?4?>G ?> ?D>F>>>?G SMB / e-mail / USB, 6OE>4=>= 
D>D<4F E>4=->5D47>6 3 PDF (<=>7>EFD4=<G=O= PDF), TIFF, JPEG, O7O> 
?>?L7>64F5?LE>>7> <=F5DD5=E4 3 DGEE><= (�$' F<? 3, �4<=O5 F5E=<G5E><5 
FD55>64=<O). 

�E?>?L7>64=<5 MF>7> 6<44 < F<?4 F5E=<>< FD55G5FEO 4?O 6O?>?=5=<O 
E?54GNM<E F5?5=: 

?>47>F>6>< =4 5G<46=>< =>E<F5?5 M>E?5DF<7 < <EE?54>64=<=, ?D>6545==OE E 
F5?LN GEF4=>6?5=<O =4?<G<O/>FEGFEF6<O ?D<7=4>>6 =4DGL5=<O 45=EF6GNM57> 
74>>=>44F5?LEF64 6 ED5D5 ED54EF6 <4EE>6>= <=D>D<4F<< < ED54EF6 <4EE>6OE 
>><<G=<>4F<=. �4==O5 74>?NG5=<O, E =44?564M<< >5D47>< >D>D<?5==O<< 
?D<?>65=<O<< (E G<F45<O<< E>4=->>?<O<< 6GD=4?>6 < 7475F, F65F=O<< >>?<O<< 
<7>5D465=<= < F.4.) =4?D46?ONFEO 6 F5DD<F>D<4?L=O5 G?D46?5=<O $>E>><=447>D4 
4?O 44?L=5=L57> E>EF46?5=<O ?D>F>>>?>6 < <E ?D54>EF46?5=<O 6 EG455=OE 
D475<D4F5?LEF64E; 

?5G4F< 6 D>D<4F4E �4 < �3 <54<4>4DF < >4DF >E=>6=OE �=>%��-<=>475=F>6 < 
=565?4F5?L=OE >D74=<74F<=, <<5NM<E D47?<G=O5 F65F>6O5 >5>7=4G5=<O < 
=4?D46?O5<OE 6 �4<<=<EFD4F<N �D57<45=F4 $>EE<=E>>= $545D4F<<;  
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<=D>7D4D<>< >F>5D465=<O 6=GFD5==<E ?D>F5EE>6 < 674<<>45=EF6<O E 
?>4D4745?5=<O<<, 4 F4>65 4?O <=D>7D4D<>< D57G?LF4F>6 D45>FO ?> =4?D46?5=<O<; 

E>4=<D>64=<O D476>D>F>6 ?5G4F=OE 7475F < 6GD=4?>6, 6 F>< G<E?5 D>D<4F4 �3 
6 D4<>4E 4=4?<74 < M>E?5DF<7O <E <4F5D<4?>6 =4 ?D54<5F 6OO6?5=<O ?D<7=4>>6 
=4DGL5=<O 74>>=>44F5?LEF64 $>EE<=E>>= $545D4F<<; 

>?5D4F<6=>= F65F=>= ?5G4F< >5N5<=OE >FG5F>6 < 4>>G<5=F>6 (5>?55 500 
?<EF>6 6 =5E>>?L><E M>75<??OD4E). 

ø �>EF46>4 ED54EF6 >D<?F>7D4D<G5E>>= 74M<FO < ?D54>EF46?5=<5 >?NG4 
4>F<64F<< E5D6<E4 ?DO<>= F5E=<G5E>>= ?>445D6>< 3 915,75 FOE. DG5?5= (<EF>G=<> 

D<=4=E<D>64=<O 3 D545D4?L=O= 5N465F, EG5E<4<O =4 E>744=<5 < >55E?5G5=<5 

DG=>F<>=<D>64=<O <=D>D<4F<>==>= E<EF5<O <>=<F>D<=74 <4DLDGF>6 FD4D<>4 6 

<=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F», <>=<F>D<=74 < 

G?D46?5=<O E5FLN E6O7< >5M57> ?>?L7>64=<O). 
� 2022 7>4G >EGM5EF6?5=4 ?>EF46>4 ED54EF6 >D<?F>7D4D<G5E>>= 74M<FO < 

?D54>EF46?5= >?NG 4>F<64F<< E5D6<E4 ?DO<>= F5E=<G5E>>= ?>445D6>< =4 >5MGN 
EG<<G 1 190,48 FOE. DG5?5=, 6 F>< G<E?5: 

?>EF46>4 ED54EF6 >D<?F>7D4D<G5E>>= 74M<FO: 1 LF. E 915 750,00 DG5?5= = 
915,75 FOE. DG5?5= (>4?<F4?L=O5 D4EE>4O); 

?D54>EF46?5=<5 >?NG4 4>F<64F<< E5D6<E4 ?DO<>= F5E=<G5E>>= ?>445D6><: 1 
LF. E 274 725,00 DG5?5= = 274,73 FOE. DG5?5= (F5>GM<5 D4EE>4O). 

�4=>= <7 >E=>6=OE DG=>F<= &5=FD4 <>=<F>D<=74 < G?D46?5=<O E5FLN E6O7< 
>5M57> ?>?L7>64=<O (&�' %%��) O6?O5FEO >55E?5G5=<5 E>744=<O < 66545=<5 6 
M>E??G4F4F<N, 4 F4>65 M>E??G4F4F<O <=D>D<4F<>==OE E<EF5<, E>744==OE 6> 
<E?>?=5=<5 ?>?=><>G<= $545D4?L=>= E?G65O ?> =447>DG 6 ED5D5 E6O7<, 
<=D>D<4F<>==OE F5E=>?>7<= < <4EE>6OE >><<G=<>4F<=. 

�>EF46>4 ED54EF6 >D<?F>7D4D<G5E>>= 74M<FO < ?D54>EF46?5=<5 >?NG4 
4>F<64F<< E5D6<E4 ?DO<>= F5E=<G5E>>= ?>445D6>< >EGM5EF6?5=4 E F5?LN E>744=<O 
74M<M5==>7> >4=4?4 674<<>45=EF6<O <564G E57<5=F>< G?D46?5=<O < 
<=D>D<4F<>==O<< E<EF5<4<< M>E??G4F<DG5<O<< < ??4=<DG5<O<< > M>E??G4F4F<< 
6 &�' %%��. �D<>5D5F5==O5 ED54EF64 >D<?F>7D4D<G5E>>= 74M<FO 
E5DF<D<F<D>64=O ?> FD55>64=<O< $%� $>EE<< 3 4??4D4F=>-?D>7D4<<=O5 
>D<?F>7D4D<G5E><5 L?N7O (���,). �<5EF5 E F5< ?D<>5D5F5==O5 ���, 
>55E?5G<64NF E>6<5EF<<>EFL E G65 M>E??G4F<DG5<O<< 6 E>EF465 <=D>D<4F<>==OE 
E<EF5< ED54EF64<< >D<?F>7D4D<G5E>>= 74M<FO. 

�E57> D4EE>4O ?> ?G=>FG «$476<F<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O 
46F><4F<7<D>64==OE E<EF5< < ?D<>5D5F5=<5 6OG<E?<F5?L=>= F5E=<><» 6 2022 7>4G 
E>EF46<?< 14 931 703,23 FOE. DG5?5=. 

 

�5D>?D<OF<O ?> D476<F<N < >55E?5G5=<N DG=>F<>=<D>64=<O E<EF5<O 
<>=<F>D<=74 ED54EF6 <4EE>6>= <=D>D<4F<< < <4EE>6OE >><<G=<>4F<= 

�4 D476<F<5 < >55E?5G5=<5 DG=>F<>=<D>64=<O E<EF5<O <>=<F>D<=74 ED54EF6 
<4EE>6>= <=D>D<4F<< < <4EE>6OE >><<G=<>4F<= 6 2022 7>4G =4?D46?5=> 83 780,98 
FOE. DG5?5=, 6 F>< G<E?5: 
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74 EG5F E>5EF65==OE ED54EF6 3 0,00 FOE. DG5?5=; 
74 EG5F ED54EF6 D545D4?L=>7> 5N465F4 3 83 780,98 FOE. DG5?5=, 6 F>< G<E?5: 
EG5E<4<O D44<>G4EF>F=>= E?G655 =4 D<=4=E>6>5 >55E?5G5=<5 74FD4F, 

E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE =4 =55 DG=>F<= 3 83 780,98 FOE. DG5?5=. 
ø �>45D=<74F<O �6F><4F<7<D>64==>= E<EF5<O <>=<F>D<=74 

F5?5D44<>65M4=<O $>EE<=E>>= $545D4F<< (�%�&$�) 3 14 106,98 FOE. DG5?5= 
(<EF>G=<> D<=4=E<D>64=<O 3 D545D4?L=O= 5N465F, EG5E<4<O D44<>G4EF>F=>= 

E?G655 =4 D<=4=E>6>5 >55E?5G5=<5 74FD4F, E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE 

=4 =55 DG=>F<=). 
� E>>F65FEF6<< E �?4=>< 45=EF6<= $>E>><=447>D4 ?> D54?<74F<< ?>?>65=<= 

$545D4?L=>7> 74>>=4 >F 30 45>45DO 2020 7. 7 535-$� «� 6=5E5=<< <7<5=5=<O 6 
EF4FLN 46 $545D4?L=>7> 74>>=4 «� E6O7<»», GF65D645==O< 74<5EF<F5?5< 
DG>>6>4<F5?O $>E>><=447>D4 �.�. %G55>F<=O< 09.02.2021 6 D544>F<< ??4=4, 
E>7?4E>64==>= ?<EL<>< $>E>><=447>D4 >F 09.02.2022 7 04%�-7034 «� 
E>7?4E>64=<< ?D54?>65=<= ?> <7<5=5=<N ??4=4 45=EF6<= $>E>><=447>D4» (44?55 3 
�?4= 45=EF6<=) $�'� «�$'&» ?>DGG5=> >D74=<7>64FL «?<?>F=GN» 7>=G =4 
F5DD<F>D<< 'D4?LE>>7> D545D4?L=>7> >>DG74 ?> 4?D>54F<< 6O5D4==>7> ?D<=F<?4 
>D74=<74F<< ?>6E5<5EF=>7> >>=FD>?O >455?L=OE E5F5= E <E?>?L7>64=<5< 
DG=>F<>=4?4 �6F><4F<7<D>64==>= E<EF5<O <>=<F>D<=74 F5?5D44<>65M4=<O 
$>EE<=E>>= $545D4F<< =4 >E=>65 44==OE, ?>?GG5==OE >F >?5D4F>D>6 >455?L=>7> 
F5?56<7<>==>7> 65M4=<O. 

� F5?OE D54?<74F<< 44==OE D45>F ?<EL<>< $>E>><=447>D4 >F 29.06.2022 
7 04%�-62815 ?>?GG5=> E>7?4E>64=<5 ?> D47D45>F4==><G $�'� «�$'&» 
F5E=<G5E>><G 7444=<N =4 6O?>?=5=<5 D45>F ?> <77>F>6?5=<N < ?>EF46>5 
F5E=<G5E><E ED54EF6 >>=FD>?O < <>4<D<>4F<< E?5F<4?L=>7> ?D>7D4<<=>7> 
>55E?5G5=<O �6F><4F<7<D>64==>= E<EF5<O <>=<F>D<=74 F5?5D44<>65M4=<O 
$>EE<=E>>= $545D4F<< 4?O 4?D>54F<< 6 «?<?>F=>=» 7>=5. 

�E=>64=<5< 4?O ?D>6545=<O D45>F, 6 F>< G<E?5 <77>F>6?5=<N < ?>EF46>5 
F5E=<G5E><E ED54EF6 >>=FD>?O O6?ONFEO FD55>64=<O, >?D545?5==O5 $545D4?L=O< 
74>>=>< >F «� E6O7<», '>47>< �D57<45=F4 $>EE<=E>>= $545D4F<< >F 12 <4O 2011 7. 
7 637 «� 6=5E5=<< <7<5=5=<= 6 '>47 �D57<45=F4 $>EE<=E>>= $545D4F<< >F 24 
<N=O 2009 7. 7 715 «�5 >5M5D>EE<=E><E >5O74F5?L=OE >5M54>EFG?=OE F5?5>4=4?4E 
< D44<>>4=4?4E» < 6 ?5D5G5=L, GF65D645==O= MF<< '>47><» < ?>EF4=>6?5=<5< 
�D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 14 <4O 2014 7. 7 434 «� D44<>G4EF>F=>= 
E?G655», ?D<>47>< $>E>><=447>D4 >F 24 <N=O 2021 7. 7 109 «�5 GF65D645=<< 
�>DO4>4 GEF4=>6>< 6 E5FOE E6O7< >?5D4F>D>6 E6O7<, >>47O64NM<E GE?G7< E6O7< 4?O 
F5?5= >455?L=>7> F5?56<7<>==>7> 65M4=<O, F5E=<G5E><E ED54EF6 >>=FD>?O 74 
E>5?N45=<5< D544>F<O<< F5?5>4=4?>6 (F5?5?D>7D4<<) < 65M4F5?O<< F5?5>4=4?>6, 
FD4=E?<DG5<OE 6 E5FOE E6O7< G>474==OE >?5D4F>D>6 E6O7<, 74>>=>44F5?LEF64 
$>EE<=E>>= $545D4F<< > ED54EF64E <4EE>6>= <=D>D<4F<<», 6 G4EF< >4E4NM5=EO 
<>=<F>D<=74 ED54EF6 <4EE>6>= <=D>D<4F<< < <4EE>6OE >><<G=<>4F<=, 
<=D>D<4F<>==>-F5?5>><<G=<>4F<>==OE E5F5= < <=D>D<4F<>==>7> ?D>EFD4=EF64. 
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&5E=<G5E>>5 ED54EF6> >>=FD>?O ?D54=47=4G5=> 4?O ?D<5<4 6 >455?L=>= E5F< 
>>=F5=F4, D4E?D>EFD4=O5<>7> 6 4=4?>7>6>< (4=4?>7>6>5 F5?56<45=<5) < F<DD>6>< 
(DVB-C, IPTV) D>D<4F4E, 57> >>=65DF4F<N < E64F<5 4?O ?5D544G< =4 5?<7?564M<= 
���%. 

� F5?OE D54?<74F<< G?D46?5=<O 44==O<< F5E=<G5E>>7> ED54EF64 >>=FD>?O < 
<=F57D4F<< <E 6 �6F><4F<7<D>64==GN E<EF5<G <>=<F>D<=74 F5?5D44<>65M4=<O 
$>EE<=E>>= $545D4F<< 6 2022 7>4G >EGM5EF6?5=4 55 <>45D=<74F<O < <>4<D<>4F<O. 

� D4<>4E D54?<74F<< «?<?>F=>=» 7>=O 6 2022 7>4G >?D545?5=O 6 (L5EFL) 
>?5D4F>D>6 >455?L=>7> F5?56<45=<O =4 E5F< >>F>DOE =5>5E>4<<> GEF4=>6<FL 
E?54GNM<5 F5E=<G5E><5 ED54EF64 >>=FD>?O: 

 

7 
�4<<5=>64=<5 

>?5D4F>D4 E6O7< 

$>D<4F ?5D544G< 
E<7=4?4  �4D5E <5EF4 =4E>645=<O 

>?5D4F>D4 E6O7< 
�>?GG4F5?L < 44D5E 4>EF46>< 

&<DD>6>5/4=4?>7 

1 
�� �4?L>>6 

�4E<?<= 
�=4F>?L56<G 

&<DD>6>5 (DV�-
C), 4=4?>7 

622940, %65D4?>6E>4O >5?4EFL, 
�D<7>D>4=O= D4=>=, ?. 

'5D=><EF>G<=E>, G?. 
�><>=>E>64, 4. 56 

$<?<4? $�'� «�$'&» 6 
'D4?LE>>< D545D4?L=>< >>DG75, 

%65D4?>6E>4O >5?4EFL, 7. �<6=<= 
&47<?, G?. �D4E=>4D<5=E>4O, 4. 38 

2 ��� «�=E5DF4» 
&<DD>6>5 (DV�-

C), 4=4?>7 

622052, %65D4?>6E>4O >5?4EFL, 
7. �<6=<= &47<?,  �?L<G4 G?., 

4. 86, >6. 108 

$<?<4? $�'� «�$'&» 6 
'D4?LE>>< D545D4?L=>< >>DG75, 

%65D4?>6E>4O >5?4EFL, 7. �<6=<= 
&47<?, G?. �D4E=>4D<5=E>4O, 4. 38 

3 
��� «'���-

&5?5>><» 
&<DD>6>5 (DV�-C) 

624090, %65D4?>6E>4O >5?4EFL, 
7. �5DE=OO �OL<4, ?D->F 
'E?5=E><=, 4. 1, >><. 801 

$<?<4? $�'� «�$'&» 6 
'D4?LE>>< D545D4?L=>< >>DG75, 

%65D4?>6E>4O >5?4EFL, 7. 
�>4F5D<=5GD7, G?. 8 �4DF4, 4. 51 

4 
��� «&�-
%5D6<E» 

&<DD>6>5 (DV�-
C), 4=4?>7 

623400, %65D4?>6E>4O >5?4EFL, 
7. �4<5=E>-'D4?LE><=,  

�G=46<=4 G?., 4. 6 

$<?<4? $�'� «�$'&» 6 
'D4?LE>>< D545D4?L=>< >>DG75, 

%65D4?>6E>4O >5?4EFL, 7. 
�4<5=E>-'D4?LE><=, G?. 

%>65FE>4O, 4. 14 

5 ��� «��%�%» &<DD>6>5 (IPTV) 
620026, %65D4?>6E>4O >5?4EFL, 

7. �>4F5D<=5GD7, G?. �4D?4 
�4D>E4, 4. 43 

$<?<4? $�'� «�$'&» 6 
'D4?LE>>< D545D4?L=>< >>DG75, 

%65D4?>6E>4O >5?4EFL, 7. 
�>4F5D<=5GD7, G?. 8 �4DF4, 4. 51 

6 
��� 

«-?5>FD>E6O7L-
�>4F5D<=5GD7» 

&<DD>6>5 (IPTV) 
620102, %65D4?>6E>4O >5?4EFL, 

7. �>4F5D<=5GD7, G?. 
$44<M564, 4. 60� 

$<?<4? $�'� «�$'&» 6 
'D4?LE>>< D545D4?L=>< >>DG75, 

%65D4?>6E>4O >5?4EFL, 7. 
�>4F5D<=5GD7, G?. 8 �4DF4, 4. 51 

 

�5M4O EF><<>EFL <>45D=<74F<< �6F><4F<7<D>64==>= E<EF5<O <>=<F>D<=74 
F5?5D44<>65M4=<O $>EE<=E>>= $545D4F<< (�%�&$�) 6 2022 7>4G E>EF46<?4 
14 106,98 FOE. DG5?5=, 6>?NG4NM4O ?>EF46>G 6 (L5EF<) ?D>7D4<<=>-4??4D4F=OE 
>><??5>E>6 «�?>> ?D<5<4 < ?5D544G< E<7=4?>6 >455?L=>7> F5?56<7<>==>7> 
65M4=<O» (��� &%�) =4 EG<<G 4 324,80 FOE. DG5?5=; < D45>FO ?> <>4<D<>4F<< 
E?5F<4?L=>7> ?D>7D4<<=>7> >55E?5G5=<O &5=FD4 E5>D4 44==OE �%�&$� (%�� 
&%�) =4 EG<<G 9 782,18 FOE. DG5?5=. 

� >4G5EF65 D476<F<O �6F><4F<7<D>64==>= E<EF5<O <>=<F>D<=74 
F5?5D44<>65M4=<O $>EE<=E>>= $545D4F<< < 44?L=5=L5= 46F><4F<74F<< ?D>F5EE>6 
<>=<F>D<=74 F5?5D44<>65M4=<O $>EE<=E>>= $545D4F<< =4 2022 7>4, 4 F4>65 6 
D4<>4E <>45D=<74F<< �6F><4F<7<D>64==>= E<EF5<O <>=<F>D<=74 
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F5?5D44<>65M4=<O $>EE<=E>>= $545D4F<< >?D545?5=> ?D>6545=<5 D45>F ?> 
<>4<D<>4F<< E?5F<4?L=>7> ?D>7D4<<=>7> >55E?5G5=<O &5=FD4 E5>D4 44==OE 
�6F><4F<7<D>64==>= E<EF5<O <>=<F>D<=74 F5?5D44<>65M4=<O $>EE<=E>>= 
$545D4F<<. 

�>4<D<>4F<O >EGM5EF6?5=4 6 F5?OE D4EL<D5=<O  DG=>F<>=4?L=>EF< 
�6F><4F<7<D>64==>= E<EF5<O <>=<F>D<=74 F5?5D44<>65M4=<O $>EE<=E>>= 
$545D4F<< 6 G4EF< <=F57D4F<< 6 =55 F5E=<G5E><E ED54EF6 >>=FD>?O 74 E>5?N45=<5< 
D544>F<O<< F5?5>4=4?>6 (F5?5?D>7D4<<) < 65M4F5?O<< F5?5>4=4?>6, FD4=E?<DG5<OE 
6 E5FOE E6O7< >?5D4F>D>6 E6O7<, >>47O64NM<E GE?G7< >455?L=>7> 65M4=<O, 
74>>=>44F5?LEF64 $>EE<=E>>= $545D4F<< > ED54EF64E <4EE>6>= <=D>D<4F<< 3 
?D>7D4<<=>-4??4D4F=OE >><??5>E>6 «�?>> ?D<5<4 < ?5D544G< E<7=4?>6 >455?L=>7> 
F5?56<7<>==>7> 65M4=<O», 4 F4>65 E>744=<O <=F5DD5=E4 =4EFD>=>< < D45>FO E 
44==O< >><??5>E4<<.  

�E=>6=O<< 7444G4<< <>4<D<>4F<< �6F><4F<7<D>64==>= E<EF5<O 
<>=<F>D<=74 F5?5D44<>65M4=<O $>EE<=E>>= $545D4F<< O6?ONFEO:  

>55E?5G5=<5 6>7<>6=>EF< G44?5==>7> G?D46?5=<O =4EFD>=>4<< < 
>>=D<7GD4F<O<< &%�; 

>55E?5G5=<5 6>7<>6=>EF< G44?5==>7> >5=>6?5=<O E?5F<4?L=>7> 
?D>7D4<<=>7> >55E?5G5=<O F5E=<G5E><E ED54EF6 >>=FD>?O; 

>55E?5G5=<5 <>=<F>D<=74 E>EF>O=<O &%�; 
>55E?5G5=<5 6>7<>6=>EF< 6O5>D4 =4 «�?>>4E ?D<5<4 < 4=4?<74 E<7=4?>6» 

&%� >4> <EF>G=<>4 ?>?GG5=<O >>=F5=F4. 
$45>FO ?D54GE<4FD<64?<: 
4>546?5=<5 6 �6F><4F<7<D>64==GN E<EF5<G <>=<F>D<=74 F5?5D44<>65M4=<O 

$>EE<=E>>= $545D4F<< =>6>7> F<?4 GEFD>=EF64 ?D<5<4 E<7=4?>6 3 F5E=<G5E>>7> 
ED54EF64 >>=FD>?O; 

D54?<74F<N <=F5DD5=E4 ?>?L7>64F5?5= 4?O D45>F ?> =4EFD>=>5 < 
>>=D<7GD4F<< F5E=<G5E><E ED54EF6 >>=FD>?O; 

D54?<74F<N <=F5DD5=E4 >>=FD>?O E>EF>O=<O < D45>F>E?>E>5=>EF< 
>><?>=5=F>6 F5E=<G5E><E ED54EF6 >>=FD>?O; 

D54?<74F<N 6>7<>6=>EF< 6O5>D4 F5E=<G5E><E ED54EF6 >>=FD>?O >4> 
<EF>G=<>4 ?>?GG5=<O >>=F5=F4 4?O «�?>>>6 ?D<5<4 < 4=4?<74 E<7=4?>6». 

'>474==O5 D45>FO >55E?5G<?< 6>7<>6=>EFL ?>?GG5=<O 6 �6F><4F<7<D>64==>= 
E<EF5<5 <>=<F>D<=74 F5?5D44<>65M4=<O $>EE<=E>>= $545D4F<< >>=F5=F4, 
D4E?D>EFD4=O5<>7> >?5D4F>D4<< E6O7<, >>47O64NM<<< GE?G7< >455?L=>7> 65M4=<O. 

&4><< >5D47><, ?> D57G?LF4F4< D45>F >55E?5G5=>:  
?>?GG5=<5 5?>>4<< ?D<5<4 < 4=4?<74 E<7=4?>6 �6F><4F<7<D>64==>= E<EF5<O 

<>=<F>D<=74 F5?5D44<>65M4=<O $>EE<=E>>= $545D4F<< >>=F5=F4, ?5D544645<>7> E 
F5E=<G5E><E ED54EF6 >>=FD>?O, GEF4=>6?5==>7> =4 E5FOE >?5D4F>D>6, >>47O64NM<E 
GE?G7< >455?L=>7> 65M4=<O; 

G?D46?5=<5 G44?5==O<< F5E=<G5E><<< ED54EF64 >>=FD>?O < <E =4EFD>=>4. 
ø $4EL<D5=<5 �6F><4F<7<D>64==>= E<EF5<O <>=<F>D<=74 F5?5D44<>65M4=<O 
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$>EE<=E>>= $545D4F<< (�%�&$�) ?GF5< ?>EF46>< (?5D544G<) ?5D5=>E=OE 
?D>7D4<<=>-4??4D4F=OE >><??5>E>6 «�?>> ?D<5<4 < 4=4?<74 E<7=4?>6» (��� 
����%) < >>474=<O GE?G7 ?> <E =4EFD>=>5 < <=F57D4F<< 6 �%�&$� 3 18 040,00 FOE. 
DG5?5= (<EF>G=<> D<=4=E<D>64=<O 3 D545D4?L=O= 5N465F, EG5E<4<O 

D44<>G4EF>F=>= E?G655 =4 D<=4=E>6>5 >55E?5G5=<5 74FD4F, E6O74==OE E 

6O?>?=5=<5< 6>7?>65==OE =4 =55 DG=>F<=). 
� 2022 7>4G ?D<>5D5F5=> >5>DG4>64=<5 <>=<F>D<=74 >>=F5=F4, 

D4E?D>EFD4=O5<>7> 6 E5FOE >455?L=>7> < MD<D=>7> F5?5D44<>65M4=<O, 4?O 
D4EL<D5=<O �6F><4F<7<D>64==>= E<EF5<O <>=<F>D<=74 F5?5D44<>65M4=<O 
$>EE<=E>>= $545D4F<< =4 F5DD<F>D<< &5=FD4?L=>7> D545D4?L=>7> >>DG74 
(7. �>E>64), ?GF5< 4>>E=4M5=<O 55 10 (45EOFLN) ?5D5=>E=O<< ?D>7D4<<=>-
4??4D4F=O<< >><??5>E4<< «�?>> ?D<5<4 < 4=4?<74 E<7=4?>6» < >>474=<O GE?G7 ?> 
<E =4EFD>=>< < <=F57D4F<<. 

$4EL<D5=<5 E<EF5<O <>=<F>D<=74 ?>76>?<?> >55E?5G<FL: 
=5?D5DO6=O= >DG7?>EGF>G=O= <>=<F>D<=7 MD<D=>7> F5?5D44<>65M4=<O 6 

4=4?>7>6OE < F<DD>6OE EF4=44DF4E < 46F><4F<7<D>64==>5 >?>65M5=<5 > ?5D5DO64E 
6 65M4=<<; 

?D54>EF46?5=<5 74?<E5= >>=F5=F4 65M4=<O; 
?>?GG5=<5, E5>D < EFDG>FGD<D>64==>5 ED4=5=<5 4G4<> < 6<45> <=D>D<4F<< 

>>=FD>?<DG5<OE ?D>7D4<< 4?O >55E?5G5=<O ?D>F5EE4 <>=<F>D<=74 ED54EF6 
<4EE>6>= <=D>D<4F<< < <4EE>6OE >><<G=<>4F<=.  

�4<= ?5D5=>E=>= 5?>> ?D<5<4 < 4=4?<74 E<7=4?>6 >55E?5G<? >4=>6D5<5==O= 
?D<5< 4 4=4?>7>6OE F5?56<7<>==OE <?< D44<> >4=4?>6, 46GE F<DD>6OE 
<G?LF<??5>E>6 EF4=44DF>6 DVB-T/T2/C < >4=>7> IPTV ?>F>>4, >4=>6D5<5==O= 
<=EFDG<5=F4?L=O= <>=<F>D<=7 16 >4=4?>6, >4=>6D5<5==O= 6<7G4?L=O= >>=FD>?L < 
F<>?<G5E>GN 74?<EL 12 >4=4?>6, ED4=5=<5 D57G?LF4F>6 74?<E< =5 <5=55 30 4=5=, 
6O7DG7>G DD47<5=F>6 74?<E< =4 E5D65D ED4=5=<O 44==OE <?< =4 ?N5>= 4DG7>= 4<E>. 

�5M4O EF><<>EFL ?D<>5D5F5==OE 10 (45EOF<) >><??5>F>6 >5>DG4>64=<O < 
>>474=<O GE?G7 ?> <E =4EFD>=>5 < <=F57D4F<< 6 �%�&$� E>EF46<?4 18 040,00 FOE. 
DG5?5= E F5=>= 74 5?<=<FG 1 804 000,00 DG5?5=. 

3. $<=4=E>6>5 >55E?5G5=<5 D4EE>4>6 74 EG5F ED54EF6, ?D54>EF46?5==OE $�'� 
«�$'&» <7 D575D6=>7> D>=44 �D46<F5?LEF64 $>EE<=E>>= $545D4F<<:  
51 634,00 FOE. DG5?5= [E6545=<O, G>474==O5 6 =4EF>OM5< ?G=>F5, O6?ONFEO 
E?G655=>= <=D>D<4F<5= >7D4=<G5==>7> D4E?D>EFD4=5=<O, < =4?D46?ONFEO 6 
?>DO4>5, GEF4=>6?5==>< 74>>=>44F5?LEF6>< $>EE<=E>>= $545D4F<<] 3  (<EF>G=<> 

D<=4=E<D>64=<O 3 D545D4?L=O= 5N465F). 
�E57> >5N5< D4EE>4>6 =4 <5D>?D<OF<O ?> D476<F<N < >55E?5G5=<N 

DG=>F<>=<D>64=<O E<EF5<O <>=<F>D<=74 ED54EF6 <4EE>6>= <=D>D<4F<< < <4EE>6OE 
>><<G=<>4F<= 6 2022 7>4G E>EF46<? 83 780,98 FOE. DG5?5=. 

 

�5D>?D<OF<O ?> ?D<>5D5F5=<N ?D>G57> >5>DG4>64=<O 
�4 <5D>?D<OF<O ?> ?D<>5D5F5=<N ?D>G57> >5>DG4>64=<O 6 2022 7>4G 

=4?D46?5=> 15 429,61 FOE. DG5?5=, 6 F>< G<E?5: 
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74 EG5F E>5EF65==OE ED54EF6 3 8 361,43 FOE. DG5?5=; 
74 EG5F ED54EF6 D545D4?L=>7> 5N465F4 3 7 068,18 FOE. DG5?5=, 6 F>< G<E?5: 
EG5E<4<O D44<>G4EF>F=>= E?G655 =4 D<=4=E>6>5 >55E?5G5=<5 74FD4F, 

E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE =4 =55 DG=>F<= 3 7 068,18 FOE. DG5?5=. 
�EF>G=<> D<=4=E<D>64=<O 3 E>5EF65==O5 ED54EF64 

ø �EGM5EF6?5=4 ?>EF46>4 < <>=F46 F5E=<G5E><E ED54EF6 557>?4E=>EF< 3  
7 330,57 FOE. DG5?5= 557 GG5F4 =4?>74 =4 4>546?5==GN EF><<>EFL (<EF>G=<> 

D<=4=E<D>64=<O 3 4<>DF<74F<O). 
� 2022 7>4G ?D><76545=4 74<5=4 45=EF6GNM<E F5E=<G5E><E E<EF5< 

557>?4E=>EF< (&%�) GEF4=>6?5==OE ?> 44D5EG: �>E>64, �5D55=56E>4O =45., 4>< 7, 
EFD. 15; 6 E6O7< E ?5D5E>4>< =4 54<=GN E<EF5<G &%�, >E=>64==GN =4 E>6D5<5==>= 
F5E=<G5E>>= < ?D>7D4<<=>= 5475 D>EE<=E>>7> ?D><76>4EF64, GF> ?>76>?<F 6 
44?L=5=L5< MDD5>F<6=> ?D><76>4<FL <>45D=<74F<N < D5<>=F E<EF5< &%�.  

ø � F5?OE ?D<6545=<O > 54<=><G EF<?N ?D<5<=>= 75=5D4?L=>7> 4<D5>F>D4 
$�'� «�$'&», =5?>ED54EF65==> 6O?>?=ONM5= ?D54EF46<F5?LE><5 DG=>F<< < 
>D74=<74F<< D45>G57> <5EF4 E5>D5F4DO >EGM5EF6?5=4 ?>EF46>4 EF>=>< D5E5?L5= ?> 
74>?NG5==><G 6 2021 7>4G 4>7>6>DG E ��� «�D>�555?L» 3 340,64 FOE. DG5?5= 557 
��% (<EF>G=<> D<=4=E<D>64=<O 3 4<>DF<74F<O).  

ø � D4<>4E =5>5E>4<<>EF< <>=F464 =>6>= 46F><4F<G5E>>= E<EF5<O 
?>64D=>= E<7=4?<74F<< < E<EF5<O >?>65M5=<O < G?D46?5=<O M64>G4F<5= 6 
?><5M5=<< '?D46?5=<O ?> �?F4=E>><G >D4N D<?<4?4 $�'� «�$'&» 6 %$� ?> 
44D5EG: �?F4=E><= >D4=, 7. �4D=4G?. G?. �=F5D=4F<>=4?L=4O 4. 72, ?><5M. �5; 6 2022 
7>4G ?D>6545=4 D47D45>F>4 ?D>5>F=>= 4>>G<5=F4F<< =4 EG<<G 46,08 FOE. DG5?5= 557 
��% (<EF>G=<> D<=4=E<D>64=<O 3 4<>DF<74F<O). 

ø � 2022 7>4G ?D< ?D>6545=<< F5E=<G5E>>7> >5E?G6<64=<O E<EF5< 
65=F<?OF<< < >>=4<F<>=<D>64=<O 6>74GE4, GEF4=>6?5==OE 6 ?><5M5=<< E5D65D=>= 
?> 44D5EG 7. �>E>64, G?. �>?>>64O 4. 3, EFD. 5, 5O?4 6OO6?5=4 =5<E?D46=>EFL 2-E 
GEF4=>6?5==OE E??<F-E<EF5<, =4 >>F>DO5 E>EF46?5=O 4>FO 45D5>F4F<< < 
74>?NG5=<O > F5E=<G5E>>< E>EF>O=<< >5>DG4>64=<O. % F5?LN <<=<<<74F<< D<E>>6 
?5D57D564 < 6OE>44 <7 EFD>O 4>D>7>EF>OM57> E5D65D=>7>, F5?5>><<G=<>4F<>==>7> 
>5>DG4>64=<O, 7445=EF6>64==>7> 6 5654=56=>= D45>F5, 5O? >EGM5EF6?5= 45<>=F46 
EF4D>7> < <>=F46 =>6>7> 4=4?>7<G=>7> ?> E4D4>F5D<EF<>4< >5>DG4>64=<O 4?O 
E>744=<O >?F<<4?L=OE >?<<4F<G5E><E GE?>6<= D45>FO E5D65D=>= 3 459,14 FOE. 
DG5?5= 557 GG5F4 ��% (<EF>G=<> D<=4=E<D>64=<O 3 4<>DF<74F<O).  

ø � D4<>4E >?F<<<74F<< D47<5M5=<O EFDG>FGD=OE ?>4D4745?5=<= 6 >D<E=OE 
?><5M5=<OE ?> 44D5EG �5D55=56E>4O =45., 4. 7, EFD.15 6 2022 7>4G 5O? 74>?NG5= 
4>7>6>D =4 ?>EF46>G < <>=F46 >D<E=>= ?5D57>D>4>< =4 EG<<G 185,00 FOE. DG5?5= 
557 GG5F4 ��% (<EF>G=<> D<=4=E<D>64=<O 3 4<>DF<74F<O). 

�EF>G=<> D<=4=E<D>64=<O 3 D545D4?L=O= 5N465F 

ø � D<?<4?5 $�'� «�$'&» 6 &5=FD4?L=>< D545D4?L=>< >>DG75 6 D4<>4E 
6O?>?=5=<O FD55>64=<= ?>EF4=>6?5=<O �D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 30 
>>FO5DO 2014 7. 7 1130 «�5 GF65D645=<< FD55>64=<= > 4=F<F5DD>D<EF<G5E>>= 
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74M<M5==>EF< >5N5>F>6 (F5DD<F>D<=), =4E>4OM<EEO 6 6545=<< �<=<EF5DEF64 
F<DD>6>7> D476<F<O, E6O7< < <4EE>6OE >><<G=<>4F<= $>EE<=E>>= $545D4F<<, 
$545D4?L=>= E?G65O ?> =447>DG 6 ED5D5 E6O7<, <=D>D<4F<>==OE F5E=>?>7<= < 
<4EE>6OE >><<G=<>4F<=, $545D4?L=>7> 475=FEF64 E6O7<, $545D4?L=>7> 475=FEF64 ?> 
?5G4F< < <4EE>6O< >><<G=<>4F<O<, 4 F4>65 ?>4654><EF65==OE << >D74=<74F<=, < 
D>D<O ?4E?>DF4 557>?4E=>EF< F4><E >5N5>F>6 (F5DD<F>D<=)» >5N5>FO 2 >4F57>D<< 
4>?6=O 5OFL >5>DG4>64=O E<EF5<4<< >>=FD>?O < G?D46?5=<O 4>EFG?><. � 
E>>F65FEF6<< E �>F>< >><??5>E=>= ?D>65D>< 45OF5?L=>EF< D<?<4?4 $�'� «�$'&» 
6 &5=FD4?L=>< D545D4?L=>< >>DG75 =4 >5N5>F5 ?> 44D5EG: 7. �>E>64,  
G?. %F4D>>DO<E>4O, 4>< 13, EFD>5=<5 2 44==4O E<EF5<4 >FEGFEF6>64?4. 

� E6O7< E G5< 6 2022 7>4G 5O? 74>?NG5= 4>7>6>D =4 6O?>?=5=<5 D45>F E F5?LN 
>E=4M5=<O E<EF5<>= >>=FD>?O < G?D46?5=<O 4>EFG?>< (%�'�) 744=<= GG55=>7> 
F5=FD4 D<?<4?4 $�'� «�$'&» 6 &5=FD4?L=>< D545D4?L=>< >>DG75, 6>?NG4NM<5 6 
E55O ?>EF46>G >5>DG4>64=<O, 6O?>?=5=<5 <>=F46=OE < ?GE>>-=4?44>G=OE D45>F =4 
>5MGN EG<<G 4 145,41 FOE. DG5?5= (<EF>G=<> D<=4=E<D>64=<O 3 D545D4?L=O= 

5N465F, EG5E<4<O D44<>G4EF>F=>= E?G655 =4 D<=4=E>6>5 >55E?5G5=<5 74FD4F, 

E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE =4 =55 DG=>F<=). 
� D57G?LF4F5 6O?>?=5=<O >5O74F5?LEF6 ?> 4>7>6>DG E>744=4 < <E?D46=> 

DG=>F<>=<DG5F %�'�, D4E?>?>65==4O ?> 44D5EG: 7. �>E>64, G?. %F4D>>DO<E>4O, 4. 
13, EFD. 1, 2. 

ø �>45D=<74F<O E<EF5<O >E65M5=<O >>=D5D5=F-74?4 %<FG4F<>==>7> F5=FD4 
$�'� «�$'&» 6 ?><5M5=<<, D4E?>?>65==>< ?> 44D5EG: 7. �>E>64, �<F4=7>D>4E><= 
?D>574, 4. 7, EFD. 2, 4 MF46 3 2 282,97 FOE. DG5?5= (<EF>G=<> D<=4=E<D>64=<O 3 

D545D4?L=O= 5N465F, EG5E<4<O D44<>G4EF>F=>= E?G655 =4 D<=4=E>6>5 

>55E?5G5=<5 74FD4F, E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE =4 =55 DG=>F<=). 
�E=>6=>= ED5D>= 45OF5?L=>EF< $�'� «�$'&» O6?ONFEO >D74=<74F<>==O5 < 

F5E=<G5E><5 <5D>?D<OF<O ?> >55E?5G5=<N =44?564M57> <E?>?L7>64=<O D44<>G4EF>F 
< D44<>G4EF>F=OE >4=4?>6, D44<>M?5>FD>==OE ED54EF6 ($-%) < (<?<) 
6OE>>>G4EF>F=OE GEFD>=EF6 (�'') 7D4644=E>>7> =47=4G5=<O, ?D>6545=<5 M>E?5DF<7 
6 GEF4=>6?5==>= ED5D5, 4 F4>65 GG4EF<5 6 ?D54>EF46?5=<< 7>EG44DEF65==OE GE?G7. 

%>7?4E=> ?>4?G=>FG «>» ?G=>F4 2 �D46<? ?D54>EF46?5=<O EG5E<4<< <7 
D545D4?L=>7> 5N465F4 D44<>G4EF>F=>= E?G655 =4 D<=4=E>6>5 >55E?5G5=<5 74FD4F, 
E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE =4 =55 DG=>F<=, GF65D645==OE 
?>EF4=>6?5=<5< �D46<F5?LEF64 $>EE<=E>>= $545D4F<< >F 23 D56D4?O 2018 7. 7 191 
=4 $�'� «�$'&» 6>7?>65=4 DG=>F<O ?> >55E?5G5=<N 45OF5?L=>EF< 
%<FG4F<>==>7> F5=FD4 $545D4?L=>= E?G65O ?> =447>DG 6 ED5D5 E6O7<, 
<=D>D<4F<>==OE F5E=>?>7<= < <4EE>6OE >><<G=<>4F<=. 

$57G?LF4F>< 6O?>?=5=<O >5O74F5?LEF6 ?> 4>7>6>DG O6<?4EL 
<>45D=<7<D>64==4O < DG=>F<>=<DGNM4O =44?564M<< >5D47>< E<EF5<4 >E65M5=<O 
>>=D5D5=F-74?4 %<FG4F<>==>7> F5=FD4. %4D4>F5D<EF<>< ?> >E65M5==>EF< D45>G<E 
<5EF ?D<6545=O > FD55>64=<O< %4=�<= 1.2.3685-21 «�<7<5=<G5E><5 =>D<4F<6O < 
FD55>64=<O > >55E?5G5=<N 557>?4E=>EF< < (<?<) 5576D54=>EF< 4?O G5?>65>4 
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D4>F>D>6 ED54O >5<F4=<O». 'EF4=>6>4 E65F>4<>4=>7> >5>DG4>64=<O 674<5= 
747>D47DO4=OE ?N<<=5EF5=F=OE ?4<? 7=4G<F5?L=> E>>D4F<F D4EE>4O ?D54?D<OF<O 
=4 >5E?G6<64=<5, D5<>=F EGM5EF6GNM57>, 4 F4>65 =4 >??4FG M?5>FD>M=5D7<<.  

ø �>EF46>4 6>4>7D5==>7> >>F?4 E >5>DG4>64=<5<, 6O?>?=5=<5 <>=F46=OE < 
?GE>>-=4?44>G=OE D45>F, 45<>=F46 EGM5EF6GNM57> >>F?4 E >5>DG4>64=<5< 6 
44<<=<EFD4F<6=>< 744=<<, D4E?>?>65==>7> ?> 44D5EG: 7. %454D>6E>, ?D>574 
�DFOLE><=, 4. 17 3 639,80 FOE. DG5?5= (<EF>G=<> D<=4=E<D>64=<O 3 D545D4?L=O= 

5N465F, EG5E<4<O D44<>G4EF>F=>= E?G655 =4 D<=4=E>6>5 >55E?5G5=<5 74FD4F, 

E6O74==OE E 6O?>?=5=<5< 6>7?>65==OE =4 =55 DG=>F<=). 
%>7?4E=> ?D>6545==>7> >5E?54>64=<O F5E=<G5E>>7> E>EF>O=<O >5>DG4>64=<O 

E<EF5<O >F>??5=<O D4E?>?>65==>= 6 744=<< D<?<4?4 $�'� «�$'&» 6 
�4?L=56>EF>G=>< D545D4?L=>< >>DG75, ?> 44D5EG: 7. %454D>6E>, ?D>574 �DFOLE><=, 
4. 17, 5O?> 6O44=> 74>?NG5=<5 >F 25.03.2022 >5 464D<==>< E>EF>O=<< 
>5>DG4>64=<O: 6 =<6=5= G4EF< >>D?GE4 >>F?4 D4E?D>EFD4=O5FEO 4>F<6=4O >>DD>7<O, 
4O<>74D=4O G4EFL >>F?4 ?>>DOF4 E?>5< >>4?<=O, ?D<EGFEF6G5F D<7<G5E><= <7=>E 
45F4?5= >7=56>= G4EF< 6<4>>F>??<6=>= 7>D5?><. �EF5> ED>> E?G65O >>F?4 2008 
7>44 6O?GE>4, 6<4>>F>??<6=>= 7>D5?>< 2012 7>44 6O?GE>4 (=4 >E=>64=<< 
D5>><5=44F<= 746>44-<77>F>6<F5?O ED>> E?G65O >>F?4 < 7>D5?>< 10 ?5F). 

% F5?LN =54>?GM5=<O EDO64 >F>?<F5?L=>7> E57>=4 < ?>445D64=<O 
=>D<4?L=>7> F5<?5D4FGD=>7> D56<<4 6 ?><5M5=<OE 44<<=<EFD4F<6=>7> 744=<O 
D<?<4?4 $�'� «�$'&» 6 �4?L=56>EF>G=>< D545D4?L=>< >>DG75 6 2022 7>4G 
74>?NG5= 4>7>6>D =4 �>EF46>4 6>4>7D5==>7> >>F?4 E >5>DG4>64=<5<, 6O?>?=5=<5 
<>=F46=OE < ?GE>>-=4?44>G=OE D45>F, 45<>=F46 EGM5EF6GNM57> >>F?4 E 
>5>DG4>64=<5< 6 44<<=<EFD4F<6=>< 744=<< =4 >5MGN EG<<G 1 100,00 FOE. DG5?5=. 

� D57G?LF4F5 6O?>?=5=<O >5O74F5?LEF6 ?> 4>7>6DG >EGM5EF6?5=O ?>EF46>4 
6>4>7D5==>7> >>F?4 E >5>DG4>64=<5<, <>=F46=O5 < ?GE>>-=4?44>G=O5 D45>FO, 
45<>=F46 EGM5EF6GNM57> 6>4>7D5==>7> >>F?4 E >5>DG4>64=<5<. 

�E57> D4EE>4O ?> ?G=>FG «�4?<F4?L=O5 6?>65=<O 6 ?D>G55 >5>DG4>64=<5» 6 
2022 7>4G E>EF46<?< 15 429,61 FOE. DG5?5=. 

 

�D>6545=<5 =4GG=>-<EE?54>64F5?LE><E D45>F 
�4 ?D>6545=<5 =4GG=>-<EE?54>64F5?LE><E D45>F 6 2022 7>4G 5O?> 

<7D4EE>4>64=> 19 435,22 FOE. DG5?5=, 6 F>< G<E?5 74 EG5F: 
4<>DF<74F<< 3 9 435,22 FOE. DG5?5= (557 GG5F4 =4?>74 =4 4>546?5==GN 

EF><<>EFL); 
D>=44 =4GG=>-F5E=<G5E>>7> D476<F<O 3 10 000,00 FOE. DG5?5=; 
D545D4?L=>7> 5N465F4 3 0,00 FOE. DG5?5=. 
ø � D4<>4E D54?<74F<< 1 MF4?4 ?D>5>F4 EFD4F57<G5E>>7> D476<F<O 715 

«�FD4E?564O <=F57D<D>64==4O F<DD>64O E<EF5<4» ?D>6545=O =4GG=>-
<EE?54>64F5?LE><5 D45>FO ?> F5<5 «�7GG5=<5 6>7<>6=>EF5= <E>GEEF65==>7> 
<=F5??5>F4, <4L<==>7> >5GG5=<O < =5=D>==OE E5F5= 6 G4EF< 4=4?<74 
<=D>D<4F<>==>7> ?D>EFD4=EF64» (<EF>G=<> D<=4=E<D>64=<O 3 D>=4 =4GG=>-

F5E=<G5E>>7> D476<F<O) 3 10 000,00 FOE. DG5?5= 557 GG5F4 ��%. 
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��$ ?D54GE<>FD5=O >5>E=>64=<5 E>744=<O < D47D45>F>< 4DE<F5>FGDO 
(4DE<F5>FGD=>7> >5?<>4) >>=5G=>= E<EF5<O =4 >E=>65 >><??5>E=>7> <EE?54>64=<O 
EGM5EF6GNM<E < ?5DE?5>F<6=OE F5E=>?>7<= ?> D45>F5 E F5>EF>6O<< < <54<4 
44==O<< (<G?LF<<>44?L=O<< <54<4<4F5D<4?4<<), ?>76>?ONM<<< 6OO6?OFL 
7444==O5 E<7=4FGDO <7 4=4?<7<DG5<OE 44==OE, 4 F4>65 D47D45>F>4 <4>5F4, 
D54?<7GNM57> <5F>4O < 4?7>D<F<O, ?D54?4745<O5 > D54?<74F<< 6 >E=>6=OE 
?5D6>>G5D54=OE ?>4E<EF5<4E. &4>65 E>744= <4>5F 46F><4F<7<D>64==>= E<EF5<O, 
45<>=EFD<DGNM<= D45>FG ?D54?>65==OE 4?7>D<F<>6 ?> 6OO6?5=<N < 
D4E?>7=464=<N 74?D5M5==>= <=D>D<4F<<. 

ø � 2021 7>4G 5O? 74>?NG5= 4>7>6>D =4 6O?>?=5=<5 =4GG=>-
<EE?54>64F5?LE>>= D45>FO =4 F5<G «$47D45>F>4 ?D>5>F4 <5F>4<>< D4EG5F>6 
M?5>FD><47=<F=>= E>6<5EF<<>EF< < GE?>6<= <E?>?L7>64=<O D44<>M?5>FD>==OE 
ED54EF6 F5?56<7<>==>7> 65M4=<O, ��' '� 65M4=<O, F<DD>6>7> D44<>65M4=<O 6 
EF4=44DF4E DAB, DRM+ < $���%» < 6O?>?=5=<5 D45>F ?> =4GG=>-F5E=<G5E>><G 
E>?D>6>645=<N D4EE<>FD5=<O  ��$' 6>?D>E4 > ?D>5>F5 <5F>4<>< D4EG5F>6 -�% < 
GE?>6<= <E?>?L7>64=<O $-% F5?56<7<>==>7> 65M4=<O, ��' '� 65M4=<O, F<DD>6>7> 
D44<>65M4=<O 6 EF4=44DF4E DAB, DRM+ < $���%, L<DD «�5F>4<>4 &$�» 6 
D47<5D5 5 000,00 FOE. DG5?5= 557 ��%.  

� >FG5F=>< ?5D<>45 6O?>?=5=O D45>FO ?> 6F>D><G MF4?G =4 EG<<G 2 000,00 
FOE. DG5?5= (<EF>G=<> D<=4=E<D>64=<O 3 4<>DF<74F<O). � D4<>4E MF4?4 ?D>6545=O 
D45>FO ?> =4GG=>-F5E=<G5E>><G E>?D>6>645=<N D4EE<>FD5=<O ��$' 6>?D>E4 > 
?D>5>F5 <5F>4<>< D4EG5F>6 -�% < GE?>6<= <E?>?L7>64=<O $-% F5?56<7<>==>7> 
65M4=<O, ��' '� 65M4=<O, F<DD>6>7> D44<>65M4=<O 6 EF4=44DF4E DAB, DRM+ < 
$���%. 

ø �D>6545=4 =4GG=>-<EE?54>64F5?LE>4O D45>F4 ?> F5<5: «$47D45>F>4 
>><??5>E4 <5D ?> >55E?5G5=<N 4>EF>65D=>EF< <45=F<D<>4F<< <EF>G=<>4 6O7>64 6 
E5FOE F5?5D>==>= E6O7<» EF><<>EFLN 7 435,22 FOE. DG5?5= 557 ��% (<EF>G=<> 

D<=4=E<D>64=<O 3 4<>DF<74F<O).  
$57G?LF4FO =4GG=>-F5E=<G5E>>= D45>FO ?O7GF 6 >E=>6G D47D45>F>< >><??5>E4 

674<<>G6O74==OE <5D ?D46>6>7>, =>D<4F<6=>7> < F5E=<G5E>>7> E4D4>F5D4, 
D>D<<D>64=<O <7<5=5=<= 6 ���, < <5F>4<> 6 F5?OE E>744=<O %<EF5<O �=F<DD>4. 

�=D>D<4F<O > ?D>6545==OE =4GG=>-<EE?54>64F5?LE><E D45>F4E $�'� 
«�$'&» 6 2022 7>4G ?D54EF46?5=4 F4>65 6 �D<?>65=<< 7 1 > =4EF>OM5<G 4>>?44G. 

 

�=D>D<4F<>==>5 >55E?5G5=<5 3 E>744=<5 ��� 
� D4<>4E 74>?NG5==>7> 4>7>6>D4 E ��� «�75=FEF6> M>>=><<G5E>>7> D476<F<O 

< ?D54?D<=<<4F5?LEF64» >F 08.02.2022 7 $�%-1-2022 D47D45>F4=O D5>><5=44F<< ?> 
D55D5=4<=7G, 6>?NG4NM<5 ?D54?>65=<O ?> ?>MF4?=>= 4>D45>F>5, D476<F<N < 
<7<5=5=<N 5D5=44, 4 F4>65 >>=F5?F<O ?> <7<5=5=<N >D<F<4?L=>7> E4=F4 $�'� 
«�$'&». %G<<4 D4EE>4>6 E>EF46<?4 2 000,00 FOE. DG5?5= (<EF>G=<> 

D<=4=E<D>64=<O 3 4<>DF<74F<O). 
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$<=4=E>6>-<=65EF<F<>==4O ED5D4 
ø � 2022 7>4G ?D54?D<OF<5 >EGM5EF6<?> G5FOD5 D57G?OD=OE 67=>E4 >F 

GGD54<F5?O 46F>=><=>= =5>><<5DG5E>>= >D74=<74F<< «�=D>D<4F<>==>-
4=4?<F<G5E><= F5=FD EFD4F57<< <E?>?L7>64=<O D44<>G4EF>F=>7> E?5>FD4» =4 6545=<5 
GEF46=>= 45OF5?L=>EF<:  

%>5EF65==O5 ED54EF64 (D4>F<G5E><5 D4EE>4O >FD465=O ?> F5>GM5= 

45OF5?L=>EFL 6 E6O7< E <7<5=5=<5< 6 D4<>4E 74>>=>44F5?LEF64 ?> �' <5E4=<7<4 

>FD465=<O 44==OE D4EE>4>6 6 GG5F5): 

- 6 I >64DF4?5 2022 7>44 3 37 000,00 FOE. DG5?5=; 
- 6> II >64DF4?5 2022 7>44 3 37 000,00 FOE. DG5?5=; 
'<EF4O ?D<5O?L (D>=4 =4GG=>-F5E=<G5E>>7> D476<F<O) 

- 6 III >64DF4?5 2022 7>44 3 28 000,00 FOE. DG5?5=; 
- 6 VI >64DF4?5 2022 7>44 3 28 000,00 FOE. DG5?5=. 
ø &4>65 6 2022 7>4G G4EFL G<EF>= ?D<5O?< 2021 7>44 5O?4 =4?D46?5=4 6 

D47<5D5: 
75 998,80 FOE. DG5?5= (10 % E>7?4E=> ?. 3.12 'EF464 $�'� «�$'&») =4 

G65?<G5=<5 $575D6=>7> D>=44;  
13 399,94 FOE. DG5?5= (E>7?4E=> ?. 3.13 'EF464 $�'� «�$'&») =4 

D>D<<D>64=<5 D>=44 D<=4=E>6OE D575D6>6 4?O ?<>6<44F<< GD576OG4==OE E<FG4F<= 
6 $�'� «�$'&». 

� D4<>4E D54?<74F<< %FD4F57<< $�'� «�$'&» =4 2021-2023 77. =4 
?D54?D<OF<< 5O? ED>D<<D>64= $>=4 =4GG=>-F5E=<G5E>>7> D476<F<O 6 $�'� 
«�$'&». �EF>G=<>>< D>D<<D>64=<O D>=44 O6?O5FEO G<EF4O ?D<5O?L, >EF4NM4OEO 6 
D4E?>DO65=<< $�'� «�$'&» (E>7?4E=> ?. 3.13 'EF464 $�'� «�$'&»). '4EFL 
G<EF>= ?D<5O?< 2021 7>44 >EF4NM5=EO 6 D4E?>DO65=<< ?D54?D<OF<O, ?>E?5 
?5D5G<E?5=<O 50 % 6 D545D4?L=O= 5N465F, 5O?4 =4?D46?5=4 =4 D>D<<D>64=<5 
D>=44 6 D47<5D5 168 827,45 FOE. DG5?5=. 

�4 2022 7>4 ED54EF64 D>=44 5O?< =4?D46?5=O =4 D<=4=E<D>64=<5 
<5D>?D<OF<= < ?D>7D4<< %FD4F57<< D476<F<O $�'� «�$'&» ?> E?54GNM<< 
=4?D46?5=<O<:  

4) =4GG=>-<EE?54>64F5?LE><5 < (<?<) >?OF=>->>=EFDG>F>DE><5 D45>FO, 
?D>6>4<<O5 E>5EF65==O<< E<?4<<, 4 F4>65 E ?><>MLN EF>D>==<E >D74=<74F<= 6 
D47<5D5 10 000,00 FOE. DG5?5=; 

5) D47D45>F>4 E?5F<4?L=>7> ?D>7D4<<=>7> >55E?5G5=<O, ?D>7D4<<=>-
4??4D4F=>7> >><??5>E4 (?D>6>4<<4O E>5EF65==O<< E<?4<<, 4 F4>65 E ?><>MLN 
EF>D>==<E >D74=<74F<=) 6 D47<5D5 60 657,21 FOE. DG5?5=; 

6) 74>G?>4 >5>DG4>64=<O 6 D47<5D5 23 984,02 FOE. DG5?5=; 
7) <5D>?D<OF<O ?> G?GGL5=<N <<<464, ?>?G?OD<74F<< D44<>G4EF>F=>= 

E?G65O 56 000,00 FOE. DG5?5=, (67=>E GGD54<F5?O 6 ��� «$44<>G4EF>F=O= E?5>FD»). 
�EF4F>> ED54EF6 $>=44 =4GG=>-F5E=<G5E>>7> D476<F<O $�'� «�$'&» =4 

>>=5F 2022 7>44 E>EF46<? 257 009,75 FOE. DG5?5=. 
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%>F<4?L=4O ED5D4 
� E6O7< E <7<5=5=<5< 6 D4<>4E 74>>=>44F5?LEF64 ?> �' <5E4=<7<4 >FD465=<O 

6 GG5F5 D4EE>4>6 E>F<4?L=>7> E4D4>F5D4 D4>F<G5E><5 D4EE>4O ?> ?G=>FG 
«%>F<4?L=4O ED5D4» 6 D47<5D5 321 433,67 FOE. DG5?5= >FD465=O 6 F5>GM5= 
45OF5?L=>EF<. 

�E=>6=O<< =4?D46?5=<O<< E>F<4?L=OE 6O??4F O6?O?<EL <4F5D<4?L=4O 
?><>ML, >><?5=E4F<>==O5 6O??4FO D45>F=<>4< ?D< ?D5>D4M5=<< FDG4>6>7> 
4>7>6>D4, =>6>7>4=<5 ?>44D>< 45FO< D45>F=<>>6, <=O5 6O??4FO 6 E>>F65FEF6<< E 
�>??5>F<6=O< 4>7>6>D><. %>F<4?L=O5 >5O74F5?LEF64, ?D54GE<>FD5==O5 
�>??5>F<6=O< 4>7>6>D><, 5O?< 6O?>?=5=O 6 ?>?=>< >5N5<5. 

 
XII. �%���,������� �$��/��, �%&�.-��%/  

� $�%��$/����� �$���$�/&�/ 
 

�D>7D4<<>= 45OF5?L=>EF< $�'� «�$'&» =4 2023 7>4, GF65D645==>= 
?D<>47>< $>E>><=447>D4 >F 31.10.2022 7 183, <5D>?D<OF<O 74 EG5F ?D<5O?<, 
>EF4NM5=EO 6 D4E?>DO65=<< ?D54?D<OF<O =5 ??4=<DGNFEO. 

�> <F>74< D45>FO 74 2022 7>4 G<EF4O ?D<5O?L ?D54?D<OF<O E>EF46<?4 
41 479,00 FOE. DG5?5=, <7 =<E EG<<4 ?D<5O?< 6 D47<5D5 41 479,00 FOE. DG5?5= ?>E?5 
55 E>7?4E>64=<O 6 GEF4=>6?5==>< ?>DO4>5 ?>4?56<F ?5D5G<E?5=<N 6 D545D4?L=O= 
5N465F 6 2023 7>4G.  

�D54?>65=<O ?> GF>G=5=<N ?>>474F5?5=, ?D54GE<>FD5==OE �D>7D4<<>= 
45OF5?L=>EF< $�'� «�$'&» =4 2023 7>4, 5G4GF ?D54EF46?5=O 6 GEF4=>6?5==>< 
74>>=>44F5?LEF6>< ?>DO4>5. 

 
XIII. �%����/� �$������%&����/� ����'� �� 2023 ��� 

 

�E=>6=O5 ?D><76>4EF65==O5 7444G< =4 2023 7>4 >FD465=O 6 %FD4F57<< 
D476<F<O D545D4?L=>7> 7>EG44DEF65==>7> G=<F4D=>7> ?D54?D<OF<O «�?46=O= 
D44<>G4EF>F=O= F5=FD» =4 2021-2023 7>4O, GF65D645==>= ?D<>47>< $545D4?L=>= 
E?G65O ?> =447>DG 6 ED5D5 E6O7<, <=D>D<4F<>==OE F5E=>?>7<= < <4EE>6OE 
>><<G=<>4F<= >F 29 >>FO5DO 2020 7. 7 140. 

�?46=>= F5?LN $�'� «�$'&» O6?O5FEO 4>EF<65=<5 < G45D6<64=<5 
?<4<DGNM<E ?>7<F<= 6 >FD4E?<, 6 F>< G<E?5 6 G4EF< ?D<<5=5=<O <==>64F<>==OE 
F5E=>?>7<= 6 ED5D4E E6>5= 45OF5?L=>EF<. 

$�'� «�$'&» O6?O5FEO ?>4654><EF65==>= EFDG>FGD>= $>E>><=447>D4, 
7?>54?L=O5 F5?< ?D54?D<OF<O =4?D46?5=O 6 F>< G<E?5 =4 4>EF<65=<5 E?54GNM<E 
F5?5=: 

- E=<65=<5 GD>6=O 4>EFG?=>EF< =4DGL4NM5= 74>>=>44F5?LEF6> <=D>D<4F<< 
?D< E>ED4=5=<< 4>EFG?4 > E>F<4?L=> 7=4G<<O< D5EGDE4<, 6 F>< G<E?5 %��; 

- >55E?5G5=<5 MDD5>F<6=>7> <E?>?L7>64=<O D44<>G4EF>F=>7> E?5>FD4; 
- E>744=<5 < 6=54D5=<5 <5E4=<7<>6 >?5D4F<6=>7> D547<D>64=<O =4 G7D>7O 

F5?>EF=>EF<, GEF>=G<6>EF< < 557>?4E=>EF< DG=>F<>=<D>64=<O D>EE<=E><< E5FO< 
E6O7<; 












